

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.	
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA	
ROADWAY ITEMS									
0001	0000100000-N	800	MOBILIZATION	Lump Sum		4589000.00		4450000.00	4900000.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		500000.00		2500000.00	520559.11
0003	0001000000-E	200	CLEARING & GRUBBING	Lump Sum		923000.00		2000000.00	1571043.00
0004	0008000000-E	200	SUPP CLEARING & GRUBBING		7 ACR	4000.00	28000.00	5000.00	35000.00
0005	0015000000-N	205	SEALING ABANDONED WELLS		9 EA	1200.00	10800.00	1200.00	10800.00
0006	0029000000-N	SP	REINF BRG APPR ***** (10+65.063 -Y10-)	Lump Sum		50000.00		10360.34	45000.00
0007	0029000000-N	SP	REINF BRG APPR ***** (11+43.200 US 220 SB RAMP)	Lump Sum		70000.00		6430.62	30000.00
0008	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-NB)	Lump Sum		40000.00		8184.04	35000.00
0009	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-SB)	Lump Sum		40000.00		8184.04	36000.00
0010	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-NB)	Lump Sum		40000.00		7259.75	27000.00
0011	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-SB)	Lump Sum		40000.00		7259.75	27000.00
0012	0029000000-N	SP	REINF BRG APPR ***** (16+24.670 US 220 SB RAMP)	Lump Sum		90000.00		11010.20	37000.00
0013	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- NBL)	Lump Sum		60000.00		13596.33	60000.00
0014	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- SBL)	Lump Sum		40000.00		9863.31	38000.00
0015	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- NBL)	Lump Sum		80000.00		6341.47	38000.00
0016	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- SBL)	Lump Sum		80000.00		6693.20	38000.00
0017	0036000000-E	225	UNDERCUT EXCAVATION	33,860	CY	7.00	237020.00	2.367	80146.62
0018	0038000000-E	SP	SHALLOW UNDERCUT	8,300	CY	15.00	124500.00	4.884	40537.20
0019	0080000000-E	SP	CLASS IV SUBGRD STABILIZATION	16,550	TON	25.00	413750.00	24.623	407510.65
0020	0134000000-E	240	DRAINAGE DITCH EXCAVATION	18,200	CY	6.30	114660.00	3.827	69651.40
0021	0141000000-E	240	BERM DITCH CONSTRUCTION	4,255	LF	4.50	19147.50	1.878	7990.89
0022	0156000000-E	250	REMOVAL OF EXT ASPHALT PVMT	104,515	SY	3.50	365802.50	1.90	198578.50
0023	0177000000-E	250	BREAKING OF EXT ASPH PVMT	40,940	SY	2.00	81880.00	1.90	77786.00
0024	0192000000-N	260	PROOF ROLLING	120	HR	100.00	12000.00	123.957	14874.84
0025	0195000000-E	SP	SELECT GRANULAR MATERIAL	29,320	CY	0.01	293.20	9.076	266108.32
0026	0196000000-E	270	SOIL STABILIZATION FABRIC	68,920	SY	0.50	34460.00	1.277	88010.84
0027	0199000000-E	SP	TEMPORARY SHORING	18,509	SF	22.00	407198.00	21.639	400516.25
0028	0220000000-E	SP	ROCK EMBANKMENTS	24,020	TON	30.00	720600.00	0.746	17918.92
0029	0223000000-E	SP	ROCK PLATING	5,400	SY	52.00	280800.00	35.284	190533.60
0030	0234000000-E	SP	GENERIC GRADING ITEM (CY) EXCAVATION AND STOCKPILING CONTAMINATED SOIL	100	CY	32.00	3200.00	44.848	4484.80
0031	0241000000-E	SP	GENERIC GRADING ITEM (SY) FABRIC FOR EMBANKMENT STABILIZATION	1,675	SY	12.00	20100.00	9.504	15919.20
0032	0241000000-E	SP	GENERIC GRADING ITEM (SY) FILTER FABRIC FOR ROCK EMBANK-MENT	11,650	SY	1.10	12815.00	1.825	21261.25

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.		
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA		
0033	0248000000-N	SP	GENERIC GRADING ITEM (LS) SUBGRADE IMPROVEMENT FIELD TEST	Lump Sum		15000.00		38234.65		29000.00
0034	0318000000-E	SP	FND CONDIR MATL MINOR STRS	6,140 TON	13.00	79820.00	31.50	193410.00	39.00	239460.00
0035	0320000000-E	SP	FND CONDIR FABRIC	19,210 SY	1.00	19210.00	1.70	32657.00	2.00	38420.00
0036	0342000000-E	SP	*** SIDE DRAIN PIPE (30")	3,100 LF	50.00	155000.00	59.00	182900.00	63.00	195300.00
0037	0342000000-E	SP	*** SIDE DRAIN PIPE (36")	180 LF	60.00	10800.00	95.00	17100.00	78.00	14040.00
0038	0343000000-E	SP	15" SIDE DRAIN PIPE	11,576 LF	25.00	289400.00	31.50	364644.00	33.00	382008.00
0039	0344000000-E	SP	18" SIDE DRAIN PIPE	6,924 LF	30.00	207720.00	42.00	290808.00	38.00	263112.00
0040	0345000000-E	SP	24" SIDE DRAIN PIPE	4,088 LF	35.00	143080.00	47.50	194180.00	49.00	200312.00
0041	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (15")	35 EA	550.00	19250.00	250.00	8750.00	156.00	5460.00
0042	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (18")	22 EA	700.00	15400.00	270.00	5940.00	175.00	3850.00
0043	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (24")	10 EA	900.00	9000.00	350.00	3500.00	250.00	2500.00
0044	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (36")	2 EA	1500.00	3000.00	770.00	1540.00	475.00	950.00
0045	0360000000-E	SP	12" RC PIPE CULV III	16 LF	90.00	1440.00	95.00	1520.00	42.00	672.00
0046	0366000000-E	SP	15" RC PIPE CULV III	4,264 LF	30.00	127920.00	35.00	149240.00	31.00	132184.00
0047	0372000000-E	SP	18" RC PIPE CULV III	5,000 LF	32.00	160000.00	40.00	200000.00	36.00	180000.00
0048	0378000000-E	SP	24" RC PIPE CULV III	2,748 LF	34.00	93432.00	48.00	131904.00	46.00	126408.00
0049	0384000000-E	SP	30" RC PIPE CULV III	1,424 LF	40.00	56960.00	55.00	78320.00	62.00	88288.00
0050	0390000000-E	SP	36" RC PIPE CULV III	668 LF	50.00	33400.00	82.00	54776.00	74.00	49432.00
0051	0396000000-E	SP	42" RC PIPE CULV III	368 LF	60.00	22080.00	100.00	36800.00	89.00	32752.00
0052	0402000000-E	SP	48" RC PIPE CULV III	292 LF	100.00	29200.00	125.00	36500.00	106.00	30952.00
0053	0408000000-E	SP	54" RC PIPE CULV III	1,052 LF	110.00	115720.00	160.00	168320.00	142.00	149384.00
0054	0420000000-E	SP	66" RC PIPE CULV III	240 LF	200.00	48000.00	225.00	54000.00	218.00	52320.00
0055	0448000000-E	SP	**** RCP CULV CLASS IV (48")	112 LF	100.00	11200.00	140.00	15680.00	114.00	12768.00
0056	0448200000-E	SP	15" RCP CULV CLASS IV	8,420 LF	20.00	168400.00	42.00	353640.00	32.00	269440.00
0057	0448300000-E	SP	18" RCP CULV CLASS IV	1,196 LF	28.00	33488.00	46.00	55016.00	36.00	43056.00
0058	0448400000-E	SP	24" RCP CULV CLASS IV	804 LF	30.00	24120.00	50.00	40200.00	53.00	42612.00
0059	0448500000-E	SP	30" RCP CULV CLASS IV	452 LF	40.00	18080.00	70.00	31640.00	64.00	28928.00
0060	0448600000-E	SP	36" RCP CULV CLASS IV	344 LF	60.00	20640.00	90.00	30960.00	79.00	27176.00
0061	0448700000-E	SP	42" RCP CULV CLASS IV	380 LF	80.00	30400.00	110.00	41800.00	96.00	36480.00
0062	0453000000-E	SP	*** PIPE END SECTION (15")	2 EA	500.00	1000.00	1000.00	2000.00	221.00	442.00
0063	0546000000-E	SP	*** CAA PIPE CLVT ***** (18", 0.064")	176 LF	40.00	7040.00	43.50	7656.00	49.00	8624.00
0064	0546000000-E	SP	*** CAA PIPE CLVT ***** (72", 0.168")	136 LF	250.00	34000.00	310.00	42160.00	360.00	48960.00
0065	0576000000-E	SP	*** CS PIPE CULV ***** (36", 0.079")	120 LF	60.00	7200.00	73.00	8760.00	80.00	9600.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC				ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.	
		MAYFIELD, NY				SAN ANTONIO, TX			LYNCHBURG, VA	
0066	0576000000-E	SP	*** CS PIPE CULV ***** (48", 0.109")	32 LF	120.00	3840.00	150.00	4800.00	140.00	4480.00
0067	0576000000-E	SP	*** CS PIPE CULV ***** (72", 0.168")	160 LF	190.00	30400.00	260.00	41600.00	354.00	56640.00
0068	0582000000-E	SP	15" CS PIPE CULV 0.064"	1,852 LF	30.00	55560.00	40.00	74080.00	39.00	72228.00
0069	0588000000-E	SP	18" CS PIPE CULV 0.064"	160 LF	30.00	4800.00	48.00	7680.00	44.00	7040.00
0070	0600000000-E	SP	30" CS PIPE CULV 0.079"	240 LF	40.00	9600.00	75.00	18000.00	72.00	17280.00
0071	0636000000-E	SP	*** CS ELBOW ***** THICK (15", 0.064")	31 EA	200.00	6200.00	184.00	5704.00	258.00	7998.00
0072	0636000000-E	SP	*** CS ELBOW ***** THICK (18", 0.064")	7 EA	220.00	1540.00	223.00	1561.00	283.00	1981.00
0073	0636000000-E	SP	*** CS ELBOW ***** THICK (30", 0.079")	4 EA	400.00	1600.00	400.00	1600.00	408.00	1632.00
0074	0636000000-E	SP	*** CS ELBOW ***** THICK (36", 0.079")	2 EA	450.00	900.00	675.00	1350.00	470.00	940.00
0075	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (18", 0.5", B)	96 LF	400.00	38400.00	173.50	16656.00	173.00	16608.00
0076	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (24", 0.5", B)	260 LF	500.00	130000.00	208.00	54080.00	208.00	54080.00
0077	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (36", 0.5", B)	340 LF	600.00	204000.00	288.00	97920.00	289.00	98260.00
0078	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (42", 0.625", B)	172 LF	850.00	146200.00	351.00	60372.00	352.00	60544.00
0079	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (54", 0.75", B)	108 LF	1100.00	118800.00	656.00	70848.00	657.00	70956.00
0080	0973300000-E	SP	***WLD STL PIPE GRAD NOT IN SOIL (42", 0.625", B)	50 LF	1000.00	50000.00	939.00	46950.00	940.00	47000.00
0081	0986000000-E	SP	GENERIC PIPE ITEM (LF) 15" CS SLOTTED DRAIN, 0.064" THICK	88 LF	150.00	13200.00	169.00	14872.00	125.00	11000.00
0082	0992000000-E	SP	GENERIC PIPE ITEM (EA) 15" FLAP GATE	1 EA	4000.00	4000.00	4100.00	4100.00	2000.00	2000.00
0083	0995000000-E	340	PIPE REMOVAL	11,545 LF	10.00	115450.00	9.50	109677.50	10.00	115450.00
0084	0996000000-N	350	PIPE CLEAN-OUT	12 EA	1400.00	16800.00	1500.00	18000.00	1600.00	19200.00
0085	1000000000-E	462	6" SLOPE PROTECTION	510 SY	70.00	35700.00	61.693	31463.43	85.00	43350.00
0086	1011000000-N	500	FINE GRADING	Lump Sum		600000.00		745405.93		983000.00
0087	1077000000-E	SP	#57 STONE	10,050 TON	20.00	201000.00	50.00	502500.00	44.00	442200.00
0088	1110000000-E	510	STABILIZER AGGREGATE	500 TON	36.00	18000.00	16.969	8484.50	30.00	15000.00
0089	1121000000-E	520	AGGREGATE BASE COURSE	46,700 TON	30.00	1401000.00	30.00	1401000.00	29.00	1354300.00
0090	1220000000-E	545	INCIDENTAL STONE BASE	6,310 TON	35.00	220850.00	40.00	252400.00	37.00	233470.00
0091	1275000000-E	600	PRIME COAT	15,000 GAL	3.20	48000.00	2.94	44100.00	3.35	50250.00
0092	1489000000-E	610	ASP CONC BASE CRS B25.0B	11,080 TON	45.00	498600.00	41.38	458490.40	43.90	486412.00
0093	1498000000-E	610	ASP CONC INTR CRS I19.0B	7,280 TON	45.50	331240.00	41.87	304813.60	43.90	319592.00
0094	1519000000-E	610	ASP CONC SURF CRS S9.5B	25,690 TON	47.00	1207430.00	33.00	847770.00	43.50	1117515.00
0095	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	640 TON	140.00	89600.00	140.00	89600.00	135.00	86400.00
0096	2000000000-N	806	RIGHT OF WAY MARKERS	390 EA	170.00	66300.00	149.00	58110.00	165.00	64350.00
0097	2022000000-E	SP	SUBDRAIN EXCAVATION	4,915 CY	5.00	24575.00	10.00	49150.00	10.50	51607.50
0098	2033000000-E	SP	SUBDRAIN FINE AGGREGATE	2,460 CY	40.00	98400.00	37.50	92250.00	39.00	95940.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.			
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA			
0099	2044000000-E	SP	6" PERF SUBDRN PIPE	14,830	LF	5.00	74150.00	4.00	59320.00	4.20	62286.00
0100	2070000000-N	SP	SUBDRN PIPE OUTLETS	31	EA	300.00	9300.00	250.00	7750.00	260.00	8060.00
0101	2077000000-E	SP	6" OUTLET PIPE (SUBDRNS)	204	LF	15.00	3060.00	20.00	4080.00	21.00	4284.00
0102	2143000000-E	818	BLOTTING SAND	55	TON	50.00	2750.00	30.00	1650.00	45.00	2475.00
0103	2209000000-E	838	ENDWALLS	83.8	CY	740.00	62012.00	750.00	62850.00	948.00	79442.40
0104	2220000000-E	838	REINFORCED ENDWALLS	42.5	CY	470.00	19975.00	910.00	38675.00	985.00	41862.50
0105	2253000000-E	840	PIPE COLLARS	41.67	CY	920.00	38336.40	750.00	31252.50	922.00	38419.74
0106	2264000000-E	840	PIPE PLUGS	8.14	CY	700.00	5698.00	750.00	6105.00	865.00	7041.10
0107	2275000000-E	SP	FLOWABLE FILL	686	CY	150.00	102900.00	220.00	150920.00	250.00	171500.00
0108	2286000000-N	840	MASNRY DRAINAGE STRUCT	475	EA	1000.00	475000.00	1000.00	475000.00	1260.00	598500.00
0109	2297000000-E	840	MASNRY DRAINAGE STRUCT	52.18	CY	1000.00	52180.00	850.00	44353.00	1220.00	63659.60
0110	2308000000-E	840	MASNRY DRAINAGE STRUCT	197.2	LF	250.00	49300.00	245.00	48314.00	302.00	59554.40
0111	2354000000-N	840	FRAME W/GRATE 840.22 STD	14	EA	500.00	7000.00	435.00	6090.00	332.00	4648.00
0112	2364000000-N	840	FRAME W/2GRTS 840.16 STD	51	EA	520.00	26520.00	440.00	22440.00	514.00	26214.00
0113	2364200000-N	840	FRAME W/2GRTS 840.20 STD	29	EA	520.00	15080.00	530.00	15370.00	486.00	14094.00
0114	2365000000-N	840	FRAME W/2GRTS 840.22 STD	206	EA	520.00	107120.00	510.00	105060.00	461.00	94966.00
0115	2366000000-N	840	FRAME W/2GRTS 840.24 STD	18	EA	520.00	9360.00	500.00	9000.00	467.00	8406.00
0116	2367000000-N	840	FRAME W/2GRTS 840.29 STD	75	EA	520.00	39000.00	450.00	33750.00	461.00	34575.00
0117	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	7	EA	520.00	3640.00	495.00	3465.00	529.00	3703.00
0118	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	32	EA	520.00	16640.00	495.00	15840.00	529.00	16928.00
0119	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	33	EA	520.00	17160.00	495.00	16335.00	574.00	18942.00
0120	2396000000-N	840	FRAME W/COVER STD 840.54	31	EA	400.00	12400.00	340.00	10540.00	449.00	13919.00
0121	2440000000-N	852	CONC TRANS SECT FOR CATCH BASIN	5	EA	2200.00	11000.00	450.00	2250.00	700.00	3500.00
0122	2451000000-N	852	CONC TRANS SECT FOR DROP INLET	51	EA	590.00	30090.00	450.00	22950.00	727.00	37077.00
0123	2462000000-E	SP	*** SLUICE GATE (25")	2	EA	5000.00	10000.00	1100.00	2200.00	6700.00	13400.00
0124	2462000000-E	SP	*** SLUICE GATE (38-3/4")	3	EA	6500.00	19500.00	1200.00	3600.00	9800.00	29400.00
0125	2472000000-N	840	GENERIC DRAINAGE ITEM (EA) 840 TEMPORARY CONCRETE LIDS	5	EA	2500.00	12500.00	2000.00	10000.00	714.00	3570.00
0126	2535000000-E	846	***X*** CONCRETE CURB (8" X 18")	2,280	LF	21.00	47880.00	13.00	29640.00	18.00	41040.00
0127	2542000000-E	846	1'-6"CONC CURB & GUTTER	21,740	LF	15.00	326100.00	9.95	216313.00	14.50	315230.00
0128	2549000000-E	846	2'-6"CONC CURB & GUTTER	14,060	LF	16.50	231990.00	12.78	179686.80	16.50	231990.00
0129	2556000000-E	846	SHOULDER BERM GUTTER	14,100	LF	16.50	232650.00	13.55	191055.00	16.00	225600.00
0130	2577000000-E	846	CONC EXPRESSWAY GUTTER	2,040	LF	29.00	59160.00	21.77	44410.80	22.00	44880.00
0131	2580000000-E	846	CONCRETE VALLEY GUTTER	370	LF	42.00	15540.00	12.53	4636.10	24.00	8880.00
0132	2591000000-E	848	4" CONCRETE SIDEWALK	6,860	SY	25.00	171500.00	35.00	240100.00	36.00	246960.00
0133	2612000000-E	848	6" CONCRETE DRIVEWAY	840	SY	36.00	30240.00	60.00	50400.00	34.00	28560.00
0134	2619000000-E	850	4" CONCRETE PAVED DITCH	250	SY	66.00	16500.00	40.00	10000.00	34.00	8500.00
0135	2627000000-E	852	4" CONC ISLAND COVERS	85	SY	28.00	2380.00	45.10	3833.50	32.00	2720.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC				ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.		
		MAYFIELD, NY				SAN ANTONIO, TX			LYNCHBURG, VA		
0136	2655000000-E	852	5" MONO CONC ISLDS (KEY IN)	20,890	SY	36.00	752040.00	30.15	629833.50	30.00	626700.00
0137	2724000000-E	857	PC REINF BARRIER SNGL FC	5,159	LF	65.00	335335.00	53.521	276114.84	66.00	340494.00
0138	2760000000-N	848	GENERIC PAVING ITEM 848 (EA) CONCRETE CURB RAMPS	44	EA	1220.00	53680.00	1110.00	48840.00	1145.00	50380.00
0139	2800000000-N	858	ADJ CATCH BASINS	3	EA	400.00	1200.00	2500.00	7500.00	745.00	2235.00
0140	2830000000-N	858	ADJ MANHOLES	4	EA	400.00	1600.00	2500.00	10000.00	745.00	2980.00
0141	3000000000-N	SP	IMPACT ATTEN TYPE 350	11	EA	13000.00	143000.00	14950.00	164450.00	12000.00	132000.00
0142	3030000000-E	862	STL BM GUARDRAIL	34,962.5	LF	15.00	524437.50	15.00	524437.50	16.00	559400.00
0143	3045000000-E	862	SBGR SHOP CURVED	862.5	LF	16.00	13800.00	15.50	13368.75	16.00	13800.00
0144	3105000000-N	862	SBGR TERM SECT	16	EA	52.00	832.00	100.00	1600.00	105.00	1680.00
0145	3150000000-N	862	ADDIT GUARDRAIL POSTS	20	EA	5.25	105.00	32.00	640.00	34.00	680.00
0146	3195000000-N	862	GR ANCHOR TYPE AT-1	11	EA	360.00	3960.00	400.00	4400.00	420.00	4620.00
0147	3210000000-N	862	GR ANCHOR TYPE CAT-1	30	EA	500.00	15000.00	425.00	12750.00	447.00	13410.00
0148	3215000000-N	862	GR ANCHOR TYPE III	8	EA	1250.00	10000.00	1400.00	11200.00	1471.00	11768.00
0149	3270000000-N	SP	GR ANCHOR TYPE 350	89	EA	1800.00	160200.00	1800.00	160200.00	1892.00	168388.00
0150	3285000000-N	SP	GR ANCHOR TYPE M-350	8	EA	1500.00	12000.00	1550.00	12400.00	1629.00	13032.00
0151	3317000000-N	862	GR ANCHOR TYPE B-77	49	EA	1400.00	68600.00	1400.00	68600.00	1471.00	72079.00
0152	3360000000-E	863	REMOVE EXISTING GUARDRAIL	6,366	LF	0.55	3501.30	1.00	6366.00	1.10	7002.60
0153	3380000000-E	862	TEMP STL BM GUARDRAIL	3,750	LF	7.35	27562.50	5.00	18750.00	5.25	19687.50
0154	3387000000-N	862	GDRL ANCH UNITS ***** TEMP (W-BEAM)	1	EA	260.00	260.00	800.00	800.00	841.00	841.00
0155	3389100000-N	SP	GDRL ANCH UNITS 350 TEMP	6	EA	635.00	3810.00	600.00	3600.00	630.00	3780.00
0156	3389400000-E	865	DBL FACED CABLE GUIDERAIL	21,400	LF	6.40	136960.00	10.50	224700.00	11.00	235400.00
0157	3389500000-N	SP	ADDITIONAL GUIDERAIL POSTS	10	EA	5.00	50.00	65.00	650.00	68.00	680.00
0158	3389600000-N	865	CBL GUIDERAIL ANCH UNIT	131	EA	1500.00	196500.00	50.00	6550.00	53.00	6943.00
0159	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	95,220	LF	2.65	252333.00	2.30	219006.00	2.30	219006.00
0160	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	5,800	EA	15.00	87000.00	15.00	87000.00	13.00	75400.00
0161	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	1,870	EA	30.00	56100.00	27.00	50490.00	19.00	35530.00
0162	3536000000-E	866	CHN LK FENCE 48" FABRIC	1,310	LF	8.00	10480.00	5.00	6550.00	7.00	9170.00
0163	3542000000-E	866	MET LINE PST 48" CL FEN	112	EA	33.00	3696.00	32.00	3584.00	34.00	3808.00
0164	3548000000-E	866	MET TERM PST 48" CL FEN	10	EA	96.00	960.00	100.00	1000.00	84.00	840.00
0165	3551000000-E	866	MET GATE PST *** CL FEN S (48")	6	EA	125.00	750.00	200.00	1200.00	121.00	726.00
0166	3564000000-E	866	SGL GATE **HIGH, **WIDE, **OPEN (48", 16', 16')	6	EA	800.00	4800.00	600.00	3600.00	630.00	3780.00
0167	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	115	LF	47.00	5405.00	75.00	8625.00	79.00	9085.00
0168	3628000000-E	876	RIP RAP, CLASS I	2,530	TON	44.00	111320.00	41.759	105650.27	50.00	126500.00
0169	3635000000-E	876	RIP RAP, CLASS II	110	TON	75.00	8250.00	58.075	6388.25	51.00	5610.00
0170	3649000000-E	876	RIP RAP, CLASS B	5,690	TON	44.00	250360.00	41.291	234945.79	60.00	341400.00
0171	3656000000-E	876	FILTER FABRIC FOR DRAINAGE	43,320	SY	1.50	64980.00	2.725	118047.00	2.00	86640.00
0172	3659000000-N	SP	PREFORMED SCOUR HOLES	4	EA	2000.00	8000.00	3308.447	13233.79	2000.00	8000.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				TETRA TECH CONSTRUCTION INC		ZACHRY CONSTRUCTION CORPORATION		W. C. ENGLISH, INC.		
				MAYFIELD, NY		SAN ANTONIO, TX		LYNCHBURG, VA		
0173	3691000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) RIP RAP ENERGY DISSIPATOR	1 EA	5000.00	5000.00	3000.00	3000.00	4000.00	4000.00
0174	4048000000-E	902	REINF CONC FOUNDTN	8 CY	800.00	6400.00	860.00	6880.00	810.00	6480.00
0175	4054000000-E	902	PLN CL A CONC FOUNDTN	2 CY	975.00	1950.00	1200.00	2400.00	810.00	1620.00
0176	4057000000-E	SP	OVERHEAD FOOTING	84 CY	1600.00	134400.00	1250.00	105000.00	1650.00	138600.00
0177	4060000000-E	903	SUPPORT, BREAKAWAY STL BM	5,793 LB	5.50	31861.50	2.50	14482.50	4.40	25489.20
0178	4066000000-E	903	SUPPORT, 3-LB STL U-CHAN	2,440 LB	5.50	13420.00	1.50	3660.00	4.40	10736.00
0179	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	6,928 LF	6.50	45032.00	8.75	60620.00	5.20	36025.60
0180	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (26+40 -L REV-)	Lump Sum		50000.00		22000.00		29945.00
0181	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (27+40 -L REV-)	Lump Sum		60000.00		38000.00		40425.00
0182	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (33+60 -L REV-)	Lump Sum		50000.00		30000.00		35175.00
0183	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (35+40 -L REV-)	Lump Sum		50000.00		31000.00		35175.00
0184	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (41+60 -L REV-)	Lump Sum		50000.00		29000.00		31500.00
0185	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (50+00 -L REV-)	Lump Sum		50000.00		32000.00		36750.00
0186	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (75+00 -L REV-)	Lump Sum		50000.00		30000.00		32850.00
0187	4096000000-N	904	SIGN ERECTION, TYPE D	26 EA	125.00	3250.00	84.00	2184.00	105.00	2730.00
0188	4102000000-N	904	SIGN ERECTION, TYPE E	412 EA	71.00	29252.00	60.00	24720.00	58.00	23896.00
0189	4108000000-N	904	SIGN ERECTION, TYPE F	90 EA	245.00	22050.00	160.00	14400.00	105.00	9450.00
0190	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (A)	10 EA	475.00	4750.00	280.00	2800.00	368.00	3680.00
0191	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (B)	3 EA	525.00	1575.00	270.00	810.00	368.00	1104.00
0192	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (D)	23 EA	100.00	2300.00	160.00	3680.00	105.00	2415.00
0193	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	4 EA	175.00	700.00	155.00	620.00	52.00	208.00
0194	4152000000-N	907	DISPOSE SIGN SYST STL BM	2 EA	220.00	440.00	1200.00	2400.00	52.00	104.00
0195	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	307 EA	2.50	767.50	37.00	11359.00	1.10	337.70
0196	4158000000-N	907	DISPOSE SIGN SYST WOOD	3 EA	148.00	444.00	37.00	111.00	1.10	3.30
0197	4192000000-N	907	DISPOSE SUPPORT, U-CHAN	27 EA	18.00	486.00	37.00	999.00	1.10	29.70
0198	4400000000-E	1110	WORK ZONE SIGNS (STAT)	793 SF	5.00	3965.00	4.18	3314.74	11.00	8723.00
0199	4405000000-E	1110	WORK ZONE SIGNS (PORT)	1,124 SF	9.00	10116.00	8.18	9194.32	13.00	14612.00
0200	4410000000-E	1110	WORK ZONE SIGNS (BARR)	2,705 SF	5.50	14877.50	4.98	13470.90	14.00	37870.00
0201	4415000000-N	1115	FLASHING ARROW PNL TYPE C	2 EA	2600.00	5200.00	2385.00	4770.00	3500.00	7000.00
0202	4422000000-N	1120	CHANGEABLE MESSAGE SIGN (SHORT TERM)	1,680 DAY	38.50	64680.00	35.00	58800.00	33.00	55440.00
0203	4430000000-N	1130	DRUMS	1,010 EA	40.00	40400.00	43.95	44389.50	74.00	74740.00
0204	4435000000-N	1135	CONES	200 EA	20.00	4000.00	16.50	3300.00	39.00	7800.00
0205	4445000000-E	1145	BARRICADES (TYPE III)	2,940 LF	10.00	29400.00	16.45	48363.00	35.00	102900.00
0206	4455000000-N	1150	FLAGGER	2,880 MD	135.00	388800.00	150.00	432000.00	216.00	622080.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.			
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA			
0207	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	20	EA	6000.00	120000.00	4995.00	99900.00	8000.00	160000.00
0208	4470000000-N	1160	RESET CRASH CUSHION	6	EA	3000.00	18000.00	2380.00	14280.00	2500.00	15000.00
0209	4480000000-N	1165	TMIA	4	EA	30000.00	120000.00	18995.00	75980.00	11000.00	44000.00
0210	4485000000-E	1170	PORT CONC BARRIER	6,140	LF	25.00	153500.00	22.50	138150.00	27.00	165780.00
0211	4495000000-E	1170	PORT CONC BARRIER(DRAINGE	1,960	LF	25.00	49000.00	22.50	44100.00	27.00	52920.00
0212	4500000000-E	1170	RESET PORT CONC BARRIER	1,040	LF	5.00	5200.00	3.25	3380.00	5.40	5616.00
0213	4506000000-E	1170	RESET PORT CONC BARR,DRAIN	360	LF	5.00	1800.00	3.25	1170.00	5.90	2124.00
0214	4650000000-N	1251	TEMP RAISED PVMT MRKS	2,665	EA	5.30	14124.50	4.00	10660.00	5.00	13325.00
0215	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	9,689	LF	1.40	13564.60	2.00	19378.00	1.30	12595.70
0216	4697000000-E	1205	THERMO PVT MKG LINE 8"120 MILS	1,976	LF	1.60	3161.60	2.25	4446.00	1.50	2964.00
0217	4710000000-E	1205	24"WIDE THERMO 120 MILS	3,922	LF	5.70	22355.40	9.00	35298.00	5.35	20982.70
0218	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	70	EA	115.00	8050.00	85.00	5950.00	110.00	7700.00
0219	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	432	EA	94.00	40608.00	95.00	41040.00	89.00	38448.00
0220	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (IV)	5,560	LF	1.70	9452.00	1.75	9730.00	1.65	9174.00
0221	4810000000-E	1205	PAINT PVMT MARKINGS 4"	1,070,768	LF	0.11	117784.48	0.155	165969.04	0.11	117784.48
0222	4820000000-E	1205	PAINT PVMT MARKINGS 8"	11,368	LF	0.23	2614.64	0.40	4547.20	0.22	2500.96
0223	4835000000-E	1205	PAINT PVT MKG LINES 24"	6,480	LF	1.67	10821.60	3.00	19440.00	1.60	10368.00
0224	4840000000-N	1205	PAINT PVT MKG CHARACTER	4	EA	56.00	224.00	25.00	100.00	53.00	212.00
0225	4845000000-N	1205	PAINT PVT MKG SYMBOL	370	EA	50.00	18500.00	25.00	9250.00	47.00	17390.00
0226	4850000000-E	1205	LINE REMOVAL 4" WIDE	28,000	LF	0.72	20160.00	0.25	7000.00	0.65	18200.00
0227	4900000000-N	1251	PERM RAISED PVMT MARKERS	28	EA	5.25	147.00	4.00	112.00	5.00	140.00
0228	4905000000-N	1253	SNOWPLB PVMT MRKER	3,953	EA	25.00	98825.00	25.00	98825.00	23.00	90919.00
0229	4935000000-N	1267	FLEX DELINATR (CRYSTAL)	142	EA	30.00	4260.00	29.85	4238.70	27.00	3834.00
0230	4940000000-N	1267	FLEX DELINATR (YELLOW)	48	EA	30.00	1440.00	29.85	1432.80	27.00	1296.00
0231	4945000000-N	1267	FLEX DELINATR (CRY & RED)	20	EA	30.00	600.00	29.85	597.00	27.00	540.00
0232	4950000000-N	1267	FLEX DELINATR (YEL & RED)	20	EA	30.00	600.00	29.85	597.00	27.00	540.00
0233	5255000000-N	1413	PORTABLE LIGHTING		Lump Sum		200000.00		23907.52		107000.00
0234	5325600000-E	1510	6" WATER LINE	214	LF	125.00	26750.00	52.00	11128.00	43.50	9309.00
0235	5325800000-E	1510	8" WATER LINE	361	LF	60.00	21660.00	66.00	23826.00	95.00	34295.00
0236	5326200000-E	1510	12" WATER LINE	99	LF	63.00	6237.00	128.00	12672.00	124.00	12276.00
0237	5546000000-E	1515	8" VALVE	2	EA	1184.49	2368.98	1200.00	2400.00	1471.00	2942.00
0238	5606000000-E	1515	2" BLOW OFF	2	EA	1039.92	2079.84	600.00	1200.00	1979.00	3958.00
0239	5648000000-N	1515	RELOCATE WATER METER	1	EA	1010.60	1010.60	2500.00	2500.00	2725.00	2725.00
0240	5666000000-E	1515	FIRE HYDRANT	2	EA	1383.75	2767.50	5350.00	10700.00	7733.00	15466.00
0241	5672000000-N	1515	RELOCATE FIRE HYDRANT	10	EA	3383.40	33834.00	6100.00	61000.00	1787.00	17870.00
0242	5689000000-E	1515	GENERIC UTILITY ITEM (EA) 1515 ADJUSTMENT OF SEWER MANHOLES	8	EA	400.00	3200.00	775.00	6200.00	972.00	7776.00
0243	5804000000-E	1530	ABANDON 12" UTILITY PIPE	120	LF	10.00	1200.00	15.00	1800.00	19.00	2280.00
0244	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 ADJUSTMENT OF VALVE BOX	6	EA	50.00	300.00	650.00	3900.00	811.00	4866.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				TETRA TECH CONSTRUCTION INC		ZACHRY CONSTRUCTION CORPORATION		W. C. ENGLISH, INC.		
				MAYFIELD, NY		SAN ANTONIO, TX		LYNCHBURG, VA		
0245	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY SEWER LINE SUPPORT	1 EA	20000.00	20000.00	3500.00	3500.00	9282.00	9282.00
0246	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY WATER LINE SUPPORT	1 EA	25000.00	25000.00	3500.00	3500.00	9282.00	9282.00
0247	6000000000-E	1605	TEMPORARY SILT FENCE	82,800 LF	1.70	140760.00	5.00	414000.00	1.55	128340.00
0248	6006000000-E	1610	EROS CONTRL STONE CL A	32,450 TON	1.00	32450.00	31.967	1037329.15	43.00	1395350.00
0249	6009000000-E	1610	EROS CONTRL STONE CL B	20,825 TON	35.00	728875.00	32.616	679228.20	57.00	1187025.00
0250	6012000000-E	1610	SEDIMENT CONTROL STONE	20,650 TON	33.00	681450.00	30.00	619500.00	41.00	846650.00
0251	6015000000-E	1615	TEMPORARY MULCHING	380 ACR	555.00	210900.00	440.00	167200.00	420.00	159600.00
0252	6018000000-E	1620	SEED FOR TEMP SEEDING	11,900 LB	2.00	23800.00	2.20	26180.00	2.35	27965.00
0253	6021000000-E	1620	FERT FOR TEMP SEEDING	52 TON	1300.00	67600.00	870.00	45240.00	987.00	51324.00
0254	6024000000-E	1622	TEMPORARY SLOPE DRAINS	36,875 LF	5.00	184375.00	7.882	290648.75	10.00	368750.00
0255	6027000000-N	1622	INLET PROTCN @ SLOPE DRNS	260 EA	100.00	26000.00	112.104	29147.04	165.00	42900.00
0256	6029000000-E	SP	SAFETY FENCE	3,000 LF	3.00	9000.00	1.75	5250.00	1.10	3300.00
0257	6030000000-E	1630	SILT EXCAVATION	141,300 CY	0.01	1413.00	2.084	294469.20	1.00	141300.00
0258	6036000000-E	1631	MATting FOR EROS CONTROL	352,200 SY	1.00	352200.00	0.95	334590.00	1.15	405030.00
0259	6037000000-E	SP	COIR FIBER MAT	17,970 SY	4.10	73677.00	4.85	87154.50	4.20	75474.00
0260	6038000000-E	SP	PERM SOIL REINF MAT	21,675 SY	4.00	86700.00	5.25	113793.75	4.75	102956.25
0261	6042000000-E	1632	1/4" HARDWARE CLOTH	29,500 LF	2.15	63425.00	2.829	83455.50	3.30	97350.00
0262	6045000000-E	SP	*** TEMPORARY PIPE (72")	170 LF	150.00	25500.00	400.00	68000.00	250.00	42500.00
0263	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	7,800 SY	0.50	3900.00	15.835	123513.00	30.00	234000.00
0264	6069000000-E	1638	STILLING BASINS	1,130 CY	38.00	42940.00	3.431	3877.03	25.00	28250.00
0265	6070000000-N	SP	SPECIAL STILLING BASINS	40 EA	450.00	18000.00	387.934	15517.36	1000.00	40000.00
0266	6071012000-E	SP	COIR FIBER WATTLE	15,320 LF	6.50	99580.00	6.438	98630.16	6.30	96516.00
0267	6071020000-E	SP	POLYACRYLAMIDE (PAM)	16,700 LB	8.00	133600.00	13.40	223780.00	7.50	125250.00
0268	6071030000-E	SP	COIR FIBER BAFFLE	38,750 LF	4.00	155000.00	4.32	167400.00	4.00	155000.00
0269	6071050000-E	SP	*** SKIMMER (1-1/2")	60 EA	500.00	30000.00	352.513	21150.78	815.00	48900.00
0270	6071050000-E	SP	*** SKIMMER (2")	8 EA	600.00	4800.00	975.446	7803.57	897.00	7176.00
0271	6071050000-E	SP	*** SKIMMER (2-1/2")	5 EA	625.00	3125.00	373.143	1865.72	1025.00	5125.00
0272	6071050000-E	SP	*** SKIMMER (3")	4 EA	650.00	2600.00	1275.046	5100.18	1150.00	4600.00
0273	6084000000-E	1660	SEEDING AND MULCHING	315 ACR	1500.00	472500.00	1250.00	393750.00	1400.00	441000.00
0274	6087000000-E	1660	MOWING	380 ACR	45.00	17100.00	70.00	26600.00	42.00	15960.00
0275	6090000000-E	1661	SEED FOR REPAIR SEEDING	7,520 LB	7.20	54144.00	12.00	90240.00	6.20	46624.00
0276	6093000000-E	1661	FERT FOR REPAIR SEEDING	16 TON	1300.00	20800.00	900.00	14400.00	1050.00	16800.00
0277	6096000000-E	1662	SEED FOR SUPP SEEDING	7,530 LB	7.20	54216.00	2.50	18825.00	3.00	22590.00
0278	6108000000-E	1665	FERTILIZER TOPDRESSING	225 TON	800.00	180000.00	900.00	202500.00	814.00	183150.00
0279	6111000000-E	SP	IMPERVIOUS DIKE	1,300 LF	42.00	54600.00	10.651	13846.30	40.00	52000.00
0280	6114500000-N	SP	SPECIALIZED HAND MOWING	500 MHR	38.00	19000.00	40.00	20000.00	37.00	18500.00
0281	6117000000-N	SP	RESPONSE FOR EROS CONTROL	300 EA	10.00	3000.00	1.00	300.00	105.00	31500.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.			
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA			
0282	6120000000-E	SP	CULVERT DIVERSION CHANNEL	450	CY	90.00	40500.00	7.351	3307.95	45.00	20250.00
0283	6123000000-E		1670 REFORESTATION	40	ACR	610.00	24400.00	1000.00	40000.00	735.00	29400.00
0284	7000000000-E	1705	PEDEST SIG HEAD (***** (16", 1 SECTION W/ COUNTDOWN)	32	EA	530.00	16960.00	500.00	16000.00	525.00	16800.00
0285	7060000000-E	1705	SIGNAL CABLE	30,330	LF	0.80	24264.00	0.75	22747.50	0.80	24264.00
0286	7120000000-E	1705	VEHICLE SIGNAL HD (12", 3 SECT)	187	EA	600.00	112200.00	560.00	104720.00	588.00	109956.00
0287	7132000000-E	1705	VEHICLE SIGNAL HD (12", 4 SECT)	13	EA	715.00	9295.00	675.00	8775.00	709.00	9217.00
0288	7144000000-E	1705	VEHICLE SIGNAL HD (12", 5 SECT)	13	EA	940.00	12220.00	892.00	11596.00	937.00	12181.00
0289	7252000000-E	1710	MESSENGER CABLE (1/4")	6,596	LF	1.55	10223.80	1.50	9894.00	1.60	10553.60
0290	7264000000-E	1710	MESSENGER CABLE (3/8")	12,270	LF	3.20	39264.00	3.00	36810.00	3.15	38650.50
0291	7279000000-E	1715	TRACER WIRE	23,685	LF	0.50	11842.50	0.45	10658.25	0.50	11842.50
0292	7300000000-E	1715	UNPAVED TRENCH (***** (1, 2")	13,810	LF	5.30	73193.00	5.00	69050.00	5.25	72502.50
0293	7300000000-E	1715	UNPAVED TRENCH (***** (2, 2")	22,578	LF	6.40	144499.20	6.00	135468.00	6.30	142241.40
0294	7301000000-E	1715	DIRECT DRILL (***** (1, 2")	510	LF	16.00	8160.00	15.00	7650.00	15.80	8058.00
0295	7301000000-E	1715	DIRECT DRILL (***** (2, 2")	1,067	LF	22.00	23474.00	20.00	21340.00	21.00	22407.00
0296	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	53	EA	360.00	19080.00	340.00	18020.00	357.00	18921.00
0297	7348000000-N	1716	JUNCTION BOX (OVER-SIZED, HVY-DUTY)	45	EA	510.00	22950.00	481.00	21645.00	505.00	22725.00
0298	7360000000-N	1720	WOOD POLE	61	EA	1100.00	67100.00	1000.00	61000.00	1050.00	64050.00
0299	7372000000-N	1721	GUY ASSEMBLY	143	EA	530.00	75790.00	500.00	71500.00	525.00	75075.00
0300	7384000000-E	1722	**** RISER WITH ***** (1-1/4", WEATHERHEAD)	2	EA	160.00	320.00	150.00	300.00	158.00	316.00
0301	7396000000-E	1722	1/2" RISER WITH WEATHERHEAD	4	EA	130.00	520.00	125.00	500.00	131.00	524.00
0302	7408000000-E	1722	1" RISER WITH WEATHERHEAD	13	EA	130.00	1690.00	125.00	1625.00	131.00	1703.00
0303	7420000000-E	1722	2" RISER WITH WEATHERHEAD	56	EA	210.00	11760.00	200.00	11200.00	210.00	11760.00
0304	7432000000-E	1722	2" RISER WITH TUBING	4	EA	343.00	1372.00	325.00	1300.00	340.00	1360.00
0305	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	35,850	LF	6.50	233025.00	6.00	215100.00	6.30	225855.00
0306	7456000000-E	1726	LEAD-IN CABLE(***** (14-2)	85,650	LF	1.06	90789.00	1.00	85650.00	1.05	89932.50
0307	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (24)	7,000	LF	1.30	9100.00	1.20	8400.00	1.25	8750.00
0308	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (72)	24,816	LF	1.85	45909.60	1.75	43428.00	1.80	44668.80
0309	7528000000-E	1730	DROP CABLE	2,621	LF	1.20	3145.20	1.10	2883.10	1.15	3014.15
0310	7540000000-N	1731	SPLICE ENCLOSURE	6	EA	1200.00	7200.00	1150.00	6900.00	1208.00	7248.00
0311	7552000000-N	1731	INTERCONNECT CENTER	6	EA	1300.00	7800.00	1225.00	7350.00	1287.00	7222.00
0312	7566000000-N	1733	DELINEATOR MARKER	29	EA	90.00	2610.00	85.00	2465.00	89.00	2581.00
0313	7575142000-N	SP	900MHZ WIRELESS RADIO SYSTEM	2	EA	4750.00	9500.00	4500.00	9000.00	4700.00	9400.00
0314	7575160000-E	1734	REM EXT COMM CABLE	6,000	LF	1.05	6300.00	1.00	6000.00	1.05	6300.00
0315	7576000000-N	SP	METAL STRAIN SIGNAL POLE	36	EA	9200.00	331200.00	8444.00	303984.00	8800.00	316800.00
0316	7613000000-N	SP	SOIL TEST	36	EA	332.11	11955.96	1000.00	36000.00	1050.00	37800.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.			
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA			
0317	7614100000-E	SP	DRILLED PIER FOUND	306	CY	215.00	65790.00	200.00	61200.00	210.00	64260.00
0318	7624000000-N	1743	SIGNAL PEDESTAL WITH FOUND	7	EA	870.00	6090.00	825.00	5775.00	867.00	6069.00
0319	7680000000-N	1745	SIGN FOR SIGNALS	39	EA	265.00	10335.00	252.00	9828.00	265.00	10335.00
0320	7684000000-N	1750	SIGNAL CABINET FOUNDATION	9	EA	730.00	6570.00	690.00	6210.00	725.00	6525.00
0321	7756000000-N	1751	CONTLR WITH CBNT, 2070L BASE MTD	9	EA	13000.00	117000.00	11565.00	104085.00	12150.00	109350.00
0322	7768000000-N	1751	CONTLR WITH CBNT, 2070L POLE MTD	7	EA	12000.00	84000.00	10510.00	73570.00	11042.00	77294.00
0323	7780000000-N	1751	DETECTOR CARD (TYPE 2070L)	92	EA	111.00	10212.00	105.00	9660.00	110.00	10120.00
0324	7901000000-N	1753	CABINET BASE EXTENDER	9	EA	400.00	3600.00	375.00	3375.00	394.00	3546.00
0325	7912000000-N	1755	BEACON CNTRL ASSM & CBNT ***** (F3)	2	EA	5300.00	10600.00	5000.00	10000.00	5200.00	10400.00
0326	7948000000-N	SP	TRAFFIC SIGNAL REMOVAL	7	EA	1300.00	9100.00	1200.00	8400.00	1260.00	8820.00
0327	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 30' WOOD POLE	5	EA	1100.00	5500.00	1000.00	5000.00	1050.00	5250.00
0328	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 5/8" X 10' GROUNDING ELECTRODE	28	EA	80.00	2240.00	75.00	2100.00	79.00	2212.00
0329	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 60' WOOD POLE	4	EA	2325.00	9300.00	2200.00	8800.00	2300.00	9200.00
0330	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 900 MHZ WIRELESS ETHERNET RADIO	2	EA	3200.00	6400.00	3000.00	6000.00	3200.00	6400.00
0331	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CCTV ASSEMBLY	4	EA	4510.00	18040.00	4270.00	17080.00	4485.00	17940.00
0332	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CENTRAL ETHERNET SWITCH	1	EA	5600.00	5600.00	5280.15	5280.15	5550.00	5550.00
0333	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO DECODER	4	EA	3000.00	12000.00	2880.00	11520.00	3025.00	12100.00
0334	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO ENCODER	4	EA	3000.00	12000.00	2880.00	11520.00	3025.00	12100.00
0335	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) EQUIPMENT CABINET DISCONNECT	4	EA	2640.00	10560.00	2500.00	10000.00	2600.00	10400.00
0336	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD EQUIPMENT CABINET	4	EA	5520.00	22080.00	5225.00	20900.00	5500.00	22000.00
0337	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD ETHERNET SWITCH	4	EA	3510.00	14040.00	3325.00	13300.00	3490.00	13960.00
0338	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FUNISH WIRELESS LIGHTNING ARRESTOR	3	EA	264.00	792.00	250.00	750.00	263.00	789.00
0339	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FURNISH WIRELESS RADIO MODEM	2	EA	1950.00	3900.00	1850.00	3700.00	1944.00	3888.00
0340	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) LOCAL TRAFFIC SIGNAL SOFTWARE	4	EA	6335.00	25340.00	6000.00	24000.00	6300.00	25200.00
0341	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) METER BASE/DISCONNECT COMBIN- ATION PANEL	4	EA	2640.00	10560.00	2500.00	10000.00	2600.00	10400.00
0342	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) MODIFY SPLICE ENCLOSURE	2	EA	1100.00	2200.00	1000.00	2000.00	1050.00	2100.00
0343	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED FLASHER BEACON	3	EA	3200.00	9600.00	3000.00	9000.00	3150.00	9450.00
0344	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED SCHOOL FLASHER	4	EA	3200.00	12800.00	3000.00	12000.00	3150.00	12600.00
0345	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED FLASHER BEACON	6	EA	7900.00	47400.00	7500.00	45000.00	7880.00	47280.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.		
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA		
0346	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED, 900 MHZ WIRE- LESS ETHERNET REPEATER RADIO	2 EA	8900.00	17800.00	8400.00	16800.00	8830.00	17660.00
0347	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) #4 SOLID BARE COPPER GROUNDING CONDUCTOR	280 LF	1.05	294.00	1.00	280.00	1.05	294.00
0348	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #12 COPPER FEEDER CON- DUCTORS	358 LF	2.10	751.80	2.00	716.00	2.10	751.80
0349	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #3 COPPER SERVICE ENT- RANCE CONDUCTORS	66 LF	6.35	419.10	6.00	396.00	6.30	415.80
0350	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,656,635 CY	4.60	7620521.00			4.00	6626540.00
0351	0106000000-E	230	BORROW EXCAVATION	659,050 CY	1.00	659050.00			2.00	1318100.00
0352	1044000000-E	501	LIME TRTD SOIL (SLURRY)	136,010 SY	2.10	285621.00			1.95	265219.50
0353	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,380 TON	212.00	292560.00			210.00	289800.00
0354	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	130,100 TON	28.15	3662315.00			27.00	3512700.00
0355	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	5,210 TON	130.00	677300.00			129.00	672090.00
0356	1176000000-E	542	SOIL CEMENT BASE	229,960 SY	2.00	459920.00			1.90	436924.00
0357	1187000000-E	542	PC FOR SOIL CEMENT BASE	6,360 TON	130.00	826800.00			129.00	820440.00
0358	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,540 TON	30.00	76200.00			27.00	68580.00
0359	1209000000-E	543	ASPHALT CURING SEAL	96,620 GAL	3.30	318846.00			3.15	304353.00
0360	1491000000-E	610	ASP CONC BASE CRS B25.0C	185,400 TON	42.00	7786800.00			38.50	7137900.00
0361	1503000000-E	610	ASP CONC INTR CRS I19.0C	116,680 TON	43.00	5017240.00			39.30	4585524.00
0362	1523000000-E	610	ASP CONC SURF CRS S9.5C	102,500 TON	45.50	4663750.00			43.50	4458750.00
0363	1575000000-E	SP	ASP FOR PLANT MIX	22,230 TON	630.00	14004900.00			618.00	13738140.00
0364	1840000000-E	665	MILLED RUMBLE STRIPS	96,810 LF	0.20	19362.00			0.15	14521.50
0365	2099000000-E	816	SHOULDER DRAIN	10,360 LF	5.00	51800.00			5.00	51800.00
0366	2110000000-E	816	4" SHOULDER DRAIN PIPE	10,360 LF	2.00	20720.00			1.30	13468.00
0367	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	670 LF	11.00	7370.00			6.30	4221.00
0368	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	15 EA	250.00	3750.00			263.00	3945.00
0369	4685000000-E	1205	THERMO PVT MKG LINES 4"90	174,271 LF	0.70	121989.70			0.65	113276.15
0370	4686000000-E	1205	THERMO PVT MKG LINES 4"120	103,293 LF	0.80	82634.40			0.75	77469.75
0371	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	76,731 LF	0.83	63686.73			0.80	61384.80
0372	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	12,228 LF	0.94	11494.32			0.90	11005.20
0373	4700000000-E	1205	12"WIDE THERMO 90 MILS	6,519 LF	2.90	18905.10			2.75	17927.25
0374	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	1,112 LF	1.80	2001.60			1.75	1946.00
0375	4775000000-E	1205	6" COLD APPL PLSTIC LINES TYPE ** (II)	1,965 LF	2.30	4519.50			2.15	4224.75
0376	4880000000-E	1205	CURING COMP REMOVAL LINES	3,077 LF	1.10	3384.70			1.10	3384.70
0377	4885000000-N	1205	CURING COMPD REMOVAL SYMB	5 EA	55.00	275.00			53.00	265.00
0378	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,537,084 CY			8.00	12296672.00		
0379	0106000000-E	230	BORROW EXCAVATION	717,390 CY			2.75	1972822.50		
0380	1044000000-E	501	LIME TRTD SOIL (SLURRY)	118,310 SY			2.50	295775.00		
0381	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,200 TON			150.00	180000.00		

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC		ZACHRY CONSTRUCTION CORPORATION		W. C. ENGLISH, INC.	
		MAYFIELD, NY		SAN ANTONIO, TX		LYNCHBURG, VA	
0382	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	19,000	TON	35.00	665000.00
0383	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	760	TON	120.00	91200.00
0384	1176000000-E	542	SOIL CEMENT BASE	188,680	SY	3.00	566040.00
0385	1187000000-E	542	PC FOR SOIL CEMENT BASE	5,220	TON	120.00	626400.00
0386	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,030	TON	35.00	71050.00
0387	1209000000-E	543	ASPHALT CURING SEAL	83,520	GAL	4.00	334080.00
0388	1491000000-E	610	ASP CONC BASE CRS B25.0C	133,200	TON	29.00	3862800.00
0389	1503000000-E	610	ASP CONC INTR CRS I19.0C	74,860	TON	33.00	2470380.00
0390	1523000000-E	610	ASP CONC SURF CRS S9.5C	62,650	TON	35.00	2192750.00
0391	1525000000-E	610	ASP CONC SURF CRS SF9.5A	9,120	TON	37.00	337440.00
0392	1575000000-E	SP	ASP FOR PLANT MIX	16,630	TON	592.92	9860259.60
0393	1682000000-E	652	ASPH DRAINAGE CO, P-57	16,690	TON	47.00	784430.00
0394	1840000000-E	665	MILLED RUMBLE STRIPS	6,770	LF	0.48	3249.60
0395	1847000000-E	710	*****PCC PVMT THRU LNS (11-1/2")	182,150	SY	34.00	6193100.00
0396	1869000000-E	710	*****PCC PVMT MISC (11-1/2")	52,160	SY	25.00	1304000.00
0397	1869000000-E	710	*****PCC PVMT MISC (8-1/2")	62,020	SY	22.00	1364440.00
0398	1881000000-E	SP	GENERIC PAVING ITEM (LF) MILLED RUMBLE STRIPS (CONCRETESHOLDER)	90,050	LF	0.30	27015.00
0399	1902000000-N	710	SURF TEST CONC PAVEMENT	Lump Sum			15000.00
0400	1924000000-N	725	FIELD LAB RENTAL, PCCP	Lump Sum			60714.74
0401	2099000000-E	816	SHOULDER DRAIN	47,610	LF	4.75	226147.50
0402	2110000000-E	816	4" SHOULDER DRAIN PIPE	47,610	LF	1.25	59512.50
0403	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	2,540	LF	6.00	15240.00
0404	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	50	EA	250.00	12500.00
0405	4685000000-E	1205	THERMO PVT MKG LINES 4"90	160,029	LF	0.75	120021.75
0406	4686000000-E	1205	THERMO PVT MKG LINES 4"120	101,453	LF	0.95	96380.35
0407	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	1,391	LF	0.95	1321.45
0408	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	390	LF	1.05	409.50
0409	4700000000-E	1205	12"WIDE THERMO 90 MILS	945	LF	2.00	1890.00
0410	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	17,182	LF	1.10	18900.20
0411	4847100000-E	1205	POLYUREA LINES (6" *****) (HIGHLY REFLECTIVE ELEMENTS)	87,725	LF	1.65	144746.25
0412	4847120000-E	1205	POLYUREA LINES (12" *****) (HIGHLY REFLECTIVE ELEMENTS)	6,037	LF	3.25	19620.25
0413	4880000000-E	1205	CURING COMP REMOVAL LINES	111,239	LF	0.25	27809.75
0414	4885000000-N	1205	CURING COMPD REMOVAL SYMB	51	EA	50.00	2550.00
CULVERT ITEMS							
0415	8056000000-N	402	REMV EXIST STR ***** (56+36.00-L-)	Lump Sum	10000.00	6000.00	10000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC			ZACHRY CONSTRUCTION CORPORATION			W. C. ENGLISH, INC.		
		MAYFIELD, NY			SAN ANTONIO, TX			LYNCHBURG, VA		
0416	8056000000-N	402	REMV EXIST STR ***** (56+54.000-LREV-)	Lump Sum		40000.00	6000.00		10000.00	
0417	8056000000-N	402	REMV EXIST STR ***** (57+45.800-LREV-)	Lump Sum		10000.00	8000.00		10000.00	
0418	8126000000-N	414	CULV EXCAV @ ***** (168+50.00-L-)	Lump Sum		25000.00	13000.00		15000.00	
0419	8126000000-N	414	CULV EXCAV @ ***** (247+02.00-L-)	Lump Sum		50000.00	29000.00		30000.00	
0420	8126000000-N	414	CULV EXCAV @ ***** (56+36.00-L-)	Lump Sum		50000.00	30000.00		30000.00	
0421	8126000000-N	414	CULV EXCAV @ ***** (56+54.000-LREV-)	Lump Sum		75000.00	40000.00		40000.00	
0422	8133000000-E	414	FND CONDIR MAT, BOX CULV	753 TON	40.00	30120.00	35.00	26355.00	35.00	26355.00
0423	8196000000-E	420	CLASS A CONCRETE (CULV)	1,629.5 CY	450.00	733275.00	380.00	619210.00	400.00	651800.00
0424	8245000000-E	425	REINF STEEL (CULVERT)	232,485 LB	1.00	232485.00	0.85	197612.25	0.90	209236.50
0425	8590000000-E	876	RIP RAP, CLASS ** (I)	40 TON	50.00	2000.00	55.00	2200.00	60.00	2400.00
0426	8804000000-N	SP	GENERIC CULVERT ITEM (LS) PEDESTRIAN CULVERT CONDUIT SYSTEM	Lump Sum		25000.00	10000.00		10000.00	
0427	8804000000-N	SP	GENERIC CULVERT ITEM (LS) PRECAST REINF CONC 3-SIDED CULVERT STA 57+45.800 -LREV-	Lump Sum		700000.00	420000.00		510000.00	
WALL ITEMS										
0428	8801000000-E	SP	MSE RETAIN WALLS	3,106 SF	100.00	310600.00	58.406	181409.04	88.00	273328.00
0429	8802014000-E	SP	SOLDIER PILE RETAINING WALLS	150 SF	200.00	30000.00	134.718	20207.70	345.00	51750.00
0430	8847000000-E	SP	GENERIC RET WALL ITEM (SF) SOUND BARRIER WALL	91,406 SF	25.00	2285150.00	30.00	2742180.00	26.75	2445110.50
STRUCTURE ITEMS										
0431	8017000000-N	SP	CM&R TEMP ACCESS ***** (134+30.00-L-LT)	Lump Sum		50000.00	84797.65		50000.00	
0432	8017000000-N	SP	CM&R TEMP ACCESS ***** (134+30.00-L-RT)	Lump Sum		250000.00	196699.70		85000.00	
0433	8017000000-N	SP	CM&R TEMP ACCESS ***** (24+37.000-LREV-LT)	Lump Sum		250000.00	12786.84		145000.00	
0434	8017000000-N	SP	CM&R TEMP ACCESS ***** (24+37.000-LREV-RT)	Lump Sum		50000.00	3090.92		50000.00	
0435	8035000000-N	402	REMV EXIST STR ***** (114+28.00-L-)	Lump Sum		150000.00	32332.83		60000.00	
0436	8035000000-N	402	REMV EXIST STR ***** (120+38.50-L-)	Lump Sum		50000.00	26391.88		70000.00	
0437	8035000000-N	402	REMV EXIST STR ***** (134+30.00-L-LT)	Lump Sum		300000.00	109451.06		90000.00	
0438	8035000000-N	402	REMV EXIST STR ***** (24+37.000-LREV-RT)	Lump Sum		100000.00	22607.97		50000.00	
0439	8035000000-N	402	REMV EXIST STR ***** (45+30.610-LREV-RT)	Lump Sum		100000.00	45525.00		77000.00	
0440	8091000000-N	410	FND EXCAV B** STA ***** (1,20+06.118-LREV-)	Lump Sum		20000.00	7412.40		18000.00	

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC		ZACHRY CONSTRUCTION CORPORATION		W. C. ENGLISH, INC.				
		MAYFIELD, NY		SAN ANTONIO, TX		LYNCHBURG, VA				
0441	8091000000-N	410	FND EXCAV B** STA ***** (1,70+09.407-LREV-)	Lump Sum	20000.00	7349.40	15000.00			
0442	8096000000-E	SP	PILE EXCAVATION IN SOIL	687 LF	135.00	92745.00	42.171	28971.48	57.00	39159.00
0443	8105560000-E	SP	4'-0" DRILLD PIER IN SOIL	198.1 LF	710.00	140651.00	174.92	34651.65	263.00	52100.30
0444	8105660000-E	SP	4'-0" DRILLD PIER NO SOIL	85.3 LF	1200.00	102360.00	980.123	83604.49	1210.00	103213.00
0445	8108000000-E	SP	***-*** DIA DRILLD PIERS (4'-6")	842.9 LF	1100.00	927190.00	680.128	573279.89	855.00	720679.50
0446	8111000000-E	SP	PERM STL CASING FOR ** PIER (4'-6")	127.3 LF	355.00	45191.50	315.00	40099.50	332.00	42263.60
0447	8111600000-E	SP	PERM STL CASING FOR 4' PIER	85.3 LF	280.00	23884.00	243.00	20727.90	256.00	21836.80
0448	8113000000-N	SP	SID INSPECTION	9 EA	500.00	4500.00	684.00	6156.00	750.00	6750.00
0449	8114000000-N	SP	SPT TESTING	6 EA	600.00	3600.00	684.00	4104.00	750.00	4500.00
0450	8121000000-N	412	UNCL STR EXCAV STA ***** (134+30.00-L-LT)	Lump Sum	10000.00	4992.40				5100.00
0451	8121000000-N	412	UNCL STR EXCAV STA ***** (24+37.000-LREV-RT)	Lump Sum	50000.00	11340.00				25000.00
0452	8147000000-E	420	REINF CONCRETE DECK SLAB	104,338 SF	25.00	2608450.00	35.00	3651830.00	24.71	2578191.98
0453	8161000000-E	420	GROOVING BRIDGE FLOORS	109,757.2 SF	0.26	28536.87	0.25	27439.30	0.41	45000.45
0454	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	1,639 CY	450.00	737550.00	619.471	1015312.97	605.00	991595.00
0455	8210000000-N	422	BRG APPR SLAB ***** (11+43.200-SB US 220 RAMP-)	Lump Sum	30000.00	26867.46				42000.00
0456	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-LT)	Lump Sum	30000.00	26867.46				47000.00
0457	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-RT)	Lump Sum	30000.00	26867.46				47000.00
0458	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-LT)	Lump Sum	30000.00	26867.46				47000.00
0459	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-RT)	Lump Sum	30000.00	29313.73				47000.00
0460	8210000000-N	422	BRG APPR SLAB ***** (20+06.118-LREV-)	Lump Sum	30000.00	29936.97				44000.00
0461	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-LT)	Lump Sum	35000.00	36372.68				56000.00
0462	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-RT)	Lump Sum	50000.00	49768.74				90000.00
0463	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-LT)	Lump Sum	35000.00	31443.05				53000.00
0464	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-RT)	Lump Sum	35000.00	31274.00				53000.00
0465	8210000000-N	422	BRG APPR SLAB ***** (70+09.407-LREV-)	Lump Sum	50000.00	38912.04				70000.00
0466	8217000000-E	425	REINF STEEL (BRIDGE)	372,468 LB	1.00	372468.00	0.742	276371.26	0.93	346395.24
0467	8238000000-E	425	SPIRAL COL REINF STL BRG	47,117 LB	2.00	94234.00	1.117	52629.69	1.32	62194.44
0468	8262000000-E	430	45" PRESTR CONCRETE GIRDR	2,180.72 LF	180.00	392529.60	122.999	268226.38	182.00	396891.04
0469	8265000000-E	430	54" PRESTR CONCRETE GIRDR	4,926.21 LF	200.00	985242.00	148.967	733842.73	197.00	970463.37
0470	8280000000-E	440	STRUCTURAL STEEL	Lump Sum	3138000.00	3300000.00				1785000.00
0471	8364000000-E	SP	HP12X53 PILES	7,941 LF	42.00	333522.00	53.878	427845.20	48.00	381168.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		TETRA TECH CONSTRUCTION INC				ZACHRY CONSTRUCTION CORPORATION		W. C. ENGLISH, INC.		
		MAYFIELD, NY				SAN ANTONIO, TX		LYNCHBURG, VA		
0472	8365000000-E	SP	HP12X53 GALV PILES	280 LF	75.00	21000.00	79.811	22347.08	55.00	15400.00
0473	8384200000-E	SP	HP14X73 GALV PILES	1,015 LF	90.00	91350.00	83.447	84698.71	89.00	90335.00
0474	8391000000-N	SP	STEEL PILE POINTS	7 EA	1100.00	7700.00	74.90	524.30	160.00	1120.00
0475	8475000000-E	460	TWO BAR METAL RAIL	563.32 LF	42.00	23659.44	110.00	61965.20	150.00	84498.00
0476	8503000000-E	460	CONCRETE BARRIER RAIL	4,087.71 LF	65.00	265701.15	49.93	204099.36	49.00	200297.79
0477	8517000000-E	460	1'-2" X 2'-6" CONC PARAPET	593.32 LF	80.00	47465.60	94.238	55913.29	94.00	55772.08
0478	8531000000-E	462	4" SLOPE PROTECTION	2,761 SY	60.00	165660.00	42.879	118388.92	83.00	229163.00
0479	8608000000-E	876	RIP RAP II (2'-0")	3,477 TON	7.00	24339.00	49.038	170505.13	45.00	156465.00
0480	8622000000-E	876	FILTER FABRIC FOR DRAINAGE	3,848 SY	2.00	7696.00	1.193	4590.66	2.00	7696.00
0481	8650000000-N	SP	POT BEARINGS	Lump Sum		50000.00		51791.89		42000.00
0482	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		264000.00		179883.51		93000.00
0483	8692000000-N	SP	EVAZOTE JOINT SEALS	Lump Sum		60000.00		59582.70		66000.00
0484	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum		295000.00		247025.63		287000.00
0485	8727000000-N	SP	ELEC CONDUIT SYS ***** (114+28.00-L-LT)	Lump Sum		20000.00		9500.00		10000.00
0486	8727000000-N	SP	ELEC CONDUIT SYS ***** (134+30.00-L-LT)	Lump Sum		20000.00		9500.00		10000.00
0487	8727000000-N	SP	ELEC CONDUIT SYS ***** (24+37.000-LREV-RT)	Lump Sum		20000.00		8000.00		9000.00
0488	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) 30" CS PIPE, 0.168" THICK	43 LF	110.00	4730.00	95.506	4106.76	180.00	7740.00
0489	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) CSL TESTING	7 EA	1000.00	7000.00	11457.30	80201.10	2200.00	15400.00
		CONTRACT TOTAL			TOTAL	96195464.51	TOTAL	97917218.80	TOTAL	98233590.25
		ROADWAY ITEMS			SUB-TOTAL	78375879.35	SUB-TOTAL	80729059.03	SUB-TOTAL	82644221.66
		CULVERT ITEMS			SUB-TOTAL	1982880.00	SUB-TOTAL	1407377.25	SUB-TOTAL	1554791.50
		WALL ITEMS			SUB-TOTAL	2625750.00	SUB-TOTAL	2943796.74	SUB-TOTAL	2770188.50
		STRUCTURE ITEMS			SUB-TOTAL	13210955.16	SUB-TOTAL	12836985.78	SUB-TOTAL	11264388.59

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.	
		WILMINGTON, NC		MARIETTA, GA		WILSON, NC	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	5000000.00	5505834.00	6848591.28
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum	500875.00	531910.07	466800.00
0003	0001000000-E	200	CLEARING & GRUBBING	Lump Sum	3980000.00	6292463.76	3701598.00
0004	0008000000-E	200	SUPP CLEARING & GRUBBING	7 ACR	5500.00	38500.00	5000.00
0005	0015000000-N	205	SEALING ABANDONED WELLS	9 EA	2600.00	23400.00	2000.00
0006	0029000000-N	SP	REINF BRG APPR ***** (10+65.063 -Y10-)	Lump Sum	22000.00	44793.77	60000.00
0007	0029000000-N	SP	REINF BRG APPR ***** (11+43.200 US 220 SB RAMP)	Lump Sum	19000.00	33196.98	40000.00
0008	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-NB)	Lump Sum	15000.00	35748.20	20000.00
0009	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-SB)	Lump Sum	15000.00	31004.55	40000.00
0010	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-NB)	Lump Sum	14000.00	27642.85	40000.00
0011	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-SB)	Lump Sum	13000.00	26260.90	65000.00
0012	0029000000-N	SP	REINF BRG APPR ***** (16+24.670 US 220 SB RAMP)	Lump Sum	17000.00	33924.09	55000.00
0013	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- NBL)	Lump Sum	18000.00	50409.23	80000.00
0014	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- SBL)	Lump Sum	27000.00	37783.92	55000.00
0015	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- NBL)	Lump Sum	17000.00	35711.00	55000.00
0016	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- SBL)	Lump Sum	20000.00	35711.00	70000.00
0017	0036000000-E	225	UNDERCUT EXCAVATION	33,860 CY	4.10	138826.00	5.17
0018	0038000000-E	SP	SHALLOW UNDERCUT	8,300 CY	4.10	34030.00	7.60
0019	0080000000-E	SP	CLASS IV SUBGRD STABILIZATION	16,550 TON	23.50	388925.00	25.65
0020	0134000000-E	240	DRAINAGE DITCH EXCAVATION	18,200 CY	3.70	67340.00	7.38
0021	0141000000-E	240	BERM DITCH CONSTRUCTION	4,255 LF	2.50	10637.50	7.01
0022	0156000000-E	250	REMOVAL OF EXT ASPHALT PVMT	104,515 SY	2.80	292642.00	1.91
0023	0177000000-E	250	BREAKING OF EXT ASPH PVMT	40,940 SY	2.10	85974.00	0.75
0024	0192000000-N	260	PROOF ROLLING	120 HR	134.00	16080.00	55.34
0025	0195000000-E	SP	SELECT GRANULAR MATERIAL	29,320 CY	30.00	879600.00	47.68
0026	0196000000-E	270	SOIL STABILIZATION FABRIC	68,920 SY	1.00	68920.00	1.10
0027	0199000000-E	SP	TEMPORARY SHORING	18,509 SF	40.00	740360.00	47.06
0028	0220000000-E	SP	ROCK EMBANKMENTS	24,020 TON	12.50	300250.00	35.42
0029	0223000000-E	SP	ROCK PLATING	5,400 SY	44.00	237600.00	52.94
0030	0234000000-E	SP	GENERIC GRADING ITEM (CY) EXCAVATION AND STOCKPILING CONTAMINATED SOIL	100 CY	36.25	3625.00	19.53
0031	0241000000-E	SP	GENERIC GRADING ITEM (SY) FABRIC FOR EMBANKMENT STABILIZATION	1,675 SY	12.25	20518.75	10.04
0032	0241000000-E	SP	GENERIC GRADING ITEM (SY) FILTER FABRIC FOR ROCK EMBANK-MENT	11,650 SY	1.70	19805.00	1.05

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.		
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC		
0033	0248000000-N	SP	GENERIC GRADING ITEM (LS) SUBGRADE IMPROVEMENT FIELD TEST	Lump Sum		25400.00		19330.65	8016.00	
0034	0318000000-E	SP	FND CONDIR MATL MINOR STRS	6,140 TON	34.00	208760.00	35.29	216680.60	29.50	181130.00
0035	0320000000-E	SP	FND CONDIR FABRIC	19,210 SY	1.10	21131.00	2.35	45143.50	1.75	33617.50
0036	0342000000-E	SP	*** SIDE DRAIN PIPE (30")	3,100 LF	71.50	221650.00	46.35	143685.00	51.00	158100.00
0037	0342000000-E	SP	*** SIDE DRAIN PIPE (36")	180 LF	89.75	16155.00	82.90	14922.00	73.50	13230.00
0038	0343000000-E	SP	15" SIDE DRAIN PIPE	11,576 LF	36.50	422524.00	30.12	348669.12	30.00	347280.00
0039	0344000000-E	SP	18" SIDE DRAIN PIPE	6,924 LF	41.25	285615.00	31.36	217136.64	34.50	238878.00
0040	0345000000-E	SP	24" SIDE DRAIN PIPE	4,088 LF	54.75	223818.00	40.35	164950.80	43.00	175784.00
0041	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (15")	35 EA	68.75	2406.25	209.38	7328.30	180.00	6300.00
0042	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (18")	22 EA	108.00	2376.00	262.35	5771.70	230.00	5060.00
0043	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (24")	10 EA	173.00	1730.00	329.60	3296.00	330.00	3300.00
0044	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (36")	2 EA	635.00	1270.00	440.63	881.26	520.00	1040.00
0045	0360000000-E	SP	12" RC PIPE CULV III	16 LF	55.75	892.00	59.21	947.36	27.00	432.00
0046	0366000000-E	SP	15" RC PIPE CULV III	4,264 LF	28.50	121524.00	30.62	130563.68	28.50	121524.00
0047	0372000000-E	SP	18" RC PIPE CULV III	5,000 LF	31.50	157500.00	34.55	172750.00	32.00	160000.00
0048	0378000000-E	SP	24" RC PIPE CULV III	2,748 LF	43.00	118164.00	46.48	127727.04	40.00	109920.00
0049	0384000000-E	SP	30" RC PIPE CULV III	1,424 LF	53.75	76540.00	50.32	71655.68	50.00	71200.00
0050	0390000000-E	SP	36" RC PIPE CULV III	668 LF	67.75	45257.00	58.27	38924.36	63.50	42418.00
0051	0396000000-E	SP	42" RC PIPE CULV III	368 LF	99.25	36524.00	74.05	27250.40	79.00	29072.00
0052	0402000000-E	SP	48" RC PIPE CULV III	292 LF	119.00	34748.00	98.14	28656.88	95.50	27886.00
0053	0408000000-E	SP	54" RC PIPE CULV III	1,052 LF	193.00	203036.00	99.11	104263.72	138.00	145176.00
0054	0420000000-E	SP	66" RC PIPE CULV III	240 LF	218.00	52320.00	168.75	40500.00	220.00	52800.00
0055	0448000000-E	SP	**** RCP CULV CLASS IV (48")	112 LF	117.00	13104.00	98.43	11024.16	102.00	11424.00
0056	0448200000-E	SP	15" RCP CULV CLASS IV	8,420 LF	33.25	279965.00	38.75	326275.00	29.50	248390.00
0057	0448300000-E	SP	18" RCP CULV CLASS IV	1,196 LF	32.00	38272.00	40.97	49000.12	33.50	40066.00
0058	0448400000-E	SP	24" RCP CULV CLASS IV	804 LF	42.75	34371.00	46.34	37257.36	43.00	34572.00
0059	0448500000-E	SP	30" RCP CULV CLASS IV	452 LF	59.50	26894.00	56.38	25483.76	53.00	23956.00
0060	0448600000-E	SP	36" RCP CULV CLASS IV	344 LF	71.25	24510.00	65.53	22542.32	68.00	23392.00
0061	0448700000-E	SP	42" RCP CULV CLASS IV	380 LF	99.00	37620.00	81.02	30787.60	85.00	32300.00
0062	0453000000-E	SP	*** PIPE END SECTION (15")	2 EA	692.00	1384.00	682.95	1365.90	640.00	1280.00
0063	0546000000-E	SP	*** CAA PIPE CLVT ***** (18", 0.064")	176 LF	57.25	10076.00	73.17	12877.92	51.50	9064.00
0064	0546000000-E	SP	*** CAA PIPE CLVT ***** (72", 0.168")	136 LF	358.00	48688.00	314.58	42782.88	388.00	52768.00
0065	0576000000-E	SP	*** CS PIPE CULV ***** (36", 0.079")	120 LF	91.25	10950.00	102.78	12333.60	83.50	10020.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

						BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.	
						WILMINGTON, NC		MARIETTA, GA		WILSON, NC	
0066	0576000000-E	SP	*** CS PIPE CULV ***** (48", 0.109")	32	LF	178.00	5696.00	142.39	4556.48	125.00	4000.00
0067	0576000000-E	SP	*** CS PIPE CULV ***** (72", 0.168")	160	LF	294.00	47040.00	263.47	42155.20	325.00	52000.00
0068	0582000000-E	SP	15" CS PIPE CULV 0.064"	1,852	LF	41.25	76395.00	46.34	85821.68	39.50	73154.00
0069	0588000000-E	SP	18" CS PIPE CULV 0.064"	160	LF	52.25	8360.00	52.85	8456.00	45.50	7280.00
0070	0600000000-E	SP	30" CS PIPE CULV 0.079"	240	LF	78.00	18720.00	124.99	29997.60	70.50	16920.00
0071	0636000000-E	SP	*** CS ELBOW ***** THICK (15", 0.064")	31	EA	121.00	3751.00	193.41	5995.71	180.00	5580.00
0072	0636000000-E	SP	*** CS ELBOW ***** THICK (18", 0.064")	7	EA	147.00	1029.00	262.41	1836.87	230.00	1610.00
0073	0636000000-E	SP	*** CS ELBOW ***** THICK (30", 0.079")	4	EA	312.00	1248.00	391.52	1566.08	395.00	1580.00
0074	0636000000-E	SP	*** CS ELBOW ***** THICK (36", 0.079")	2	EA	377.00	754.00	440.63	881.26	520.00	1040.00
0075	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (18", 0.5", B)	96	LF	213.00	20448.00	171.22	16437.12	192.50	18480.00
0076	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (24", 0.5", B)	260	LF	236.00	61360.00	202.59	52673.40	230.00	59800.00
0077	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (36", 0.5", B)	340	LF	321.00	109140.00	278.51	94693.40	313.50	106590.00
0078	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (42", 0.625", B)	172	LF	417.00	71724.00	341.94	58813.68	385.00	66220.00
0079	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (54", 0.75", B)	108	LF	705.00	76140.00	630.53	68097.24	650.00	70200.00
0080	0973300000-E	SP	***WLD STL PIPE GRAD NOT IN SOIL (42", 0.625", B)	50	LF	1000.00	50000.00	906.94	45347.00	995.50	49775.00
0081	0986000000-E	SP	GENERIC PIPE ITEM (LF) 15" CS SLOTTED DRAIN, 0.064" THICK	88	LF	185.00	16280.00	123.34	10853.92	101.00	8888.00
0082	0992000000-E	SP	GENERIC PIPE ITEM (EA) 15" FLAP GATE	1	EA	2600.00	2600.00	2619.28	2619.28	2575.00	2575.00
0083	0995000000-E	340	PIPE REMOVAL	11,545	LF	6.20	71579.00	14.99	173059.55	10.00	115450.00
0084	0996000000-N	350	PIPE CLEAN-OUT	12	EA	2700.00	32400.00	725.44	8705.28	1500.00	18000.00
0085	1000000000-E	462	6" SLOPE PROTECTION	510	SY	60.00	30600.00	75.00	38250.00	57.50	29325.00
0086	1011000000-N	500	FINE GRADING		Lump Sum		465800.00		756701.83		780944.50
0087	1077000000-E	SP	#57 STONE	10,050	TON	30.75	309037.50	30.66	308133.00	30.75	309037.50
0088	1110000000-E	510	STABILIZER AGGREGATE	500	TON	29.50	14750.00	54.82	27410.00	34.00	17000.00
0089	1121000000-E	520	AGGREGATE BASE COURSE	46,700	TON	32.50	1517750.00	29.32	1369244.00	27.25	1272575.00
0090	1220000000-E	545	INCIDENTAL STONE BASE	6,310	TON	27.25	171947.50	27.51	173588.10	27.25	171947.50
0091	1275000000-E	600	PRIME COAT	15,000	GAL	2.92	43800.00	3.25	48750.00	3.00	45000.00
0092	1489000000-E	610	ASP CONC BASE CRS B25.0B	11,080	TON	41.07	455055.60	42.65	472562.00	41.50	459820.00
0093	1498000000-E	610	ASP CONC INTR CRS I19.0B	7,280	TON	41.56	302556.80	42.60	310128.00	42.00	305760.00
0094	1519000000-E	610	ASP CONC SURF CRS S9.5B	25,690	TON	42.42	1089769.80	42.30	1086687.00	42.75	1098247.50
0095	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	640	TON	200.00	128000.00	100.00	64000.00	137.50	88000.00
0096	2000000000-N	806	RIGHT OF WAY MARKERS	390	EA	156.00	60840.00	77.26	30131.40	98.00	38220.00
0097	2022000000-E	SP	SUBDRAIN EXCAVATION	4,915	CY	10.00	49150.00	10.00	49150.00	10.00	49150.00
0098	2033000000-E	SP	SUBDRAIN FINE AGGREGATE	2,460	CY	37.50	92250.00	37.50	92250.00	37.50	92250.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.			
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC			
0099	2044000000-E	SP	6" PERF SUBDRN PIPE	14,830	LF	4.00	59320.00	4.00	59320.00	4.00	59320.00
0100	2070000000-N	SP	SUBDRN PIPE OUTLETS	31	EA	250.00	7750.00	250.00	7750.00	250.00	7750.00
0101	2077000000-E	SP	6" OUTLET PIPE (SUBDRNS)	204	LF	20.00	4080.00	20.00	4080.00	20.00	4080.00
0102	2143000000-E	818	BLOTTING SAND	55	TON	41.75	2296.25	47.66	2621.30	20.75	1141.25
0103	2209000000-E	838	ENDWALLS	83.8	CY	1200.00	100560.00	376.14	31520.53	640.00	53632.00
0104	2220000000-E	838	REINFORCED ENDWALLS	42.5	CY	1300.00	55250.00	785.89	33400.33	915.00	38887.50
0105	2253000000-E	840	PIPE COLLARS	41.67	CY	543.00	22626.81	473.88	19746.58	800.00	33336.00
0106	2264000000-E	840	PIPE PLUGS	8.14	CY	1100.00	8954.00	287.47	2340.01	800.00	6512.00
0107	2275000000-E	SP	FLOWABLE FILL	686	CY	119.00	81634.00	187.82	128844.52	200.00	137200.00
0108	2286000000-N	840	MASNRY DRAINAGE STRUCT	475	EA	1300.00	617500.00	875.00	415625.00	1050.00	498750.00
0109	2297000000-E	840	MASNRY DRAINAGE STRUCT	52.18	CY	1200.00	62616.00	875.00	45657.50	850.00	44353.00
0110	2308000000-E	840	MASNRY DRAINAGE STRUCT	197.2	LF	227.00	44764.40	180.00	35496.00	200.00	39440.00
0111	2354000000-N	840	FRAME W/GRATE 840.22 STD	14	EA	371.00	5194.00	450.00	6300.00	254.00	3556.00
0112	2364000000-N	840	FRAME W/2GRTS 840.16 STD	51	EA	373.00	19023.00	450.00	22950.00	470.00	23970.00
0113	2364200000-N	840	FRAME W/2GRTS 840.20 STD	29	EA	371.00	10759.00	450.00	13050.00	441.00	12789.00
0114	2365000000-N	840	FRAME W/2GRTS 840.22 STD	206	EA	273.00	56238.00	450.00	92700.00	425.00	87550.00
0115	2366000000-N	840	FRAME W/2GRTS 840.24 STD	18	EA	379.00	6822.00	450.00	8100.00	418.00	7524.00
0116	2367000000-N	840	FRAME W/2GRTS 840.29 STD	75	EA	371.00	27825.00	450.00	33750.00	431.00	32325.00
0117	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	7	EA	426.00	2982.00	450.00	3150.00	504.00	3528.00
0118	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	32	EA	426.00	13632.00	450.00	14400.00	525.00	16800.00
0119	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	33	EA	452.00	14916.00	450.00	14850.00	525.00	17325.00
0120	2396000000-N	840	FRAME W/COVER STD 840.54	31	EA	266.00	8246.00	450.00	13950.00	340.00	10540.00
0121	2440000000-N	852	CONC TRANS SECT FOR CATCH BASIN	5	EA	250.00	1250.00	250.00	1250.00	250.00	1250.00
0122	2451000000-N	852	CONC TRANS SECT FOR DROP INLET	51	EA	250.00	12750.00	250.00	12750.00	250.00	12750.00
0123	2462000000-E	SP	*** SLUICE GATE (25")	2	EA	3100.00	6200.00	3062.29	6124.58	3285.00	6570.00
0124	2462000000-E	SP	*** SLUICE GATE (38-3/4")	3	EA	6200.00	18600.00	5882.68	17648.04	6280.00	18840.00
0125	2472000000-N	840	GENERIC DRAINAGE ITEM (EA) 840 TEMPORARY CONCRETE LIDS	5	EA	572.00	2860.00	609.16	3045.80	600.00	3000.00
0126	2535000000-E	846	***X*** CONCRETE CURB (8" X 18")	2,280	LF	14.00	31920.00	14.00	31920.00	14.00	31920.00
0127	2542000000-E	846	1'-6"CONC CURB & GUTTER	21,740	LF	10.45	227183.00	10.45	227183.00	10.50	228270.00
0128	2549000000-E	846	2'-6"CONC CURB & GUTTER	14,060	LF	12.45	175047.00	12.45	175047.00	12.50	175750.00
0129	2556000000-E	846	SHOULDER BERM GUTTER	14,100	LF	11.90	167790.00	11.90	167790.00	12.00	169200.00
0130	2577000000-E	846	CONC EXPRESSWAY GUTTER	2,040	LF	17.90	36516.00	17.90	36516.00	18.00	36720.00
0131	2580000000-E	846	CONCRETE VALLEY GUTTER	370	LF	20.00	7400.00	20.00	7400.00	20.00	7400.00
0132	2591000000-E	848	4" CONCRETE SIDEWALK	6,860	SY	26.65	182819.00	26.65	182819.00	26.75	183505.00
0133	2612000000-E	848	6" CONCRETE DRIVEWAY	840	SY	32.50	27300.00	32.50	27300.00	32.50	27300.00
0134	2619000000-E	850	4" CONCRETE PAVED DITCH	250	SY	25.00	6250.00	25.00	6250.00	25.00	6250.00
0135	2627000000-E	852	4" CONC ISLAND COVERS	85	SY	30.00	2550.00	30.00	2550.00	30.00	2550.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

					BBI-TJL	C. W. MATTHEWS CONTRACTING CO., INC			PLT CONSTRUCTION CO., INC.		
					WILMINGTON, NC	MARIETTA, GA			WILSON, NC		
0136	2655000000-E	852	5" MONO CONC ISLDS (KEY IN)	20,890	SY	28.90	603721.00	28.90	603721.00	29.00	605810.00
0137	2724000000-E	857	PC REINF BARRIER SNGL FC	5,159	LF	85.00	438515.00	85.00	438515.00	85.00	438515.00
0138	2760000000-N	848	GENERIC PAVING ITEM 848 (EA) CONCRETE CURB RAMPS	44	EA	1090.00	47960.00	1090.00	47960.00	1090.00	47960.00
0139	2800000000-N	858	ADJ CATCH BASINS	3	EA	177.00	531.00	2000.00	6000.00	510.00	1530.00
0140	2830000000-N	858	ADJ MANHOLES	4	EA	176.00	704.00	1000.00	4000.00	450.00	1800.00
0141	3000000000-N	SP	IMPACT ATTEN TYPE 350	11	EA	11500.00	126500.00	14250.00	156750.00	10500.00	115500.00
0142	3030000000-E	862	STL BM GUARDRAIL	34,962.5	LF	14.50	506956.25	13.55	473741.88	14.00	489475.00
0143	3045000000-E	862	SBGR SHOP CURVED	862.5	LF	15.75	13584.38	14.55	12549.38	14.50	12506.25
0144	3105000000-N	862	SBGR TERM SECT	16	EA	50.00	800.00	30.00	480.00	50.00	800.00
0145	3150000000-N	862	ADDIT GUARDRAIL POSTS	20	EA	5.00	100.00	38.00	760.00	45.00	900.00
0146	3195000000-N	862	GR ANCHOR TYPE AT-1	11	EA	350.00	3850.00	245.00	2695.00	375.00	4125.00
0147	3210000000-N	862	GR ANCHOR TYPE CAT-1	30	EA	475.00	14250.00	440.00	13200.00	385.00	11550.00
0148	3215000000-N	862	GR ANCHOR TYPE III	8	EA	1200.00	9600.00	1200.00	9600.00	1400.00	11200.00
0149	3270000000-N	SP	GR ANCHOR TYPE 350	89	EA	1725.00	153525.00	1535.00	136615.00	1700.00	151300.00
0150	3285000000-N	SP	GR ANCHOR TYPE M-350	8	EA	1450.00	11600.00	1435.00	11480.00	1550.00	12400.00
0151	3317000000-N	862	GR ANCHOR TYPE B-77	49	EA	1350.00	66150.00	1425.00	69825.00	1300.00	63700.00
0152	3360000000-E	863	REMOVE EXISTING GUARDRAIL	6,366	LF	0.50	3183.00	0.50	3183.00	1.00	6366.00
0153	3380000000-E	862	TEMP STL BM GUARDRAIL	3,750	LF	7.00	26250.00	3.50	13125.00	4.00	15000.00
0154	3387000000-N	862	GDRL ANCH UNITS ***** TEMP (W-BEAM)	1	EA	250.00	250.00	3000.00	3000.00	800.00	800.00
0155	3389100000-N	SP	GDRL ANCH UNITS 350 TEMP	6	EA	600.00	3600.00	500.00	3000.00	600.00	3600.00
0156	3389400000-E	865	DBL FACED CABLE GUIDERAIL	21,400	LF	6.10	130540.00	6.20	132680.00	9.50	203300.00
0157	3389500000-N	SP	ADDITIONAL GUIDERAIL POSTS	10	EA	5.00	50.00	40.00	400.00	65.00	650.00
0158	3389600000-N	865	CBL GUIDERAIL ANCH UNIT	131	EA	1440.00	188640.00	1500.00	196500.00	50.00	6550.00
0159	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	95,220	LF	2.45	233289.00	2.15	204723.00	2.25	214245.00
0160	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	5,800	EA	14.00	81200.00	12.00	69600.00	12.00	69600.00
0161	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	1,870	EA	28.15	52640.50	18.00	33660.00	18.00	33660.00
0162	3536000000-E	866	CHN LK FENCE 48" FABRIC	1,310	LF	7.25	9497.50	6.85	8973.50	7.00	9170.00
0163	3542000000-E	866	MET LINE PST 48" CL FEN	112	EA	31.00	3472.00	32.00	3584.00	32.00	3584.00
0164	3548000000-E	866	MET TERM PST 48" CL FEN	10	EA	90.00	900.00	80.00	800.00	80.00	800.00
0165	3551000000-E	866	MET GATE PST *** CL FEN S (48")	6	EA	115.00	690.00	115.00	690.00	115.00	690.00
0166	3564000000-E	866	SGL GATE **HIGH, **WIDE, **OPEN (48", 16', 16')	6	EA	750.00	4500.00	600.00	3600.00	600.00	3600.00
0167	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	115	LF	15.00	1725.00	75.00	8625.00	75.00	8625.00
0168	3628000000-E	876	RIP RAP, CLASS I	2,530	TON	50.00	126500.00	47.23	119491.90	44.00	111320.00
0169	3635000000-E	876	RIP RAP, CLASS II	110	TON	50.00	5500.00	53.14	5845.40	45.00	4950.00
0170	3649000000-E	876	RIP RAP, CLASS B	5,690	TON	35.00	199150.00	42.83	243702.70	44.00	250360.00
0171	3656000000-E	876	FILTER FABRIC FOR DRAINAGE	43,320	SY	1.80	77976.00	2.82	122162.40	3.75	162450.00
0172	3659000000-N	SP	PREFORMED SCOUR HOLES	4	EA	2500.00	10000.00	1321.57	5286.28	1230.25	4921.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

					BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.	
					WILMINGTON, NC		MARIETTA, GA		WILSON, NC	
0173	3691000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) RIP RAP ENERGY DISSIPATOR	1 EA	3400.00	3400.00	3091.11	3091.11	3670.00	3670.00
0174	4048000000-E	902	REINF CONC FOUNDTN	8 CY	1200.00	9600.00	800.00	6400.00	700.00	5600.00
0175	4054000000-E	902	PLN CL A CONC FOUNDTN	2 CY	1200.00	2400.00	800.00	1600.00	700.00	1400.00
0176	4057000000-E	SP	OVERHEAD FOOTING	84 CY	1100.00	92400.00	1500.00	126000.00	1400.00	117600.00
0177	4060000000-E	903	SUPPORT, BREAKAWAY STL BM	5,793 LB	3.00	17379.00	4.30	24909.90	5.00	28965.00
0178	4066000000-E	903	SUPPORT, 3-LB STL U-CHAN	2,440 LB	2.00	4880.00	4.00	9760.00	5.00	12200.00
0179	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	6,928 LF	5.00	34640.00	4.95	34293.60	6.00	41568.00
0180	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (26+40 -L REV-)	Lump Sum		40000.00		28500.00		25000.00
0181	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (27+40 -L REV-)	Lump Sum		40000.00		38500.00		35000.00
0182	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (33+60 -L REV-)	Lump Sum		40000.00		33500.00		30000.00
0183	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (35+40 -L REV-)	Lump Sum		40000.00		33500.00		30000.00
0184	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (41+60 -L REV-)	Lump Sum		40000.00		30000.00		30000.00
0185	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (50+00 -L REV-)	Lump Sum		40000.00		35000.00		30000.00
0186	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (75+00 -L REV-)	Lump Sum		40000.00		31289.50		30000.00
0187	4096000000-N	904	SIGN ERECTION, TYPE D	26 EA	78.00	2028.00	100.00	2600.00	100.00	2600.00
0188	4102000000-N	904	SIGN ERECTION, TYPE E	412 EA	35.00	14420.00	55.00	22660.00	65.00	26780.00
0189	4108000000-N	904	SIGN ERECTION, TYPE F	90 EA	41.00	3690.00	100.00	9000.00	225.00	20250.00
0190	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (A)	10 EA	400.00	4000.00	350.00	3500.00	400.00	4000.00
0191	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (B)	3 EA	400.00	1200.00	350.00	1050.00	350.00	1050.00
0192	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (D)	23 EA	65.00	1495.00	100.00	2300.00	75.00	1725.00
0193	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	4 EA	65.00	260.00	50.00	200.00	60.00	240.00
0194	4152000000-N	907	DISPOSE SIGN SYST STL BM	2 EA	400.00	800.00	50.00	100.00	1.00	2.00
0195	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	307 EA	2.50	767.50	1.00	307.00	1.00	307.00
0196	4158000000-N	907	DISPOSE SIGN SYST WOOD	3 EA	17.50	52.50	1.00	3.00	1.00	3.00
0197	4192000000-N	907	DISPOSE SUPPORT, U-CHAN	27 EA	3.00	81.00	1.00	27.00	1.00	27.00
0198	4400000000-E	1110	WORK ZONE SIGNS (STAT)	793 SF	2.95	2339.35	4.18	3314.74	4.25	3370.25
0199	4405000000-E	1110	WORK ZONE SIGNS (PORT)	1,124 SF	5.50	6182.00	11.68	13128.32	39.25	44117.00
0200	4410000000-E	1110	WORK ZONE SIGNS (BARR)	2,705 SF	4.75	12848.75	4.98	13470.90	16.50	44632.50
0201	4415000000-N	1115	FLASHING ARROW PNL TYPE C	2 EA	3150.00	6300.00	12492.48	24984.96	5963.75	11927.50
0202	4422000000-N	1120	CHANGEABLE MESSAGE SIGN (SHORT TERM)	1,680 DAY	28.00	47040.00	48.05	80724.00	45.75	76860.00
0203	4430000000-N	1130	DRUMS	1,010 EA	41.50	41915.00	40.50	40905.00	56.00	56560.00
0204	4435000000-N	1135	CONES	200 EA	15.50	3100.00	13.18	2636.00	24.50	4900.00
0205	4445000000-E	1145	BARRICADES (TYPE III)	2,940 LF	26.50	77910.00	16.45	48363.00	323.25	950355.00
0206	4455000000-N	1150	FLAGGER	2,880 MD	138.00	397440.00	251.82	725241.60	273.75	788400.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.	
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC	
0207	4465000000-N	1160 TEMPORARY CRASH CUSHIONS	20 EA	4995.00	99900.00	6500.00	130000.00	6500.00	130000.00
0208	4470000000-N	1160 RESET CRASH CUSHION	6 EA	2380.00	14280.00	2500.00	15000.00	2500.00	15000.00
0209	4480000000-N	1165 TMIA	4 EA	12000.00	48000.00	8006.25	32025.00	9497.50	37990.00
0210	4485000000-E	1170 PORT CONC BARRIER	6,140 LF	22.50	138150.00	22.50	138150.00	22.50	138150.00
0211	4495000000-E	1170 PORT CONC BARRIER(DRAINGE	1,960 LF	22.50	44100.00	22.50	44100.00	22.50	44100.00
0212	4500000000-E	1170 RESET PORT CONC BARRIER	1,040 LF	3.25	3380.00	3.25	3380.00	3.25	3380.00
0213	4506000000-E	1170 RESET PORT CONC BARR,DRAIN	360 LF	3.25	1170.00	3.25	1170.00	3.25	1170.00
0214	4650000000-N	1251 TEMP RAISED PVMT MRKS	2,665 EA	4.80	12792.00	4.80	12792.00	4.00	10660.00
0215	4695000000-E	1205 THERMO PVT MKG LINES 8"90 MILS	9,689 LF	1.26	12208.14	1.26	12208.14	2.00	19378.00
0216	4697000000-E	1205 THERMO PVT MKG LINE 8"120 MILS	1,976 LF	1.42	2805.92	1.42	2805.92	2.25	4446.00
0217	4710000000-E	1205 24"WIDE THERMO 120 MILS	3,922 LF	5.10	20002.20	5.10	20002.20	9.00	35298.00
0218	4721000000-E	1205 THERMO PVT MKG CHARACTER 120	70 EA	105.00	7350.00	105.00	7350.00	85.00	5950.00
0219	4725000000-E	1205 THERMO PVT SYMBOL 90MILS	432 EA	85.00	36720.00	85.00	36720.00	95.00	41040.00
0220	4770000000-E	1205 4" COLD APPL PLSTIC LINES TYPE ** (IV)	5,560 LF	1.55	8618.00	1.55	8618.00	1.75	9730.00
0221	4810000000-E	1205 PAINT PVMT MARKINGS 4"	1,070,768 LF	0.10	107076.80	0.10	107076.80	0.25	267692.00
0222	4820000000-E	1205 PAINT PVMT MARKINGS 8"	11,368 LF	0.21	2387.28	0.21	2387.28	0.50	5684.00
0223	4835000000-E	1205 PAINT PVT MKG LINES 24"	6,480 LF	1.50	9720.00	1.50	9720.00	3.00	19440.00
0224	4840000000-N	1205 PAINT PVT MKG CHARACTER	4 EA	50.00	200.00	50.00	200.00	25.00	100.00
0225	4845000000-N	1205 PAINT PVT MKG SYMBOL	370 EA	45.00	16650.00	45.00	16650.00	25.00	9250.00
0226	4850000000-E	1205 LINE REMOVAL 4" WIDE	28,000 LF	0.65	18200.00	0.65	18200.00	0.25	7000.00
0227	4900000000-N	1251 PERM RAISED PVMT MARKERS	28 EA	4.80	134.40	4.80	134.40	4.00	112.00
0228	4905000000-N	1253 SNOWPLB PVMT MRKER	3,953 EA	22.00	86966.00	22.00	86966.00	25.00	98825.00
0229	4935000000-N	1267 FLEX DELINATR (CRYSTAL)	142 EA	32.00	4544.00	29.85	4238.70	30.00	4260.00
0230	4940000000-N	1267 FLEX DELINATR (YELLOW)	48 EA	32.00	1536.00	29.85	1432.80	30.00	1440.00
0231	4945000000-N	1267 FLEX DELINATR (CRY & RED)	20 EA	33.00	660.00	29.85	597.00	30.00	600.00
0232	4950000000-N	1267 FLEX DELINATR (YEL & RED)	20 EA	33.00	660.00	29.85	597.00	30.00	600.00
0233	5255000000-N	1413 PORTABLE LIGHTING	Lump Sum		1.00		90854.40		155841.00
0234	5325600000-E	1510 6" WATER LINE	214 LF	70.75	15140.50	60.00	12840.00	60.00	12840.00
0235	5325800000-E	1510 8" WATER LINE	361 LF	71.50	25811.50	75.00	27075.00	75.00	27075.00
0236	5326200000-E	1510 12" WATER LINE	99 LF	95.50	9454.50	120.00	11880.00	120.00	11880.00
0237	5546000000-E	1515 8" VALVE	2 EA	1600.00	3200.00	1110.00	2220.00	1110.00	2220.00
0238	5606000000-E	1515 2" BLOW OFF	2 EA	2600.00	5200.00	1750.00	3500.00	1750.00	3500.00
0239	5648000000-N	1515 RELOCATE WATER METER	1 EA	4500.00	4500.00	1000.00	1000.00	1000.00	1000.00
0240	5666000000-E	1515 FIRE HYDRANT	2 EA	3200.00	6400.00	3610.00	7220.00	3610.00	7220.00
0241	5672000000-N	1515 RELOCATE FIRE HYDRANT	10 EA	3000.00	30000.00	3240.00	32400.00	3240.00	32400.00
0242	5689000000-E	1515 GENERIC UTILITY ITEM (EA) 1515 ADJUSTMENT OF SEWER MANHOLES	8 EA	240.00	1920.00	540.00	4320.00	540.00	4320.00
0243	5804000000-E	1530 ABANDON 12" UTILITY PIPE	120 LF	23.00	2760.00	15.00	1800.00	15.00	1800.00
0244	5890000000-N	1510 GENERIC UTILITY ITEM (EA) 1510 ADJUSTMENT OF VALVE BOX	6 EA	60.50	363.00	400.00	2400.00	400.00	2400.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.			
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC			
0245	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY SEWER LINE SUPPORT	1	EA	5000.00	5000.00	5000.00	5000.00	5000.00	5000.00
0246	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY WATER LINE SUPPORT	1	EA	5000.00	5000.00	5000.00	5000.00	5000.00	5000.00
0247	6000000000-E	1605	TEMPORARY SILT FENCE	82,800	LF	1.45	120060.00	1.61	133308.00	1.50	124200.00
0248	6006000000-E	1610	EROS CONTRL STONE CL A	32,450	TON	27.50	892375.00	35.46	1150677.00	48.25	1565712.50
0249	6009000000-E	1610	EROS CONTRL STONE CL B	20,825	TON	28.50	593512.50	39.87	830292.75	49.25	1025631.25
0250	6012000000-E	1610	SEDIMENT CONTROL STONE	20,650	TON	26.15	539997.50	38.17	788210.50	44.75	924087.50
0251	6015000000-E	1615	TEMPORARY MULCHING	380	ACR	420.00	159600.00	419.00	159220.00	400.00	152000.00
0252	6018000000-E	1620	SEED FOR TEMP SEEDING	11,900	LB	2.50	29750.00	1.95	23205.00	2.00	23800.00
0253	6021000000-E	1620	FERT FOR TEMP SEEDING	52	TON	1250.00	65000.00	998.00	51896.00	1000.00	52000.00
0254	6024000000-E	1622	TEMPORARY SLOPE DRAINS	36,875	LF	4.60	169625.00	11.96	441025.00	14.00	516250.00
0255	6027000000-N	1622	INLET PROTCN @ SLOPE DRNS	260	EA	60.75	15795.00	156.39	40661.40	315.75	82095.00
0256	6029000000-E	SP	SAFETY FENCE	3,000	LF	1.50	4500.00	1.34	4020.00	1.00	3000.00
0257	6030000000-E	1630	SILT EXCAVATION	141,300	CY	0.01	1413.00	6.25	883125.00	4.25	600525.00
0258	6036000000-E	1631	MATTING FOR EROS CONTROL	352,200	SY	0.75	264150.00	1.19	419118.00	1.00	352200.00
0259	6037000000-E	SP	COIR FIBER MAT	17,970	SY	3.75	67387.50	6.15	110515.50	3.75	67387.50
0260	6038000000-E	SP	PERM SOIL REINF MAT	21,675	SY	6.25	135468.75	5.05	109458.75	6.25	135468.75
0261	6042000000-E	1632	1/4" HARDWARE CLOTH	29,500	LF	4.00	118000.00	3.09	91155.00	3.25	95875.00
0262	6045000000-E	SP	*** TEMPORARY PIPE (72")	170	LF	375.00	63750.00	190.41	32369.70	250.00	42500.00
0263	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	7,800	SY	16.00	124800.00	16.58	129324.00	15.00	117000.00
0264	6069000000-E	1638	STILLING BASINS	1,130	CY	8.50	9605.00	9.84	11119.20	25.00	28250.00
0265	6070000000-N	SP	SPECIAL STILLING BASINS	40	EA	311.00	12440.00	557.26	22290.40	500.00	20000.00
0266	6071012000-E	SP	COIR FIBER WATTLE	15,320	LF	8.70	133284.00	8.50	130220.00	8.75	134050.00
0267	6071020000-E	SP	POLYACRYLAMIDE (PAM)	16,700	LB	13.50	225450.00	8.95	149465.00	13.50	225450.00
0268	6071030000-E	SP	COIR FIBER BAFFLE	38,750	LF	4.35	168562.50	4.25	164687.50	4.00	155000.00
0269	6071050000-E	SP	*** SKIMMER (1-1/2")	60	EA	768.00	46080.00	629.57	37774.20	861.75	51705.00
0270	6071050000-E	SP	*** SKIMMER (2")	8	EA	826.00	6608.00	832.13	6657.04	994.00	7952.00
0271	6071050000-E	SP	*** SKIMMER (2-1/2")	5	EA	884.00	4420.00	885.51	4427.55	1154.50	5772.50
0272	6071050000-E	SP	*** SKIMMER (3")	4	EA	942.00	3768.00	938.88	3755.52	1315.75	5263.00
0273	6084000000-E	1660	SEEDING AND MULCHING	315	ACR	1700.00	535500.00	1479.00	465885.00	2393.75	754031.25
0274	6087000000-E	1660	MOWING	380	ACR	42.00	15960.00	41.00	15580.00	40.00	15200.00
0275	6090000000-E	1661	SEED FOR REPAIR SEEDING	7,520	LB	9.50	71440.00	6.79	51060.80	23.25	174840.00
0276	6093000000-E	1661	FERT FOR REPAIR SEEDING	16	TON	1200.00	19200.00	995.00	15920.00	2265.75	36252.00
0277	6096000000-E	1662	SEED FOR SUPP SEEDING	7,530	LB	1.40	10542.00	1.44	10843.20	1.50	11295.00
0278	6108000000-E	1665	FERTILIZER TOPDRESSING	225	TON	762.00	171450.00	975.00	219375.00	725.00	163125.00
0279	6111000000-E	SP	IMPERVIOUS DIKE	1,300	LF	50.25	65325.00	49.00	63700.00	35.00	45500.00
0280	6114500000-N	SP	SPECIALIZED HAND MOWING	500	MHR	40.00	20000.00	27.00	13500.00	38.00	19000.00
0281	6117000000-N	SP	RESPONSE FOR EROS CONTROL	300	EA	1.10	330.00	119.00	35700.00	1.00	300.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

					BBII-TJL	C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.		
					WILMINGTON, NC	MARIETTA, GA		WILSON, NC		
0282	6120000000-E	SP	CULVERT DIVERSION CHANNEL	450 CY	22.00	9900.00	8.00	3600.00	50.00	22500.00
0283	6123000000-E		1670 REFORESTATION	40 ACR	604.00	24160.00	799.00	31960.00	575.00	23000.00
0284	7000000000-E	1705	PEDEST SIG HEAD (***** (16", 1 SECTION W/ COUNTDOWN)	32 EA	500.00	16000.00	500.00	16000.00	500.00	16000.00
0285	7060000000-E	1705	SIGNAL CABLE	30,330 LF	0.75	22747.50	0.75	22747.50	0.75	22747.50
0286	7120000000-E	1705	VEHICLE SIGNAL HD (12", 3 SECT)	187 EA	560.00	104720.00	560.00	104720.00	560.00	104720.00
0287	7132000000-E	1705	VEHICLE SIGNAL HD (12", 4 SECT)	13 EA	675.00	8775.00	675.00	8775.00	675.00	8775.00
0288	7144000000-E	1705	VEHICLE SIGNAL HD (12", 5 SECT)	13 EA	892.00	11596.00	892.00	11596.00	892.00	11596.00
0289	7252000000-E	1710	MESSENGER CABLE (1/4")	6,596 LF	1.50	9894.00	1.50	9894.00	1.50	9894.00
0290	7264000000-E	1710	MESSENGER CABLE (3/8")	12,270 LF	3.00	36810.00	3.00	36810.00	3.00	36810.00
0291	7279000000-E	1715	TRACER WIRE	23,685 LF	0.45	10658.25	0.45	10658.25	0.50	11842.50
0292	7300000000-E	1715	UNPAVED TRENCH (***** (1, 2")	13,810 LF	5.00	69050.00	5.00	69050.00	5.00	69050.00
0293	7300000000-E	1715	UNPAVED TRENCH (***** (2, 2")	22,578 LF	6.00	135468.00	6.00	135468.00	6.00	135468.00
0294	7301000000-E	1715	DIRECT DRILL (***** (1, 2")	510 LF	15.00	7650.00	15.00	7650.00	15.00	7650.00
0295	7301000000-E	1715	DIRECT DRILL (***** (2, 2")	1,067 LF	20.00	21340.00	20.00	21340.00	20.00	21340.00
0296	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	53 EA	340.00	18020.00	340.00	18020.00	340.00	18020.00
0297	7348000000-N	1716	JUNCTION BOX (OVER-SIZED, HVY-DUTY)	45 EA	481.00	21645.00	481.00	21645.00	481.00	21645.00
0298	7360000000-N	1720	WOOD POLE	61 EA	1000.00	61000.00	1000.00	61000.00	1000.00	61000.00
0299	7372000000-N	1721	GUY ASSEMBLY	143 EA	500.00	71500.00	500.00	71500.00	500.00	71500.00
0300	7384000000-E	1722	**** RISER WITH ***** (1-1/4", WEATHERHEAD)	2 EA	150.00	300.00	150.00	300.00	150.00	300.00
0301	7396000000-E	1722	1/2" RISER WITH WEATHERHEAD	4 EA	125.00	500.00	125.00	500.00	125.00	500.00
0302	7408000000-E	1722	1" RISER WITH WEATHERHEAD	13 EA	125.00	1625.00	125.00	1625.00	125.00	1625.00
0303	7420000000-E	1722	2" RISER WITH WEATHERHEAD	56 EA	200.00	11200.00	200.00	11200.00	200.00	11200.00
0304	7432000000-E	1722	2" RISER WITH TUBING	4 EA	325.00	1300.00	325.00	1300.00	325.00	1300.00
0305	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	35,850 LF	6.00	215100.00	6.00	215100.00	6.00	215100.00
0306	7456000000-E	1726	LEAD-IN CABLE(***** (14-2)	85,650 LF	1.00	85650.00	1.00	85650.00	1.00	85650.00
0307	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (24)	7,000 LF	1.20	8400.00	1.20	8400.00	1.25	8750.00
0308	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (72)	24,816 LF	1.75	43428.00	1.75	43428.00	1.75	43428.00
0309	7528000000-E	1730	DROP CABLE	2,621 LF	1.10	2883.10	1.10	2883.10	1.25	3276.25
0310	7540000000-N	1731	SPLICE ENCLOSURE	6 EA	1150.00	6900.00	1150.00	6900.00	1150.00	6900.00
0311	7552000000-N	1731	INTERCONNECT CENTER	6 EA	1225.00	7350.00	1225.00	7350.00	1225.00	7350.00
0312	7566000000-N	1733	DELINEATOR MARKER	29 EA	85.00	2465.00	85.00	2465.00	85.00	2465.00
0313	7575142000-N	SP	900MHZ WIRELESS RADIO SYSTEM	2 EA	4500.00	9000.00	4500.00	9000.00	4500.00	9000.00
0314	7575160000-E	1734	REM EXT COMM CABLE	6,000 LF	1.00	6000.00	1.00	6000.00	1.00	6000.00
0315	7576000000-N	SP	METAL STRAIN SIGNAL POLE	36 EA	8444.00	303984.00	8444.00	303984.00	8444.00	303984.00
0316	7613000000-N	SP	SOIL TEST	36 EA	1000.00	36000.00	1000.00	36000.00	1000.00	36000.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

						BBII-TJL	C. W. MATTHEWS CONTRACTING CO., INC	PLT CONSTRUCTION CO., INC.			
						WILMINGTON, NC	MARIETTA, GA	WILSON, NC			
0317	7614100000-E	SP	DRILLED PIER FOUND	306	CY	200.00	61200.00	200.00	61200.00	200.00	61200.00
0318	7624000000-N	1743	SIGNAL PEDESTAL WITH FOUND	7	EA	825.00	5775.00	825.00	5775.00	825.00	5775.00
0319	7684000000-N	1745	SIGN FOR SIGNALS	39	EA	252.00	9828.00	252.00	9828.00	252.00	9828.00
0320	7684000000-N	1750	SIGNAL CABINET FOUNDATION	9	EA	690.00	6210.00	690.00	6210.00	690.00	6210.00
0321	7756000000-N	1751	CONTLR WITH CBNT, 2070L BASE MTD	9	EA	11565.00	104085.00	11565.00	104085.00	11565.00	104085.00
0322	7768000000-N	1751	CONTLR WITH CBNT, 2070L POLE MTD	7	EA	10510.00	73570.00	10510.00	73570.00	10510.00	73570.00
0323	7780000000-N	1751	DETECTOR CARD (TYPE 2070L)	92	EA	105.00	9660.00	105.00	9660.00	105.00	9660.00
0324	7901000000-N	1753	CABINET BASE EXTENDER	9	EA	375.00	3375.00	375.00	3375.00	375.00	3375.00
0325	7912000000-N	1755	BEACON CNTRL ASSM & CBNT ***** (F3)	2	EA	5000.00	10000.00	5000.00	10000.00	5000.00	10000.00
0326	7948000000-N	SP	TRAFFIC SIGNAL REMOVAL	7	EA	1200.00	8400.00	1200.00	8400.00	1200.00	8400.00
0327	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 30' WOOD POLE	5	EA	1000.00	5000.00	1000.00	5000.00	1000.00	5000.00
0328	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 5/8" X 10' GROUNDING ELECTRODE	28	EA	75.00	2100.00	75.00	2100.00	75.00	2100.00
0329	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 60' WOOD POLE	4	EA	2200.00	8800.00	2200.00	8800.00	2200.00	8800.00
0330	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 900 MHZ WIRELESS ETHERNET RADIO	2	EA	3000.00	6000.00	3000.00	6000.00	3000.00	6000.00
0331	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CCTV ASSEMBLY	4	EA	4270.00	17080.00	4270.00	17080.00	4270.00	17080.00
0332	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CENTRAL ETHERNET SWITCH	1	EA	5280.15	5280.15	5280.15	5280.15	5280.25	5280.25
0333	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO DECODER	4	EA	2880.00	11520.00	2880.00	11520.00	2880.00	11520.00
0334	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO ENCODER	4	EA	2880.00	11520.00	2880.00	11520.00	2880.00	11520.00
0335	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) EQUIPMENT CABINET DISCONNECT	4	EA	2500.00	10000.00	2500.00	10000.00	2500.00	10000.00
0336	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD EQUIPMENT CABINET	4	EA	5225.00	20900.00	5225.00	20900.00	5225.00	20900.00
0337	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD ETHERNET SWITCH	4	EA	3325.00	13300.00	3325.00	13300.00	3325.00	13300.00
0338	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FUNISH WIRELESS LIGHTNING ARRESTOR	3	EA	250.00	750.00	250.00	750.00	250.00	750.00
0339	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FURNISH WIRELESS RADIO MODEM	2	EA	1850.00	3700.00	1850.00	3700.00	1850.00	3700.00
0340	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) LOCAL TRAFFIC SIGNAL SOFTWARE	4	EA	6000.00	24000.00	6000.00	24000.00	6000.00	24000.00
0341	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) METER BASE/DISCONNECT COMBIN- ATION PANEL	4	EA	2500.00	10000.00	2500.00	10000.00	2500.00	10000.00
0342	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) MODIFY SPLICE ENCLOSURE	2	EA	1000.00	2000.00	1000.00	2000.00	1000.00	2000.00
0343	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED FLASHER BEACON	3	EA	3000.00	9000.00	3000.00	9000.00	3000.00	9000.00
0344	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED SCHOOL FLASHER	4	EA	3000.00	12000.00	3000.00	12000.00	3000.00	12000.00
0345	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED FLASHER BEACON	6	EA	7500.00	45000.00	7500.00	45000.00	7500.00	45000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.		
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC		
0346	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED, 900 MHZ WIRE- LESS ETHERNET REPEATER RADIO	2 EA	8400.00	16800.00	8400.00	16800.00	8400.00	16800.00
0347	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) #4 SOLID BARE COPPER GROUNDING CONDUCTOR	280 LF	1.00	280.00	1.00	280.00	1.00	280.00
0348	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #12 COPPER FEEDER CON- DUCTORS	358 LF	2.00	716.00	2.00	716.00	2.00	716.00
0349	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #3 COPPER SERVICE ENT- RANCE CONDUCTORS	66 LF	6.00	396.00	6.00	396.00	6.00	396.00
0350	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,656,635 CY	5.50	9111492.50	5.96	9873544.60	2.75	4555746.25
0351	0106000000-E	230	BORROW EXCAVATION	659,050 CY	0.01	6590.50	2.51	1654215.50	5.25	3460012.50
0352	1044000000-E	501	LIME TRTD SOIL (SLURRY)	136,010 SY	2.00	272020.00	2.06	280180.60	2.25	306022.50
0353	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,380 TON	176.00	242880.00	180.00	248400.00	180.00	248400.00
0354	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	130,100 TON	29.50	3837950.00	30.84	4012284.00	30.25	3935525.00
0355	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	5,210 TON	145.00	755450.00	110.63	576382.30	110.75	577007.50
0356	1176000000-E	542	SOIL CEMENT BASE	229,960 SY	1.35	310446.00	1.85	425426.00	2.00	459920.00
0357	1187000000-E	542	PC FOR SOIL CEMENT BASE	6,360 TON	145.00	922200.00	110.63	703606.80	110.75	704370.00
0358	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,540 TON	25.25	64135.00	25.00	63500.00	25.75	65405.00
0359	1209000000-E	543	ASPHALT CURING SEAL	96,620 GAL	3.00	289860.00	2.75	265705.00	2.75	265705.00
0360	1491000000-E	610	ASP CONC BASE CRS B25.0C	185,400 TON	38.19	7080426.00	37.45	6943230.00	38.50	7137900.00
0361	1503000000-E	610	ASP CONC INTR CRS I19.0C	116,680 TON	38.84	4531851.20	38.20	4457176.00	39.25	4579690.00
0362	1523000000-E	610	ASP CONC SURF CRS S9.5C	102,500 TON	41.60	4264000.00	42.25	4330625.00	42.00	4305000.00
0363	1575000000-E	SP	ASP FOR PLANT MIX	22,230 TON	588.53	13083021.90	600.00	13338000.00	593.00	13182390.00
0364	1840000000-E	665	MILLED RUMBLE STRIPS	96,810 LF	0.08	7744.80	0.20	19362.00	0.25	24202.50
0365	2099000000-E	816	SHOULDER DRAIN	10,360 LF	4.75	49210.00	4.75	49210.00	4.25	44030.00
0366	2110000000-E	816	4" SHOULDER DRAIN PIPE	10,360 LF	1.25	12950.00	1.25	12950.00	1.50	15540.00
0367	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	670 LF	6.00	4020.00	6.00	4020.00	10.00	6700.00
0368	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	15 EA	250.00	3750.00	250.00	3750.00	225.00	3375.00
0369	4685000000-E	1205	THERMO PVT MKG LINES 4"90	174,271 LF	0.63	109790.73	0.63	109790.73	0.75	130703.25
0370	4686000000-E	1205	THERMO PVT MKG LINES 4"120	103,293 LF	0.71	73338.03	0.71	73338.03	1.00	103293.00
0371	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	76,731 LF	0.75	57548.25	0.75	57548.25	1.00	76731.00
0372	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	12,228 LF	0.85	10393.80	0.85	10393.80	1.25	15285.00
0373	4700000000-E	1205	12"WIDE THERMO 90 MILS	6,519 LF	2.60	16949.40	2.60	16949.40	2.00	13038.00
0374	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	1,112 LF	1.65	1834.80	1.65	1834.80	1.50	1668.00
0375	4775000000-E	1205	6" COLD APPL PLSTIC LINES TYPE ** (II)	1,965 LF	2.05	4028.25	2.05	4028.25	1.75	3438.75
0376	4880000000-E	1205	CURING COMP REMOVAL LINES	3,077 LF	1.00	3077.00	1.00	3077.00	1.00	3077.00
0377	4885000000-N	1205	CURING COMPD REMOVAL SYMB	5 EA	50.00	250.00	50.00	250.00	50.00	250.00
0378	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,537,084 CY						
0379	0106000000-E	230	BORROW EXCAVATION	717,390 CY						
0380	1044000000-E	501	LIME TRTD SOIL (SLURRY)	118,310 SY						
0381	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,200 TON						

APR 03, 2012 02:36 PM

GUILFORD, ROCKINGHAM

TIP NO R-2309AB, R-2413C

34418.3.5, 34429.3.7

2:00 PM 27 / 61 001

FEB 21 2012 C200800
13.231 MI

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

BBI-TJL	C. W. MATTHEWS CONTRACTING CO., INC	PLT CONSTRUCTION CO., INC.
WILMINGTON, NC	MARIETTA, GA	WILSON, NC

0382	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	19,000	TON
0383	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	760	TON
0384	1176000000-E	542	SOIL CEMENT BASE	188,680	SY
0385	1187000000-E	542	PC FOR SOIL CEMENT BASE	5,220	TON
0386	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,030	TON
0387	1209000000-E	543	ASPHALT CURING SEAL	83,520	GAL
0388	1491000000-E	610	ASP CONC BASE CRS B25.0C	133,200	TON
0389	1503000000-E	610	ASP CONC INTR CRS I19.0C	74,860	TON
0390	1523000000-E	610	ASP CONC SURF CRS S9.5C	62,650	TON
0391	1525000000-E	610	ASP CONC SURF CRS SF9.5A	9,120	TON
0392	1575000000-E	SP	ASP FOR PLANT MIX	16,630	TON
0393	1682000000-E	652	ASPH DRAINAGE CO, P-57	16,690	TON
0394	1840000000-E	665	MILLED RUMBLE STRIPS	6,770	LF
0395	1847000000-E	710	*****PCC PVMT THRU LNS (11-1/2")	182,150	SY
0396	1869000000-E	710	*****PCC PVMT MISC (11-1/2")	52,160	SY
0397	1869000000-E	710	*****PCC PVMT MISC (8-1/2")	62,020	SY
0398	1881000000-E	SP	GENERIC PAVING ITEM (LF) MILLED RUMBLE STRIPS (CONCRETESHOLDER)	90,050	LF
0399	1902000000-N	710	SURF TEST CONC PAVEMENT	Lump Sum	
0400	1924000000-N	725	FIELD LAB RENTAL, PCCP	Lump Sum	
0401	2099000000-E	816	SHOULDER DRAIN	47,610	LF
0402	2110000000-E	816	4" SHOULDER DRAIN PIPE	47,610	LF
0403	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	2,540	LF
0404	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	50	EA
0405	4685000000-E	1205	THERMO PVT MKG LINES 4"90	160,029	LF
0406	4686000000-E	1205	THERMO PVT MKG LINES 4"120	101,453	LF
0407	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	1,391	LF
0408	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	390	LF
0409	4700000000-E	1205	12"WIDE THERMO 90 MILS	945	LF
0410	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	17,182	LF
0411	4847100000-E	1205	POLYUREA LINES (6" *****) (HIGHLY REFLECTIVE ELEMENTS)	87,725	LF
0412	4847120000-E	1205	POLYUREA LINES (12" *****) (HIGHLY REFLECTIVE ELEMENTS)	6,037	LF
0413	4880000000-E	1205	CURING COMP REMOVAL LINES	111,239	LF
0414	4885000000-N	1205	CURING COMPD REMOVAL SYMB	51	EA

CULVERT ITEMS

0415	8056000000-N	402	REMV EXIST STR ***** (56+36.00-L-)	Lump Sum	6000.00	23000.00	6000.00
------	--------------	-----	---------------------------------------	----------	---------	----------	---------

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

			BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.		
			WILMINGTON, NC		MARIETTA, GA		WILSON, NC		
0416	8056000000-N	402 REMV EXIST STR ***** (56+54.000-LREV-)	Lump Sum		6000.00		25000.00	6000.00	
0417	8056000000-N	402 REMV EXIST STR ***** (57+45.800-LREV-)	Lump Sum		8000.00		18000.00	8000.00	
0418	8126000000-N	414 CULV EXCAV @ ***** (168+50.00-L-)	Lump Sum		13000.00		8126.75	13000.00	
0419	8126000000-N	414 CULV EXCAV @ ***** (247+02.00-L-)	Lump Sum		29000.00		6095.08	29000.00	
0420	8126000000-N	414 CULV EXCAV @ ***** (56+36.00-L-)	Lump Sum		30000.00		8126.75	30000.00	
0421	8126000000-N	414 CULV EXCAV @ ***** (56+54.000-LREV-)	Lump Sum		40000.00		4063.38	40000.00	
0422	8133000000-E	414 FND CONDIR MAT, BOX CULV	753 TON	35.00	26355.00	35.00	26355.00	35.00 26355.00	
0423	8196000000-E	420 CLASS A CONCRETE (CULV)	1,629.5 CY	380.00	619210.00	415.00	676242.50	425.00 692537.50	
0424	8245000000-E	425 REINF STEEL (CULVERT)	232,485 LB	0.85	197612.25	0.89	206911.65	1.00 232485.00	
0425	8590000000-E	876 RIP RAP, CLASS ** (I)	40 TON	55.00	2200.00	61.74	2469.60	55.00 2200.00	
0426	8804000000-N	SP GENERIC CULVERT ITEM (LS) PEDESTRIAN CULVERT CONDUIT SYSTEM	Lump Sum		10000.00		8153.00	8153.00	
0427	8804000000-N	SP GENERIC CULVERT ITEM (LS) PRECAST REINF CONC 3-SIDED CULVERT STA 57+45.800 -LREV-	Lump Sum		420000.00		487000.00	430000.00	
WALL ITEMS									
0428	8801000000-E	SP MSE RETAIN WALLS	3,106 SF	153.06	475404.36	74.34	230900.04	75.00 232950.00	
0429	8802014000-E	SP SOLDIER PILE RETAINING WALLS	150 SF	241.42	36213.00	152.01	22801.50	305.00 45750.00	
0430	8847000000-E	SP GENERIC RET WALL ITEM (SF) SOUND BARRIER WALL	91,406 SF	25.00	2285150.00	22.32	2040181.92	24.00 2193744.00	
STRUCTURE ITEMS									
0431	8017000000-N	SP CM&R TEMP ACCESS ***** (134+30.00-L-LT)	Lump Sum		30000.00		132224.17	150000.00	
0432	8017000000-N	SP CM&R TEMP ACCESS ***** (134+30.00-L-RT)	Lump Sum		100000.00		132224.17	80000.00	
0433	8017000000-N	SP CM&R TEMP ACCESS ***** (24+37.000-LREV-LT)	Lump Sum		135000.00		32893.38	20000.00	
0434	8017000000-N	SP CM&R TEMP ACCESS ***** (24+37.000-LREV-RT)	Lump Sum		55000.00		16446.70	6000.00	
0435	8035000000-N	402 REMV EXIST STR ***** (114+28.00-L-)	Lump Sum		140000.00		53044.58	80000.00	
0436	8035000000-N	402 REMV EXIST STR ***** (120+38.50-L-)	Lump Sum		150000.00		74376.65	50000.00	
0437	8035000000-N	402 REMV EXIST STR ***** (134+30.00-L-LT)	Lump Sum		150000.00		160049.78	150000.00	
0438	8035000000-N	402 REMV EXIST STR ***** (24+37.000-LREV-RT)	Lump Sum		140000.00		97053.31	50000.00	
0439	8035000000-N	402 REMV EXIST STR ***** (45+30.610-LREV-RT)	Lump Sum		180000.00		204003.31	100000.00	
0440	8091000000-N	410 FND EXCAV B** STA ***** (1,20+06.118-LREV-)	Lump Sum		8000.00		6665.84	5000.00	

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				BBII-TJL		C. W. MATTHEWS CONTRACTING CO., INC		PLT CONSTRUCTION CO., INC.	
				WILMINGTON, NC		MARIETTA, GA		WILSON, NC	
0441	8091000000-N	410	FND EXCAV B** STA ***** (1,70+09.407-LREV-)	Lump Sum		15000.00		2907.97	5000.00
0442	8096000000-E	SP	PILE EXCAVATION IN SOIL	687 LF	25.00	17175.00	56.84	39049.08	200.00 137400.00
0443	8105560000-E	SP	4'-0" DRILLD PIER IN SOIL	198.1 LF	650.00	128765.00	219.92	43566.15	656.00 129953.60
0444	8105660000-E	SP	4'-0" DRILLD PIER NO SOIL	85.3 LF	1300.00	110890.00	1136.49	96942.60	1580.00 134774.00
0445	8108000000-E	SP	***-*** DIA DRILLD PIERS (4'-6")	842.9 LF	725.00	611102.50	759.18	639912.82	935.00 788111.50
0446	8111000000-E	SP	PERM STL CASING FOR ** PIER (4'-6")	127.3 LF	450.00	57285.00	315.00	40099.50	470.00 59831.00
0447	8111600000-E	SP	PERM STL CASING FOR 4' PIER	85.3 LF	325.00	27722.50	243.00	20727.90	320.00 27296.00
0448	8113000000-N	SP	SID INSPECTION	9 EA	600.00	5400.00	923.03	8307.27	600.00 5400.00
0449	8114000000-N	SP	SPT TESTING	6 EA	1000.00	6000.00	1040.81	6244.86	1000.00 6000.00
0450	8121000000-N	412	UNCL STR EXCAV STA ***** (134+30.00-L-LT)	Lump Sum		4000.00		6625.77	5000.00
0451	8121000000-N	412	UNCL STR EXCAV STA ***** (24+37.000-LREV-RT)	Lump Sum		7000.00		19877.31	60000.00
0452	8147000000-E	420	REINF CONCRETE DECK SLAB	104,338 SF	36.00	3756168.00	25.67	2678356.46	28.00 2921464.00
0453	8161000000-E	420	GROOVING BRIDGE FLOORS	109,757.2 SF	0.33	36219.88	0.74	81220.33	0.50 54878.60
0454	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	1,639 CY	950.00	1557050.00	813.24	1332900.36	1000.00 1639000.00
0455	8210000000-N	422	BRG APPR SLAB ***** (11+43.200-SB US 220 RAMP-)	Lump Sum		40000.00		36297.96	35000.00
0456	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-LT)	Lump Sum		32000.00		38280.83	35000.00
0457	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-RT)	Lump Sum		32000.00		38280.83	35000.00
0458	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-LT)	Lump Sum		32000.00		38280.83	35000.00
0459	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-RT)	Lump Sum		32000.00		38280.83	35000.00
0460	8210000000-N	422	BRG APPR SLAB ***** (20+06.118-LREV-)	Lump Sum		45000.00		36976.11	35000.00
0461	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-LT)	Lump Sum		42000.00		45450.68	40000.00
0462	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-RT)	Lump Sum		35000.00		71778.25	65000.00
0463	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-LT)	Lump Sum		42000.00		39691.62	40000.00
0464	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-RT)	Lump Sum		42000.00		39691.62	40000.00
0465	8210000000-N	422	BRG APPR SLAB ***** (70+09.407-LREV-)	Lump Sum		48000.00		56256.69	50000.00
0466	8217000000-E	425	REINF STEEL (BRIDGE)	372,468 LB	0.80	297974.40	0.83	309148.44	1.00 372468.00
0467	8238000000-E	425	SPIRAL COL REINF STL BRG	47,117 LB	1.20	56540.40	1.18	55598.06	1.25 58896.25
0468	8262000000-E	430	45" PRESTR CONCRETE GIRDR	2,180.72 LF	200.00	436144.00	143.29	312475.37	210.00 457951.20
0469	8265000000-E	430	54" PRESTR CONCRETE GIRDR	4,926.21 LF	145.00	714300.45	160.29	789622.20	260.75 1284509.26
0470	8280000000-E	440	STRUCTURAL STEEL	Lump Sum		4000000.00		2203997.82	3500000.00
0471	8364000000-E	SP	HP12X53 PILES	7,941 LF	65.00	516165.00	51.41	408246.81	40.25 319625.25

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

						BBII-TJL	C. W. MATTHEWS CONTRACTING CO., INC	PLT CONSTRUCTION CO., INC.			
						WILMINGTON, NC	MARIETTA, GA	WILSON, NC			
0472	8365000000-E	SP	HP12X53 GALV PILES	280 LF	70.00	19600.00	62.43	17480.40	58.00	16240.00	
0473	8384200000-E	SP	HP14X73 GALV PILES	1,015 LF	85.00	86275.00	83.02	84265.30	69.75	70796.25	
0474	8391000000-N	SP	STEEL PILE POINTS	7 EA	150.00	1050.00	156.11	1092.77	120.00	840.00	
0475	8475000000-E	460	TWO BAR METAL RAIL	563.32 LF	140.00	78864.80	153.06	86221.76	140.00	78864.80	
0476	8503000000-E	460	CONCRETE BARRIER RAIL	4,087.71 LF	50.00	204385.50	52.57	214890.91	65.00	265701.15	
0477	8517000000-E	460	1'-2" X 2'-6" CONC PARAPET	593.32 LF	60.00	35599.20	56.07	33267.45	68.00	40345.76	
0478	8531000000-E	462	4" SLOPE PROTECTION	2,761 SY	52.20	144124.20	61.12	168752.32	60.00	165660.00	
0479	8608000000-E	876	RIP RAP II (2'-0")	3,477 TON	55.00	191235.00	43.46	151110.42	50.00	173850.00	
0480	8622000000-E	876	FILTER FABRIC FOR DRAINAGE	3,848 SY	1.40	5387.20	2.52	9696.96	2.50	9620.00	
0481	8650000000-N	SP	POT BEARINGS	Lump Sum		35000.00		54221.04		55000.00	
0482	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		57000.00		162759.08		56000.00	
0483	8692000000-N	SP	EVAZOTE JOINT SEALS	Lump Sum		35000.00		70177.41		65000.00	
0484	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum		300000.00		247094.66		300000.00	
0485	8727000000-N	SP	ELEC CONDUIT SYS ***** (114+28.00-L-LT)	Lump Sum		9500.00		9500.00		9500.00	
0486	8727000000-N	SP	ELEC CONDUIT SYS ***** (134+30.00-L-LT)	Lump Sum		9500.00		9500.00		9500.00	
0487	8727000000-N	SP	ELEC CONDUIT SYS ***** (24+37.000-LREV-RT)	Lump Sum		8000.00		8000.00		8000.00	
0488	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) 30" CS PIPE, 0.168" THICK	43 LF	176.00	7568.00	151.62	6519.66	100.00	4300.00	
0489	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) CSL TESTING	7 EA	1160.00	8120.00	2453.81	17176.67	2000.00	14000.00	
CONTRACT TOTAL						TOTAL	99689782.68	TOTAL	104750881.62	TOTAL	105088521.90
ROADWAY ITEMS						SUB-TOTAL	80378527.04	SUB-TOTAL	89121652.42	SUB-TOTAL	86645570.78
CULVERT ITEMS						SUB-TOTAL	1407377.25	SUB-TOTAL	1499543.71	SUB-TOTAL	1523730.50
WALL ITEMS						SUB-TOTAL	2796767.36	SUB-TOTAL	2293883.46	SUB-TOTAL	2472444.00
STRUCTURE ITEMS						SUB-TOTAL	15107111.03	SUB-TOTAL	11835802.03	SUB-TOTAL	14446776.62

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC	
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC	
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum	5370000.00	5425000.00	5400000.00	
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum	728000.00	649500.00	1400000.00	
0003	0001000000-E	200	CLEARING & GRUBBING	Lump Sum	1247000.00	1814790.00	7900000.00	
0004	0008000000-E	200	SUPP CLEARING & GRUBBING	7 ACR	6500.00	45500.00	4600.00	56000.00
0005	0015000000-N	205	SEALING ABANDONED WELLS	9 EA	3000.00	27000.00	1725.00	11250.00
0006	0029000000-N	SP	REINF BRG APPR ***** (10+65.063 -Y10-)	Lump Sum	26000.00	55000.00		25000.00
0007	0029000000-N	SP	REINF BRG APPR ***** (11+43.200 US 220 SB RAMP)	Lump Sum	20000.00	55000.00		30000.00
0008	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-NB)	Lump Sum	19000.00	47000.00		24000.00
0009	0029000000-N	SP	REINF BRG APPR ***** (114+28.00-L-SB)	Lump Sum	20000.00	34000.00		28000.00
0010	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-NB)	Lump Sum	13000.00	34000.00		21000.00
0011	0029000000-N	SP	REINF BRG APPR ***** (134+30.00-L-SB)	Lump Sum	13000.00	34000.00		21000.00
0012	0029000000-N	SP	REINF BRG APPR ***** (16+24.670 US 220 SB RAMP)	Lump Sum	25000.00	55000.00		21000.00
0013	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- NBL)	Lump Sum	26000.00	70000.00		28000.00
0014	0029000000-N	SP	REINF BRG APPR ***** (24+37.000 -L REV- SBL)	Lump Sum	18000.00	47000.00		31000.00
0015	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- NBL)	Lump Sum	19000.00	45000.00		26000.00
0016	0029000000-N	SP	REINF BRG APPR ***** (45+30.610 -L REV- SBL)	Lump Sum	19000.00	45000.00		28000.00
0017	0036000000-E	225	UNDERCUT EXCAVATION	33,860 CY	8.00	270880.00	16.50	203160.00
0018	0038000000-E	SP	SHALLOW UNDERCUT	8,300 CY	12.50	103750.00	7.30	49800.00
0019	0080000000-E	SP	CLASS IV SUBGRD STABILIZATION	16,550 TON	26.00	430300.00	30.00	413750.00
0020	0134000000-E	240	DRAINAGE DITCH EXCAVATION	18,200 CY	7.00	127400.00	3.90	91000.00
0021	0141000000-E	240	BERM DITCH CONSTRUCTION	4,255 LF	5.00	21275.00	2.50	8510.00
0022	0156000000-E	250	REMOVAL OF EXT ASPHALT PVMT	104,515 SY	2.10	219481.50	4.00	240384.50
0023	0177000000-E	250	BREAKING OF EXT ASPH PVMT	40,940 SY	1.30	53222.00	1.20	73692.00
0024	0192000000-N	260	PROOF ROLLING	120 HR	70.00	8400.00	142.00	21600.00
0025	0195000000-E	SP	SELECT GRANULAR MATERIAL	29,320 CY	42.00	1231440.00	8.00	879600.00
0026	0196000000-E	270	SOIL STABILIZATION FABRIC	68,920 SY	3.00	206760.00	1.40	103380.00
0027	0199000000-E	SP	TEMPORARY SHORING	18,509 SF	45.00	832905.00	55.00	703342.00
0028	0220000000-E	SP	ROCK EMBANKMENTS	24,020 TON	38.00	912760.00	55.00	1032860.00
0029	0223000000-E	SP	ROCK PLATING	5,400 SY	55.00	297000.00	52.00	243000.00
0030	0234000000-E	SP	GENERIC GRADING ITEM (CY) EXCAVATION AND STOCKPILING CONTAMINATED SOIL	100 CY	65.00	6500.00	230.00	3000.00
0031	0241000000-E	SP	GENERIC GRADING ITEM (SY) FABRIC FOR EMBANKMENT STABILIZATION	1,675 SY	3.00	5025.00	4.80	2646.50
0032	0241000000-E	SP	GENERIC GRADING ITEM (SY) FILTER FABRIC FOR ROCK EMBANK-MENT	11,650 SY	3.00	34950.00	1.95	23300.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC			
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC			
0033	0248000000-N	SP	GENERIC GRADING ITEM (LS) SUBGRADE IMPROVEMENT FIELD TEST	Lump Sum		35000.00		31000.00		24091.83
0034	0318000000-E	SP	FND CONDIR MATL MINOR STRS	6,140 TON	11.00	67540.00	30.00	184200.00	30.00	184200.00
0035	0320000000-E	SP	FND CONDIR FABRIC	19,210 SY	1.30	24973.00	2.00	38420.00	1.52	29199.20
0036	0342000000-E	SP	*** SIDE DRAIN PIPE (30")	3,100 LF	40.00	124000.00	41.44	128464.00	41.67	129177.00
0037	0342000000-E	SP	*** SIDE DRAIN PIPE (36")	180 LF	65.00	11700.00	58.24	10483.20	56.92	10245.60
0038	0343000000-E	SP	15" SIDE DRAIN PIPE	11,576 LF	26.00	300976.00	25.20	291715.20	22.12	256061.12
0039	0344000000-E	SP	18" SIDE DRAIN PIPE	6,924 LF	30.00	207720.00	26.88	186117.12	24.44	169222.56
0040	0345000000-E	SP	24" SIDE DRAIN PIPE	4,088 LF	37.00	151256.00	31.36	128199.68	29.99	122599.12
0041	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (15")	35 EA	210.00	7350.00	263.20	9212.00	129.53	4533.55
0042	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (18")	22 EA	210.00	4620.00	364.00	8008.00	187.57	4126.54
0043	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (24")	10 EA	300.00	3000.00	700.00	7000.00	248.41	2484.10
0044	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (36")	2 EA	340.00	680.00	1120.00	2240.00	675.50	1351.00
0045	0360000000-E	SP	12" RC PIPE CULV III	16 LF	34.00	544.00	24.64	394.24	23.37	373.92
0046	0366000000-E	SP	15" RC PIPE CULV III	4,264 LF	28.00	119392.00	25.76	109840.64	22.30	95087.20
0047	0372000000-E	SP	18" RC PIPE CULV III	5,000 LF	28.00	140000.00	26.88	134400.00	24.70	123500.00
0048	0378000000-E	SP	24" RC PIPE CULV III	2,748 LF	40.00	109920.00	31.36	86177.28	30.24	83099.52
0049	0384000000-E	SP	30" RC PIPE CULV III	1,424 LF	43.00	61232.00	41.44	59010.56	42.13	59993.12
0050	0390000000-E	SP	36" RC PIPE CULV III	668 LF	60.00	40080.00	58.24	38904.32	53.85	35971.80
0051	0396000000-E	SP	42" RC PIPE CULV III	368 LF	74.00	27232.00	69.44	25553.92	69.84	25701.12
0052	0402000000-E	SP	48" RC PIPE CULV III	292 LF	93.00	27156.00	87.36	25509.12	91.86	26823.12
0053	0408000000-E	SP	54" RC PIPE CULV III	1,052 LF	105.00	110460.00	162.40	170844.80	124.29	130753.08
0054	0420000000-E	SP	66" RC PIPE CULV III	240 LF	150.00	36000.00	304.64	73113.60	218.69	52485.60
0055	0448000000-E	SP	**** RCP CULV CLASS IV (48")	112 LF	100.00	11200.00	120.96	13547.52	117.30	13137.60
0056	0448200000-E	SP	15" RCP CULV CLASS IV	8,420 LF	43.00	362060.00	28.00	235760.00	22.77	191723.40
0057	0448300000-E	SP	18" RCP CULV CLASS IV	1,196 LF	32.00	38272.00	29.12	34827.52	25.53	30533.88
0058	0448400000-E	SP	24" RCP CULV CLASS IV	804 LF	27.00	21708.00	33.60	27014.40	32.01	25736.04
0059	0448500000-E	SP	30" RCP CULV CLASS IV	452 LF	58.00	26216.00	43.68	19743.36	44.51	20118.52
0060	0448600000-E	SP	36" RCP CULV CLASS IV	344 LF	74.00	25456.00	60.48	20805.12	56.51	19439.44
0061	0448700000-E	SP	42" RCP CULV CLASS IV	380 LF	67.00	25460.00	74.48	28302.40	73.72	28013.60
0062	0453000000-E	SP	*** PIPE END SECTION (15")	2 EA	359.00	718.00	1401.13	2802.26	476.19	952.38
0063	0546000000-E	SP	*** CAA PIPE CLVT ***** (18", 0.064")	176 LF	29.00	5104.00	33.60	5913.60	37.30	6564.80
0064	0546000000-E	SP	*** CAA PIPE CLVT ***** (72", 0.168")	136 LF	136.00	18496.00	352.80	47980.80	325.05	44206.80
0065	0576000000-E	SP	*** CS PIPE CULV ***** (36", 0.079")	120 LF	61.00	7320.00	60.48	7257.60	60.73	7287.60

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC		VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC		
				FIRESTONE, CO		BECKLEY, WV		BURLINGTON, NC		
0066	0576000000-E	SP	*** CS PIPE CULV ***** (48", 0.109")	32 LF	112.00	3584.00	89.60	2867.20	97.53	3120.96
0067	0576000000-E	SP	*** CS PIPE CULV ***** (72", 0.168")	160 LF	136.00	21760.00	352.80	56448.00	267.80	42848.00
0068	0582000000-E	SP	15" CS PIPE CULV 0.064"	1,852 LF	24.00	44448.00	27.61	51133.72	28.51	52800.52
0069	0588000000-E	SP	18" CS PIPE CULV 0.064"	160 LF	36.00	5760.00	29.12	4659.20	31.91	5105.60
0070	0600000000-E	SP	30" CS PIPE CULV 0.079"	240 LF	45.00	10800.00	47.04	11289.60	54.17	13000.80
0071	0636000000-E	SP	*** CS ELBOW ***** THICK (15", 0.064")	31 EA	200.00	6200.00	336.00	10416.00	213.54	6619.74
0072	0636000000-E	SP	*** CS ELBOW ***** THICK (18", 0.064")	7 EA	200.00	1400.00	364.00	2548.00	269.76	1888.32
0073	0636000000-E	SP	*** CS ELBOW ***** THICK (30", 0.079")	4 EA	319.00	1276.00	560.00	2240.00	467.23	1868.92
0074	0636000000-E	SP	*** CS ELBOW ***** THICK (36", 0.079")	2 EA	319.00	638.00	784.00	1568.00	547.40	1094.80
0075	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (18", 0.5", B)	96 LF	220.00	21120.00	203.84	19568.64	165.00	15840.00
0076	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (24", 0.5", B)	260 LF	240.00	62400.00	246.40	64064.00	198.00	51480.00
0077	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (36", 0.5", B)	340 LF	350.00	119000.00	339.36	115382.40	275.00	93500.00
0078	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (42", 0.625", B)	172 LF	460.00	79120.00	414.40	71276.80	335.00	57620.00
0079	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (54", 0.75", B)	108 LF	750.00	81000.00	769.44	83099.52	625.00	67500.00
0080	0973300000-E	SP	***WLD STL PIPE GRAD NOT IN SOIL (42", 0.625", B)	50 LF	1150.00	57500.00	1103.20	55160.00	895.00	44750.00
0081	0986000000-E	SP	GENERIC PIPE ITEM (LF) 15" CS SLOTTED DRAIN, 0.064" THICK	88 LF	200.00	17600.00	95.20	8377.60	117.11	10305.68
0082	0992000000-E	SP	GENERIC PIPE ITEM (EA) 15" FLAP GATE	1 EA	3000.00	3000.00	1120.00	1120.00	2303.83	2303.83
0083	0995000000-E	340	PIPE REMOVAL	11,545 LF	16.00	184720.00	8.96	103443.20	8.79	101480.55
0084	0996000000-N	350	PIPE CLEAN-OUT	12 EA	1100.00	13200.00	560.00	6720.00	441.50	5298.00
0085	1000000000-E	462	6" SLOPE PROTECTION	510 SY	50.00	25500.00	76.02	38770.20	68.09	34725.90
0086	1011000000-N	500	FINE GRADING	Lump Sum		600000.00		2009000.00		3000000.00
0087	1077000000-E	SP	#57 STONE	10,050 TON	36.00	361800.00	36.96	371448.00	36.36	365418.00
0088	1110000000-E	510	STABILIZER AGGREGATE	500 TON	29.00	14500.00	34.40	17200.00	27.25	13625.00
0089	1121000000-E	520	AGGREGATE BASE COURSE	46,700 TON	29.00	1354300.00	27.66	1291722.00	27.25	1272575.00
0090	1220000000-E	545	INCIDENTAL STONE BASE	6,310 TON	42.00	265020.00	34.62	218452.20	35.00	220850.00
0091	1275000000-E	600	PRIME COAT	15,000 GAL	3.00	45000.00	2.92	43800.00	3.25	48750.00
0092	1489000000-E	610	ASP CONC BASE CRS B25.0B	11,080 TON	42.00	465360.00	41.07	455055.60	42.65	472562.00
0093	1498000000-E	610	ASP CONC INTR CRS I19.0B	7,280 TON	42.00	305760.00	41.56	302556.80	42.65	310492.00
0094	1519000000-E	610	ASP CONC SURF CRS S9.5B	25,690 TON	43.00	1104670.00	42.42	1089769.80	42.30	1086687.00
0095	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	640 TON	86.00	55040.00	300.00	192000.00	109.55	70112.00
0096	2000000000-N	806	RIGHT OF WAY MARKERS	390 EA	110.00	42900.00	114.42	44623.80	156.00	60840.00
0097	2022000000-E	SP	SUBDRAIN EXCAVATION	4,915 CY	12.00	58980.00	11.20	55048.00	10.60	52099.00
0098	2033000000-E	SP	SUBDRAIN FINE AGGREGATE	2,460 CY	42.00	103320.00	66.08	162556.80	35.00	86100.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC	VECELLIO & GROGAN INC	TRIANGLE GRADING & PAVING, INC					
				FIRESTONE, CO		BECKLEY, WV	BURLINGTON, NC				
0099	2044000000-E	SP	6" PERF SUBDRN PIPE	14,830	LF	4.50	66735.00	6.72	99657.60	5.12	75929.60
0100	2070000000-N	SP	SUBDRN PIPE OUTLETS	31	EA	270.00	8370.00	280.00	8680.00	250.00	7750.00
0101	2077000000-E	SP	6" OUTLET PIPE (SUBDRNS)	204	LF	22.00	4488.00	28.00	5712.00	10.14	2068.56
0102	2143000000-E	818	BLOTTING SAND	55	TON	32.00	1760.00	59.00	3245.00	29.63	1629.65
0103	2209000000-E	838	ENDWALLS	83.8	CY	240.00	20112.00	952.00	79777.60	747.00	62598.60
0104	2220000000-E	838	REINFORCED ENDWALLS	42.5	CY	240.00	10200.00	1400.00	59500.00	875.00	37187.50
0105	2253000000-E	840	PIPE COLLARS	41.67	CY	425.00	17709.75	672.00	28002.24	824.00	34336.08
0106	2264000000-E	840	PIPE PLUGS	8.14	CY	825.00	6715.50	504.00	4102.56	824.00	6707.36
0107	2275000000-E	SP	FLOWABLE FILL	686	CY	205.00	140630.00	177.76	121943.36	180.00	123480.00
0108	2286000000-N	840	MASNRY DRAINAGE STRUCT	475	EA	725.00	344375.00	1148.00	545300.00	1025.00	486875.00
0109	2297000000-E	840	MASNRY DRAINAGE STRUCT	52.18	CY	950.00	49571.00	1344.00	70129.92	925.00	48266.50
0110	2308000000-E	840	MASNRY DRAINAGE STRUCT	197.2	LF	160.00	31552.00	196.00	38651.20	206.23	40668.56
0111	2354000000-N	840	FRAME W/GRATE 840.22 STD	14	EA	160.00	2240.00	336.00	4704.00	300.00	4200.00
0112	2364000000-N	840	FRAME W/2GRTS 840.16 STD	51	EA	260.00	13260.00	358.40	18278.40	450.00	22950.00
0113	2364200000-N	840	FRAME W/2GRTS 840.20 STD	29	EA	260.00	7540.00	352.80	10231.20	450.00	13050.00
0114	2365000000-N	840	FRAME W/2GRTS 840.22 STD	206	EA	260.00	53560.00	319.20	65755.20	450.00	92700.00
0115	2366000000-N	840	FRAME W/2GRTS 840.24 STD	18	EA	260.00	4680.00	308.00	5544.00	450.00	8100.00
0116	2367000000-N	840	FRAME W/2GRTS 840.29 STD	75	EA	260.00	19500.00	319.20	23940.00	450.00	33750.00
0117	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	7	EA	260.00	1820.00	408.80	2861.60	450.00	3150.00
0118	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	32	EA	260.00	8320.00	435.93	13949.76	450.00	14400.00
0119	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	33	EA	260.00	8580.00	436.80	14414.40	450.00	14850.00
0120	2396000000-N	840	FRAME W/COVER STD 840.54	31	EA	260.00	8060.00	240.80	7464.80	350.00	10850.00
0121	2440000000-N	852	CONC TRANS SECT FOR CATCH BASIN	5	EA	460.00	2300.00	224.00	1120.00	370.00	1850.00
0122	2451000000-N	852	CONC TRANS SECT FOR DROP INLET	51	EA	460.00	23460.00	224.00	11424.00	350.00	17850.00
0123	2462000000-E	SP	*** SLUICE GATE (25")	2	EA	2650.00	5300.00	5432.00	10864.00	3144.19	6288.38
0124	2462000000-E	SP	*** SLUICE GATE (38-3/4")	3	EA	5250.00	15750.00	14000.00	42000.00	6481.59	19444.77
0125	2472000000-N	840	GENERIC DRAINAGE ITEM (EA) 840 TEMPORARY CONCRETE LIDS	5	EA	325.00	1625.00	672.00	3360.00	500.00	2500.00
0126	2535000000-E	846	***X*** CONCRETE CURB (8" X 18")	2,280	LF	17.00	38760.00	10.98	25034.40	11.00	25080.00
0127	2542000000-E	846	1'-6"CONC CURB & GUTTER	21,740	LF	13.00	282620.00	12.94	281315.60	11.00	239140.00
0128	2549000000-E	846	2'-6"CONC CURB & GUTTER	14,060	LF	15.00	210900.00	15.70	220742.00	13.50	189810.00
0129	2556000000-E	846	SHOULDER BERM GUTTER	14,100	LF	17.00	239700.00	14.43	203463.00	12.00	169200.00
0130	2577000000-E	846	CONC EXPRESSWAY GUTTER	2,040	LF	21.00	42840.00	24.73	50449.20	23.50	47940.00
0131	2580000000-E	846	CONCRETE VALLEY GUTTER	370	LF	20.00	7400.00	18.98	7022.60	11.00	4070.00
0132	2591000000-E	848	4" CONCRETE SIDEWALK	6,860	SY	26.00	178360.00	29.21	200380.60	25.00	171500.00
0133	2612000000-E	848	6" CONCRETE DRIVEWAY	840	SY	32.00	26880.00	54.91	46124.40	40.00	33600.00
0134	2619000000-E	850	4" CONCRETE PAVED DITCH	250	SY	37.00	9250.00	56.06	14015.00	40.00	10000.00
0135	2627000000-E	852	4" CONC ISLAND COVERS	85	SY	37.00	3145.00	43.30	3680.50	35.00	2975.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC				
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC				
0136	2655000000-E	852	5" MONO CONC ISLDS (KEY IN)	20,890	SY	27.00	564030.00	37.84	790477.60	35.00	731150.00
0137	2724000000-E	857	PC REINF BARRIER SNGL FC	5,159	LF	46.00	237314.00	60.54	312325.86	67.00	345653.00
0138	2760000000-N	848	GENERIC PAVING ITEM 848 (EA) CONCRETE CURB RAMPS	44	EA	600.00	26400.00	914.25	40227.00	1000.00	44000.00
0139	2800000000-N	858	ADJ CATCH BASINS	3	EA	520.00	1560.00	884.61	2653.83	650.00	1950.00
0140	2830000000-N	858	ADJ MANHOLES	4	EA	520.00	2080.00	560.26	2241.04	1000.00	4000.00
0141	3000000000-N	SP	IMPACT ATTEN TYPE 350	11	EA	12500.00	137500.00	15761.42	173375.62	11500.00	126500.00
0142	3030000000-E	862	STL BM GUARDRAIL	34,962.5	LF	16.00	559400.00	15.82	553106.75	15.00	524437.50
0143	3045000000-E	862	SBGR SHOP CURVED	862.5	LF	16.00	13800.00	16.99	14653.88	15.50	13368.75
0144	3105000000-N	862	SBGR TERM SECT	16	EA	105.00	1680.00	35.03	560.48	100.00	1600.00
0145	3150000000-N	862	ADDIT GUARDRAIL POSTS	20	EA	35.00	700.00	44.37	887.40	32.00	640.00
0146	3195000000-N	862	GR ANCHOR TYPE AT-1	11	EA	425.00	4675.00	286.04	3146.44	400.00	4400.00
0147	3210000000-N	862	GR ANCHOR TYPE CAT-1	30	EA	450.00	13500.00	513.71	15411.30	425.00	12750.00
0148	3215000000-N	862	GR ANCHOR TYPE III	8	EA	1450.00	11600.00	1401.02	11208.16	1400.00	11200.00
0149	3270000000-N	SP	GR ANCHOR TYPE 350	89	EA	1900.00	169100.00	1792.13	159499.57	1800.00	160200.00
0150	3285000000-N	SP	GR ANCHOR TYPE M-350	8	EA	1650.00	13200.00	1675.38	13403.04	1550.00	12400.00
0151	3317000000-N	862	GR ANCHOR TYPE B-77	49	EA	1600.00	78400.00	1663.71	81521.79	1400.00	68600.00
0152	3360000000-E	863	REMOVE EXISTING GUARDRAIL	6,366	LF	1.05	6684.30	0.58	3692.28	1.00	6366.00
0153	3380000000-E	862	TEMP STL BM GUARDRAIL	3,750	LF	5.25	19687.50	4.09	15337.50	5.00	18750.00
0154	3387000000-N	862	GDRL ANCH UNITS ***** TEMP (W-BEAM)	1	EA	850.00	850.00	3502.54	3502.54	800.00	800.00
0155	3389100000-N	SP	GDRL ANCH UNITS 350 TEMP	6	EA	650.00	3900.00	583.76	3502.56	600.00	3600.00
0156	3389400000-E	865	DBL FACED CABLE GUIDERAIL	21,400	LF	11.00	235400.00	7.24	154936.00	10.50	224700.00
0157	3389500000-N	SP	ADDITIONAL GUIDERAIL POSTS	10	EA	70.00	700.00	46.70	467.00	65.00	650.00
0158	3389600000-N	865	CBL GUIDERAIL ANCH UNIT	131	EA	52.00	6812.00	1751.27	229416.37	50.00	6550.00
0159	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	95,220	LF	2.20	209484.00	2.51	239002.20	2.15	204723.00
0160	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	5,800	EA	13.00	75400.00	14.01	81258.00	12.00	69600.00
0161	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	1,870	EA	19.00	35530.00	21.02	39307.40	18.00	33660.00
0162	3536000000-E	866	CHN LK FENCE 48" FABRIC	1,310	LF	7.50	9825.00	8.00	10480.00	6.85	8973.50
0163	3542000000-E	866	MET LINE PST 48" CL FEN	112	EA	35.00	3920.00	37.36	4184.32	32.00	3584.00
0164	3548000000-E	866	MET TERM PST 48" CL FEN	10	EA	85.00	850.00	93.40	934.00	80.00	800.00
0165	3551000000-E	866	MET GATE PST *** CL FEN S (48")	6	EA	120.00	720.00	134.27	805.62	115.00	690.00
0166	3564000000-E	866	SGL GATE **HIGH, **WIDE, **OPEN (48", 16', 16')	6	EA	650.00	3900.00	700.51	4203.06	600.00	3600.00
0167	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	115	LF	80.00	9200.00	87.56	10069.40	75.00	8625.00
0168	3628000000-E	876	RIP RAP, CLASS I	2,530	TON	64.00	161920.00	50.00	126500.00	45.50	115115.00
0169	3635000000-E	876	RIP RAP, CLASS II	110	TON	80.00	8800.00	60.00	6600.00	45.50	5005.00
0170	3649000000-E	876	RIP RAP, CLASS B	5,690	TON	72.00	409680.00	55.50	315795.00	45.50	258895.00
0171	3656000000-E	876	FILTER FABRIC FOR DRAINAGE	43,320	SY	3.50	151620.00	3.00	129960.00	1.50	64980.00
0172	3659000000-N	SP	PREFORMED SCOUR HOLES	4	EA	2000.00	8000.00	2240.00	8960.00	1950.00	7800.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC		VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC		
				FIRESTONE, CO		BECKLEY, WV		BURLINGTON, NC		
0173	3691000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) RIP RAP ENERGY DISSIPATOR	1 EA	5000.00	5000.00	5304.03	5304.03	3683.14	3683.14
0174	4048000000-E	902	REINF CONC FOUNDTN	8 CY	750.00	6000.00	821.43	6571.44	700.00	5600.00
0175	4054000000-E	902	PLN CL A CONC FOUNDTN	2 CY	750.00	1500.00	821.43	1642.86	700.00	1400.00
0176	4057000000-E	SP	OVERHEAD FOOTING	84 CY	1500.00	126000.00	1642.86	138000.24	1400.00	117600.00
0177	4060000000-E	903	SUPPORT, BREAKAWAY STL BM	5,793 LB	5.50	31861.50	5.87	34004.91	5.00	28965.00
0178	4066000000-E	903	SUPPORT, 3-LB STL U-CHAN	2,440 LB	5.50	13420.00	5.87	14322.80	5.00	12200.00
0179	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	6,928 LF	6.50	45032.00	7.04	48773.12	6.00	41568.00
0180	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (26+40 -L REV-)	Lump Sum		27000.00		29336.73		25000.00
0181	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (27+40 -L REV-)	Lump Sum		38000.00		41071.43		35000.00
0182	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (33+60 -L REV-)	Lump Sum		33000.00		35204.08		30000.00
0183	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (35+40 -L REV-)	Lump Sum		33000.00		35204.08		30000.00
0184	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (41+60 -L REV-)	Lump Sum		33000.00		35204.08		30000.00
0185	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (50+00 -L REV-)	Lump Sum		33000.00		35204.08		30000.00
0186	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (75+00 -L REV-)	Lump Sum		33000.00		35204.08		30000.00
0187	4096000000-N	904	SIGN ERECTION, TYPE D	26 EA	110.00	2860.00	117.35	3051.10	100.00	2600.00
0188	4102000000-N	904	SIGN ERECTION, TYPE E	412 EA	70.00	28840.00	76.28	31427.36	65.00	26780.00
0189	4108000000-N	904	SIGN ERECTION, TYPE F	90 EA	245.00	22050.00	264.03	23762.70	225.00	20250.00
0190	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (A)	10 EA	425.00	4250.00	469.39	4693.90	400.00	4000.00
0191	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (B)	3 EA	375.00	1125.00	410.71	1232.13	350.00	1050.00
0192	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (D)	23 EA	82.00	1886.00	88.01	2024.23	75.00	1725.00
0193	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	4 EA	65.00	260.00	70.41	281.64	60.00	240.00
0194	4152000000-N	907	DISPOSE SIGN SYST STL BM	2 EA	1.10	2.20	1.18	2.36	1.00	2.00
0195	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	307 EA	1.10	337.70	1.17	359.19	1.00	307.00
0196	4158000000-N	907	DISPOSE SIGN SYST WOOD	3 EA	1.10	3.30	1.17	3.51	1.00	3.00
0197	4192000000-N	907	DISPOSE SUPPORT, U-CHAN	27 EA	1.10	29.70	1.17	31.59	1.00	27.00
0198	4400000000-E	1110	WORK ZONE SIGNS (STAT)	793 SF	4.20	3330.60	4.93	3909.49	4.18	3314.74
0199	4405000000-E	1110	WORK ZONE SIGNS (PORT)	1,124 SF	8.50	9554.00	23.09	25953.16	8.18	9194.32
0200	4410000000-E	1110	WORK ZONE SIGNS (BARR)	2,705 SF	5.20	14066.00	5.87	15878.35	4.98	13470.90
0201	4415000000-N	1115	FLASHING ARROW PNL TYPE C	2 EA	2500.00	5000.00	2813.08	5626.16	3000.00	6000.00
0202	4422000000-N	1120	CHANGEABLE MESSAGE SIGN (SHORT TERM)	1,680 DAY	37.00	62160.00	41.28	69350.40	35.00	58800.00
0203	4430000000-N	1130	DRUMS	1,010 EA	45.00	45450.00	62.46	63084.60	50.00	50500.00
0204	4435000000-N	1135	CONES	200 EA	17.00	3400.00	24.57	4914.00	20.00	4000.00
0205	4445000000-E	1145	BARRICADES (TYPE III)	2,940 LF	17.00	49980.00	19.40	57036.00	16.45	48363.00
0206	4455000000-N	1150	FLAGGER	2,880 MD	150.00	432000.00	187.72	540633.60	182.00	524160.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC				
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC				
0207	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	20	EA	5200.00	104000.00	3703.97	74079.40	6500.00	130000.00
0208	4470000000-N	1160	RESET CRASH CUSHION	6	EA	2500.00	15000.00	776.37	4658.22	2500.00	15000.00
0209	4480000000-N	1165	TMIA	4	EA	20000.00	80000.00	22404.36	89617.44	18995.00	75980.00
0210	4485000000-E	1170	PORT CONC BARRIER	6,140	LF	18.00	110520.00	12.10	74294.00	22.50	138150.00
0211	4495000000-E	1170	PORT CONC BARRIER(DRAINGE	1,960	LF	18.00	35280.00	35.25	69090.00	22.50	44100.00
0212	4500000000-E	1170	RESET PORT CONC BARRIER	1,040	LF	15.00	15600.00	6.61	6874.40	3.25	3380.00
0213	4506000000-E	1170	RESET PORT CONC BARR,DRAIN	360	LF	15.00	5400.00	6.76	2433.60	3.25	1170.00
0214	4650000000-N	1251	TEMP RAISED PVMT MRKS	2,665	EA	5.20	13858.00	4.62	12312.30	4.00	10660.00
0215	4695000000-E	1205	THERMO PVT MKG LINES 8*90 MILS	9,689	LF	1.20	11626.80	2.31	22381.59	2.00	19378.00
0216	4697000000-E	1205	THERMO PVT MKG LINE 8*120 MILS	1,976	LF	1.30	2568.80	2.60	5137.60	2.25	4446.00
0217	4710000000-E	1205	24"WIDE THERMO 120 MILS	3,922	LF	5.20	20394.40	10.39	40749.58	9.00	35298.00
0218	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	70	EA	115.00	8050.00	98.14	6869.80	85.00	5950.00
0219	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	432	EA	90.00	38880.00	109.69	47386.08	95.00	41040.00
0220	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (IV)	5,560	LF	1.70	9452.00	2.02	11231.20	1.75	9730.00
0221	4810000000-E	1205	PAINT PVMT MARKINGS 4"	1,070,768	LF	0.10	107076.80	0.14	149907.52	0.12	128492.16
0222	4820000000-E	1205	PAINT PVMT MARKINGS 8"	11,368	LF	0.22	2500.96	0.46	5229.28	0.40	4547.20
0223	4835000000-E	1205	PAINT PVT MKG LINES 24"	6,480	LF	1.60	10368.00	3.46	22420.80	3.00	19440.00
0224	4840000000-N	1205	PAINT PVT MKG CHARACTER	4	EA	52.00	208.00	28.87	115.48	25.00	100.00
0225	4845000000-N	1205	PAINT PVT MKG SYMBOL	370	EA	50.00	18500.00	28.87	10681.90	25.00	9250.00
0226	4850000000-E	1205	LINE REMOVAL 4" WIDE	28,000	LF	0.70	19600.00	0.29	8120.00	0.25	7000.00
0227	4900000000-N	1251	PERM RAISED PVMT MARKERS	28	EA	5.20	145.60	4.62	129.36	4.00	112.00
0228	4905000000-N	1253	SNOWPLB PVMT MRKER	3,953	EA	23.00	90919.00	28.87	114123.11	25.00	98825.00
0229	4935000000-N	1267	FLEX DELINATR (CRYSTAL)	142	EA	30.00	4260.00	35.03	4974.26	29.85	4238.70
0230	4940000000-N	1267	FLEX DELINATR (YELLOW)	48	EA	30.00	1440.00	35.03	1681.44	29.85	1432.80
0231	4945000000-N	1267	FLEX DELINATR (CRY & RED)	20	EA	30.00	600.00	35.03	700.60	26.00	520.00
0232	4950000000-N	1267	FLEX DELINATR (YEL & RED)	20	EA	30.00	600.00	35.03	700.60	29.85	597.00
0233	5255000000-N	1413	PORTABLE LIGHTING		Lump Sum		30000.00		26823.75		150000.00
0234	5325600000-E	1510	6" WATER LINE	214	LF	46.00	9844.00	61.60	13182.40	67.15	14370.10
0235	5325800000-E	1510	8" WATER LINE	361	LF	100.00	36100.00	72.80	26280.80	77.05	27815.05
0236	5326200000-E	1510	12" WATER LINE	99	LF	130.00	12870.00	112.00	11088.00	92.94	9201.06
0237	5546000000-E	1515	8" VALVE	2	EA	1550.00	3100.00	1512.00	3024.00	2408.44	4816.88
0238	5606000000-E	1515	2" BLOW OFF	2	EA	2100.00	4200.00	1680.00	3360.00	1729.75	3459.50
0239	5648000000-N	1515	RELOCATE WATER METER	1	EA	3000.00	3000.00	616.00	616.00	1063.56	1063.56
0240	5666000000-E	1515	FIRE HYDRANT	2	EA	8200.00	16400.00	7280.00	14560.00	4972.01	9944.02
0241	5672000000-N	1515	RELOCATE FIRE HYDRANT	10	EA	1900.00	19000.00	2240.00	22400.00	2484.96	24849.60
0242	5689000000-E	1515	GENERIC UTILITY ITEM (EA) 1515 ADJUSTMENT OF SEWER MANHOLES	8	EA	1000.00	8000.00	672.00	5376.00	500.00	4000.00
0243	5804000000-E	1530	ABANDON 12" UTILITY PIPE	120	LF	20.00	2400.00	13.44	1612.80	23.46	2815.20
0244	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 ADJUSTMENT OF VALVE BOX	6	EA	900.00	5400.00	672.00	4032.00	400.00	2400.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC		VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC			
				FIRESTONE, CO		BECKLEY, WV		BURLINGTON, NC			
0245	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY SEWER LINE SUPPORT	1	EA	10000.00	10000.00	5600.00	5600.00	10121.50	10121.50
0246	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY WATER LINE SUPPORT	1	EA	10000.00	10000.00	5600.00	5600.00	10121.50	10121.50
0247	6000000000-E	1605	TEMPORARY SILT FENCE	82,800	LF	2.00	165600.00	2.58	213624.00	1.47	121716.00
0248	6006000000-E	1610	EROS CONTRL STONE CL A	32,450	TON	37.00	1200650.00	46.94	1523203.00	37.50	1216875.00
0249	6009000000-E	1610	EROS CONTRL STONE CL B	20,825	TON	38.00	791350.00	53.84	1121218.00	39.50	822587.50
0250	6012000000-E	1610	SEDIMENT CONTROL STONE	20,650	TON	34.00	702100.00	44.65	922022.50	35.50	733075.00
0251	6015000000-E	1615	TEMPORARY MULCHING	380	ACR	420.00	159600.00	460.00	174800.00	400.00	152000.00
0252	6018000000-E	1620	SEED FOR TEMP SEEDING	11,900	LB	2.40	28560.00	2.30	27370.00	2.00	23800.00
0253	6021000000-E	1620	FERT FOR TEMP SEEDING	52	TON	1000.00	52000.00	1150.00	59800.00	1000.00	52000.00
0254	6024000000-E	1622	TEMPORARY SLOPE DRAINS	36,875	LF	9.00	331875.00	10.31	380181.25	10.25	377968.75
0255	6027000000-N	1622	INLET PROTCN @ SLOPE DRNS	260	EA	250.00	65000.00	167.43	43531.80	200.00	52000.00
0256	6029000000-E	SP	SAFETY FENCE	3,000	LF	1.40	4200.00	1.17	3510.00	1.00	3000.00
0257	6030000000-E	1630	SILT EXCAVATION	141,300	CY	4.20	593460.00	4.50	635850.00	2.50	353250.00
0258	6036000000-E	1631	MATTING FOR EROS CONTROL	352,200	SY	1.20	422640.00	1.02	359244.00	1.25	440250.00
0259	6037000000-E	SP	COIR FIBER MAT	17,970	SY	4.10	73677.00	4.26	76552.20	5.00	89850.00
0260	6038000000-E	SP	PERM SOIL REINF MAT	21,675	SY	4.70	101872.50	7.13	154542.75	5.00	108375.00
0261	6042000000-E	1632	1/4" HARDWARE CLOTH	29,500	LF	4.10	120950.00	3.68	108560.00	3.15	92925.00
0262	6045000000-E	SP	*** TEMPORARY PIPE (72")	170	LF	300.00	51000.00	287.50	48875.00	140.00	23800.00
0263	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	7,800	SY	17.00	132600.00	63.84	497952.00	24.00	187200.00
0264	6069000000-E	1638	STILLING BASINS	1,130	CY	12.00	13560.00	28.75	32487.50	25.00	28250.00
0265	6070000000-N	SP	SPECIAL STILLING BASINS	40	EA	600.00	24000.00	363.98	14559.20	400.00	16000.00
0266	6071012000-E	SP	COIR FIBER WATTLE	15,320	LF	6.50	99580.00	3.92	60054.40	5.80	88856.00
0267	6071020000-E	SP	POLYACRYLAMIDE (PAM)	16,700	LB	7.50	125250.00	12.88	215096.00	18.00	300600.00
0268	6071030000-E	SP	COIR FIBER BAFFLE	38,750	LF	3.00	116250.00	4.66	180575.00	3.85	149187.50
0269	6071050000-E	SP	*** SKIMMER (1-1/2")	60	EA	850.00	51000.00	894.12	53647.20	559.45	33567.00
0270	6071050000-E	SP	*** SKIMMER (2")	8	EA	950.00	7600.00	1066.54	8532.32	627.56	5020.48
0271	6071050000-E	SP	*** SKIMMER (2-1/2")	5	EA	950.00	4750.00	1089.68	5448.40	699.49	3497.45
0272	6071050000-E	SP	*** SKIMMER (3")	4	EA	1250.00	5000.00	1189.88	4759.52	852.03	3408.12
0273	6084000000-E	1660	SEEDING AND MULCHING	315	ACR	1400.00	441000.00	1955.00	615825.00	1550.00	488250.00
0274	6087000000-E	1660	MOWING	380	ACR	42.00	15960.00	46.00	17480.00	35.00	13300.00
0275	6090000000-E	1661	SEED FOR REPAIR SEEDING	7,520	LB	6.20	46624.00	10.35	77832.00	1.00	7520.00
0276	6093000000-E	1661	FERT FOR REPAIR SEEDING	16	TON	1025.00	16400.00	1265.00	20240.00	1000.00	16000.00
0277	6096000000-E	1662	SEED FOR SUPP SEEDING	7,530	LB	3.00	22590.00	1.55	11671.50	1.00	7530.00
0278	6108000000-E	1665	FERTILIZER TOPDRESSING	225	TON	825.00	185625.00	833.75	187593.75	400.00	90000.00
0279	6111000000-E	SP	IMPERVIOUS DIKE	1,300	LF	40.00	52000.00	40.25	52325.00	50.00	65000.00
0280	6114500000-N	SP	SPECIALIZED HAND MOWING	500	MHR	38.00	19000.00	43.70	21850.00	30.00	15000.00
0281	6117000000-N	SP	RESPONSE FOR EROS CONTROL	300	EA	105.00	31500.00	1.15	345.00	0.01	3.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC	VECELLIO & GROGAN INC	TRIANGLE GRADING & PAVING, INC				
				FIRESTONE, CO	BECKLEY, WV	BURLINGTON, NC				
0282	6120000000-E	SP	CULVERT DIVERSION CHANNEL	450 CY	38.00	17100.00	57.50	25875.00	25.00	11250.00
0283	6123000000-E		1670 REFORESTATION	40 ACR	725.00	29000.00	661.25	26450.00	750.00	30000.00
0284	7000000000-E	1705	PEDEST SIG HEAD (***** (16", 1 SECTION W/ COUNTDOWN)	32 EA	825.00	26400.00	575.00	18400.00	500.00	16000.00
0285	7060000000-E	1705	SIGNAL CABLE	30,330 LF	1.65	50044.50	0.86	26083.80	0.75	22747.50
0286	7120000000-E	1705	VEHICLE SIGNAL HD (12", 3 SECT)	187 EA	1050.00	196350.00	644.00	120428.00	560.00	104720.00
0287	7132000000-E	1705	VEHICLE SIGNAL HD (12", 4 SECT)	13 EA	1200.00	15600.00	776.25	10091.25	675.00	8775.00
0288	7144000000-E	1705	VEHICLE SIGNAL HD (12", 5 SECT)	13 EA	1700.00	22100.00	1025.80	13335.40	892.00	11596.00
0289	7252000000-E	1710	MESSENGER CABLE (1/4")	6,596 LF	2.00	13192.00	1.73	11411.08	1.50	9894.00
0290	7264000000-E	1710	MESSENGER CABLE (3/8")	12,270 LF	3.60	44172.00	3.45	42331.50	3.00	36810.00
0291	7279000000-E	1715	TRACER WIRE	23,685 LF	0.55	13026.75	0.50	11842.50	0.45	10658.25
0292	7300000000-E	1715	UNPAVED TRENCH (***** (1, 2")	13,810 LF	9.00	124290.00	5.75	79407.50	5.00	69050.00
0293	7300000000-E	1715	UNPAVED TRENCH (***** (2, 2")	22,578 LF	11.00	248358.00	6.90	155788.20	6.00	135468.00
0294	7301000000-E	1715	DIRECT DRILL (***** (1, 2")	510 LF	16.00	8160.00	17.25	8797.50	15.00	7650.00
0295	7301000000-E	1715	DIRECT DRILL (***** (2, 2")	1,067 LF	21.00	22407.00	23.00	24541.00	20.00	21340.00
0296	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	53 EA	525.00	27825.00	391.00	20723.00	340.00	18020.00
0297	7348000000-N	1716	JUNCTION BOX (OVER-SIZED, HVY-DUTY)	45 EA	775.00	34875.00	553.15	24891.75	481.00	21645.00
0298	7360000000-N	1720	WOOD POLE	61 EA	1100.00	67100.00	1150.00	70150.00	1000.00	61000.00
0299	7372000000-N	1721	GUY ASSEMBLY	143 EA	450.00	64350.00	575.00	82225.00	500.00	71500.00
0300	7384000000-E	1722	**** RISER WITH ***** (1-1/4", WEATHERHEAD)	2 EA	900.00	1800.00	172.50	345.00	150.00	300.00
0301	7396000000-E	1722	1/2" RISER WITH WEATHERHEAD	4 EA	470.00	1880.00	143.75	575.00	125.00	500.00
0302	7408000000-E	1722	1" RISER WITH WEATHERHEAD	13 EA	900.00	11700.00	143.75	1868.75	125.00	1625.00
0303	7420000000-E	1722	2" RISER WITH WEATHERHEAD	56 EA	775.00	43400.00	230.00	12880.00	200.00	11200.00
0304	7432000000-E	1722	2" RISER WITH TUBING	4 EA	325.00	1300.00	373.75	1495.00	325.00	1300.00
0305	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	35,850 LF	8.70	311895.00	6.90	247365.00	6.00	215100.00
0306	7456000000-E	1726	LEAD-IN CABLE(***** (14-2)	85,650 LF	1.10	94215.00	1.15	98497.50	1.00	85650.00
0307	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (24)	7,000 LF	1.50	10500.00	1.38	9660.00	1.20	8400.00
0308	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (72)	24,816 LF	1.90	47150.40	2.00	49632.00	1.75	43428.00
0309	7528000000-E	1730	DROP CABLE	2,621 LF	1.40	3669.40	1.25	3276.25	1.10	2883.10
0310	7540000000-N	1731	SPLICE ENCLOSURE	6 EA	1700.00	10200.00	1322.50	7935.00	1150.00	6900.00
0311	7552000000-N	1731	INTERCONNECT CENTER	6 EA	2700.00	16200.00	1408.75	8452.50	1225.00	7350.00
0312	7566000000-N	1733	DELINEATOR MARKER	29 EA	105.00	3045.00	97.75	2834.75	85.00	2465.00
0313	7575142000-N	SP	900MHZ WIRELESS RADIO SYSTEM	2 EA	5000.00	10000.00	5175.00	10350.00	4500.00	9000.00
0314	7575160000-E	1734	REM EXT COMM CABLE	6,000 LF	0.65	3900.00	1.15	6900.00	1.00	6000.00
0315	7576000000-N	SP	METAL STRAIN SIGNAL POLE	36 EA	11000.00	396000.00	9710.60	349581.60	8444.00	303984.00
0316	7613000000-N	SP	SOIL TEST	36 EA	1100.00	39600.00	1150.00	41400.00	1000.00	36000.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC	VECELLIO & GROGAN INC	TRIANGLE GRADING & PAVING, INC				
				FIRESTONE, CO	BECKLEY, WV	BURLINGTON, NC				
0317	7614100000-E	SP	DRILLED PIER FOUND	306 CY	710.00	217260.00	230.00	70380.00	200.00	61200.00
0318	7624000000-N	1743	SIGNAL PEDESTAL WITH FOUND	7 EA	1650.00	11550.00	948.75	6641.25	825.00	5775.00
0319	7684000000-N	1745	SIGN FOR SIGNALS	39 EA	250.00	9750.00	289.80	11302.20	252.00	9828.00
0320	7684000000-N	1750	SIGNAL CABINET FOUNDATION	9 EA	1000.00	9000.00	793.50	7141.50	690.00	6210.00
0321	7756000000-N	1751	CONTLR WITH CBNT, 2070L BASE MTD	9 EA	17500.00	157500.00	13299.75	119697.75	11565.00	104085.00
0322	7768000000-N	1751	CONTLR WITH CBNT, 2070L POLE MTD	7 EA	17000.00	119000.00	12086.50	84605.50	10510.00	73570.00
0323	7780000000-N	1751	DETECTOR CARD (TYPE 2070L)	92 EA	245.00	22540.00	120.75	11109.00	105.00	9660.00
0324	7901000000-N	1753	CABINET BASE EXTENDER	9 EA	450.00	4050.00	431.25	3881.25	375.00	3375.00
0325	7912000000-N	1755	BEACON CNTRL ASSM & CBNT ***** (F3)	2 EA	5500.00	11000.00	5750.00	11500.00	5000.00	10000.00
0326	7948000000-N	SP	TRAFFIC SIGNAL REMOVAL	7 EA	1650.00	11550.00	1380.00	9660.00	1200.00	8400.00
0327	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 30' WOOD POLE	5 EA	900.00	4500.00	1150.00	5750.00	1000.00	5000.00
0328	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 5/8" X 10' GROUNDING ELECTRODE	28 EA	110.00	3080.00	86.25	2415.00	75.00	2100.00
0329	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 60' WOOD POLE	4 EA	1850.00	7400.00	2530.00	10120.00	2200.00	8800.00
0330	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 900 MHZ WIRELESS ETHERNET RADIO	2 EA	4500.00	9000.00	3450.00	6900.00	3000.00	6000.00
0331	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CCTV ASSEMBLY	4 EA	8000.00	32000.00	4910.50	19642.00	4270.00	17080.00
0332	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CENTRAL ETHERNET SWITCH	1 EA	6500.00	6500.00	6072.17	6072.17	5280.15	5280.15
0333	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO DECODER	4 EA	3000.00	12000.00	3312.00	13248.00	2880.00	11520.00
0334	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO ENCODER	4 EA	3000.00	12000.00	3312.00	13248.00	2880.00	11520.00
0335	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) EQUIPMENT CABINET DISCONNECT	4 EA	1050.00	4200.00	2875.00	11500.00	2500.00	10000.00
0336	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD EQUIPMENT CABINET	4 EA	5700.00	22800.00	6008.75	24035.00	5225.00	20900.00
0337	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD ETHERNET SWITCH	4 EA	4000.00	16000.00	3823.75	15295.00	3325.00	13300.00
0338	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FUNISH WIRELESS LIGHTNING ARRESTOR	3 EA	250.00	750.00	287.50	862.50	250.00	750.00
0339	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FURNISH WIRELESS RADIO MODEM	2 EA	2100.00	4200.00	2127.50	4255.00	1850.00	3700.00
0340	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) LOCAL TRAFFIC SIGNAL SOFTWARE	4 EA	1400.00	5600.00	6900.00	27600.00	6000.00	24000.00
0341	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) METER BASE/DISCONNECT COMBIN- ATION PANEL	4 EA	1500.00	6000.00	2875.00	11500.00	2500.00	10000.00
0342	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) MODIFY SPLICE ENCLOSURE	2 EA	1400.00	2800.00	1150.00	2300.00	1000.00	2000.00
0343	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED FLASHER BEACON	3 EA	2000.00	6000.00	3450.00	10350.00	3000.00	9000.00
0344	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED SCHOOL FLASHER	4 EA	2000.00	8000.00	3450.00	13800.00	3000.00	12000.00
0345	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED FLASHER BEACON	6 EA	8200.00	49200.00	8625.00	51750.00	7500.00	45000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC			
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC			
0346	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED, 900 MHZ WIRE- LESS ETHERNET REPEATER RADIO	2 EA	10150.00	20300.00	9660.00	19320.00	8400.00	16800.00
0347	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) #4 SOLID BARE COPPER GROUNDING CONDUCTOR	280 LF	2.00	560.00	1.15	322.00	1.00	280.00
0348	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #12 COPPER FEEDER CON- DUCTORS	358 LF	1.40	501.20	2.30	823.40	2.00	716.00
0349	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #3 COPPER SERVICE ENT- RANCE CONDUCTORS	66 LF	1.40	92.40	6.90	455.40	6.00	396.00
0350	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,656,635 CY	6.00	9939810.00	7.00	11596445.00	5.40	8945829.00
0351	0106000000-E	230	BORROW EXCAVATION	659,050 CY	6.80	4481540.00	2.00	1318100.00	3.50	2306675.00
0352	1044000000-E	501	LIME TRTD SOIL (SLURRY)	136,010 SY	1.90	258419.00	2.24	304662.40	2.06	280180.60
0353	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,380 TON	210.00	289800.00	242.00	333960.00	180.00	248400.00
0354	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	130,100 TON	27.00	3512700.00	36.50	4748650.00	28.00	3642800.00
0355	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	5,210 TON	128.00	666880.00	148.89	775716.90	105.00	547050.00
0356	1176000000-E	542	SOIL CEMENT BASE	229,960 SY	2.00	459920.00	2.18	501312.80	1.86	427725.60
0357	1187000000-E	542	PC FOR SOIL CEMENT BASE	6,360 TON	128.00	814080.00	148.89	946940.40	110.63	703606.80
0358	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,540 TON	27.00	68580.00	27.25	69215.00	27.00	68580.00
0359	1209000000-E	543	ASPHALT CURING SEAL	96,620 GAL	3.25	314015.00	3.63	350730.60	2.75	265705.00
0360	1491000000-E	610	ASP CONC BASE CRS B25.0C	185,400 TON	39.00	7230600.00	38.19	7080426.00	37.45	6943230.00
0361	1503000000-E	610	ASP CONC INTR CRS I19.0C	116,680 TON	40.00	4667200.00	38.84	4531851.20	38.20	4457176.00
0362	1523000000-E	610	ASP CONC SURF CRS S9.5C	102,500 TON	42.00	4305000.00	41.60	4264000.00	42.25	4330625.00
0363	1575000000-E	SP	ASP FOR PLANT MIX	22,230 TON	595.00	13226850.00	588.53	13083021.90	600.00	13338000.00
0364	1840000000-E	665	MILLED RUMBLE STRIPS	96,810 LF	0.13	12585.30	0.09	8712.90	0.12	11617.20
0365	2099000000-E	816	SHOULDER DRAIN	10,360 LF	5.25	54390.00	4.95	51282.00	4.25	44030.00
0366	2110000000-E	816	4" SHOULDER DRAIN PIPE	10,360 LF	1.40	14504.00	1.75	18130.00	1.50	15540.00
0367	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	670 LF	6.50	4355.00	11.65	7805.50	10.00	6700.00
0368	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	15 EA	2600.00	39000.00	262.03	3930.45	225.00	3375.00
0369	4685000000-E	1205	THERMO PVT MKG LINES 4"90	174,271 LF	0.65	113276.15	0.87	151615.77	0.75	130703.25
0370	4686000000-E	1205	THERMO PVT MKG LINES 4"120	103,293 LF	0.73	75403.89	1.03	106391.79	0.89	91930.77
0371	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	76,731 LF	0.80	61384.80	1.10	84404.10	0.95	72894.45
0372	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	12,228 LF	0.87	10638.36	1.21	14795.88	1.05	12839.40
0373	4700000000-E	1205	12"WIDE THERMO 90 MILS	6,519 LF	2.70	17601.30	2.31	15058.89	2.00	13038.00
0374	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	1,112 LF	1.80	2001.60	1.73	1923.76	1.50	1668.00
0375	4775000000-E	1205	6" COLD APPL PLSTIC LINES TYPE ** (II)	1,965 LF	2.20	4323.00	2.02	3969.30	1.75	3438.75
0376	4880000000-E	1205	CURING COMP REMOVAL LINES	3,077 LF	1.10	3384.70	1.15	3538.55	1.00	3077.00
0377	4885000000-N	1205	CURING COMPD REMOVAL SYMB	5 EA	52.00	260.00	57.73	288.65	50.00	250.00
0378	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,537,084 CY						
0379	0106000000-E	230	BORROW EXCAVATION	717,390 CY						
0380	1044000000-E	501	LIME TRTD SOIL (SLURRY)	118,310 SY						
0381	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,200 TON						

APR 03, 2012 02:36 PM

GUILFORD, ROCKINGHAM

TIP NO R-2309AB, R-2413C

34418.3.5, 34429.3.7

2:00 PM 42 / 61 001

FEB 21 2012 C200800
13.231 MI

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

FLATIRON CONSTRUCTORS INC	VECELLIO & GROGAN INC	TRIANGLE GRADING & PAVING, INC
FIRESTONE, CO	BECKLEY, WV	BURLINGTON, NC

0382	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	19,000	TON
0383	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	760	TON
0384	1176000000-E	542	SOIL CEMENT BASE	188,680	SY
0385	1187000000-E	542	PC FOR SOIL CEMENT BASE	5,220	TON
0386	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,030	TON
0387	1209000000-E	543	ASPHALT CURING SEAL	83,520	GAL
0388	1491000000-E	610	ASP CONC BASE CRS B25.0C	133,200	TON
0389	1503000000-E	610	ASP CONC INTR CRS I19.0C	74,860	TON
0390	1523000000-E	610	ASP CONC SURF CRS S9.5C	62,650	TON
0391	1525000000-E	610	ASP CONC SURF CRS SF9.5A	9,120	TON
0392	1575000000-E	SP	ASP FOR PLANT MIX	16,630	TON
0393	1682000000-E	652	ASPH DRAINAGE CO, P-57	16,690	TON
0394	1840000000-E	665	MILLED RUMBLE STRIPS	6,770	LF
0395	1847000000-E	710	*****PCC PVMT THRU LNS (11-1/2")	182,150	SY
0396	1869000000-E	710	*****PCC PVMT MISC (11-1/2")	52,160	SY
0397	1869000000-E	710	*****PCC PVMT MISC (8-1/2")	62,020	SY
0398	1881000000-E	SP	GENERIC PAVING ITEM (LF) MILLED RUMBLE STRIPS (CONCRETESHOULDER)	90,050	LF
0399	1902000000-N	710	SURF TEST CONC PAVEMENT	Lump Sum	
0400	1924000000-N	725	FIELD LAB RENTAL, PCCP	Lump Sum	
0401	2099000000-E	816	SHOULDER DRAIN	47,610	LF
0402	2110000000-E	816	4" SHOULDER DRAIN PIPE	47,610	LF
0403	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	2,540	LF
0404	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	50	EA
0405	4685000000-E	1205	THERMO PVT MKG LINES 4"90	160,029	LF
0406	4686000000-E	1205	THERMO PVT MKG LINES 4"120	101,453	LF
0407	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	1,391	LF
0408	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	390	LF
0409	4700000000-E	1205	12"WIDE THERMO 90 MILS	945	LF
0410	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	17,182	LF
0411	4847100000-E	1205	POLYUREA LINES (6" *****) (HIGHLY REFLECTIVE ELEMENTS)	87,725	LF
0412	4847120000-E	1205	POLYUREA LINES (12" *****) (HIGHLY REFLECTIVE ELEMENTS)	6,037	LF
0413	4880000000-E	1205	CURING COMP REMOVAL LINES	111,239	LF
0414	4885000000-N	1205	CURING COMPD REMOVAL SYMB	51	EA

CULVERT ITEMS

0415	8056000000-N	402	REMV EXIST STR ***** (56+36.00-L-)	Lump Sum	11000.00	6900.00	6000.00
------	--------------	-----	---------------------------------------	----------	----------	---------	---------

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

			FLATIRON CONSTRUCTORS INC	VECELLIO & GROGAN INC	TRIANGLE GRADING & PAVING, INC				
			FIRESTONE, CO	BECKLEY, WV	BURLINGTON, NC				
0416	8056000000-N	402 REMV EXIST STR ***** (56+54.000-LREV-)	Lump Sum	38000.00	6900.00	6000.00			
0417	8056000000-N	402 REMV EXIST STR ***** (57+45.800-LREV-)	Lump Sum	32000.00	9200.00	8000.00			
0418	8126000000-N	414 CULV EXCAV @ ***** (168+50.00-L-)	Lump Sum	25000.00	22109.54	13000.00			
0419	8126000000-N	414 CULV EXCAV @ ***** (247+02.00-L-)	Lump Sum	65000.00	46332.32	29000.00			
0420	8126000000-N	414 CULV EXCAV @ ***** (56+36.00-L-)	Lump Sum	75000.00	49423.25	30000.00			
0421	8126000000-N	414 CULV EXCAV @ ***** (56+54.000-LREV-)	Lump Sum	26000.00	66746.02	40000.00			
0422	8133000000-E	414 FND CONDIR MAT, BOX CULV	753 TON	45.00	33885.00	40.25	30308.25	33.00	24849.00
0423	8196000000-E	420 CLASS A CONCRETE (CULV)	1,629.5 CY	525.00	855487.50	437.00	712091.50	390.00	635505.00
0424	8245000000-E	425 REINF STEEL (CULVERT)	232,485 LB	0.80	185988.00	0.98	227835.30	0.90	209236.50
0425	8590000000-E	876 RIP RAP, CLASS ** (I)	40 TON	125.00	5000.00	63.25	2530.00	57.00	2280.00
0426	8804000000-N	SP GENERIC CULVERT ITEM (LS) PEDESTRIAN CULVERT CONDUIT SYSTEM	Lump Sum	5400.00	17250.00	10000.00			
0427	8804000000-N	SP GENERIC CULVERT ITEM (LS) PRECAST REINF CONC 3-SIDED CULVERT STA 57+45.800 -LREV-	Lump Sum	425000.00	514054.82	420000.00			
WALL ITEMS									
0428	8801000000-E	SP MSE RETAIN WALLS	3,106 SF	75.00	232950.00	85.00	264010.00	70.00	217420.00
0429	8802014000-E	SP SOLDIER PILE RETAINING WALLS	150 SF	250.00	37500.00	570.00	85500.00	200.00	30000.00
0430	8847000000-E	SP GENERIC RET WALL ITEM (SF) SOUND BARRIER WALL	91,406 SF	28.00	2559368.00	27.25	2490813.50	24.00	2193744.00
STRUCTURE ITEMS									
0431	8017000000-N	SP CM&R TEMP ACCESS ***** (134+30.00-L-LT)	Lump Sum	200000.00	175000.00	1.00			
0432	8017000000-N	SP CM&R TEMP ACCESS ***** (134+30.00-L-RT)	Lump Sum	265000.00	205000.00	1.00			
0433	8017000000-N	SP CM&R TEMP ACCESS ***** (24+37.000-LREV-LT)	Lump Sum	122000.00	100000.00	30000.00			
0434	8017000000-N	SP CM&R TEMP ACCESS ***** (24+37.000-LREV-RT)	Lump Sum	40000.00	65000.00	10164.64			
0435	8035000000-N	402 REMV EXIST STR ***** (114+28.00-L-)	Lump Sum	160000.00	300000.00	40000.00			
0436	8035000000-N	402 REMV EXIST STR ***** (120+38.50-L-)	Lump Sum	90000.00	67000.00	10000.00			
0437	8035000000-N	402 REMV EXIST STR ***** (134+30.00-L-LT)	Lump Sum	175000.00	300000.00	40000.00			
0438	8035000000-N	402 REMV EXIST STR ***** (24+37.000-LREV-RT)	Lump Sum	70000.00	70000.00	30000.00			
0439	8035000000-N	402 REMV EXIST STR ***** (45+30.610-LREV-RT)	Lump Sum	160000.00	90000.00	75000.00			
0440	8091000000-N	410 FND EXCAV B** STA ***** (1,20+06.118-LREV-)	Lump Sum	26000.00	7000.00	4000.00			

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		FLATIRON CONSTRUCTORS INC			VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC			
		FIRESTONE, CO			BECKLEY, WV		BURLINGTON, NC			
0441	8091000000-N	410	FND EXCAV B** STA ***** (1,70+09.407-LREV-)	Lump Sum	56000.00		9000.00		5000.00	
0442	8096000000-E	SP	PILE EXCAVATION IN SOIL	687 LF	300.00	206100.00	145.00	99615.00	30.00	20610.00
0443	8105560000-E	SP	4'-0" DRILLD PIER IN SOIL	198.1 LF	800.00	158480.00	570.00	112917.00	178.00	35261.80
0444	8105660000-E	SP	4'-0" DRILLD PIER NO SOIL	85.3 LF	2000.00	170600.00	2475.00	211117.50	1000.00	85300.00
0445	8108000000-E	SP	***-*** DIA DRILLD PIERS (4'-6")	842.9 LF	1110.00	935619.00	850.00	716465.00	700.00	590030.00
0446	8111000000-E	SP	PERM STL CASING FOR ** PIER (4'-6")	127.3 LF	575.00	73197.50	450.00	57285.00	325.00	41372.50
0447	8111600000-E	SP	PERM STL CASING FOR 4' PIER	85.3 LF	400.00	34120.00	415.00	35399.50	250.00	21325.00
0448	8113000000-N	SP	SID INSPECTION	9 EA	750.00	6750.00	2250.00	20250.00	700.00	6300.00
0449	8114000000-N	SP	SPT TESTING	6 EA	1200.00	7200.00	1800.00	10800.00	700.00	4200.00
0450	8121000000-N	412	UNCL STR EXCAV STA ***** (134+30.00-L-LT)	Lump Sum		12500.00		12500.00		3000.00
0451	8121000000-N	412	UNCL STR EXCAV STA ***** (24+37.000-LREV-RT)	Lump Sum		83000.00		58000.00		25000.00
0452	8147000000-E	420	REINF CONCRETE DECK SLAB	104,338 SF	35.00	3651830.00	26.50	2764957.00	21.00	2191098.00
0453	8161000000-E	420	GROOVING BRIDGE FLOORS	109,757.2 SF	0.40	43902.88	0.40	43902.88	0.50	54878.60
0454	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	1,639 CY	795.00	1303005.00	640.00	1048960.00	1300.00	2130700.00
0455	8210000000-N	422	BRG APPR SLAB ***** (11+43.200-SB US 220 RAMP-)	Lump Sum		54000.00		46500.00		39000.00
0456	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-LT)	Lump Sum		59000.00		45000.00		37000.00
0457	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-RT)	Lump Sum		50000.00		45000.00		37000.00
0458	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-LT)	Lump Sum		50000.00		45000.00		37000.00
0459	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-RT)	Lump Sum		50000.00		45000.00		37000.00
0460	8210000000-N	422	BRG APPR SLAB ***** (20+06.118-LREV-)	Lump Sum		48000.00		47000.00		38000.00
0461	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-LT)	Lump Sum		59000.00		58000.00		43000.00
0462	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-RT)	Lump Sum		96000.00		85000.00		72000.00
0463	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-LT)	Lump Sum		50000.00		50000.00		43000.00
0464	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-RT)	Lump Sum		50000.00		50000.00		43000.00
0465	8210000000-N	422	BRG APPR SLAB ***** (70+09.407-LREV-)	Lump Sum		67000.00		64000.00		55000.00
0466	8217000000-E	425	REINF STEEL (BRIDGE)	372,468 LB	0.82	305423.76	1.00	372468.00	1.50	558702.00
0467	8238000000-E	425	SPIRAL COL REINF STL BRG	47,117 LB	1.40	65963.80	3.30	155486.10	2.50	117792.50
0468	8262000000-E	430	45" PRESTR CONCRETE GIRDR	2,180.72 LF	220.00	479758.40	185.00	403433.20	250.00	545180.00
0469	8265000000-E	430	54" PRESTR CONCRETE GIRDR	4,926.21 LF	240.00	1182290.40	188.00	926127.48	340.00	1674911.40
0470	8280000000-E	440	STRUCTURAL STEEL	Lump Sum		2634000.00		2050000.00		3000000.00
0471	8364000000-E	SP	HP12X53 PILES	7,941 LF	73.00	579693.00	40.00	317640.00	47.00	373227.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				FLATIRON CONSTRUCTORS INC		VECELLIO & GROGAN INC		TRIANGLE GRADING & PAVING, INC			
				FIRESTONE, CO		BECKLEY, WV		BURLINGTON, NC			
0472	8365000000-E	SP	HP12X53 GALV PILES	280	LF	101.00	28280.00	48.00	13440.00	72.00	20160.00
0473	8384200000-E	SP	HP14X73 GALV PILES	1,015	LF	170.00	172550.00	69.00	70035.00	75.00	76125.00
0474	8391000000-N	SP	STEEL PILE POINTS	7	EA	165.00	1155.00	125.00	875.00	150.00	1050.00
0475	8475000000-E	460	TWO BAR METAL RAIL	563.32	LF	130.00	73231.60	130.00	73231.60	110.00	61965.20
0476	8503000000-E	460	CONCRETE BARRIER RAIL	4,087.71	LF	53.00	216648.63	62.00	253438.02	60.00	245262.60
0477	8517000000-E	460	1'-**X*****CONC PARAPET (1'-2" X 2'-6")	593.32	LF	72.00	42719.04	85.00	50432.20	80.00	47465.60
0478	8531000000-E	462	4" SLOPE PROTECTION	2,761	SY	84.00	231924.00	71.00	196031.00	49.00	135289.00
0479	8608000000-E	876	RIP RAP II (2'-0")	3,477	TON	56.00	194712.00	48.00	166896.00	50.00	173850.00
0480	8622000000-E	876	FILTER FABRIC FOR DRAINAGE	3,848	SY	4.00	15392.00	1.70	6541.60	3.00	11544.00
0481	8650000000-N	SP	POT BEARINGS	Lump Sum			67000.00		44000.00		30000.00
0482	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			122000.00		195000.00		100000.00
0483	8692000000-N	SP	EVAZOTE JOINT SEALS	Lump Sum			95000.00		98000.00		45000.00
0484	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum			305000.00		325000.00		220000.00
0485	8727000000-N	SP	ELEC CONDUIT SYS ***** (114+28.00-L-LT)	Lump Sum			20000.00		20000.00		24000.00
0486	8727000000-N	SP	ELEC CONDUIT SYS ***** (134+30.00-L-LT)	Lump Sum			25000.00		27000.00		28000.00
0487	8727000000-N	SP	ELEC CONDUIT SYS ***** (24+37.000-LREV-RT)	Lump Sum			45000.00		46000.00		44000.00
0488	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) 30" CS PIPE, 0.168" THICK	43	LF	95.00	4085.00	130.00	5590.00	150.00	6450.00
0489	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) CSL TESTING	7	EA	2700.00	18900.00	3300.00	23100.00	2500.00	17500.00
CONTRACT TOTAL				TOTAL		107227939.67	TOTAL	108588479.59	TOTAL	108655561.98	
ROADWAY ITEMS				SUB-TOTAL		87006330.16	SUB-TOTAL	91036041.01	SUB-TOTAL	91288810.64	
CULVERT ITEMS				SUB-TOTAL		1782760.50	SUB-TOTAL	1711681.00	SUB-TOTAL	1433870.50	
WALL ITEMS				SUB-TOTAL		2829818.00	SUB-TOTAL	2840323.50	SUB-TOTAL	2441164.00	
STRUCTURE ITEMS				SUB-TOTAL		15609031.01	SUB-TOTAL	13000434.08	SUB-TOTAL	13491716.84	

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

AUSTIN BRIDGE & ROAD, LP IRVING, TX E. R. SNELL CONTRACTOR, INC. SNELLVILLE, GA BLYTHE CONSTRUCTION, INC. CHARLOTTE, NC

ROADWAY ITEMS

Item ID	Description	Quantity	Unit	Rate	Amount	Rate	Amount	Rate	Amount		
0001	0000100000-N 800 MOBILIZATION				Lump Sum		5400000.00		5528300.00	5600000.00	
0002	0000400000-N 801 CONSTRUCTION SURVEYING				Lump Sum		840000.00		463400.00	847000.00	
0003	0001000000-E 200 CLEARING & GRUBBING				Lump Sum		1800000.00		1822500.00	6925000.00	
0004	0008000000-E 200 SUPP CLEARING & GRUBBING	7	ACR	10765.91		75361.37		4820.00	33740.00	35000.00	
0005	0015000000-N 205 SEALING ABANDONED WELLS	9	EA	1606.61		14459.49		2390.00	21510.00	13500.00	
0006	0029000000-N SP REINF BRG APPR ***** (10+65.063 -Y10-)				Lump Sum		69441.07		42900.00	50000.00	
0007	0029000000-N SP REINF BRG APPR ***** (11+43.200 US 220 SB RAMP)				Lump Sum		33228.86		45800.00	33000.00	
0008	0029000000-N SP REINF BRG APPR ***** (114+28.00-L-NB)				Lump Sum		40621.37		38000.00	16000.00	
0009	0029000000-N SP REINF BRG APPR ***** (114+28.00-L-SB)				Lump Sum		34498.27		37000.00	32000.00	
0010	0029000000-N SP REINF BRG APPR ***** (134+30.00-L-NB)				Lump Sum		29047.25		33600.00	32000.00	
0011	0029000000-N SP REINF BRG APPR ***** (134+30.00-L-SB)				Lump Sum		29047.25		33600.00	65000.00	
0012	0029000000-N SP REINF BRG APPR ***** (16+24.670 US 220 SB RAMP)				Lump Sum		52419.47		36900.00	55000.00	
0013	0029000000-N SP REINF BRG APPR ***** (24+37.000 -L REV- NBL)				Lump Sum		63321.53		39200.00	80000.00	
0014	0029000000-N SP REINF BRG APPR ***** (24+37.000 -L REV- SBL)				Lump Sum		43010.82		35400.00	55000.00	
0015	0029000000-N SP REINF BRG APPR ***** (45+30.610 -L REV- NBL)				Lump Sum		45400.32		37400.00	55000.00	
0016	0029000000-N SP REINF BRG APPR ***** (45+30.610 -L REV- SBL)				Lump Sum		45251.00		37400.00	70000.00	
0017	0036000000-E 225 UNDERCUT EXCAVATION	33,860	CY	5.56		188261.60		12.25	414785.00	4.50	152370.00
0018	0038000000-E SP SHALLOW UNDERCUT	8,300	CY	7.05		58515.00		12.25	101675.00	6.50	53950.00
0019	0080000000-E SP CLASS IV SUBGRD STABILIZATION	16,550	TON	26.97		446353.50		29.25	484087.50	27.00	446850.00
0020	0134000000-E 240 DRAINAGE DITCH EXCAVATION	18,200	CY	3.36		61152.00		7.45	135590.00	6.00	109200.00
0021	0141000000-E 240 BERM DITCH CONSTRUCTION	4,255	LF	3.93		16722.15		9.35	39784.25	2.00	8510.00
0022	0156000000-E 250 REMOVAL OF EXT ASPHALT PVMT	104,515	SY	3.83		400292.45		2.10	219481.50	2.50	261287.50
0023	0177000000-E 250 BREAKING OF EXT ASPH PVMT	40,940	SY	3.14		128551.60		2.10	85974.00	0.85	34799.00
0024	0192000000-N 260 PROOF ROLLING	120	HR	158.27		18992.40		241.00	28920.00	300.00	36000.00
0025	0195000000-E SP SELECT GRANULAR MATERIAL	29,320	CY	48.33		1417035.60		57.50	1685900.00	40.00	1172800.00
0026	0196000000-E 270 SOIL STABILIZATION FABRIC	68,920	SY	1.95		134394.00		2.00	137840.00	2.50	172300.00
0027	0199000000-E SP TEMPORARY SHORING	18,509	SF	28.07		519547.63		24.75	458097.75	40.00	740360.00
0028	0220000000-E SP ROCK EMBANKMENTS	24,020	TON	11.93		286558.60		37.75	906755.00	50.00	1201000.00
0029	0223000000-E SP ROCK PLATING	5,400	SY	19.80		106920.00		61.25	330750.00	50.00	270000.00
0030	0234000000-E SP GENERIC GRADING ITEM (CY) EXCAVATION AND STOCKPILING CONTAMINATED SOIL	100	CY	4.59		459.00		25.75	2575.00	40.00	4000.00
0031	0241000000-E SP GENERIC GRADING ITEM (SY) FABRIC FOR EMBANKMENT STABILIZATION	1,675	SY	1.95		3266.25		15.25	25543.75	5.50	9212.50
0032	0241000000-E SP GENERIC GRADING ITEM (SY) FILTER FABRIC FOR ROCK EMBANK-MENT	11,650	SY	1.58		18407.00		2.40	27960.00	10.00	116500.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.	
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC	
0033	0248000000-N	SP	GENERIC GRADING ITEM (LS) SUBGRADE IMPROVEMENT FIELD TEST	Lump Sum		26337.52		35000.00	60000.00
0034	0318000000-E	SP	FND CONDIR MATL MINOR STRS	6,140 TON	34.39	211154.60	45.00	276300.00	37.00 227180.00
0035	0320000000-E	SP	FND CONDIR FABRIC	19,210 SY	1.80	34578.00	2.30	44183.00	4.50 86445.00
0036	0342000000-E	SP	*** SIDE DRAIN PIPE (30")	3,100 LF	50.61	156891.00	47.25	146475.00	45.00 139500.00
0037	0342000000-E	SP	*** SIDE DRAIN PIPE (36")	180 LF	70.11	12619.80	54.50	9810.00	55.00 9900.00
0038	0343000000-E	SP	15" SIDE DRAIN PIPE	11,576 LF	28.56	330610.56	31.50	364644.00	25.00 289400.00
0039	0344000000-E	SP	18" SIDE DRAIN PIPE	6,924 LF	29.65	205296.60	47.75	330621.00	28.00 193872.00
0040	0345000000-E	SP	24" SIDE DRAIN PIPE	4,088 LF	43.18	176519.84	40.25	164542.00	35.00 143080.00
0041	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (15")	35 EA	224.28	7849.80	206.00	7210.00	500.00 17500.00
0042	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (18")	22 EA	705.81	15527.82	246.00	5412.00	550.00 12100.00
0043	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (24")	10 EA	758.81	7588.10	366.00	3660.00	675.00 6750.00
0044	0348000000-E	SP	*** SIDE DRAIN PIPE ELBOW (36")	2 EA	867.44	1734.88	829.00	1658.00	800.00 1600.00
0045	0360000000-E	SP	12" RC PIPE CULV III	16 LF	30.51	488.16	23.25	372.00	30.00 480.00
0046	0366000000-E	SP	15" RC PIPE CULV III	4,264 LF	31.71	135211.44	23.25	99138.00	45.00 191880.00
0047	0372000000-E	SP	18" RC PIPE CULV III	5,000 LF	30.43	152150.00	26.50	132500.00	50.00 250000.00
0048	0378000000-E	SP	24" RC PIPE CULV III	2,748 LF	44.57	122478.36	32.00	87936.00	55.00 151140.00
0049	0384000000-E	SP	30" RC PIPE CULV III	1,424 LF	53.31	75913.44	43.75	62300.00	65.00 92560.00
0050	0390000000-E	SP	36" RC PIPE CULV III	668 LF	79.60	53172.80	59.75	39913.00	100.00 66800.00
0051	0396000000-E	SP	42" RC PIPE CULV III	368 LF	111.05	40866.40	70.50	25944.00	115.00 42320.00
0052	0402000000-E	SP	48" RC PIPE CULV III	292 LF	125.41	36619.72	88.25	25769.00	200.00 58400.00
0053	0408000000-E	SP	54" RC PIPE CULV III	1,052 LF	139.82	147090.64	96.25	101255.00	250.00 263000.00
0054	0420000000-E	SP	66" RC PIPE CULV III	240 LF	234.68	56323.20	161.00	38640.00	300.00 72000.00
0055	0448000000-E	SP	**** RCP CULV CLASS IV (48")	112 LF	113.98	12765.76	89.50	10024.00	165.00 18480.00
0056	0448200000-E	SP	15" RCP CULV CLASS IV	8,420 LF	34.05	286701.00	25.25	212605.00	47.50 399950.00
0057	0448300000-E	SP	18" RCP CULV CLASS IV	1,196 LF	35.96	43008.16	27.25	32591.00	55.00 65780.00
0058	0448400000-E	SP	24" RCP CULV CLASS IV	804 LF	45.17	36316.68	34.50	27738.00	60.00 48240.00
0059	0448500000-E	SP	30" RCP CULV CLASS IV	452 LF	58.99	26663.48	49.25	22261.00	75.00 33900.00
0060	0448600000-E	SP	36" RCP CULV CLASS IV	344 LF	81.09	27894.96	55.50	19092.00	115.00 39560.00
0061	0448700000-E	SP	42" RCP CULV CLASS IV	380 LF	108.31	41157.80	75.50	28690.00	125.00 47500.00
0062	0453000000-E	SP	*** PIPE END SECTION (15")	2 EA	837.31	1674.62	749.00	1498.00	650.00 1300.00
0063	0546000000-E	SP	*** CAA PIPE CLVT ***** (18", 0.064")	176 LF	44.48	7828.48	59.25	10428.00	30.00 5280.00
0064	0546000000-E	SP	*** CAA PIPE CLVT ***** (72", 0.168")	136 LF	269.30	36624.80	339.00	46104.00	300.00 40800.00
0065	0576000000-E	SP	*** CS PIPE CULV ***** (36", 0.079")	120 LF	67.64	8116.80	54.00	6480.00	100.00 12000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.		
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC		
0066	0576000000-E	SP	*** CS PIPE CULV ***** (48", 0.109")	32 LF	108.88	3484.16	85.75	2744.00	125.00	4000.00
0067	0576000000-E	SP	*** CS PIPE CULV ***** (72", 0.168")	160 LF	260.11	41617.60	269.00	43040.00	300.00	48000.00
0068	0582000000-E	SP	15" CS PIPE CULV 0.064"	1,852 LF	33.36	61782.72	28.00	51856.00	25.00	46300.00
0069	0588000000-E	SP	18" CS PIPE CULV 0.064"	160 LF	40.12	6419.20	30.50	4880.00	30.00	4800.00
0070	0600000000-E	SP	30" CS PIPE CULV 0.079"	240 LF	64.06	15374.40	47.75	11460.00	50.00	12000.00
0071	0636000000-E	SP	*** CS ELBOW ***** THICK (15", 0.064")	31 EA	224.28	6952.68	314.00	9734.00	300.00	9300.00
0072	0636000000-E	SP	*** CS ELBOW ***** THICK (18", 0.064")	7 EA	224.29	1570.03	333.00	2331.00	400.00	2800.00
0073	0636000000-E	SP	*** CS ELBOW ***** THICK (30", 0.079")	4 EA	481.54	1926.16	597.00	2388.00	550.00	2200.00
0074	0636000000-E	SP	*** CS ELBOW ***** THICK (36", 0.079")	2 EA	778.78	1557.56	673.00	1346.00	750.00	1500.00
0075	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (18", 0.5", B)	96 LF	251.70	24163.20	239.00	22944.00	175.00	16800.00
0076	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (24", 0.5", B)	260 LF	296.69	77139.40	240.00	62400.00	225.00	58500.00
0077	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (36", 0.5", B)	340 LF	401.65	136561.00	383.00	130220.00	300.00	102000.00
0078	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (42", 0.625", B)	172 LF	487.34	83822.48	516.00	88752.00	375.00	64500.00
0079	0973100000-E	SP	***WLD STL PIPE GRAD IN SOIL (54", 0.75", B)	108 LF	872.92	94275.36	709.00	76572.00	700.00	75600.00
0080	0973300000-E	SP	***WLD STL PIPE GRAD NOT IN SOIL (42", 0.625", B)	50 LF	1237.09	61854.50	1090.00	54500.00	1000.00	50000.00
0081	0986000000-E	SP	GENERIC PIPE ITEM (LF) 15" CS SLOTTED DRAIN, 0.064" THICK	88 LF	105.84	9313.92	141.00	12408.00	75.00	6600.00
0082	0992000000-E	SP	GENERIC PIPE ITEM (EA) 15" FLAP GATE	1 EA	2783.86	2783.86	532.00	532.00	750.00	750.00
0083	0995000000-E	340	PIPE REMOVAL	11,545 LF	15.78	182180.10	8.20	94669.00	17.00	196265.00
0084	0996000000-N	350	PIPE CLEAN-OUT	12 EA	1071.07	12852.84	684.00	8208.00	725.00	8700.00
0085	1000000000-E	462	6" SLOPE PROTECTION	510 SY	73.00	37230.00	52.25	26647.50	36.00	18360.00
0086	1011000000-N	500	FINE GRADING	Lump Sum		250675.34		774300.00		2250000.00
0087	1077000000-E	SP	#57 STONE	10,050 TON	18.01	181000.50	37.00	371850.00	36.00	361800.00
0088	1110000000-E	510	STABILIZER AGGREGATE	500 TON	34.79	17395.00	36.25	18125.00	27.00	13500.00
0089	1121000000-E	520	AGGREGATE BASE COURSE	46,700 TON	29.96	1399132.00	32.00	1494400.00	30.00	1401000.00
0090	1220000000-E	545	INCIDENTAL STONE BASE	6,310 TON	30.65	193401.50	38.25	241357.50	30.00	189300.00
0091	1275000000-E	600	PRIME COAT	15,000 GAL	3.14	47100.00	3.00	45000.00	3.25	48750.00
0092	1489000000-E	610	ASP CONC BASE CRS B25.0B	11,080 TON	44.15	489182.00	55.75	617710.00	42.65	472562.00
0093	1498000000-E	610	ASP CONC INTR CRS I19.0B	7,280 TON	44.68	325270.40	56.25	409500.00	42.60	310128.00
0094	1519000000-E	610	ASP CONC SURF CRS S9.5B	25,690 TON	45.60	1171464.00	57.75	1483597.50	42.30	1086687.00
0095	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	640 TON	297.16	190182.40	141.00	90240.00	110.00	70400.00
0096	2000000000-N	806	RIGHT OF WAY MARKERS	390 EA	169.63	66155.70	168.00	65520.00	175.00	68250.00
0097	2022000000-E	SP	SUBDRAIN EXCAVATION	4,915 CY	10.71	52639.65	12.25	60208.75	10.50	51607.50
0098	2033000000-E	SP	SUBDRAIN FINE AGGREGATE	2,460 CY	40.17	98818.20	57.50	141450.00	47.00	115620.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.				
				IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC				
0099	2044000000-E	SP	6" PERF SUBDRN PIPE	14,830 LF	4.28	63472.40	3.35	49680.50	4.75	70442.50
0100	2070000000-N	SP	SUBDRN PIPE OUTLETS	31 EA	267.77	8300.87	338.00	10478.00	225.00	6975.00
0101	2077000000-E	SP	6" OUTLET PIPE (SUBDRNS)	204 LF	21.42	4369.68	15.25	3111.00	22.00	4488.00
0102	2143000000-E	818	BLOTTING SAND	55 TON	208.78	11482.90	108.00	5940.00	28.00	1540.00
0103	2209000000-E	838	ENDWALLS	83.8 CY	685.74	57465.01	945.00	79191.00	825.00	69135.00
0104	2220000000-E	838	REINFORCED ENDWALLS	42.5 CY	439.09	18661.33	969.00	41182.50	1000.00	42500.00
0105	2253000000-E	840	PIPE COLLARS	41.67 CY	696.20	29010.65	412.00	17168.04	775.00	32294.25
0106	2264000000-E	840	PIPE PLUGS	8.14 CY	696.20	5667.07	620.00	5046.80	1055.00	8587.70
0107	2275000000-E	SP	FLOWABLE FILL	686 CY	246.35	168996.10	240.00	164640.00	160.00	109760.00
0108	2286000000-N	840	MASNRY DRAINAGE STRUCT	475 EA	963.96	457881.00	1040.00	494000.00	1350.00	641250.00
0109	2297000000-E	840	MASNRY DRAINAGE STRUCT	52.18 CY	1017.52	53094.19	945.00	49310.10	1250.00	65225.00
0110	2308000000-E	840	MASNRY DRAINAGE STRUCT	197.2 LF	455.28	89781.22	305.00	60146.00	225.00	44370.00
0111	2354000000-N	840	FRAME W/GRATE 840.22 STD	14 EA	305.73	4280.22	548.00	7672.00	450.00	6300.00
0112	2364000000-N	840	FRAME W/2GRTS 840.16 STD	51 EA	356.55	18184.05	548.00	27948.00	500.00	25500.00
0113	2364200000-N	840	FRAME W/2GRTS 840.20 STD	29 EA	347.97	10091.13	548.00	15892.00	475.00	13775.00
0114	2365000000-N	840	FRAME W/2GRTS 840.22 STD	206 EA	305.75	62984.50	548.00	112888.00	450.00	92700.00
0115	2366000000-N	840	FRAME W/2GRTS 840.24 STD	18 EA	310.29	5585.22	548.00	9864.00	450.00	8100.00
0116	2367000000-N	840	FRAME W/2GRTS 840.29 STD	75 EA	307.33	23049.75	548.00	41100.00	475.00	35625.00
0117	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	7 EA	478.09	3346.63	457.00	3199.00	550.00	3850.00
0118	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	32 EA	478.09	15298.88	457.00	14624.00	550.00	17600.00
0119	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	33 EA	478.08	15776.64	457.00	15081.00	550.00	18150.00
0120	2396000000-N	840	FRAME W/COVER STD 840.54	31 EA	280.73	8702.63	427.00	13237.00	375.00	11625.00
0121	2440000000-N	852	CONC TRANS SECT FOR CATCH BASIN	5 EA	2677.68	13388.40	471.00	2355.00	501.20	2506.00
0122	2451000000-N	852	CONC TRANS SECT FOR DROP INLET	51 EA	5355.35	273122.85	302.00	15402.00	501.20	25561.20
0123	2462000000-E	SP	*** SLUICE GATE (25")	2 EA	5355.35	10710.70	8960.00	17920.00	4500.00	9000.00
0124	2462000000-E	SP	*** SLUICE GATE (38-3/4")	3 EA	16066.05	48198.15	17900.00	53700.00	6000.00	18000.00
0125	2472000000-N	840	GENERIC DRAINAGE ITEM (EA) 840 TEMPORARY CONCRETE LIDS	5 EA	1071.07	5355.35	2390.00	11950.00	1000.00	5000.00
0126	2535000000-E	846	***X*** CONCRETE CURB (8" X 18")	2,280 LF	15.30	34884.00	11.50	26220.00	11.63	26516.40
0127	2542000000-E	846	1'-6"CONC CURB & GUTTER	21,740 LF	11.42	248270.80	12.00	260880.00	10.28	223487.20
0128	2549000000-E	846	2'-6"CONC CURB & GUTTER	14,060 LF	13.61	191356.60	13.75	193325.00	12.86	180811.60
0129	2556000000-E	846	SHOULDER BERM GUTTER	14,100 LF	13.01	183441.00	18.00	253800.00	11.49	162009.00
0130	2577000000-E	846	CONC EXPRESSWAY GUTTER	2,040 LF	19.56	39902.40	24.25	49470.00	19.08	38923.20
0131	2580000000-E	846	CONCRETE VALLEY GUTTER	370 LF	21.86	8088.20	36.25	13412.50	27.63	10223.10
0132	2591000000-E	848	4" CONCRETE SIDEWALK	6,860 SY	29.13	199831.80	36.00	246960.00	22.46	154075.60
0133	2612000000-E	848	6" CONCRETE DRIVEWAY	840 SY	35.52	29836.80	38.50	32340.00	33.89	28467.60
0134	2619000000-E	850	4" CONCRETE PAVED DITCH	250 SY	27.32	6830.00	54.25	13562.50	48.75	12187.50
0135	2627000000-E	852	4" CONC ISLAND COVERS	85 SY	32.79	2787.15	60.25	5121.25	22.75	1933.75

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.			
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC			
0136	2655000000-E	852	5" MONO CONC ISLDS (KEY IN)	20,890	SY	31.59	659915.10	39.75	830377.50	31.32	654274.80
0137	2724000000-E	857	PC REINF BARRIER SNGL FC	5,159	LF	54.93	283383.87	68.75	354681.25	80.00	412720.00
0138	2760000000-N	848	GENERIC PAVING ITEM 848 (EA) CONCRETE CURB RAMPS	44	EA	1191.29	52416.76	1030.00	45320.00	985.00	43340.00
0139	2800000000-N	858	ADJ CATCH BASINS	3	EA	1071.07	3213.21	1790.00	5370.00	675.00	2025.00
0140	2830000000-N	858	ADJ MANHOLES	4	EA	2142.14	8568.56	1790.00	7160.00	750.00	3000.00
0141	3000000000-N	SP	IMPACT ATTEN TYPE 350	11	EA	12441.72	136858.92	17100.00	188100.00	11500.00	126500.00
0142	3030000000-E	862	STL BM GUARDRAIL	34,962.5	LF	16.23	567441.38	17.50	611843.75	14.50	506956.25
0143	3045000000-E	862	SBGR SHOP CURVED	862.5	LF	16.77	14464.13	19.00	16387.50	15.50	13368.75
0144	3105000000-N	862	SBGR TERM SECT	16	EA	108.19	1731.04	60.75	972.00	100.00	1600.00
0145	3150000000-N	862	ADDIT GUARDRAIL POSTS	20	EA	34.62	692.40	6.05	121.00	32.00	640.00
0146	3195000000-N	862	GR ANCHOR TYPE AT-1	11	EA	432.76	4760.36	424.00	4664.00	400.00	4400.00
0147	3210000000-N	862	GR ANCHOR TYPE CAT-1	30	EA	459.80	13794.00	576.00	17280.00	425.00	12750.00
0148	3215000000-N	862	GR ANCHOR TYPE III	8	EA	1514.64	12117.12	1460.00	11680.00	1200.00	9600.00
0149	3270000000-N	SP	GR ANCHOR TYPE 350	89	EA	1947.40	173318.60	2090.00	186010.00	1700.00	151300.00
0150	3285000000-N	SP	GR ANCHOR TYPE M-350	8	EA	1676.93	13415.44	1760.00	14080.00	1550.00	12400.00
0151	3317000000-N	862	GR ANCHOR TYPE B-77	49	EA	1514.64	74217.36	1640.00	80360.00	1300.00	63700.00
0152	3360000000-E	863	REMOVE EXISTING GUARDRAIL	6,366	LF	1.08	6875.28	7.45	47426.70	1.00	6366.00
0153	3380000000-E	862	TEMP STL BM GUARDRAIL	3,750	LF	5.41	20287.50	8.50	31875.00	5.00	18750.00
0154	3387000000-N	862	GDRL ANCH UNITS ***** TEMP (W-BEAM)	1	EA	865.51	865.51	303.00	303.00	800.00	800.00
0155	3389100000-N	SP	GDRL ANCH UNITS 350 TEMP	6	EA	649.13	3894.78	728.00	4368.00	600.00	3600.00
0156	3389400000-E	865	DBL FACED CABLE GUIDERAIL	21,400	LF	11.36	243104.00	7.40	158360.00	10.50	224700.00
0157	3389500000-N	SP	ADDITIONAL GUIDERAIL POSTS	10	EA	70.32	703.20	6.05	60.50	65.00	650.00
0158	3389600000-N	865	CBL GUIDERAIL ANCH UNIT	131	EA	54.09	7085.79	1750.00	229250.00	50.00	6550.00
0159	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	95,220	LF	2.49	237097.80	2.60	247572.00	2.30	219006.00
0160	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	5,800	EA	16.23	94134.00	14.50	84100.00	15.00	87000.00
0161	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	1,870	EA	29.21	54622.70	21.75	40672.50	27.00	50490.00
0162	3536000000-E	866	CHN LK FENCE 48" FABRIC	1,310	LF	5.41	7087.10	8.30	10873.00	5.00	6550.00
0163	3542000000-E	866	MET LINE PST 48" CL FEN	112	EA	34.62	3877.44	38.75	4340.00	32.00	3584.00
0164	3548000000-E	866	MET TERM PST 48" CL FEN	10	EA	108.19	1081.90	97.00	970.00	100.00	1000.00
0165	3551000000-E	866	MET GATE PST *** CL FEN S (48")	6	EA	216.38	1298.28	139.00	834.00	200.00	1200.00
0166	3564000000-E	866	SGL GATE **HIGH, **WIDE, **OPEN (48", 16', 16')	6	EA	649.13	3894.78	728.00	4368.00	600.00	3600.00
0167	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	115	LF	81.14	9331.10	91.00	10465.00	75.00	8625.00
0168	3628000000-E	876	RIP RAP, CLASS I	2,530	TON	62.04	156961.20	38.50	97405.00	55.00	139150.00
0169	3635000000-E	876	RIP RAP, CLASS II	110	TON	73.57	8092.70	39.75	4372.50	65.00	7150.00
0170	3649000000-E	876	RIP RAP, CLASS B	5,690	TON	64.33	366037.70	38.50	219065.00	50.00	284500.00
0171	3656000000-E	876	FILTER FABRIC FOR DRAINAGE	43,320	SY	2.39	103534.80	2.85	123462.00	2.25	97470.00
0172	3659000000-N	SP	PREFORMED SCOUR HOLES	4	EA	681.19	2724.76	1770.00	7080.00	500.00	2000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.				
				IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC				
0173	3691000000-N	SP	GENERIC EROSION CONTROL ITEM (EA) RIP RAP ENERGY DISSIPATOR	1 EA	4171.74	4171.74	2300.00	2300.00	500.00	500.00
0174	4048000000-E	902	REINF CONC FOUNDTN	8 CY	883.36	7066.88	985.00	7880.00	800.00	6400.00
0175	4054000000-E	902	PLN CL A CONC FOUNDTN	2 CY	883.36	1766.72	985.00	1970.00	800.00	1600.00
0176	4057000000-E	SP	OVERHEAD FOOTING	84 CY	1656.29	139128.36	1850.00	155400.00	1500.00	126000.00
0177	4060000000-E	903	SUPPORT, BREAKAWAY STL BM	5,793 LB	4.75	27516.75	5.30	30702.90	4.30	24909.90
0178	4066000000-E	903	SUPPORT, 3-LB STL U-CHAN	2,440 LB	4.42	10784.80	4.95	12078.00	4.00	9760.00
0179	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	6,928 LF	5.47	37896.16	6.10	42260.80	4.95	34293.60
0180	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (26+40 -L REV-)	Lump Sum		31469.58		35100.00		28500.00
0181	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (27+40 -L REV-)	Lump Sum		42511.54		47400.00		38500.00
0182	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (33+60 -L REV-)	Lump Sum		36990.56		41200.00		33500.00
0183	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (35+40 -L REV-)	Lump Sum		36990.56		41200.00		33500.00
0184	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (41+60 -L REV-)	Lump Sum		33125.87		36900.00		30000.00
0185	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (50+00 -L REV-)	Lump Sum		38646.85		43100.00		35000.00
0186	4082100000-N	SP	SUPPORT, OVRHD SIGN STR **** (75+00 -L REV-)	Lump Sum		34549.74		38500.00		31289.50
0187	4096000000-N	904	SIGN ERECTION, TYPE D	26 EA	110.42	2870.92	123.00	3198.00	100.00	2600.00
0188	4102000000-N	904	SIGN ERECTION, TYPE E	412 EA	60.73	25020.76	67.75	27913.00	55.00	22660.00
0189	4108000000-N	904	SIGN ERECTION, TYPE F	90 EA	110.42	9937.80	123.00	11070.00	100.00	9000.00
0190	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (A)	10 EA	386.47	3864.70	431.00	4310.00	350.00	3500.00
0191	4110000000-N	904	SIGN ERECTION, TYPE *** (GRD MTD) (B)	3 EA	386.47	1159.41	431.00	1293.00	350.00	1050.00
0192	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (D)	23 EA	110.42	2539.66	123.00	2829.00	100.00	2300.00
0193	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	4 EA	55.21	220.84	61.50	246.00	50.00	200.00
0194	4152000000-N	907	DISPOSE SIGN SYST STL BM	2 EA	55.21	110.42	61.50	123.00	50.00	100.00
0195	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	307 EA	1.10	337.70	1.25	383.75	1.00	307.00
0196	4158000000-N	907	DISPOSE SIGN SYST WOOD	3 EA	1.10	3.30	1.25	3.75	1.00	3.00
0197	4192000000-N	907	DISPOSE SUPPORT, U-CHAN	27 EA	1.10	29.70	1.25	33.75	1.00	27.00
0198	4400000000-E	1110	WORK ZONE SIGNS (STAT)	793 SF	4.66	3695.38	10.00	7930.00	15.00	11895.00
0199	4405000000-E	1110	WORK ZONE SIGNS (PORT)	1,124 SF	9.19	10329.56	10.25	11521.00	9.00	10116.00
0200	4410000000-E	1110	WORK ZONE SIGNS (BARR)	2,705 SF	8.19	22153.95	9.70	26238.50	10.00	27050.00
0201	4415000000-N	1115	FLASHING ARROW PNL TYPE C	2 EA	4655.98	9311.96	2990.00	5980.00	7500.00	15000.00
0202	4422000000-N	1120	CHANGEABLE MESSAGE SIGN (SHORT TERM)	1,680 DAY	39.29	66007.20	100.00	168000.00	200.00	336000.00
0203	4430000000-N	1130	DRUMS	1,010 EA	48.92	49409.20	78.00	78780.00	50.00	50500.00
0204	4435000000-N	1135	CONES	200 EA	17.98	3596.00	18.75	3750.00	25.00	5000.00
0205	4445000000-E	1145	BARRICADES (TYPE III)	2,940 LF	35.30	103782.00	26.25	77175.00	25.00	73500.00
0206	4455000000-N	1150	FLAGGER	2,880 MD	217.43	626198.40	200.00	576000.00	265.00	763200.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.				
				IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC				
0207	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	20 EA	7431.89	148637.80	6930.00	138600.00	7500.00	150000.00
0208	4470000000-N	1160	RESET CRASH CUSHION	6 EA	2858.42	17150.52	3810.00	22860.00	2200.00	13200.00
0209	4480000000-N	1165	TMIA	4 EA	16384.34	65537.36	22700.00	90800.00	18500.00	74000.00
0210	4485000000-E	1170	PORT CONC BARRIER	6,140 LF	25.73	157982.20	38.75	237925.00	25.00	153500.00
0211	4495000000-E	1170	PORT CONC BARRIER(DRAINGE	1,960 LF	25.73	50430.80	38.75	75950.00	25.00	49000.00
0212	4500000000-E	1170	RESET PORT CONC BARRIER	1,040 LF	3.72	3868.80	7.45	7748.00	6.00	6240.00
0213	4506000000-E	1170	RESET PORT CONC BARR,DRAIN	360 LF	3.72	1339.20	7.45	2682.00	6.00	2160.00
0214	4650000000-N	1251	TEMP RAISED PVMT MRKS	2,665 EA	5.33	14204.45	5.90	15723.50	4.00	10660.00
0215	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	9,689 LF	1.40	13564.60	1.55	15017.95	2.00	19378.00
0216	4697000000-E	1205	THERMO PVT MKG LINE 8"120 MILS	1,976 LF	1.58	3122.08	1.75	3458.00	2.25	4446.00
0217	4710000000-E	1205	24"WIDE THERMO 120 MILS	3,922 LF	5.66	22198.52	6.30	24708.60	9.00	35298.00
0218	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	70 EA	116.54	8157.80	129.00	9030.00	85.00	5950.00
0219	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	432 EA	94.34	40754.88	105.00	45360.00	95.00	41040.00
0220	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (IV)	5,560 LF	1.72	9563.20	1.90	10564.00	1.75	9730.00
0221	4810000000-E	1205	PAINT PVMT MARKINGS 4"	1,070,768 LF	0.11	117784.48	0.12	128492.16	0.12	128492.16
0222	4820000000-E	1205	PAINT PVMT MARKINGS 8"	11,368 LF	0.23	2614.64	0.26	2955.68	0.40	4547.20
0223	4835000000-E	1205	PAINT PVT MKG LINES 24"	6,480 LF	1.66	10756.80	1.85	11988.00	3.00	19440.00
0224	4840000000-N	1205	PAINT PVT MKG CHARACTER	4 EA	55.50	222.00	61.75	247.00	25.00	100.00
0225	4845000000-N	1205	PAINT PVT MKG SYMBOL	370 EA	49.95	18481.50	55.50	20535.00	25.00	9250.00
0226	4850000000-E	1205	LINE REMOVAL 4" WIDE	28,000 LF	0.72	20160.00	0.80	22400.00	0.25	7000.00
0227	4900000000-N	1251	PERM RAISED PVMT MARKERS	28 EA	5.33	149.24	5.90	165.20	4.00	112.00
0228	4905000000-N	1253	SNOWPLB PVMT MRKER	3,953 EA	24.42	96532.26	27.25	107719.25	25.00	98825.00
0229	4935000000-N	1267	FLEX DELINATR (CRYSTAL)	142 EA	28.71	4076.82	32.00	4544.00	26.00	3692.00
0230	4940000000-N	1267	FLEX DELINATR (YELLOW)	48 EA	28.71	1378.08	32.00	1536.00	26.00	1248.00
0231	4945000000-N	1267	FLEX DELINATR (CRY & RED)	20 EA	28.71	574.20	32.00	640.00	26.00	520.00
0232	4950000000-N	1267	FLEX DELINATR (YEL & RED)	20 EA	28.71	574.20	32.00	640.00	26.00	520.00
0233	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum		72889.67		122900.00		150000.00
0234	5325600000-E	1510	6" WATER LINE	214 LF	65.34	13982.76	72.75	15568.50	55.00	11770.00
0235	5325800000-E	1510	8" WATER LINE	361 LF	81.68	29486.48	91.00	32851.00	80.00	28880.00
0236	5326200000-E	1510	12" WATER LINE	99 LF	130.68	12937.32	146.00	14454.00	125.00	12375.00
0237	5546000000-E	1515	8" VALVE	2 EA	1208.83	2417.66	1350.00	2700.00	1500.00	3000.00
0238	5606000000-E	1515	2" BLOW OFF	2 EA	1905.82	3811.64	2130.00	4260.00	1500.00	3000.00
0239	5648000000-N	1515	RELOCATE WATER METER	1 EA	1089.04	1089.04	1210.00	1210.00	1500.00	1500.00
0240	5666000000-E	1515	FIRE HYDRANT	2 EA	3931.43	7862.86	4380.00	8760.00	4500.00	9000.00
0241	5672000000-N	1515	RELOCATE FIRE HYDRANT	10 EA	3528.49	35284.90	3930.00	39300.00	1850.00	18500.00
0242	5689000000-E	1515	GENERIC UTILITY ITEM (EA) 1515 ADJUSTMENT OF SEWER MANHOLES	8 EA	588.08	4704.64	656.00	5248.00	750.00	6000.00
0243	5804000000-E	1530	ABANDON 12" UTILITY PIPE	120 LF	16.34	1960.80	18.25	2190.00	15.00	1800.00
0244	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 ADJUSTMENT OF VALVE BOX	6 EA	435.62	2613.72	486.00	2916.00	860.00	5160.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.			
				IRVING, TX	SNELLVILLE, GA		CHARLOTTE, NC			
0245	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY SEWER LINE SUPPORT	1 EA	5445.19	5445.19	6070.00	6070.00	6500.00	6500.00
0246	5890000000-N	1510	GENERIC UTILITY ITEM (EA) 1510 TEMPORARY WATER LINE SUPPORT	1 EA	5445.19	5445.19	6070.00	6070.00	6750.00	6750.00
0247	6000000000-E	1605	TEMPORARY SILT FENCE	82,800 LF	1.57	129996.00	2.30	190440.00	3.00	248400.00
0248	6006000000-E	1610	EROS CONTRL STONE CL A	32,450 TON	56.38	1829531.00	37.25	1208762.50	50.00	1622500.00
0249	6009000000-E	1610	EROS CONTRL STONE CL B	20,825 TON	59.79	1245126.75	38.50	801762.50	55.00	1145375.00
0250	6012000000-E	1610	SEDIMENT CONTROL STONE	20,650 TON	55.41	1144216.50	36.75	758887.50	45.00	929250.00
0251	6015000000-E	1615	TEMPORARY MULCHING	380 ACR	432.76	164448.80	483.00	183540.00	455.47	173078.60
0252	6018000000-E	1620	SEED FOR TEMP SEEDING	11,900 LB	2.16	25704.00	2.40	28560.00	2.28	27132.00
0253	6021000000-E	1620	FERT FOR TEMP SEEDING	52 TON	1081.89	56258.28	1210.00	62920.00	900.58	46830.16
0254	6024000000-E	1622	TEMPORARY SLOPE DRAINS	36,875 LF	16.32	601800.00	12.75	470156.25	15.00	553125.00
0255	6027000000-N	1622	INLET PROTCN @ SLOPE DRNS	260 EA	166.02	43165.20	208.00	54080.00	225.00	58500.00
0256	6029000000-E	SP	SAFETY FENCE	3,000 LF	1.51	4530.00	2.25	6750.00	2.30	6900.00
0257	6030000000-E	1630	SILT EXCAVATION	141,300 CY	9.20	1299960.00	6.60	932580.00	7.50	1059750.00
0258	6036000000-E	1631	MATting FOR EROS CONTROL	352,200 SY	0.96	338112.00	1.05	369810.00	0.98	345156.00
0259	6037000000-E	SP	COIR FIBER MAT	17,970 SY	4.00	71880.00	4.45	79966.50	3.70	66489.00
0260	6038000000-E	SP	PERM SOIL REINF MAT	21,675 SY	6.71	145439.25	7.50	162562.50	5.43	117695.25
0261	6042000000-E	1632	1/4" HARDWARE CLOTH	29,500 LF	4.02	118590.00	3.80	112100.00	3.50	103250.00
0262	6045000000-E	SP	*** TEMPORARY PIPE (72")	170 LF	270.47	45979.90	251.00	42670.00	200.00	34000.00
0263	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	7,800 SY	7.11	55458.00	5.95	46410.00	15.00	117000.00
0264	6069000000-E	1638	STILLING BASINS	1,130 CY	7.99	9028.70	39.25	44352.50	30.00	33900.00
0265	6070000000-N	SP	SPECIAL STILLING BASINS	40 EA	588.67	23546.80	516.00	20640.00	500.00	20000.00
0266	6071012000-E	SP	COIR FIBER WATTLE	15,320 LF	9.30	142476.00	10.50	160860.00	6.00	91920.00
0267	6071020000-E	SP	POLYACRYLAMIDE (PAM)	16,700 LB	14.50	242150.00	16.25	271375.00	13.40	223780.00
0268	6071030000-E	SP	COIR FIBER BAFFLE	38,750 LF	4.67	180962.50	5.20	201500.00	5.00	193750.00
0269	6071050000-E	SP	*** SKIMMER (1-1/2")	60 EA	966.25	57975.00	730.00	43800.00	950.00	57000.00
0270	6071050000-E	SP	*** SKIMMER (2")	8 EA	1077.73	8621.84	864.00	6912.00	1250.00	10000.00
0271	6071050000-E	SP	*** SKIMMER (2-1/2")	5 EA	1360.74	6803.70	1040.00	5200.00	1500.00	7500.00
0272	6071050000-E	SP	*** SKIMMER (3")	4 EA	1503.66	6014.64	1220.00	4880.00	1750.00	7000.00
0273	6084000000-E	1660	SEEDING AND MULCHING	315 ACR	1839.21	579351.15	2050.00	645750.00	1250.00	393750.00
0274	6087000000-E	1660	MOWING	380 ACR	43.28	16446.40	48.25	18335.00	70.00	26600.00
0275	6090000000-E	1661	SEED FOR REPAIR SEEDING	7,520 LB	9.74	73244.80	10.75	80840.00	12.00	90240.00
0276	6093000000-E	1661	FERT FOR REPAIR SEEDING	16 TON	1190.08	19041.28	1330.00	21280.00	900.00	14400.00
0277	6096000000-E	1662	SEED FOR SUPP SEEDING	7,530 LB	1.46	10993.80	1.65	12424.50	2.50	18825.00
0278	6108000000-E	1665	FERTILIZER TOPDRESSING	225 TON	784.37	176483.25	875.00	196875.00	900.00	202500.00
0279	6111000000-E	SP	IMPERVIOUS DIKE	1,300 LF	37.87	49231.00	48.75	63375.00	90.00	117000.00
0280	6114500000-N	SP	SPECIALIZED HAND MOWING	500 MHR	41.11	20555.00	45.75	22875.00	40.00	20000.00
0281	6117000000-N	SP	RESPONSE FOR EROS CONTROL	300 EA	1.08	324.00	685.00	205500.00	1.00	300.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.				
				IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC				
0282	6120000000-E	SP	CULVERT DIVERSION CHANNEL	450 CY	54.09	24340.50	7.85	3532.50	65.00	29250.00
0283	6123000000-E		1670 REFORESTATION	40 ACR	622.09	24883.60	694.00	27760.00	1000.00	40000.00
0284	7000000000-E	1705	PEDEST SIG HEAD (***** (16", 1 SECTION W/ COUNTDOWN)	32 EA	535.54	17137.28	597.00	19104.00	500.00	16000.00
0285	7060000000-E	1705	SIGNAL CABLE	30,330 LF	0.80	24264.00	0.90	27297.00	0.75	22747.50
0286	7120000000-E	1705	VEHICLE SIGNAL HD (12", 3 SECT)	187 EA	599.80	112162.60	669.00	125103.00	560.00	104720.00
0287	7132000000-E	1705	VEHICLE SIGNAL HD (12", 4 SECT)	13 EA	722.97	9398.61	806.00	10478.00	675.00	8775.00
0288	7144000000-E	1705	VEHICLE SIGNAL HD (12", 5 SECT)	13 EA	955.39	12420.07	1070.00	13910.00	892.00	11596.00
0289	7252000000-E	1710	MESSENGER CABLE (1/4")	6,596 LF	1.61	10619.56	1.80	11872.80	1.50	9894.00
0290	7264000000-E	1710	MESSENGER CABLE (3/8")	12,270 LF	3.21	39386.70	3.60	44172.00	3.00	36810.00
0291	7279000000-E	1715	TRACER WIRE	23,685 LF	0.48	11368.80	0.54	12789.90	0.45	10658.25
0292	7300000000-E	1715	UNPAVED TRENCH (***** (1, 2")	13,810 LF	5.36	74021.60	5.95	82169.50	5.00	69050.00
0293	7300000000-E	1715	UNPAVED TRENCH (***** (2, 2")	22,578 LF	6.43	145176.54	7.15	161432.70	6.00	135468.00
0294	7301000000-E	1715	DIRECT DRILL (***** (1, 2")	510 LF	16.07	8195.70	18.00	9180.00	15.00	7650.00
0295	7301000000-E	1715	DIRECT DRILL (***** (2, 2")	1,067 LF	21.42	22855.14	24.00	25608.00	20.00	21340.00
0296	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	53 EA	364.16	19300.48	406.00	21518.00	340.00	18020.00
0297	7348000000-N	1716	JUNCTION BOX (OVER-SIZED, HVY-DUTY)	45 EA	515.18	23183.10	575.00	25875.00	481.00	21645.00
0298	7360000000-N	1720	WOOD POLE	61 EA	1071.07	65335.27	1190.00	72590.00	1000.00	61000.00
0299	7372000000-N	1721	GUY ASSEMBLY	143 EA	535.54	76582.22	597.00	85371.00	500.00	71500.00
0300	7384000000-E	1722	**** RISER WITH ***** (1-1/4", WEATHERHEAD)	2 EA	160.66	321.32	179.00	358.00	150.00	300.00
0301	7396000000-E	1722	1/2" RISER WITH WEATHERHEAD	4 EA	133.89	535.56	149.00	596.00	125.00	500.00
0302	7408000000-E	1722	1" RISER WITH WEATHERHEAD	13 EA	133.88	1740.44	149.00	1937.00	125.00	1625.00
0303	7420000000-E	1722	2" RISER WITH WEATHERHEAD	56 EA	214.21	11995.76	239.00	13384.00	200.00	11200.00
0304	7432000000-E	1722	2" RISER WITH TUBING	4 EA	348.10	1392.40	388.00	1552.00	325.00	1300.00
0305	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	35,850 LF	6.43	230515.50	7.15	256327.50	6.00	215100.00
0306	7456000000-E	1726	LEAD-IN CABLE(***** (14-2)	85,650 LF	1.07	91645.50	1.20	102780.00	1.00	85650.00
0307	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (24)	7,000 LF	1.29	9030.00	1.45	10150.00	1.20	8400.00
0308	7516000000-E	1730	COMMUNICATIONS CABLE (** FIBER) (72)	24,816 LF	1.87	46405.92	2.10	52113.60	1.75	43428.00
0309	7528000000-E	1730	DROP CABLE	2,621 LF	1.18	3092.78	1.30	3407.30	1.10	2883.10
0310	7540000000-N	1731	SPLICE ENCLOSURE	6 EA	1231.73	7390.38	1370.00	8220.00	1150.00	6900.00
0311	7552000000-N	1731	INTERCONNECT CENTER	6 EA	1312.06	7872.36	1460.00	8760.00	1225.00	7350.00
0312	7566000000-N	1733	DELINEATOR MARKER	29 EA	91.04	2640.16	102.00	2958.00	85.00	2465.00
0313	7575142000-N	SP	900MHZ WIRELESS RADIO SYSTEM	2 EA	4819.82	9639.64	5370.00	10740.00	4500.00	9000.00
0314	7575160000-E	1734	REM EXT COMM CABLE	6,000 LF	1.07	6420.00	1.20	7200.00	1.00	6000.00
0315	7576000000-N	SP	METAL STRAIN SIGNAL POLE	36 EA	9044.12	325588.32	10100.00	363600.00	8444.00	303984.00
0316	7613000000-N	SP	SOIL TEST	36 EA	1071.07	38558.52	1190.00	42840.00	1000.00	36000.00

FED AID NO STPNHF-0220(25), STATE FUNDED
WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.
US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.			
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC			
0317	7614100000-E	SP	DRILLED PIER FOUND	306	CY	214.21	65548.26	239.00	73134.00	200.00	61200.00
0318	7624000000-N	1743	SIGNAL PEDESTAL WITH FOUND	7	EA	883.63	6185.41	985.00	6895.00	825.00	5775.00
0319	7684000000-N	1745	SIGN FOR SIGNALS	39	EA	269.91	10526.49	301.00	11739.00	252.00	9828.00
0320	7684000000-N	1750	SIGNAL CABINET FOUNDATION	9	EA	739.04	6651.36	824.00	7416.00	690.00	6210.00
0321	7756000000-N	1751	CONTLR WITH CBNT, 2070L BASE MTD	9	EA	12386.92	111482.28	13800.00	124200.00	11565.00	104085.00
0322	7768000000-N	1751	CONTLR WITH CBNT, 2070L POLE MTD	7	EA	11256.95	78798.65	12600.00	88200.00	10510.00	73570.00
0323	7780000000-N	1751	DETECTOR CARD (TYPE 2070L)	92	EA	112.46	10346.32	125.00	11500.00	105.00	9660.00
0324	7901000000-N	1753	CABINET BASE EXTENDER	9	EA	401.65	3614.85	448.00	4032.00	375.00	3375.00
0325	7912000000-N	1755	BEACON CNTRL ASSM & CBNT ***** (F3)	2	EA	5355.35	10710.70	5970.00	11940.00	5000.00	10000.00
0326	7948000000-N	SP	TRAFFIC SIGNAL REMOVAL	7	EA	1285.28	8996.96	1430.00	10010.00	1200.00	8400.00
0327	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 30' WOOD POLE	5	EA	1071.07	5355.35	1190.00	5950.00	1000.00	5000.00
0328	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 5/8" X 10' GROUNDING ELECTRODE	28	EA	80.33	2249.24	89.50	2506.00	75.00	2100.00
0329	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 60' WOOD POLE	4	EA	2356.36	9425.44	2630.00	10520.00	2200.00	8800.00
0330	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) 900 MHZ WIRELESS ETHERNET RADIO	2	EA	3213.21	6426.42	3580.00	7160.00	3000.00	6000.00
0331	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CCTV ASSEMBLY	4	EA	4573.47	18293.88	5100.00	20400.00	4270.00	17080.00
0332	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) CENTRAL ETHERNET SWITCH	1	EA	5655.25	5655.25	6310.00	6310.00	5280.00	5280.00
0333	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO DECODER	4	EA	3084.68	12338.72	3440.00	13760.00	2880.00	11520.00
0334	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) DIGITAL VIDEO ENCODER	4	EA	3084.68	12338.72	3440.00	13760.00	2880.00	11520.00
0335	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) EQUIPMENT CABINET DISCONNECT	4	EA	2677.68	10710.72	2990.00	11960.00	2500.00	10000.00
0336	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD EQUIPMENT CABINET	4	EA	5596.34	22385.36	6240.00	24960.00	5225.00	20900.00
0337	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FIELD ETHERNET SWITCH	4	EA	3561.31	14245.24	3970.00	15880.00	3325.00	13300.00
0338	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FUNISH WIRELESS LIGHTNING ARRESTOR	3	EA	267.77	803.31	299.00	897.00	250.00	750.00
0339	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) FURNISH WIRELESS RADIO MODEM	2	EA	1981.48	3962.96	2210.00	4420.00	1850.00	3700.00
0340	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) LOCAL TRAFFIC SIGNAL SOFTWARE	4	EA	6426.42	25705.68	7170.00	28680.00	6000.00	24000.00
0341	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) METER BASE/DISCONNECT COMBIN- ATION PANEL	4	EA	2677.68	10710.72	2990.00	11960.00	2500.00	10000.00
0342	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) MODIFY SPLICE ENCLOSURE	2	EA	1071.07	2142.14	1190.00	2380.00	1000.00	2000.00
0343	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED FLASHER BEACON	3	EA	3213.21	9639.63	3580.00	10740.00	3000.00	9000.00
0344	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) RELOCATE SOLAR POWERED SCHOOL FLASHER	4	EA	3213.21	12852.84	3580.00	14320.00	3000.00	12000.00
0345	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED FLASHER BEACON	6	EA	8033.03	48198.18	8960.00	53760.00	7500.00	45000.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.				
				IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC				
0346	7980000000-N	SP	GENERIC SIGNAL ITEM (EA) SOLAR POWERED, 900 MHZ WIRE- LESS ETHERNET REPEATER RADIO	2 EA	8996.99	17993.98	10000.00	20000.00	8400.00	16800.00
0347	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) #4 SOLID BARE COPPER GROUNDING CONDUCTOR	280 LF	1.07	299.60	1.20	336.00	1.00	280.00
0348	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #12 COPPER FEEDER CON- DUCTORS	358 LF	2.14	766.12	2.40	859.20	2.00	716.00
0349	7990000000-E	SP	GENERIC SIGNAL ITEM (LF) 3-WIRE #3 COPPER SERVICE ENT- RANCE CONDUCTORS	66 LF	6.43	424.38	7.15	471.90	6.00	396.00
0350	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,656,635 CY	6.16	10204871.60	4.81	7968414.35	5.00	8283175.00
0351	0106000000-E	230	BORROW EXCAVATION	659,050 CY	9.00	5931450.00	4.30	2833915.00	4.50	2965725.00
0352	1044000000-E	501	LIME TRTD SOIL (SLURRY)	136,010 SY	2.59	352265.90	2.95	401229.50	1.85	251618.50
0353	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,380 TON	177.22	244563.60	228.00	314640.00	200.00	276000.00
0354	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	130,100 TON	30.29	3940729.00	28.25	3675325.00	26.00	3382600.00
0355	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	5,210 TON	120.05	625460.50	234.00	1219140.00	123.00	640830.00
0356	1176000000-E	542	SOIL CEMENT BASE	229,960 SY	2.84	653086.40	2.80	643888.00	1.80	413928.00
0357	1187000000-E	542	PC FOR SOIL CEMENT BASE	6,360 TON	120.05	763518.00	151.00	960360.00	123.00	782280.00
0358	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,540 TON	31.57	80187.80	38.25	97155.00	26.00	66040.00
0359	1209000000-E	543	ASPHALT CURING SEAL	96,620 GAL	4.38	423195.60	2.90	280198.00	2.90	280198.00
0360	1491000000-E	610	ASP CONC BASE CRS B25.0C	185,400 TON	41.06	7612524.00	45.75	8482050.00	37.45	6943230.00
0361	1503000000-E	610	ASP CONC INTR CRS I19.0C	116,680 TON	41.75	4871390.00	46.50	5425620.00	38.20	4457176.00
0362	1523000000-E	610	ASP CONC SURF CRS S9.5C	102,500 TON	44.72	4583800.00	48.25	4945625.00	42.25	4330625.00
0363	1575000000-E	SP	ASP FOR PLANT MIX	22,230 TON	632.70	14064921.00	660.00	14671800.00	600.00	13338000.00
0364	1840000000-E	665	MILLED RUMBLE STRIPS	96,810 LF	0.13	12585.30	0.32	30979.20	0.16	15489.60
0365	2099000000-E	816	SHOULDER DRAIN	10,360 LF	5.09	52732.40	15.25	157990.00	10.00	103600.00
0366	2110000000-E	816	4" SHOULDER DRAIN PIPE	10,360 LF	1.34	13882.40	14.75	152810.00	6.12	63403.20
0367	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	670 LF	6.43	4308.10	15.00	10050.00	7.50	5025.00
0368	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	15 EA	267.77	4016.55	307.00	4605.00	225.00	3375.00
0369	4685000000-E	1205	THERMO PVT MKG LINES 4"90	174,271 LF	0.70	121989.70	0.78	135931.38	0.75	130703.25
0370	4686000000-E	1205	THERMO PVT MKG LINES 4"120	103,293 LF	0.79	81601.47	0.88	90897.84	0.89	91930.77
0371	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	76,731 LF	0.83	63686.73	0.92	70592.52	0.95	72894.45
0372	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	12,228 LF	0.94	11494.32	0.96	11738.88	1.05	12839.40
0373	4700000000-E	1205	12"WIDE THERMO 90 MILS	6,519 LF	2.89	18839.91	3.20	20860.80	2.00	13038.00
0374	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	1,112 LF	1.83	2034.96	2.05	2279.60	1.50	1668.00
0375	4775000000-E	1205	6" COLD APPL PLSTIC LINES TYPE ** (II)	1,965 LF	2.28	4480.20	2.55	5010.75	1.75	3438.75
0376	4880000000-E	1205	CURING COMP REMOVAL LINES	3,077 LF	1.11	3415.47	1.25	3846.25	1.00	3077.00
0377	4885000000-N	1205	CURING COMPD REMOVAL SYMB	5 EA	55.50	277.50	61.75	308.75	50.00	250.00
0378	0022000000-E	225	UNCLASSIFIED EXCAVATION	1,537,084 CY						
0379	0106000000-E	230	BORROW EXCAVATION	717,390 CY						
0380	1044000000-E	501	LIME TRTD SOIL (SLURRY)	118,310 SY						
0381	1066000000-E	501	LIME FOR LIME TREATED SOIL	1,200 TON						

APR 03, 2012 02:36 PM

GUILFORD, ROCKINGHAM

TIP NO R-2309AB, R-2413C

34418.3.5, 34429.3.7

2:00 PM 57 / 61 001

FEB 21 2012 C200800
13.231 MI

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

AUSTIN BRIDGE & ROAD, LP	E. R. SNELL CONTRACTOR, INC.	BLYTHE CONSTRUCTION, INC.
IRVING, TX	SNELLVILLE, GA	CHARLOTTE, NC

0382	1154000000-E	540	AGGR FOR CEM TREAT BASE CRS	19,000	TON
0383	1165000000-E	540	PORT CEM FOR CEM TRTD BASE CRSE	760	TON
0384	1176000000-E	542	SOIL CEMENT BASE	188,680	SY
0385	1187000000-E	542	PC FOR SOIL CEMENT BASE	5,220	TON
0386	1198000000-E	SP	AGGREGATE FOR SOIL CEM BS	2,030	TON
0387	1209000000-E	543	ASPHALT CURING SEAL	83,520	GAL
0388	1491000000-E	610	ASP CONC BASE CRS B25.0C	133,200	TON
0389	1503000000-E	610	ASP CONC INTR CRS I19.0C	74,860	TON
0390	1523000000-E	610	ASP CONC SURF CRS S9.5C	62,650	TON
0391	1525000000-E	610	ASP CONC SURF CRS SF9.5A	9,120	TON
0392	1575000000-E	SP	ASP FOR PLANT MIX	16,630	TON
0393	1682000000-E	652	ASPH DRAINAGE CO, P-57	16,690	TON
0394	1840000000-E	665	MILLED RUMBLE STRIPS	6,770	LF
0395	1847000000-E	710	*****PCC PVMT THRU LNS (11-1/2")	182,150	SY
0396	1869000000-E	710	*****PCC PVMT MISC (11-1/2")	52,160	SY
0397	1869000000-E	710	*****PCC PVMT MISC (8-1/2")	62,020	SY
0398	1881000000-E	SP	GENERIC PAVING ITEM (LF) MILLED RUMBLE STRIPS (CONCRETESHOULDER)	90,050	LF
0399	1902000000-N	710	SURF TEST CONC PAVEMENT	Lump Sum	
0400	1924000000-N	725	FIELD LAB RENTAL, PCCP	Lump Sum	
0401	2099000000-E	816	SHOULDER DRAIN	47,610	LF
0402	2110000000-E	816	4" SHOULDER DRAIN PIPE	47,610	LF
0403	2121000000-E	816	4" OUTLET PIPE FOR SHDR DRN	2,540	LF
0404	2132000000-N	816	CONC PAD SHLDR DRN OUTLET	50	EA
0405	4685000000-E	1205	THERMO PVT MKG LINES 4"90	160,029	LF
0406	4686000000-E	1205	THERMO PVT MKG LINES 4"120	101,453	LF
0407	4688000000-E	1205	THERMO PVT MKG LINES,6"90 MILS	1,391	LF
0408	4690000000-E	1205	THERMO PVT MKG LINES 6"120 MILS	390	LF
0409	4700000000-E	1205	12"WIDE THERMO 90 MILS	945	LF
0410	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	17,182	LF
0411	4847100000-E	1205	POLYUREA LINES (6" *****) (HIGHLY REFLECTIVE ELEMENTS)	87,725	LF
0412	4847120000-E	1205	POLYUREA LINES (12" *****) (HIGHLY REFLECTIVE ELEMENTS)	6,037	LF
0413	4880000000-E	1205	CURING COMP REMOVAL LINES	111,239	LF
0414	4885000000-N	1205	CURING COMPD REMOVAL SYMB	51	EA

CULVERT ITEMS

0415	8056000000-N	402	REMV EXIST STR ***** (56+36.00-L-)	Lump Sum	6491.34	23200.00	25000.00
------	--------------	-----	---------------------------------------	----------	---------	----------	----------

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

		AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.					
		IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC					
0416	8056000000-N	402	REMV EXIST STR ***** (56+54.000-LREV-)	Lump Sum	6491.34	24800.00	25000.00				
0417	8056000000-N	402	REMV EXIST STR ***** (57+45.800-LREV-)	Lump Sum	8655.11	17700.00	30000.00				
0418	8126000000-N	414	CULV EXCAV @ ***** (168+50.00-L-)	Lump Sum	14064.55	11100.00	40000.00				
0419	8126000000-N	414	CULV EXCAV @ ***** (247+02.00-L-)	Lump Sum	31374.78	19500.00	75000.00				
0420	8126000000-N	414	CULV EXCAV @ ***** (56+36.00-L-)	Lump Sum	32456.67	39100.00	75000.00				
0421	8126000000-N	414	CULV EXCAV @ ***** (56+54.000-LREV-)	Lump Sum	43275.56	5530.00	100000.00				
0422	8133000000-E	414	FND CONDIR MAT, BOX CULV	753 TON	37.87	28516.11	34.75	26166.75	68.70	51731.10	
0423	8196000000-E	420	CLASS A CONCRETE (CULV)	1,629.5 CY	404.34	658872.03	454.00	739793.00	400.00	651800.00	
0424	8245000000-E	425	REINF STEEL (CULVERT)	232,485 LB	0.92	213886.20	0.87	202261.95	0.85	197612.25	
0425	8590000000-E	876	RIP RAP, CLASS ** (I)	40 TON	100.88	4035.20	43.00	1720.00	55.00	2200.00	
0426	8804000000-N	SP	GENERIC CULVERT ITEM (LS) PEDESTRIAN CULVERT CONDUIT SYSTEM	Lump Sum	8732.43	9740.00				10000.00	
0427	8804000000-N	SP	GENERIC CULVERT ITEM (LS) PRECAST REINF CONC 3-SIDED CULVERT STA 57+45.800 -LREV-	Lump Sum	435836.85	486600.00				550000.00	
WALL ITEMS											
0428	8801000000-E	SP	MSE RETAIN WALLS	3,106 SF	83.93	260686.58	87.75	272551.50	75.00	232950.00	
0429	8802014000-E	SP	SOLDIER PILE RETAINING WALLS	150 SF	131.74	19761.00	168.00	25200.00	325.00	48750.00	
0430	8847000000-E	SP	GENERIC RET WALL ITEM (SF) SOUND BARRIER WALL	91,406 SF	22.87	2090455.22	22.25	2033783.50	26.00	2376556.00	
STRUCTURE ITEMS											
0431	8017000000-N	SP	CM&R TEMP ACCESS ***** (134+30.00-L-LT)	Lump Sum	109929.97	32600.00				200000.00	
0432	8017000000-N	SP	CM&R TEMP ACCESS ***** (134+30.00-L-RT)	Lump Sum	59119.46	32600.00				150000.00	
0433	8017000000-N	SP	CM&R TEMP ACCESS ***** (24+37.000-LREV-LT)	Lump Sum	95392.51	85600.00				50000.00	
0434	8017000000-N	SP	CM&R TEMP ACCESS ***** (24+37.000-LREV-RT)	Lump Sum	8385.86	89700.00				10000.00	
0435	8035000000-N	402	REMV EXIST STR ***** (114+28.00-L-)	Lump Sum	59131.11	239200.00				150000.00	
0436	8035000000-N	402	REMV EXIST STR ***** (120+38.50-L-)	Lump Sum	23951.75	232200.00				75000.00	
0437	8035000000-N	402	REMV EXIST STR ***** (134+30.00-L-LT)	Lump Sum	42637.71	168400.00				250000.00	
0438	8035000000-N	402	REMV EXIST STR ***** (24+37.000-LREV-RT)	Lump Sum	16838.57	209200.00				75000.00	
0439	8035000000-N	402	REMV EXIST STR ***** (45+30.610-LREV-RT)	Lump Sum	41074.94	321600.00				150000.00	
0440	8091000000-N	410	FND EXCAV B** STA ***** (1,20+06.118-LREV-)	Lump Sum	4865.77	3780.00				7500.00	

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.	
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC	
0441	8091000000-N	410	FND EXCAV B** STA ***** (1,70+09.407-LREV-)	Lump Sum		3893.91		3780.00	7000.00
0442	8096000000-E	SP	PILE EXCAVATION IN SOIL	687 LF	54.91	37723.17	68.50	47059.50	200.00 137400.00
0443	8105560000-E	SP	4'-0" DRILLD PIER IN SOIL	198.1 LF	298.59	59150.68	316.00	62599.60	215.00 42591.50
0444	8105660000-E	SP	4'-0" DRILLD PIER NO SOIL	85.3 LF	1199.80	102342.94	1280.00	109184.00	1110.00 94683.00
0445	8108000000-E	SP	***-*** DIA DRILLD PIERS (4'-6")	842.9 LF	774.08	652472.03	807.00	680220.30	740.00 623746.00
0446	8111000000-E	SP	PERM STL CASING FOR ** PIER (4'-6")	127.3 LF	339.77	43252.72	376.00	47864.80	243.00 30933.90
0447	8111600000-E	SP	PERM STL CASING FOR 4' PIER	85.3 LF	262.10	22357.13	290.00	24737.00	315.00 26869.50
0448	8113000000-N	SP	SID INSPECTION	9 EA	778.84	7009.56	817.00	7353.00	684.00 6156.00
0449	8114000000-N	SP	SPT TESTING	6 EA	737.78	4426.68	817.00	4902.00	684.00 4104.00
0450	8121000000-N	412	UNCL STR EXCAV STA ***** (134+30.00-L-LT)	Lump Sum		9731.54		1530.00	15000.00
0451	8121000000-N	412	UNCL STR EXCAV STA ***** (24+37.000-LREV-RT)	Lump Sum		77449.82		26600.00	100000.00
0452	8147000000-E	420	REINF CONCRETE DECK SLAB	104,338 SF	24.52	2558367.76	27.75	2895379.50	25.00 2608450.00
0453	8161000000-E	420	GROOVING BRIDGE FLOORS	109,757.2 SF	0.38	41707.74	1.00	109757.20	0.40 43902.88
0454	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	1,639 CY	691.99	1134171.61	547.00	896533.00	900.00 1475100.00
0455	8210000000-N	422	BRG APPR SLAB ***** (11+43.200-SB US 220 RAMP-)	Lump Sum		35890.21		41700.00	35000.00
0456	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-LT)	Lump Sum		32610.19		38300.00	35000.00
0457	8210000000-N	422	BRG APPR SLAB ***** (114+28.00-L-RT)	Lump Sum		32610.19		38300.00	35000.00
0458	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-LT)	Lump Sum		32610.19		38300.00	35000.00
0459	8210000000-N	422	BRG APPR SLAB ***** (134+30.00-L-RT)	Lump Sum		32610.19		38300.00	35000.00
0460	8210000000-N	422	BRG APPR SLAB ***** (20+06.118-LREV-)	Lump Sum		36793.41		41700.00	35000.00
0461	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-LT)	Lump Sum		39645.61		43000.00	40000.00
0462	8210000000-N	422	BRG APPR SLAB ***** (24+37.000-LREV-RT)	Lump Sum		63366.42		67500.00	65000.00
0463	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-LT)	Lump Sum		39346.13		44400.00	40000.00
0464	8210000000-N	422	BRG APPR SLAB ***** (45+30.610-LREV-RT)	Lump Sum		39346.13		44400.00	40000.00
0465	8210000000-N	422	BRG APPR SLAB ***** (70+09.407-LREV-)	Lump Sum		48772.68		53300.00	50000.00
0466	8217000000-E	425	REINF STEEL (BRIDGE)	372,468 LB	0.84	312873.12	0.96	357569.28	1.00 372468.00
0467	8238000000-E	425	SPIRAL COL REINF STL BRG	47,117 LB	0.85	40049.45	1.35	63607.95	1.25 58896.25
0468	8262000000-E	430	45" PRESTR CONCRETE GIRDR	2,180.72 LF	137.42	299674.54	176.00	383806.72	225.00 490662.00
0469	8265000000-E	430	54" PRESTR CONCRETE GIRDR	4,926.21 LF	169.44	834697.02	200.00	985242.00	250.00 1231552.50
0470	8280000000-E	440	STRUCTURAL STEEL	Lump Sum		2401891.34		2839800.00	2755200.00
0471	8364000000-E	SP	HP12X53 PILES	7,941 LF	52.47	416664.27	46.00	365286.00	40.00 317640.00

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

				AUSTIN BRIDGE & ROAD, LP		E. R. SNELL CONTRACTOR, INC.		BLYTHE CONSTRUCTION, INC.			
				IRVING, TX		SNELLVILLE, GA		CHARLOTTE, NC			
0472	8365000000-E	SP	HP12X53 GALV PILES	280	LF	59.64	16699.20	54.25	15190.00	60.00	16800.00
0473	8384200000-E	SP	HP14X73 GALV PILES	1,015	LF	106.12	107711.80	71.25	72318.75	75.00	76125.00
0474	8391000000-N	SP	STEEL PILE POINTS	7	EA	146.38	1024.66	209.00	1463.00	120.00	840.00
0475	8475000000-E	460	TWO BAR METAL RAIL	563.32	LF	113.94	64184.68	129.00	72668.28	140.00	78864.80
0476	8503000000-E	460	CONCRETE BARRIER RAIL	4,087.71	LF	52.80	215831.09	44.50	181903.10	65.00	265701.15
0477	8517000000-E	460	1'-**X*****CONC PARAPET (1'-2" X 2'-6")	593.32	LF	73.08	43359.83	44.50	26402.74	68.00	40345.76
0478	8531000000-E	462	4" SLOPE PROTECTION	2,761	SY	59.79	165080.19	45.25	124935.25	60.00	165660.00
0479	8608000000-E	876	RIP RAP II (2'-0")	3,477	TON	59.55	207055.35	56.75	197319.75	50.00	173850.00
0480	8622000000-E	876	FILTER FABRIC FOR DRAINAGE	3,848	SY	3.76	14468.48	2.85	10966.80	2.50	9620.00
0481	8650000000-N	SP	POT BEARINGS	Lump Sum			61581.08		42100.00		55000.00
0482	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			122548.10		73300.00		56000.00
0483	8692000000-N	SP	EVAZOTE JOINT SEALS	Lump Sum			62310.10		24400.00		65000.00
0484	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum			264342.29		224900.00		300000.00
0485	8727000000-N	SP	ELEC CONDUIT SYS ***** (114+28.00-L-LT)	Lump Sum			10581.10		27000.00		10000.00
0486	8727000000-N	SP	ELEC CONDUIT SYS ***** (134+30.00-L-LT)	Lump Sum			10743.48		27000.00		10000.00
0487	8727000000-N	SP	ELEC CONDUIT SYS ***** (24+37.000-LREV-RT)	Lump Sum			9488.41		27000.00		10000.00
0488	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) 30" CS PIPE, 0.168" THICK	43	LF	82.76	3558.68	66.75	2870.25	100.00	4300.00
0489	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) CSL TESTING	7	EA	2247.00	15729.00	3830.00	26810.00	2000.00	14000.00
CONTRACT TOTAL				TOTAL		109525600.00	TOTAL	110650976.62	TOTAL	112240139.63	
ROADWAY ITEMS				SUB-TOTAL		94310875.48	SUB-TOTAL	93716790.15	SUB-TOTAL	94391578.04	
CULVERT ITEMS				SUB-TOTAL		1492688.17	SUB-TOTAL	1607211.70	SUB-TOTAL	1833343.35	
WALL ITEMS				SUB-TOTAL		2370902.80	SUB-TOTAL	2331535.00	SUB-TOTAL	2658256.00	
STRUCTURE ITEMS				SUB-TOTAL		11351133.55	SUB-TOTAL	12995439.77	SUB-TOTAL	13356962.24	
BIDDERS IN ORDER				CONTRACT TOTAL							
	TETRA TECH CONSTRUCTION INC			1		96195464.51					
	ZACHRY CONSTRUCTION CORPORATION			2		97917218.80					
	W. C. ENGLISH, INC.			3		98233590.25					
	BBII-TJL			4		99689782.68					
	C. W. MATTHEWS CONTRACTING CO., INC			5		104750881.62					
	PLT CONSTRUCTION CO., INC.			6		105088521.90					
	FLATIRON CONSTRUCTORS INC			7		107227939.67					
	VECELLIO & GROGAN INC			8		108588479.59					
	TRIANGLE GRADING & PAVING, INC			9		108655561.98					

APR 03, 2012 02:36 PM

GUILFORD, ROCKINGHAM

TIP NO R-2309AB, R-2413C

34418.3.5, 34429.3.7

2:00 PM 61 / 61 001

FEB 21 2012 C200800
13.231 MI

FED AID NO STPNHF-0220(25), STATE FUNDED

WIDENING, GRADING, DRAINAGE, PAVING, SIGNALS, & STRUCTURES.

US-220 FROM SR-2182 (HORSEPEN CREEK RD) TO EXISTING NC-68 & US-220 INTERSECTION.

AUSTIN BRIDGE & ROAD, LP	10	109525600.00
E. R. SNELL CONTRACTOR, INC.	11	110650976.62
BLYTHE CONSTRUCTION, INC.	12	112240139.63

FED AID NO STATE FUNDED

BRIDGE PRESERVATION

BRIDGE #12, 25, 35, 47, 49 & 50 ON US-13, #12 & 28 ON NC-125, #7 ON US-64, #14 ON NC-11 AND #42 ON SR-1528.

		RALPH HODGE CONST CO		PENHALL COMPANY		TAYLOR & MURPHY CONSTRUCTION CO, INC			
		WILSON, NC		ANAHEIM, CA		ASHEVILLE, NC			
ROADWAY ITEMS									
0001	0000100000-N	800	MOBILIZATION	Lump Sum	93000.00	129360.00	120000.00		
0002	1519000000-E	610	ASP CONC SURF CRS S9.5B	384 TON	474.00	182016.00	307.00	117888.00	
0003	1575000000-E	620	ASP FOR PLANT MIX	23 TON	645.00	14835.00	61.40	1412.20	
0004	4400000000-E	1110	WORK ZONE SIGNS (STAT)	974 SF	4.00	3896.00	7.80	7597.20	
0005	4405000000-E	1110	WORK ZONE SIGNS (PORT)	433 SF	10.00	4330.00	11.00	4763.00	
0006	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144 SF	5.00	720.00	8.42	1212.48	
0007	4415000000-N	1115	FLASHING ARROW BOARD	3 EA	1500.00	4500.00	4033.00	12099.00	
0008	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	3 EA	2500.00	7500.00	15400.00	46200.00	
0009	4430000000-N	1130	DRUMS	400 EA	40.00	16000.00	55.20	22080.00	
0010	4435000000-N	1135	CONES	50 EA	10.00	500.00	19.65	982.50	
0011	4445000000-E	1145	BARRICADES (TYPE III)	112 LF	16.50	1848.00	23.34	2614.08	
0012	4450000000-N	1150	FLAGGER	160 HR	22.00	3520.00	46.70	7472.00	
0013	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	1 EA	5800.00	5800.00	7985.00	7985.00	
0014	4470000000-N	1160	RESET CRASH CUSHION	5 EA	1800.00	9000.00	491.50	2457.50	
0015	4480000000-N	1165	TMA	2 EA	5000.00	10000.00	8846.00	17692.00	
0016	4485000000-E	1170	PORT CONC BARRIER	1,700 LF	22.00	37400.00	31.20	53040.00	
0017	4500000000-E	1170	RESET PORT CONC BARRIER	9,050 LF	4.75	42987.50	0.48	4344.00	
0018	4589000000-N	SP	GENERIC TRAFFIC CONTROL ITEM (LS) AUTOMATED FLAGGER ASSISTANCE DEVICE SYSTEMS	Lump Sum		30000.00		80000.00	
0019	4847000000-E	1205	POLYUREA LINES (4" *****) (STANDARD GLASS BEADS)	9,032 LF	0.95	8580.40	1.33	12012.56	
0020	4900000000-N	1251	PERM RAISED PVMT MARKERS	45 EA	20.00	900.00	12.30	553.50	
0021	8161000000-E	420	GROOVING BRIDGE FLOORS	73,186 SF	0.39	28542.54	0.48	35129.28	
0022	8573000000-E	SP	LATEX MOD CONC OVERLAY	360 CY	775.00	279000.00	655.00	235800.00	
0023	8580000000-E	SP	PLACING LATEX MOD CONC	9,193 SY	35.00	321755.00	38.00	349334.00	
0024	8692000000-N	SP	FOAM JOINT SEALS	Lump Sum		85000.00		95000.00	
0025	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) PIPE ENCAPSULATION	550 LF	307.00	168850.00	692.00	380600.00	
0026	8893000000-E	SP	GENERIC STRUCTURE ITEM (SY) HYDRO-DEMOLITION OF BRIDGE DECK	9,193 SY	45.00	413685.00	56.10	515727.30	
0027	8893000000-E	SP	GENERIC STRUCTURE ITEM (SY) SCARIFYING BRIDGE DECK	14,085 SY	12.00	169020.00	22.00	309870.00	
CONTRACT TOTAL				TOTAL	1943185.44	TOTAL	2453225.60	TOTAL	2462016.37
ROADWAY ITEMS				SUB-TOTAL	1943185.44	SUB-TOTAL	2453225.60	SUB-TOTAL	2462016.37

FED AID NO STATE FUNDED

BRIDGE PRESERVATION

BRIDGE #12, 25, 35, 47, 49 & 50 ON US-13, #12 & 28 ON NC-125, #7 ON US-64, #14 ON NC-11 AND #42 ON SR-1528.

	G. A. & F.C. WAGMAN, INC.	HRI INC DBA HRI BRIDGE COMPANY	PALMETTO INFRASTRUCTURE INC
	YORK, PA	STATE COLLEGE, PA	GREENVILLE, SC

ROADWAY ITEMS

0001	0000100000-N	800 MOBILIZATION	Lump Sum		129500.00		135000.00		130000.00
0002	1519000000-E	610 ASP CONC SURF CRS S9.5B	384 TON	475.00	182400.00	475.00	182400.00	518.00	198912.00
0003	1575000000-E	620 ASP FOR PLANT MIX	23 TON	645.00	14835.00	645.00	14835.00	645.00	14835.00
0004	4400000000-E	1110 WORK ZONE SIGNS (STAT)	974 SF	4.00	3896.00	7.20	7012.80	6.35	6184.90
0005	4405000000-E	1110 WORK ZONE SIGNS (PORT)	433 SF	9.00	3897.00	24.00	10392.00	8.95	3875.35
0006	4410000000-E	1110 WORK ZONE SIGNS (BARR)	144 SF	5.50	792.00	6.00	864.00	6.85	986.40
0007	4415000000-N	1115 FLASHING ARROW BOARD	3 EA	2500.00	7500.00	2800.00	8400.00	3850.00	11550.00
0008	4420000000-N	1120 PORTABLE CHANGE MSG SIGN	3 EA	10000.00	30000.00	8850.00	26550.00	7700.00	23100.00
0009	4430000000-N	1130 DRUMS	400 EA	50.00	20000.00	65.00	26000.00	45.00	18000.00
0010	4435000000-N	1135 CONES	50 EA	18.00	900.00	45.00	2250.00	16.00	800.00
0011	4445000000-E	1145 BARRICADES (TYPE III)	112 LF	18.00	2016.00	23.00	2576.00	19.00	2128.00
0012	4450000000-N	1150 FLAGGER	160 HR	14.00	2240.00	20.00	3200.00	35.00	5600.00
0013	4465000000-N	1160 TEMPORARY CRASH CUSHIONS	1 EA	7000.00	7000.00	6900.00	6900.00	6000.00	6000.00
0014	4470000000-N	1160 RESET CRASH CUSHION	5 EA	2000.00	10000.00	2300.00	11500.00	3000.00	15000.00
0015	4480000000-N	1165 TMA	2 EA	35000.00	70000.00	15000.00	30000.00	12600.00	25200.00
0016	4485000000-E	1170 PORT CONC BARRIER	1,700 LF	36.00	61200.00	29.25	49725.00	27.50	46750.00
0017	4500000000-E	1170 RESET PORT CONC BARRIER	9,050 LF	4.60	41630.00	5.20	47060.00	3.50	31675.00
0018	4589000000-N	SP GENERIC TRAFFIC CONTROL ITEM (LS) AUTOMATED FLAGGER ASSISTANCE DEVICE SYSTEMS	Lump Sum		20000.00		21000.00		14000.00
0019	4847000000-E	1205 POLYUREA LINES (4" *****) (STANDARD GLASS BEADS)	9,032 LF	1.00	9032.00	1.15	10386.80	6.00	54192.00
0020	4900000000-N	1251 PERM RAISED PVMT MARKERS	45 EA	21.00	945.00	22.00	990.00	50.00	2250.00
0021	8161000000-E	420 GROOVING BRIDGE FLOORS	73,186 SF	0.45	32933.70	0.67	49034.62	0.55	40252.30
0022	8573000000-E	SP LATEX MOD CONC OVERLAY	360 CY	1350.00	486000.00	670.00	241200.00	1250.00	450000.00
0023	8580000000-E	SP PLACING LATEX MOD CONC	9,193 SY	40.00	367720.00	36.00	330948.00	50.00	459650.00
0024	8692000000-N	SP FOAM JOINT SEALS	Lump Sum		190000.00		210000.00		200000.00
0025	8867000000-E	SP GENERIC STRUCTURE ITEM (LF) PIPE ENCAPSULATION	550 LF	450.00	247500.00	510.00	280500.00	475.00	261250.00
0026	8893000000-E	SP GENERIC STRUCTURE ITEM (SY) HYDRO-DEMOLITION OF BRIDGE DECK	9,193 SY	50.00	459650.00	81.00	744633.00	48.00	441264.00
0027	8893000000-E	SP GENERIC STRUCTURE ITEM (SY) SCARIFYING BRIDGE DECK	14,085 SY	14.00	197190.00	20.60	290151.00	25.00	352125.00
		CONTRACT TOTAL		TOTAL	2598776.70	TOTAL	2743508.22	TOTAL	2815579.95
		ROADWAY ITEMS		SUB-TOTAL	2598776.70	SUB-TOTAL	2743508.22	SUB-TOTAL	2815579.95

FED AID NO STATE FUNDED

BRIDGE PRESERVATION

BRIDGE #12, 25, 35, 47, 49 & 50 ON US-13, #12 & 28 ON NC-125, #7 ON US-64, #14 ON NC-11 AND #42 ON SR-1528.

AMERICAN CONTRACTING & SERVICES INC JEFFERSONVILLE, IN
 REA CONTRACTING A DIVISION OF THE LANE CONSTRUCTION CORPORAT CHESHIRE, CT

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION						
				Lump Sum		146479.16			155000.00
0002	1519000000-E	610	ASP CONC SURF CRS S9.5B	384	TON	474.00	182016.00	550.00	211200.00
0003	1575000000-E	620	ASP FOR PLANT MIX	23	TON	645.00	14835.00	740.00	17020.00
0004	4400000000-E	1110	WORK ZONE SIGNS (STAT)	974	SF	3.50	3409.00	4.25	4139.50
0005	4405000000-E	1110	WORK ZONE SIGNS (PORT)	433	SF	7.95	3442.35	7.00	3031.00
0006	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144	SF	5.00	720.00	4.00	576.00
0007	4415000000-N	1115	FLASHING ARROW BOARD	3	EA	1800.00	5400.00	2500.00	7500.00
0008	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	3	EA	6000.00	18000.00	12000.00	36000.00
0009	4430000000-N	1130	DRUMS	400	EA	20.00	8000.00	50.00	20000.00
0010	4435000000-N	1135	CONES	50	EA	15.25	762.50	25.00	1250.00
0011	4445000000-E	1145	BARRICADES (TYPE III)	112	LF	16.50	1848.00	30.00	3360.00
0012	4450000000-N	1150	FLAGGER	160	HR	50.00	8000.00	20.00	3200.00
0013	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	1	EA	6500.00	6500.00	6000.00	6000.00
0014	4470000000-N	1160	RESET CRASH CUSHION	5	EA	2500.00	12500.00	3000.00	15000.00
0015	4480000000-N	1165	TMA	2	EA	12000.00	24000.00	3000.00	6000.00
0016	4485000000-E	1170	PORT CONC BARRIER	1,700	LF	25.00	42500.00	27.50	46750.00
0017	4500000000-E	1170	RESET PORT CONC BARRIER	9,050	LF	5.00	45250.00	3.50	31675.00
0018	4589000000-N	SP	GENERIC TRAFFIC CONTROL ITEM (LS) AUTOMATED FLAGGER ASSISTANCE DEVICE SYSTEMS			Lump Sum	30000.00		242500.00
0019	4847000000-E	1205	POLYUREA LINES (4" *****) (STANDARD GLASS BEADS)	9,032	LF	1.10	9935.20	3.19	28812.08
0020	4900000000-N	1251	PERM RAISED PVMT MARKERS	45	EA	11.00	495.00	67.08	3018.60
0021	8161000000-E	420	GROOVING BRIDGE FLOORS	73,186	SF	1.00	73186.00	0.40	29274.40
0022	8573000000-E	SP	LATEX MOD CONC OVERLAY	360	CY	1100.00	396000.00	1100.00	396000.00
0023	8580000000-E	SP	PLACING LATEX MOD CONC	9,193	SY	70.00	643510.00	55.00	505615.00
0024	8692000000-N	SP	FOAM JOINT SEALS			Lump Sum	215000.00		193000.00
0025	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) PIPE ENCAPSULATION	550	LF	525.50	289025.00	450.00	247500.00
0026	8893000000-E	SP	GENERIC STRUCTURE ITEM (SY) HYDRO-DEMOLITION OF BRIDGE DECK	9,193	SY	60.00	551580.00	60.00	551580.00
0027	8893000000-E	SP	GENERIC STRUCTURE ITEM (SY) SCARIFYING BRIDGE DECK	14,085	SY	14.00	197190.00	30.00	422550.00

CONTRACT TOTAL TOTAL 2929583.21 TOTAL 3187551.58

ROADWAY ITEMS SUB-TOTAL 2929583.21 SUB-TOTAL 3187551.58

BIDDERS IN ORDER

CONTRACT TOTAL

RALPH HODGE CONST CO	1	1943185.44
PENHALL COMPANY	2	2453225.60
TAYLOR & MURPHY CONSTRUCTION CO, INC	3	2462016.37

APR 03, 2012 02:36 PM

MARTIN, BERTIE

TIP NO

17BP.1.P.3

2:00 PM 4 / 4 002

FEB 21 2012 C202915
0.000 MI

FED AID NO STATE FUNDED

BRIDGE PRESERVATION

BRIDGE #12, 25, 35, 47, 49 & 50 ON US-13, #12 & 28 ON NC-125, #7 ON US-64, #14 ON NC-11 AND #42 ON SR-1528.

G. A. & F.C. WAGMAN, INC.	4	2598776.70
HRI INC DBA HRI BRIDGE COMPANY	5	2743508.22
PALMETTO INFRASTRUCTURE INC	6	2815579.95
AMERICAN CONTRACTING & SERVICES INC	7	2929583.21
REA CONTRACTING A DIVISION OF THE LANE CONSTRUCTION CORPORAT	8	3187551.58

TIP NO

1C.015126, 1C.027064, 1C.027068, 1CR.10151.17, 1CR.10271.3,
1CR.20151.39, 1CR.20271.43, 1CR.20271.44, 1CR.20271.45,
1CR.20271.46, 1CR.20271.47, 1CR.20271.48, 1CR.20271.49,
1CR.20271.50, 1CR.20271.51, 1CR.20271.52, 1CR.20271.53

2:00 PM 1 / 2 003

FEB 21 2012 C202937
23.060 MI

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONST.

US-158 FROM RR CROSSING TO CURRITUCK CO, NC-168 FROM VA STATE LINE TO END OF C&G, & 15 SECTIONS OF SECONDARY ROADS.

				BARNHILL CONTRACTING COMPANY	RPC CONTRACTING INC				
				TARBORO, NC	KITTY HAWK, NC				
ROADWAY ITEMS									
0001	0000100000-N	800	MOBILIZATION	Lump Sum		182000.00	78300.00		
0002	0106000000-E	230	BORROW EXCAVATION	1,635	CY	18.50	30247.50	28612.50	
0003	1146000000-E	535	CONDITIONING EXISTING BASE	3	MSY	900.00	2700.00	450.00	1350.00
0004	1220000000-E	545	INCIDENTAL STONE BASE	305	TON	35.00	10675.00	50.00	15250.00
0005	1245000000-E	SP	SHOULDER RECONSTRUCTION	41.88	SMI	1000.00	41880.00	1976.00	82754.88
0006	1275000000-E	600	PRIME COAT	1,330	GAL	1.50	1995.00	1.35	1795.50
0007	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	107,092	SY	1.00	107092.00	1.55	165992.60
0008	1330000000-E	607	INCIDENTAL MILLING	90	SY	15.00	1350.00	37.70	3393.00
0009	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,483	TON	45.00	66735.00	52.20	77412.60
0010	1498000000-E	610	ASP CONC INTR CRS I19.0B	5,055	TON	39.00	197145.00	41.60	210288.00
0011	1519000000-E	610	ASP CONC SURF CRS S9.5B	9,865	TON	35.00	345275.00	40.40	398546.00
0012	1523000000-E	610	ASP CONC SURF CRS S9.5C	8,695	TON	38.00	330410.00	42.40	368668.00
0013	1525000000-E	610	ASP CONC SURF CRS SF9.5A	14,325	TON	35.00	501375.00	39.40	564405.00
0014	1575000000-E	620	ASP FOR PLANT MIX	2,349	TON	617.00	1449333.00	664.00	1559736.00
0015	1840000000-E	665	MILLED RUMBLE STRIPS	26,717	LF	0.15	4007.55	0.40	10686.80
0016	2830000000-N	858	ADJ MANHOLES	2	EA	350.00	700.00	250.00	500.00
0017	2845000000-N	858	ADJ METER OR VALVE BOXES	9	EA	350.00	3150.00	100.00	900.00
0018	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		28000.00			19150.00
0019	4685000000-E	1205	THERMO PVT MKG LINES 4"90	145,476	LF	0.49	71283.24	0.49	71283.24
0020	4686000000-E	1205	THERMO PVT MKG LINES 4"120	122,899	LF	0.59	72510.41	0.59	72510.41
0021	4710000000-E	1205	24"WIDE THERMO 120 MILS	500	LF	6.00	3000.00	6.00	3000.00
0022	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	126	EA	95.00	11970.00	95.00	11970.00
0023	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	200	LF	2.00	400.00	2.00	400.00
0024	4810000000-E	1205	PAINT PVMT MARKINGS 4"	395,556	LF	0.06	23733.36	0.07	27688.92
0025	4835000000-E	1205	PAINT PVT MKG LINES 24"	1,212	LF	2.50	3030.00	2.50	3030.00
0026	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	38,800	LF	1.00	38800.00	1.00	38800.00
0027	4850000000-E	1205	LINE REMOVAL 4" WIDE	200	LF	1.00	200.00	1.00	200.00
0028	4900000000-N	1251	PERM RAISED PVMT MARKERS	830	EA	6.00	4980.00	6.00	4980.00
0029	6000000000-E	1605	TEMPORARY SILT FENCE	4,950	LF	2.20	10890.00	1.95	9652.50
0030	6036000000-E	1631	MATTING FOR EROS CONTROL	512	SY	1.75	896.00	1.75	896.00
0031	6071010000-E	SP	WATTLE	1,200	LF	4.00	4800.00	4.00	4800.00
0032	6071020000-E	SP	POLYACRYLAMIDE (PAM)	104	LB	9.00	936.00	9.00	936.00
0033	6084000000-E	1660	SEEDING AND MULCHING	28.33	ACR	1500.00	42495.00	1500.00	42495.00
0034	7300000000-E	1715	UNPAVED TRENCH (*****) (1, 2")	1,900	LF	5.35	10165.00	4.00	7600.00
0035	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	25	EA	200.00	5000.00	150.00	3750.00
0036	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	2,708	LF	6.75	18279.00	3.75	10155.00
0037	7456000000-E	1726	LEAD-IN CABLE(*****) (14-2)	5,400	LF	1.95	10530.00	1.25	6750.00

APR 03, 2012 02:36 PM

CAMDEN, CURRITUCK

TIP NO

1C.015126, 1C.027064, 1C.027068, 1CR.10151.17, 1CR.10271.3,
1CR.20151.39, 1CR.20271.43, 1CR.20271.44, 1CR.20271.45,
1CR.20271.46, 1CR.20271.47, 1CR.20271.48, 1CR.20271.49,
1CR.20271.50, 1CR.20271.51, 1CR.20271.52, 1CR.20271.53

2:00 PM 2 / 2 003

FEB 21 2012 C202937
23.060 MI

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONST.

US-158 FROM RR CROSSING TO CURRITUCK CO, NC-168 FROM VA STATE LINE TO END OF C&G, & 15 SECTIONS OF SECONDARY ROADS.

CONTRACT TOTAL	TOTAL	3637968.06	TOTAL	3908637.95
ROADWAY ITEMS	SUB-TOTAL	3637968.06	SUB-TOTAL	3908637.95
BIDDERS IN ORDER		CONTRACT TOTAL		
BARNHILL CONTRACTING COMPANY	1	3637968.06		
RPC CONTRACTING INC	2	3908637.95		

TIP NO

1C.028036, 1C.028039, 1C.028040, 1C.028041, 1C.028045,
1C.028047, 1C.028048, 1C.028049, 1C.028050, 1C.028051,
1CR.10281.18, 1CR.20281.78, 1CR.20281.79, 1CR.20281.80,
1CR.20281.81, 1CR.20281.82, 1CR.20281.83, 1CR.20281.84,
1CR.20281.85

2:00 PM 1 / 1 004

FEB 21 2012 C202932
11.418 MI

FED AID NO STATE FUNDED

RESURFACING, AND SHOULDER RECONSTRUCTION.

NC-12 FROM NEW PAVEMENT TO SR-1467 AND 18 SECTIONS OF SECONDARY ROADS.

				RPC CONTRACTING INC	BARNHILL CONTRACTING COMPANY		
				KITTY HAWK, NC	TARBORO, NC		
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum		43900.00	73600.00
0002	0106000000-E	230	BORROW EXCAVATION	460 CY	35.00	16100.00	13800.00
0003	1146000000-E	535	CONDITIONING EXISTING BASE	6 MSY	500.00	3000.00	6000.00
0004	1220000000-E	545	INCIDENTAL STONE BASE	61 TON	75.00	4575.00	3050.00
0005	1245000000-E	SP	SHOULDER RECONSTRUCTION	22.86 SMI	1874.00	42839.64	32004.00
0006	1275000000-E	600	PRIME COAT	2,223 GAL	1.35	3001.05	3334.50
0007	1330000000-E	607	INCIDENTAL MILLING	444 SY	13.00	5772.00	8880.00
0008	1489000000-E	610	ASP CONC BASE CRS B25.0B	151 TON	89.50	13514.50	8154.00
0009	1525000000-E	610	ASP CONC SURF CRS SF9.5A	13,146 TON	44.00	578424.00	617862.00
0010	1575000000-E	620	ASP FOR PLANT MIX	888 TON	660.20	586257.60	550560.00
0011	2845000000-N	858	ADJ METER OR VALVE BOXES	7 EA	125.00	875.00	1050.00
0012	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		9800.00	4000.00
0013	4685000000-E	1205	THERMO PVT MKG LINES 4"90	105,881 LF	0.48	50822.88	50822.88
0014	4686000000-E	1205	THERMO PVT MKG LINES 4"120	80,691 LF	0.55	44380.05	46800.78
0015	4710000000-E	1205	24"WIDE THERMO 120 MILS	410 LF	6.00	2460.00	3485.00
0016	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	18 EA	110.00	1980.00	2250.00
0017	4810000000-E	1205	PAINT PVT MARKINGS 4"	186,572 LF	0.15	27985.80	20522.92
0018	4835000000-E	1205	PAINT PVT MKG LINES 24"	200 LF	3.00	600.00	1000.00
0019	4900000000-N	1251	PERM RAISED PVT MARKERS	125 EA	10.00	1250.00	1562.50
0020	6000000000-E	1605	TEMPORARY SILT FENCE	2,570 LF	2.00	5140.00	7710.00
0021	6036000000-E	1631	MATting FOR EROS CONTROL	128 SY	2.00	256.00	256.00
0022	6071010000-E	SP	WATTLE	32 LF	5.00	160.00	160.00
0023	6071020000-E	SP	POLYACRYLAMIDE (PAM)	28 LB	15.00	420.00	420.00
0024	6084000000-E	1660	SEEDING AND MULCHING	13.75 ACR	1500.00	20625.00	20625.00
CONTRACT TOTAL				TOTAL	1464138.52	TOTAL	1477909.58
ROADWAY ITEMS				SUB-TOTAL	1464138.52	SUB-TOTAL	1477909.58
BIDDERS IN ORDER				CONTRACT TOTAL			
RPC CONTRACTING INC				1	1464138.52		
BARNHILL CONTRACTING COMPANY				2	1477909.58		

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

2 SECTIONS OF US-158 WEST, 1 SECTION OF US-158 BUS & NC-37, AND 7 SECTIONS OF SECONDARY ROADS.

				ROSE BROTHERS PAVING CO., INC.	BARNHILL CONTRACTING COMPANY			
				AHOSKIE, NC	TARBORO, NC			
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum		127000.00		135900.00
0002	0106000000-E	230	BORROW EXCAVATION	1,980 CY	12.00	23760.00	18.00	35640.00
0003	1220000000-E	545	INCIDENTAL STONE BASE	278 TON	30.00	8340.00	35.00	9730.00
0004	1245000000-E	SP	SHOULDER RECONSTRUCTION	43.61 SMI	2200.00	95942.00	1000.00	43610.00
0005	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	11,500 SY	1.10	12650.00	1.85	21275.00
0006	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 3")	8,000 SY	1.20	9600.00	2.00	16000.00
0007	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,917 TON	32.00	61344.00	48.50	92974.50
0008	1519000000-E	610	ASP CONC SURF CRS S9.5B	8,164 TON	31.00	253084.00	38.00	310232.00
0009	1525000000-E	610	ASP CONC SURF CRS SF9.5A	17,915 TON	31.00	555365.00	36.00	644940.00
0010	1526000000-E	SP	ASP CONC SURF CRS S4.75A	513 TON	33.00	16929.00	36.00	18468.00
0011	1575000000-E	620	ASP FOR PLANT MIX	1,810 TON	650.00	1176500.00	620.00	1122200.00
0012	2600000000-N	SP	RETROFIT EXT CURB RAMP	4 EA	1000.00	4000.00	800.00	3200.00
0013	2845000000-N	858	ADJ METER OR VALVE BOXES	22 EA	350.00	7700.00	350.00	7700.00
0014	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		17000.00		20000.00
0015	4685000000-E	1205	THERMO PVT MKG LINES 4"90	220,465 LF	0.37	81572.05	0.36	79367.40
0016	4686000000-E	1205	THERMO PVT MKG LINES 4"120	147,940 LF	0.46	68052.40	0.45	66573.00
0017	4710000000-E	1205	24"WIDE THERMO 120 MILS	262 LF	5.00	1310.00	5.00	1310.00
0018	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	30 EA	100.00	3000.00	100.00	3000.00
0019	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	3 EA	100.00	300.00	100.00	300.00
0020	4810000000-E	1205	PAINT PVMT MARKINGS 4"	147,940 LF	0.13	19232.20	0.12	17752.80
0021	4835000000-E	1205	PAINT PVT MKG LINES 24"	262 LF	2.00	524.00	2.00	524.00
0022	4840000000-N	1205	PAINT PVT MKG CHARACTER	30 EA	50.00	1500.00	50.00	1500.00
0023	4900000000-N	1251	PERM RAISED PVMT MARKERS	422 EA	6.50	2743.00	6.50	2743.00
0024	6000000000-E	1605	TEMPORARY SILT FENCE	3,100 LF	3.50	10850.00	3.00	9300.00
0025	6036000000-E	1631	MATTING FOR EROS CONTROL	320 SY	2.80	896.00	1.90	608.00
0026	6071010000-E	SP	WATTLE	1,590 LF	8.00	12720.00	10.00	15900.00
0027	6071020000-E	SP	POLYACRYLAMIDE (PAM)	70 LB	12.00	840.00	10.00	700.00
0028	6084000000-E	1660	SEEDING AND MULCHING	24.54 ACR	1650.00	40491.00	1490.00	36564.60
CONTRACT TOTAL					TOTAL	2613244.65	TOTAL	2718012.30
ROADWAY ITEMS					SUB-TOTAL	2613244.65	SUB-TOTAL	2718012.30
BIDDERS IN ORDER				CONTRACT TOTAL				
ROSE BROTHERS PAVING CO., INC.				1		2613244.65		
BARNHILL CONTRACTING COMPANY				2		2718012.30		

TIP NO

1C.070039, 1CR.20701.57, 1CR.20701.58, 1CR.20701.59,
 1CR.20701.60, 1CR.20701.61, 1CR.20701.62, 1CR.20701.63,
 1CR.20701.64, 1CR.20701.65, 1CR.20701.66, 1CR.20701.67,
 1CR.20701.68, 1CR.20701.69, 1CR.20701.70, 1CR.20701.71,
 1CR.20701.72, 1CR.20701.73, 1CR.20701.74, 1CR.20701.75,
 1CR.20701.76

2:00 PM 1 / 1 006

FED AID NO STATE FUNDED

FEB 21 2012 C202938

RESURFACING AND SHOULDER RECONSTRUCTION.

9.653 MI

21 SECTIONS OF SECONDARY ROADS.

				BARNHILL CONTRACTING COMPANY	RPC CONTRACTING INC			
				TARBORO, NC	KITTY HAWK, NC			
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum		30000.00		48900.00
0002	0106000000-E	230	BORROW EXCAVATION	2,100 CY	8.00	16800.00	17.50	36750.00
0003	1146000000-E	535	CONDITIONING EXISTING BASE	1 MSY	2000.00	2000.00	450.00	450.00
0004	1220000000-E	545	INCIDENTAL STONE BASE	125 TON	32.00	4000.00	50.00	6250.00
0005	1245000000-E	SP	SHOULDER RECONSTRUCTION	19.28 SMI	1000.00	19280.00	1780.00	34318.40
0006	1275000000-E	600	PRIME COAT	457 GAL	1.50	685.50	1.35	616.95
0007	1525000000-E	610	ASP CONC SURF CRS SF9.5A	8,747 TON	38.00	332386.00	45.95	401924.65
0008	1575000000-E	620	ASP FOR PLANT MIX	587 TON	630.00	369810.00	660.20	387537.40
0009	2830000000-N	858	ADJ MANHOLES	1 EA	250.00	250.00	250.00	250.00
0010	2845000000-N	858	ADJ METER OR VALVE BOXES	16 EA	250.00	4000.00	100.00	1600.00
0011	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		1200.00		6800.00
0012	4685000000-E	1205	THERMO PVT MKG LINES 4"90	56,780 LF	0.38	21576.40	0.47	26686.60
0013	4686000000-E	1205	THERMO PVT MKG LINES 4"120	57,000 LF	0.45	25650.00	0.57	32490.00
0014	4810000000-E	1205	PAINT PVMT MARKINGS 4"	113,780 LF	0.12	13653.60	0.12	13653.60
0015	6000000000-E	1605	TEMPORARY SILT FENCE	450 LF	3.00	1350.00	2.00	900.00
0016	6036000000-E	1631	MATTING FOR EROS CONTROL	64 SY	2.00	128.00	2.00	128.00
0017	6071010000-E	SP	WATTLE	1,190 LF	4.00	4760.00	4.00	4760.00
0018	6071020000-E	SP	POLYACRYLAMIDE (PAM)	14 LB	15.00	210.00	15.00	210.00
0019	6084000000-E	1660	SEEDING AND MULCHING	10.27 ACR	1500.00	15405.00	1500.00	15405.00
CONTRACT TOTAL					TOTAL	863144.50	TOTAL	1019630.60
ROADWAY ITEMS					SUB-TOTAL	863144.50	SUB-TOTAL	1019630.60
BIDDERS IN ORDER					CONTRACT TOTAL			
BARNHILL CONTRACTING COMPANY				1		863144.50		
RPC CONTRACTING INC				2		1019630.60		

FED AID NO STATE FUNDED
RESURFACING AND SHOULDER RECONSTRUCTION.
7 SECTIONS OF SECONDARY ROADS.

				BARNHILL CONTRACTING COMPANY	ROSE BROTHERS PAVING CO., INC.	RPC CONTRACTING INC	
				TARBORO, NC	AHOSKIE, NC	KITTY HAWK, NC	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	52500.00	54600.00	32100.00
0002	0106000000-E	230	BORROW EXCAVATION	1,200 CY	15.00 18000.00	24000.00	24000.00
0003	1146000000-E	535	CONDITIONING EXISTING BASE	7 MSY	445.00 3115.00	2450.00	3150.00
0004	1220000000-E	545	INCIDENTAL STONE BASE	125 TON	39.00 4875.00	3750.00	6250.00
0005	1245000000-E	SP	SHOULDER RECONSTRUCTION	21.18 SMI	900.00 19062.00	2000.00 42360.00	2044.00 43291.92
0006	1275000000-E	600	PRIME COAT	2,329 GAL	1.50 3493.50	4.00 9316.00	1.35 3144.15
0007	1330000000-E	607	INCIDENTAL MILLING	50 SY	50.00 2500.00	15.00 750.00	62.00 3100.00
0008	1519000000-E	610	ASP CONC SURF CRS S9.5B	4,040 TON	38.00 153520.00	36.00 145440.00	47.50 191900.00
0009	1525000000-E	610	ASP CONC SURF CRS SF9.5A	6,896 TON	34.00 234464.00	36.00 248256.00	46.40 319974.40
0010	1575000000-E	620	ASP FOR PLANT MIX	704 TON	617.00 434368.00	650.00 457600.00	660.20 464780.80
0011	2845000000-N	858	ADJ METER OR VALVE BOXES	4 EA	200.00 800.00	350.00 1400.00	100.00 400.00
0012	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum	5000.00	10000.00	5200.00
0013	4685000000-E	1205	THERMO PVT MKG LINES 4"90	107,170 LF	0.39 41796.30	0.40 42868.00	0.46 49298.20
0014	4686000000-E	1205	THERMO PVT MKG LINES 4"120	65,736 LF	0.48 31553.28	0.49 32210.64	0.57 37469.52
0015	4810000000-E	1205	PAINT PVMT MARKINGS 4"	162,490 LF	0.11 17873.90	0.12 19498.80	0.10 16249.00
0016	4850000000-E	1205	LINE REMOVAL 4" WIDE	250 LF	5.00 1250.00	5.00 1250.00	1.00 250.00
0017	6000000000-E	1605	TEMPORARY SILT FENCE	600 LF	3.00 1800.00	3.50 2100.00	2.00 1200.00
0018	6036000000-E	1631	MATTING FOR EROS CONTROL	32 SY	2.00 64.00	9.00 288.00	2.00 64.00
0019	6071010000-E	SP	WATTLE	240 LF	5.00 1200.00	10.00 2400.00	5.00 1200.00
0020	6071020000-E	SP	POLYACRYLAMIDE (PAM)	21 LB	15.00 315.00	12.00 252.00	15.00 315.00
0021	6084000000-E	1660	SEEDING AND MULCHING	15.39 ACR	1500.00 23085.00	1650.00 25393.50	1500.00 23085.00
CONTRACT TOTAL				TOTAL	1050634.98	TOTAL 1126182.94	TOTAL 1226421.99
ROADWAY ITEMS				SUB-TOTAL	1050634.98	SUB-TOTAL 1126182.94	SUB-TOTAL 1226421.99
BIDDERS IN ORDER				CONTRACT TOTAL			
BARNHILL CONTRACTING COMPANY				1	1050634.98		
ROSE BROTHERS PAVING CO., INC.				2	1126182.94		
RPC CONTRACTING INC				3	1226421.99		

FED AID NO STATE FUNDED

MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

NC-58 FROM .2 MILES EAST OF SR-1182 TO SOUTH END OF SALTER PATH FAMILY CAMPGROUND.

S. T. WOOTEN CORPORATION ONSLOW GRADING & PAVING INC. BARNHILL CONTRACTING COMPANY
 WILSON, NC JACKSONVILLE, NC TARBORO, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		95000.00		100000.00		98000.00
0002	0106000000-E	230	BORROW EXCAVATION	336 CY	30.00	10080.00	12.00	4032.00	31.00	10416.00
0003	1245000000-E	SP	SHOULDER RECONSTRUCTION	16.8 SMI	2000.00	33600.00	1750.00	29400.00	2700.00	45360.00
0004	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	44,997 SY	1.00	44997.00	1.25	56246.25	1.55	69745.35
0005	1519000000-E	610	ASP CONC SURF CRS S9.5B	20,545 TON	33.75	693393.75	44.00	903980.00	51.00	1047795.00
0006	1575000000-E	620	ASP FOR PLANT MIX	1,232 TON	650.00	800800.00	600.00	739200.00	540.00	665280.00
0007	2830000000-N	858	ADJ MANHOLES	2 EA	450.00	900.00	400.00	800.00	600.00	1200.00
0008	2845000000-N	858	ADJ METER OR VALVE BOXES	3 EA	450.00	1350.00	325.00	975.00	600.00	1800.00
0009	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		25000.00		42000.00		62000.00
0010	4685000000-E	1205	THERMO PVT MKG LINES 4"90	94,476 LF	0.48	45348.48	0.40	37790.40	0.48	45348.48
0011	4686000000-E	1205	THERMO PVT MKG LINES 4"120	107,986 LF	0.54	58312.44	0.52	56152.72	0.54	58312.44
0012	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	350 LF	2.00	700.00	1.75	612.50	2.00	700.00
0013	4710000000-E	1205	24"WIDE THERMO 120 MILS	146 LF	6.00	876.00	4.50	657.00	6.00	876.00
0014	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	57 EA	110.00	6270.00	120.00	6840.00	110.00	6270.00
0015	4810000000-E	1205	PAINT PVMT MARKINGS 4"	202,462 LF	0.20	40492.40	0.09	18221.58	0.20	40492.40
0016	4820000000-E	1205	PAINT PVMT MARKINGS 8"	350 LF	1.00	350.00	1.00	350.00	1.00	350.00
0017	4835000000-E	1205	PAINT PVT MKG LINES 24"	146 LF	2.50	365.00	3.00	438.00	2.50	365.00
0018	4845000000-N	1205	PAINT PVT MKG SYMBOL	68 EA	50.00	3400.00	75.00	5100.00	50.00	3400.00
0019	4905000000-N	1253	SNOWPLB PVMT MRKER	560 EA	28.00	15680.00	27.00	15120.00	28.00	15680.00
0020	6084000000-E	1660	SEEDING AND MULCHING	10 ACR	1500.00	15000.00	1250.00	12500.00	10.00	100.00

CONTRACT TOTAL TOTAL 1891915.07 TOTAL 2030415.45 TOTAL 2173490.67

ROADWAY ITEMS SUB-TOTAL 1891915.07 SUB-TOTAL 2030415.45 SUB-TOTAL 2173490.67

BIDDERS IN ORDER

CONTRACT TOTAL

S. T. WOOTEN CORPORATION	1	1891915.07
ONSLow GRADING & PAVING INC.	2	2030415.45
BARNHILL CONTRACTING COMPANY	3	2173490.67

FED AID NO STATE FUNDED
MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.
NC-58 FROM NC-41/58 TO US-17.

		S. T. WOOTEN CORPORATION			BARNHILL CONTRACTING COMPANY		ONSLow GRADING & PAVING INC.		
		WILSON, NC			TARBORO, NC		JACKSONVILLE, NC		
ROADWAY ITEMS									
0001	0000100000-N	800	MOBILIZATION	Lump Sum		45000.00	130000.00	160000.00	
0002	0106000000-E	230	BORROW EXCAVATION	361 CY	30.00	10830.00	12996.00	5776.00	
0003	1245000000-E	SP	SHOULDER RECONSTRUCTION	18.04 SMI	1920.00	34636.80	37884.00	29766.00	
0004	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	17,656 SY	1.25	22070.00	26484.00	26484.00	
0005	1330000000-E	607	INCIDENTAL MILLING	533 SY	8.00	4264.00	4317.30	4264.00	
0006	1498000000-E	610	ASP CONC INTR CRS I19.0B	23,794 TON	32.00	761408.00	916069.00	971984.90	
0007	1519000000-E	610	ASP CONC SURF CRS S9.5B	15,684 TON	33.00	517572.00	603834.00	644612.40	
0008	1575000000-E	620	ASP FOR PLANT MIX	1,988 TON	650.00	1292200.00	1073520.00	1192800.00	
0009	2830000000-N	858	ADJ MANHOLES	6 EA	450.00	2700.00	3000.00	2400.00	
0010	2845000000-N	858	ADJ METER OR VALVE BOXES	9 EA	450.00	4050.00	4050.00	2925.00	
0011	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		13000.00	19000.00	33000.00	
0012	4685000000-E	1205	THERMO PVT MKG LINES 4"90	97,044 LF	0.49	47551.56	47551.56	39788.04	
0013	4686000000-E	1205	THERMO PVT MKG LINES 4"120	64,369 LF	0.59	37977.71	37977.71	34115.57	
0014	4697000000-E	1205	THERMO PVT MKG LINE 8"120 MILS	324 LF	3.00	972.00	972.00	648.00	
0015	4710000000-E	1205	24"WIDE THERMO 120 MILS	172 LF	10.00	1720.00	1720.00	774.00	
0016	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	20 EA	100.00	2000.00	2000.00	2600.00	
0017	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	16 EA	150.00	2400.00	2400.00	1920.00	
0018	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	400 LF	1.35	540.00	540.00	1800.00	
0019	4810000000-E	1205	PAINT PVMT MARKINGS 4"	161,413 LF	0.10	16141.30	16141.30	22597.82	
0020	4820000000-E	1205	PAINT PVMT MARKINGS 8"	324 LF	0.50	162.00	162.00	64.80	
0021	4835000000-E	1205	PAINT PVT MKG LINES 24"	272 LF	2.00	544.00	544.00	680.00	
0022	4840000000-N	1205	PAINT PVT MKG CHARACTER	20 EA	25.00	500.00	500.00	1000.00	
0023	4845000000-N	1205	PAINT PVT MKG SYMBOL	12 EA	25.00	300.00	300.00	720.00	
0024	4850000000-E	1205	LINE REMOVAL 4" WIDE	400 LF	1.00	400.00	400.00	800.00	
0025	4905000000-N	1253	SNOWPLB PVMT MRKER	644 EA	26.00	16744.00	16744.00	18032.00	
0026	6084000000-E	1660	SEEDING AND MULCHING	20 ACR	1688.00	33760.00	200.00	25000.00	
CONTRACT TOTAL				TOTAL	2869443.37	TOTAL	2959306.87	TOTAL	3224552.53
ROADWAY ITEMS				SUB-TOTAL	2869443.37	SUB-TOTAL	2959306.87	SUB-TOTAL	3224552.53
BIDDERS IN ORDER				CONTRACT TOTAL					
S. T. WOOTEN CORPORATION				1	2869443.37				
BARNHILL CONTRACTING COMPANY				2	2959306.87				
ONSLow GRADING & PAVING INC.				3	3224552.53				

FED AID NO STATE FUNDED
MILLING, AND RESURFACING.
NC-11 FROM MALLARD OIL COMPANY TO NEW ROUNDABOUT.

			BARNHILL CONTRACTING COMPANY	GREENVILLE PAVING & CONTRACTING, INC.	ROSE BROTHERS PAVING CO., INC.
			TARBORO, NC	GREENVILLE, NC	AHOSKIE, NC
ROADWAY ITEMS					
0001	0000100000-N	800 MOBILIZATION	Lump Sum	25000.00	29500.00
0002	1297000000-E	607 MILL ASP PVMT ***** DTH (2")	50,160 SY 1.65	82764.00	60192.00
0003	1523000000-E	610 ASP CONC SURF CRS S9.5C	6,198 TON 36.75	227776.50	229326.00
0004	1575000000-E	620 ASP FOR PLANT MIX	366 TON 540.00	197640.00	237900.00
0005	2830000000-N	858 ADJ MANHOLES	8 EA 265.00	2120.00	5200.00
0006	4399000000-N	1105 TEMP TRAFFIC CONTROL	Lump Sum	12000.00	10000.00
0007	4686000000-E	1205 THERMO PVT MKG LINES 4"120	12,540 LF 1.00	12540.00	13794.00
0008	4697000000-E	1205 THERMO PVT MKG LINE 8"120 MILS	1,320 LF 2.95	3894.00	4356.00
0009	4710000000-E	1205 24"WIDE THERMO 120 MILS	500 LF 6.00	3000.00	5500.00
0010	4721000000-E	1205 THERMO PVT MKG CHARACTER 120	20 EA 36.50	730.00	2200.00
0011	4725000000-E	1205 THERMO PVT SYMBOL 90MILS	60 EA 105.00	6300.00	9000.00
0012	4810000000-E	1205 PAINT PVMT MARKINGS 4"	12,540 LF 0.45	5643.00	7524.00
0013	4820000000-E	1205 PAINT PVMT MARKINGS 8"	1,320 LF 0.80	1056.00	1452.00
0014	4835000000-E	1205 PAINT PVT MKG LINES 24"	500 LF 2.60	1300.00	2200.00
0015	4840000000-N	1205 PAINT PVT MKG CHARACTER	20 EA 26.50	530.00	2000.00
0016	4845000000-N	1205 PAINT PVT MKG SYMBOL	52 EA 42.00	2184.00	5200.00
0017	4905000000-N	1253 SNOWPLB PVMT MRKER	99 EA 49.00	4851.00	3465.00
CONTRACT TOTAL			TOTAL	589328.50	628809.00
ROADWAY ITEMS			SUB-TOTAL	589328.50	628809.00
BIDDERS IN ORDER			CONTRACT TOTAL		
BARNHILL CONTRACTING COMPANY			1	589328.50	
GREENVILLE PAVING & CONTRACTING, INC.			2	615541.20	
ROSE BROTHERS PAVING CO., INC.			3	628809.00	

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

D. H. GRIFFIN CONSTRUCTION PALMETTO INFRASTRUCTURE INC
COMPANY, LLC CAROLINA BRIDGE CO., INC.
RALEIGH, NC GREENVILLE, SC ORANGEBURG, SC

ROADWAY ITEMS

Item ID	Description	Quantity	Unit	Rate	Amount	Rate	Amount	Rate	Amount
0001	800 MOBILIZATION		Lump Sum		264000.00		270000.00		297813.45
0002	SP REINF BRG APPR ***** (22+62.5 -L-)		Lump Sum		60000.00		26000.00		54103.86
0003	226 GRADING		Lump Sum		110000.00		170000.00		158734.92
0004	226 SUPP CLEARING & GRUBBING	1	ACR	0.01	0.01	1200.00	1200.00	12705.58	12705.58
0005	226 UNDERCUT EXCAVATION	1,300	CY	9.00	11700.00	17.50	22750.00	13.47	17511.00
0006	265 SELECT GRANULAR MATERIAL	1,300	CY	29.00	37700.00	22.00	28600.00	23.74	30862.00
0007	270 GEOTEXTILE SOIL STABILIZATION	1,400	SY	2.25	3150.00	3.00	4200.00	3.14	4396.00
0008	SP GENERIC GRADING ITEM (TON) EXCAVATION, HAULING AND DISPOSAL OF CONTAMINATED SOIL	4,000	TON	22.50	90000.00	14.00	56000.00	51.18	204720.00
0009	300 FND CONDIR MATL MINOR STRS	80	TON	55.00	4400.00	24.00	1920.00	28.33	2266.40
0010	300 FND CONDIR GEOTEXTILE	230	SY	6.00	1380.00	3.00	690.00	6.35	1460.50
0011	310 15" SIDE DRAIN PIPE	364	LF	45.00	16380.00	32.00	11648.00	38.27	13930.28
0012	310 18" SIDE DRAIN PIPE	236	LF	48.00	11328.00	36.00	8496.00	40.33	9517.88
0013	310 15" RC PIPE CULV III	8	LF	105.00	840.00	65.00	520.00	244.23	1953.84
0014	310 15" CS PIPE CULV 0.064"	56	LF	60.00	3360.00	62.00	3472.00	48.19	2698.64
0015	310 *** CS ELBOW ***** THICK (15", 0.064")	4	EA	500.00	2000.00	250.00	1000.00	133.77	535.08
0016	520 AGGREGATE BASE COURSE	63	TON	35.00	2205.00	28.00	1764.00	55.40	3490.20
0017	545 INCIDENTAL STONE BASE	100	TON	35.00	3500.00	24.00	2400.00	40.18	4018.00
0018	600 PRIME COAT	42	GAL	40.50	1701.00	53.83	2260.86	41.45	1740.90
0019	607 INCIDENTAL MILLING	380	SY	12.99	4936.20	17.60	6688.00	10.24	3891.20
0020	610 ASP CONC BASE CRS B25.0B	1,020	TON	57.75	58905.00	45.83	46746.60	59.11	60292.20
0021	610 ASP CONC INTR CRS I19.0B	1,010	TON	57.75	58327.50	45.93	46389.30	59.11	59701.10
0022	610 ASP CONC SURF CRS S9.5B	810	TON	65.75	53257.50	50.40	40824.00	67.30	54513.00
0023	620 ASP FOR PLANT MIX	145	TON	625.00	90625.00	646.55	93749.75	639.71	92757.95
0024	815 SUBDRAIN EXCAVATION	89.6	CY	17.50	1568.00	22.00	1971.20	17.91	1604.74
0025	815 SUBDRAIN FINE AGGREGATE	67.2	CY	65.00	4368.00	26.00	1747.20	66.53	4470.82
0026	815 6" PERF SUBDRN PIPE	400	LF	10.00	4000.00	16.00	6400.00	10.24	4096.00
0027	815 SUBDRN PIPE OUTLET	1	EA	250.00	250.00	250.00	250.00	255.88	255.88
0028	815 6" OUTLET PIPE	6	LF	30.00	180.00	45.00	270.00	30.71	184.26
0029	840 MASNRY DRAINAGE STRUCT	11	EA	2000.00	22000.00	1200.00	13200.00	1156.75	12724.25
0030	840 MASNRY DRAINAGE STRUCT	0.6	LF	560.00	336.00	450.00	270.00	4541.08	2724.65
0031	840 FRAME W/2GRTS 840.16 STD	1	EA	590.00	590.00	1000.00	1000.00	1344.84	1344.84
0032	840 FRAME W/2GRTS 840.24 STD	5	EA	545.00	2725.00	1150.00	5750.00	1372.15	6860.75
0033	840 FRAME W/2GRTS 840.29 STD	4	EA	550.00	2200.00	950.00	3800.00	1372.16	5488.64
0034	840 FRAME W/COVER STD 840.54	1	EA	470.77	470.77	1200.00	1200.00	1017.06	1017.06
0035	846 2'-6" CONC CURB & GUTTER	230	LF	15.00	3450.00	34.00	7820.00	95.16	21886.80
0036	846 SHOULDER BERM GUTTER	20	LF	50.00	1000.00	38.00	760.00	171.73	3434.60
0037	848 4" CONCRETE SIDEWALK	150	SY	32.00	4800.00	34.00	5100.00	51.18	7677.00
0038	848 CONCRETE CURB RAMP	2	EA	995.00	1990.00	1200.00	2400.00	1535.30	3070.60

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

		D. H. GRIFFIN CONSTRUCTION PALMETTO INFRASTRUCTURE INC COMPANY, LLC						CAROLINA BRIDGE CO., INC.			
		RALEIGH, NC			GREENVILLE, SC			ORANGEBURG, SC			
0039	3030000000-E	862	STL BM GUARDRAIL	150	LF	16.00	2400.00	16.00	2400.00	16.38	2457.00
0040	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00	11.00	55.00	11.26	56.30
0041	3215000000-N	862	GR ANCHOR TYPE III	1	EA	1600.00	1600.00	1600.00	1600.00	1637.66	1637.66
0042	3270000000-N	SP	GR ANCHOR TYPE 350	1	EA	2100.00	2100.00	2100.00	2100.00	2149.42	2149.42
0043	3575000000-E	SP	GENERIC FENCING ITEM (LF) ALUMINUM ORNAMENTAL FENCE	50	LF	59.00	2950.00	59.00	2950.00	60.39	3019.50
0044	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	1,800	SY	2.50	4500.00	3.00	5400.00	3.25	5850.00
0045	3659000000-N	SP	PREFORMED SCOUR HOLES	2	EA	2000.00	4000.00	2400.00	4800.00	2540.71	5081.42
0046	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	143	LF	4.00	572.00	5.18	740.74	4.09	584.87
0047	4096000000-N	904	SIGN ERECTION, TYPE D	2	EA	80.00	160.00	125.00	250.00	81.89	163.78
0048	4102000000-N	904	SIGN ERECTION, TYPE E	6	EA	50.00	300.00	75.00	450.00	51.18	307.08
0049	4108000000-N	904	SIGN ERECTION, TYPE F	1	EA	80.00	80.00	110.00	110.00	81.88	81.88
0050	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8	EA	1.00	8.00	5.00	40.00	1.02	8.16
0051	4400000000-E	1110	WORK ZONE SIGNS (STAT)	82	SF	3.95	323.90	5.58	457.56	4.04	331.28
0052	4405000000-E	1110	WORK ZONE SIGNS (PORT)	64	SF	18.28	1169.92	8.85	566.40	7.93	507.52
0053	4410000000-E	1110	WORK ZONE SIGNS (BARR)	188	SF	6.00	1128.00	6.15	1156.20	6.14	1154.32
0054	4415000000-N	1115	FLASHING ARROW BOARD	2	EA	2135.00	4270.00	1725.00	3450.00	2558.84	5117.68
0055	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	8540.00	17080.00	5500.00	11000.00	10235.35	20470.70
0056	4430000000-N	1130	DRUMS	161	EA	44.30	7132.30	46.00	7406.00	74.11	11931.71
0057	4445000000-E	1145	BARRICADES (TYPE III)	192	LF	16.00	3072.00	18.40	3532.80	16.38	3144.96
0058	4507000000-E	1170	WATER FILLED BARRIER	120	LF	33.00	3960.00	78.75	9450.00	33.78	4053.60
0059	4510000000-N	SP	LAW ENFORCEMENT	48	HR	35.00	1680.00	35.00	1680.00	35.82	1719.36
0060	4595000000-E	SP	GENERIC TRAFFIC CONTROL ITEM (SF) MAINTENANCE & REMOVAL OF EXT DETOUR SIGNS OUTSIDE PROJECT LIMITS	2,290	SF	1.25	2862.50	1.35	3091.50	1.28	2931.20
0061	4650000000-N	1251	TEMP RAISED PVMT MRKS	59	EA	6.00	354.00	10.00	590.00	10.24	604.16
0062	4697000000-E	1205	THERMO PVT MKG LINE 8"120 MILS	357	LF	2.50	892.50	3.00	1071.00	3.07	1095.99
0063	4710000000-E	1205	24"WIDE THERMO 120 MILS	86	LF	10.00	860.00	12.00	1032.00	12.28	1056.08
0064	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	11	EA	150.00	1650.00	150.00	1650.00	153.53	1688.83
0065	4810000000-E	1205	PAINT PVMT MARKINGS 4"	12,000	LF	0.20	2400.00	0.40	4800.00	0.41	4920.00
0066	4820000000-E	1205	PAINT PVMT MARKINGS 8"	260	LF	1.00	260.00	1.50	390.00	1.54	400.40
0067	4835000000-E	1205	PAINT PVT MKG LINES 24"	66	LF	3.00	198.00	5.00	330.00	5.12	337.92
0068	4845000000-N	1205	PAINT PVT MKG SYMBOL	26	EA	25.00	650.00	60.00	1560.00	61.41	1596.66
0069	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	5,288	LF	5.19	27444.72	1.20	6345.60	1.23	6504.24
0070	4900000000-N	1251	PERM RAISED PVMT MARKERS	71	EA	6.00	426.00	10.00	710.00	10.24	727.04
0071	6000000000-E	1605	TEMPORARY SILT FENCE	2,155	LF	2.18	4697.90	2.00	4310.00	2.23	4805.65
0072	6006000000-E	1610	EROS CONTRL STONE CL A	225	TON	47.00	10575.00	48.00	10800.00	49.54	11146.50
0073	6009000000-E	1610	EROS CONTRL STONE CL B	55	TON	50.00	2750.00	48.00	2640.00	51.64	2840.20
0074	6012000000-E	1610	SEDIMENT CONTROL STONE	585	TON	35.00	20475.00	45.00	26325.00	43.60	25506.00
0075	6015000000-E	1615	TEMPORARY MULCHING	1.5	ACR	1100.00	1650.00	800.00	1200.00	767.65	1151.48
0076	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	4.00	200.00	3.00	150.00	3.58	179.00

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

D. H. GRIFFIN CONSTRUCTION PALMETTO INFRASTRUCTURE INC
COMPANY, LLC CAROLINA BRIDGE CO., INC.
RALEIGH, NC GREENVILLE, SC ORANGEBURG, SC

0077	6021000000-E	1620 FERT FOR TEMP SEEDING	1.25 TON	730.00	912.50	1200.00	1500.00	1023.54	1279.43
0078	6024000000-E	1622 TEMPORARY SLOPE DRAINS	200 LF	12.00	2400.00	12.00	2400.00	17.25	3450.00
0079	6029000000-E	SP SAFETY FENCE	1,400 LF	1.60	2240.00	1.65	2310.00	1.64	2296.00
0080	6030000000-E	1630 SILT EXCAVATION	60 CY	30.00	1800.00	28.00	1680.00	30.54	1832.40
0081	6036000000-E	1631 MATTING FOR EROS CONTROL	1,560 SY	1.80	2808.00	1.75	2730.00	1.54	2402.40
0082	6037000000-E	SP COIR FIBER MAT	10 SY	12.00	120.00	20.00	200.00	5.12	51.20
0083	6038000000-E	SP PERM SOIL REINF MAT	50 SY	10.00	500.00	10.00	500.00	8.19	409.50
0084	6042000000-E	1632 1/4" HARDWARE CLOTH	590 LF	3.60	2124.00	4.50	2655.00	3.68	2171.20
0085	6048000000-E	SP FLOAT TURBIDITY CURTAIN	640 SY	28.00	17920.00	26.00	16640.00	19.14	12249.60
0086	6070000000-N	1639 SPECIAL STILLING BASINS	20 EA	340.00	6800.00	425.00	8500.00	1832.21	36644.20
0087	6071030000-E	1640 COIR FIBER BAFFLE	50 LF	7.00	350.00	9.00	450.00	7.16	358.00
0088	6071050000-E	SP *** SKIMMER (1-1/2")	1 EA	1200.00	1200.00	1700.00	1700.00	1023.53	1023.53
0089	6084000000-E	1660 SEEDING AND MULCHING	3 ACR	2370.00	7110.00	1800.00	5400.00	1740.01	5220.03
0090	6087000000-E	1660 MOWING	3 ACR	40.00	120.00	150.00	450.00	61.41	184.23
0091	6090000000-E	1661 SEED FOR REPAIR SEEDING	50 LB	8.00	400.00	15.00	750.00	6.14	307.00
0092	6093000000-E	1661 FERT FOR REPAIR SEEDING	0.25 TON	940.00	235.00	1200.00	300.00	1023.52	255.88
0093	6096000000-E	1662 SEED FOR SUPP SEEDING	50 LB	4.80	240.00	4.00	200.00	6.14	307.00
0094	6108000000-E	1665 FERTILIZER TOPDRESSING	1 TON	730.00	730.00	1500.00	1500.00	870.00	870.00
0095	6114500000-N	1667 SPECIALIZED HAND MOWING	10 MHR	28.00	280.00	50.00	500.00	25.59	255.90
0096	6117000000-N	SP RESPONSE FOR EROS CONTROL	18 EA	250.00	4500.00	488.00	8784.00	143.30	2579.40
0097	6123000000-E	1670 REFORESTATION	0.1 ACR	2950.00	295.00	1800.00	180.00	1535.30	153.53
0098	7288000000-E	1715 PAVED TRENCH (***** (1, 2")	30 LF	32.00	960.00	32.00	960.00	20.98	629.40
0099	7301000000-E	1715 DIRECT DRILL (***** (1, 2")	10 LF	40.00	400.00	40.00	400.00	20.98	209.80
0100	7324000000-N	1716 JUNCTION BOX (STANDARD SIZE)	1 EA	150.00	150.00	150.00	150.00	176.05	176.05
0101	7444000000-E	1725 INDUCTIVE LOOP SAWCUT	560 LF	5.25	2940.00	5.25	2940.00	6.65	3724.00
0102	7456000000-E	1726 LEAD-IN CABLE(***** (14-2)	380 LF	1.80	684.00	1.80	684.00	3.68	1398.40
0103	7636000000-N	1745 SIGN FOR SIGNALS	3 EA	290.00	870.00	290.00	870.00	242.58	727.74
STRUCTURE ITEMS									
0104	8017000000-N	SP CM&R TEMP ACCESS ***** (22+62.50-L-)	Lump Sum		400000.00		250000.00		362280.99
0105	8035000000-N	402 REMV EXIST STR ***** (22+62.50-L-)	Lump Sum		690000.00		275000.00		287170.69
0106	8105560000-E	411 4'-0" DRILLD PIER IN SOIL	220.67 LF	798.34	176169.69	500.00	110335.00	650.42	143528.18
0107	8105660000-E	411 4'-0" DRILLD PIER NO SOIL	121 LF	821.68	99423.28	2500.00	302500.00	1407.72	170334.12
0108	8111600000-E	411 PERM STL CASING FOR 4' PIER	79.8 LF	250.00	19950.00	300.00	23940.00	396.13	31611.17
0109	8113000000-N	411 SID INSPECTIONS	1 EA	300.00	300.00	1500.00	1500.00	3637.98	3637.98
0110	8114000000-N	411 SPT TESTING	1 EA	300.00	300.00	1500.00	1500.00	7071.25	7071.25
0111	8115000000-N	411 CSL TESTING	1 EA	1700.00	1700.00	6500.00	6500.00	8094.78	8094.78

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

		D. H. GRIFFIN CONSTRUCTION COMPANY, LLC		PALMETTO INFRASTRUCTURE INC		CAROLINA BRIDGE CO., INC.	
		RALEIGH, NC		GREENVILLE, SC		ORANGEBURG, SC	
0112	8121000000-N	412	UNCL STR EXCAV STA ***** (22+62.50-L-)	Lump Sum	50000.00	10000.00	57196.97
0113	8147000000-E	420	REINF CONCRETE DECK SLAB	29,750 SF	20.00 595000.00	24.00 714000.00	26.37 784507.50
0114	8161000000-E	420	GROOVING BRIDGE FLOORS	23,474 SF	0.35 8215.90	0.50 11737.00	0.25 5868.50
0115	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	262.5 CY	625.00 164062.50	1000.00 262500.00	1277.87 335440.88
0116	8210000000-N	422	BRG APPR SLAB ***** (22+62.50-L-)	Lump Sum	55000.00	80000.00	88450.05
0117	8217000000-E	425	REINF STEEL (BRIDGE)	64,144 LB	0.75 48108.00	1.25 80180.00	0.93 59653.92
0118	8238000000-E	425	SPIRAL COL REINF STL BRG	12,255 LB	1.15 14093.25	2.00 24510.00	1.60 19608.00
0119	8280000000-E	440	STRUCTURAL STEEL	Lump Sum	1362000.00	1650000.00	1847015.90
0120	8384000000-E	450	HP14X73 PILES	980 LF	66.00 64680.00	75.00 73500.00	86.21 84485.80
0121	8505000000-E	460	VERT CONC BARRIER RAIL	746.55 LF	53.39 39858.30	65.00 48525.75	56.90 42478.70
0122	8608000000-E	876	RIP RAP II (2'-0")	1,636 TON	40.00 65440.00	65.00 106340.00	56.07 91730.52
0123	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	1,820 SY	1.95 3549.00	5.00 9100.00	3.25 5915.00
0124	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum	52000.00	45000.00	55649.22
0125	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum	110000.00	100000.00	11725.82
0126	8727000000-N	SP	ELEC CONDUIT SYS SIGNAL ***** (22+62.50-L-)	Lump Sum	14500.00	25000.00	53066.23
0127	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) ELECTRICAL CONDUIT SYSTEM FOR UNDERPASS LIGHTING AT STA 22+ 62.50-L-	Lump Sum	9500.00	12000.00	10339.39
0128	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) CLASSIC CONCRETE BRIDGE RAIL	746.55 LF	145.00 108249.75	75.00 55991.25	304.78 227533.51
		CONTRACT TOTAL		TOTAL	5287697.89	TOTAL 5370838.71	TOTAL 6183335.31
		ROADWAY ITEMS		SUB-TOTAL	1135598.22	SUB-TOTAL 1091179.71	SUB-TOTAL 1388940.24
		STRUCTURE ITEMS		SUB-TOTAL	4152099.67	SUB-TOTAL 4279659.00	SUB-TOTAL 4794395.07

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

S. T. WOOTEN CORPORATION WILSON, NC
CORMAN CONSTRUCTION, INC. ANNAPOLIS JUNCTION, MD
DELLINGER, INC. MONROE, NC

ROADWAY ITEMS

Item ID	Code	Description	Quantity	Unit	Price	Subcontractor	Price	Subcontractor	Price
0001	0000100000-N	800 MOBILIZATION		Lump Sum	311400.00		300000.00		335000.00
0002	0029000000-N	SP REINF BRG APPR ***** (22+62.5 -L-)		Lump Sum	61450.00		39200.00		50000.00
0003	0043000000-N	226 GRADING		Lump Sum	193000.00		290000.00		112400.00
0004	0050000000-E	226 SUPP CLEARING & GRUBBING	1	ACR	5800.00	5800.00	1730.00	1730.00	1500.00
0005	0057000000-E	226 UNDERCUT EXCAVATION	1,300	CY	27.00	35100.00	27.50	35750.00	12.60
0006	0195000000-E	265 SELECT GRANULAR MATERIAL	1,300	CY	24.50	31850.00	60.50	78650.00	18.10
0007	0196000000-E	270 GEOTEXTILE SOIL STABILIZATION	1,400	SY	3.75	5250.00	2.40	3360.00	1.75
0008	0255000000-E	SP GENERIC GRADING ITEM (TON) EXCAVATION, HAULING AND DISPOSAL OF CONTAMINATED SOIL	4,000	TON	21.25	85000.00	60.00	240000.00	47.00
0009	0318000000-E	300 FND CONDIT MATL MINOR STRS	80	TON	27.00	2160.00	33.00	2640.00	28.50
0010	0320000000-E	300 FND CONDIT GEOTEXTILE	230	SY	4.75	1092.50	2.60	598.00	2.20
0011	0343000000-E	310 15" SIDE DRAIN PIPE	364	LF	35.00	12740.00	35.50	12922.00	30.75
0012	0344000000-E	310 18" SIDE DRAIN PIPE	236	LF	40.00	9440.00	40.50	9558.00	35.25
0013	0366000000-E	310 15" RC PIPE CULV III	8	LF	36.00	288.00	84.00	672.00	73.00
0014	0582000000-E	310 15" CS PIPE CULV 0.064"	56	LF	46.00	2576.00	69.00	3864.00	60.00
0015	0636000000-E	310 *** CS ELBOW ***** THICK (15", 0.064")	4	EA	325.00	1300.00	645.00	2580.00	560.00
0016	1121000000-E	520 AGGREGATE BASE COURSE	63	TON	62.00	3906.00	43.00	2709.00	36.75
0017	1220000000-E	545 INCIDENTAL STONE BASE	100	TON	20.00	2000.00	29.00	2900.00	41.00
0018	1275000000-E	600 PRIME COAT	42	GAL	23.75	997.50	58.50	2457.00	53.83
0019	1330000000-E	607 INCIDENTAL MILLING	380	SY	10.95	4161.00	19.00	7220.00	17.60
0020	1489000000-E	610 ASP CONC BASE CRS B25.0B	1,020	TON	84.00	85680.00	50.00	51000.00	45.83
0021	1498000000-E	610 ASP CONC INTR CRS I19.0B	1,010	TON	86.50	87365.00	50.00	50500.00	45.93
0022	1519000000-E	610 ASP CONC SURF CRS S9.5B	810	TON	86.35	69943.50	55.00	44550.00	50.40
0023	1575000000-E	620 ASP FOR PLANT MIX	145	TON	650.00	94250.00	705.00	102225.00	646.55
0024	2022000000-E	815 SUBDRAIN EXCAVATION	89.6	CY	17.50	1568.00	30.00	2688.00	25.50
0025	2033000000-E	815 SUBDRAIN FINE AGGREGATE	67.2	CY	65.00	4368.00	57.50	3864.00	50.00
0026	2044000000-E	815 6" PERF SUBDRN PIPE	400	LF	10.00	4000.00	6.90	2760.00	6.00
0027	2070000000-N	815 SUBDRN PIPE OUTLET	1	EA	250.00	250.00	363.00	363.00	315.00
0028	2077000000-E	815 6" OUTLET PIPE	6	LF	30.00	180.00	18.50	111.00	16.25
0029	2286000000-N	840 MASNRY DRAINAGE STRUCT	11	EA	1600.00	17600.00	1160.00	12760.00	1010.00
0030	2308000000-E	840 MASNRY DRAINAGE STRUCT	0.6	LF	250.00	150.00	410.00	246.00	350.00
0031	2364000000-N	840 FRAME W/2GRTS 840.16 STD	1	EA	496.00	496.00	518.00	518.00	450.00
0032	2366000000-N	840 FRAME W/2GRTS 840.24 STD	5	EA	475.00	2375.00	518.00	2590.00	450.00
0033	2367000000-N	840 FRAME W/2GRTS 840.29 STD	4	EA	496.00	1984.00	518.00	2072.00	450.00
0034	2396000000-N	840 FRAME W/COVER STD 840.54	1	EA	380.00	380.00	403.00	403.00	350.00
0035	2549000000-E	846 2'-6" CONC CURB & GUTTER	230	LF	20.00	4600.00	17.00	3910.00	44.00
0036	2556000000-E	846 SHOULDER BERM GUTTER	20	LF	50.00	1000.00	30.50	610.00	75.00
0037	2591000000-E	848 4" CONCRETE SIDEWALK	150	SY	36.00	5400.00	37.00	5550.00	28.00
0038	2605000000-N	848 CONCRETE CURB RAMP	2	EA	1250.00	2500.00	979.00	1958.00	700.00

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

		S. T. WOOTEN CORPORATION			CORMAN CONSTRUCTION, INC.			DELLINGER, INC.			
		WILSON, NC			ANNAPOLIS JUNCTION, MD			MONROE, NC			
0039	3030000000-E	862	STL BM GUARDRAIL	150	LF	16.00	2400.00	17.50	2625.00	16.00	2400.00
0040	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00	28.00	140.00	11.00	55.00
0041	3215000000-N	862	GR ANCHOR TYPE III	1	EA	1600.00	1600.00	1530.00	1530.00	1600.00	1600.00
0042	3270000000-N	SP	GR ANCHOR TYPE 350	1	EA	2100.00	2100.00	2290.00	2290.00	2100.00	2100.00
0043	3575000000-E	SP	GENERIC FENCING ITEM (LF) ALUMINUM ORNAMENTAL FENCE	50	LF	59.00	2950.00	164.00	8200.00	70.00	3500.00
0044	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	1,800	SY	4.55	8190.00	2.20	3960.00	1.85	3330.00
0045	3659000000-N	SP	PREFORMED SCOUR HOLES	2	EA	2500.00	5000.00	2650.00	5300.00	2870.00	5740.00
0046	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	143	LF	5.80	829.40	5.00	715.00	4.00	572.00
0047	4096000000-N	904	SIGN ERECTION, TYPE D	2	EA	95.00	190.00	87.50	175.00	80.00	160.00
0048	4102000000-N	904	SIGN ERECTION, TYPE E	6	EA	75.00	450.00	54.50	327.00	50.00	300.00
0049	4108000000-N	904	SIGN ERECTION, TYPE F	1	EA	95.00	95.00	88.00	88.00	80.00	80.00
0050	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8	EA	5.00	40.00	1.00	8.00	1.00	8.00
0051	4400000000-E	1110	WORK ZONE SIGNS (STAT)	82	SF	3.95	323.90	4.50	369.00	3.95	323.90
0052	4405000000-E	1110	WORK ZONE SIGNS (PORT)	64	SF	80.00	5120.00	8.50	544.00	10.00	640.00
0053	4410000000-E	1110	WORK ZONE SIGNS (BARR)	188	SF	59.25	11139.00	6.50	1222.00	6.00	1128.00
0054	4415000000-N	1115	FLASHING ARROW BOARD	2	EA	4800.00	9600.00	4250.00	8500.00	3900.00	7800.00
0055	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	24700.00	49400.00	15800.00	31600.00	9000.00	18000.00
0056	4430000000-N	1130	DRUMS	161	EA	82.00	13202.00	45.50	7325.50	40.00	6440.00
0057	4445000000-E	1145	BARRICADES (TYPE III)	192	LF	16.00	3072.00	17.50	3360.00	16.00	3072.00
0058	4507000000-E	1170	WATER FILLED BARRIER	120	LF	95.00	11400.00	36.00	4320.00	39.00	4680.00
0059	4510000000-N	SP	LAW ENFORCEMENT	48	HR	75.00	3600.00	54.50	2616.00	50.00	2400.00
0060	4595000000-E	SP	GENERIC TRAFFIC CONTROL ITEM (SF) MAINTENANCE & REMOVAL OF EXT DETOUR SIGNS OUTSIDE PROJECT LIMITS	2,290	SF	1.25	2862.50	1.40	3206.00	1.25	2862.50
0061	4650000000-N	1251	TEMP RAISED PVMT MRKS	59	EA	10.00	590.00	11.00	649.00	6.00	354.00
0062	4697000000-E	1205	THERMO PVT MKG LINE 8"120 MILS	357	LF	5.00	1785.00	3.50	1249.50	2.50	892.50
0063	4710000000-E	1205	24"WIDE THERMO 120 MILS	86	LF	7.50	645.00	13.00	1118.00	10.00	860.00
0064	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	11	EA	185.00	2035.00	164.00	1804.00	150.00	1650.00
0065	4810000000-E	1205	PAINT PVMT MARKINGS 4"	12,000	LF	0.35	4200.00	0.45	5400.00	0.20	2400.00
0066	4820000000-E	1205	PAINT PVMT MARKINGS 8"	260	LF	1.00	260.00	1.60	416.00	1.00	260.00
0067	4835000000-E	1205	PAINT PVT MKG LINES 24"	66	LF	4.00	264.00	5.50	363.00	3.00	198.00
0068	4845000000-N	1205	PAINT PVT MKG SYMBOL	26	EA	70.00	1820.00	65.50	1703.00	25.00	650.00
0069	4847000000-E	1205	POLYUREA LINES (4" *****) (HIGHLY REFLECTIVE ELEMENTS)	5,288	LF	1.25	6610.00	1.25	6610.00	5.19	27444.72
0070	4900000000-N	1251	PERM RAISED PVMT MARKERS	71	EA	14.00	994.00	11.00	781.00	6.00	426.00
0071	6000000000-E	1605	TEMPORARY SILT FENCE	2,155	LF	2.18	4697.90	2.80	6034.00	2.50	5387.50
0072	6006000000-E	1610	EROS CONTRL STONE CL A	225	TON	44.50	10012.50	50.00	11250.00	50.00	11250.00
0073	6009000000-E	1610	EROS CONTRL STONE CL B	55	TON	54.50	2997.50	52.00	2860.00	50.00	2750.00
0074	6012000000-E	1610	SEDIMENT CONTROL STONE	585	TON	38.50	22522.50	37.00	21645.00	45.00	26325.00
0075	6015000000-E	1615	TEMPORARY MULCHING	1.5	ACR	700.00	1050.00	810.00	1215.00	1300.00	1950.00
0076	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	5.00	250.00	5.60	280.00	6.80	340.00

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

S. T. WOOTEN CORPORATION WILSON, NC
CORMAN CONSTRUCTION, INC. ANNAPOLIS JUNCTION, MD
DELLINGER, INC. MONROE, NC

0077	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25	TON	900.00	1125.00	1000.00	1250.00	1350.00	1687.50
0078	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200	LF	19.25	3850.00	11.00	2200.00	14.50	2900.00
0079	6029000000-E	SP	SAFETY FENCE	1,400	LF	1.60	2240.00	2.50	3500.00	1.85	2590.00
0080	6030000000-E	1630	SILT EXCAVATION	60	CY	25.00	1500.00	9.20	552.00	20.00	1200.00
0081	6036000000-E	1631	MATTING FOR EROS CONTROL	1,560	SY	5.25	8190.00	1.40	2184.00	1.50	2340.00
0082	6037000000-E	SP	COIR FIBER MAT	10	SY	14.00	140.00	11.00	110.00	7.00	70.00
0083	6038000000-E	SP	PERM SOIL REINF MAT	50	SY	11.50	575.00	8.70	435.00	9.00	450.00
0084	6042000000-E	1632	1/4" HARDWARE CLOTH	590	LF	3.60	2124.00	6.00	3540.00	5.60	3304.00
0085	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	640	SY	50.00	32000.00	22.50	14400.00	30.00	19200.00
0086	6070000000-N	1639	SPECIAL STILLING BASINS	20	EA	425.00	8500.00	3800.00	76000.00	545.00	10900.00
0087	6071030000-E	1640	COIR FIBER BAFFLE	50	LF	7.50	375.00	8.50	425.00	8.00	400.00
0088	6071050000-E	SP	*** SKIMMER (1-1/2")	1	EA	2402.20	2402.20	973.00	973.00	925.00	925.00
0089	6084000000-E	1660	SEEDING AND MULCHING	3	ACR	1600.00	4800.00	1850.00	5550.00	2750.00	8250.00
0090	6087000000-E	1660	MOWING	3	ACR	75.00	225.00	82.00	246.00	120.00	360.00
0091	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	5.00	250.00	6.00	300.00	8.00	400.00
0092	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	1600.00	400.00	1700.00	425.00	1350.00	337.50
0093	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	5.00	250.00	6.00	300.00	8.00	400.00
0094	6108000000-E	1665	FERTILIZER TOPDRESSING	1	TON	900.00	900.00	1000.00	1000.00	1350.00	1350.00
0095	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	75.00	750.00	82.00	820.00	80.00	800.00
0096	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18	EA	95.00	1710.00	56.00	1008.00	315.00	5670.00
0097	6123000000-E	1670	REFORESTATION	0.1	ACR	5000.00	500.00	5300.00	530.00	5000.00	500.00
0098	7288000000-E	1715	PAVED TRENCH (***** (1, 2")	30	LF	32.00	960.00	35.00	1050.00	25.00	750.00
0099	7301000000-E	1715	DIRECT DRILL (***** (1, 2")	10	LF	40.00	400.00	44.00	440.00	25.00	250.00
0100	7324000000-N	1716	JUNCTION BOX (STANDARD SIZE)	1	EA	150.00	150.00	165.00	165.00	475.00	475.00
0101	7444000000-E	1725	INDUCTIVE LOOP SAWCUT	560	LF	5.25	2940.00	5.75	3220.00	5.45	3052.00
0102	7456000000-E	1726	LEAD-IN CABLE(***** (14-2)	380	LF	1.80	684.00	2.00	760.00	5.25	1995.00
0103	7636000000-N	1745	SIGN FOR SIGNALS	3	EA	290.00	870.00	320.00	960.00	360.00	1080.00
STRUCTURE ITEMS											
0104	8017000000-N	SP	CM&R TEMP ACCESS ***** (22+62.50-L-)	Lump Sum			685000.00		500000.00		375000.00
0105	8035000000-N	402	REMV EXIST STR ***** (22+62.50-L-)	Lump Sum			475000.00		500000.00		390000.00
0106	8105560000-E	411	4'-0" DRILLD PIER IN SOIL	220.67	LF	1007.00	222214.69	1050.00	231703.50	620.00	136815.40
0107	8105660000-E	411	4'-0" DRILLD PIER NO SOIL	121	LF	1007.00	121847.00	950.00	114950.00	1350.00	163350.00
0108	8111600000-E	411	PERM STL CASING FOR 4' PIER	79.8	LF	250.00	19950.00	250.00	19950.00	460.00	36708.00
0109	8113000000-N	411	SID INSPECTIONS	1	EA	300.00	300.00	550.00	550.00	950.00	950.00
0110	8114000000-N	411	SPT TESTING	1	EA	300.00	300.00	1650.00	1650.00	1100.00	1100.00
0111	8115000000-N	411	CSL TESTING	1	EA	1700.00	1700.00	2000.00	2000.00	2500.00	2500.00

FED AID NO BRSTP-70B(3)

GRADING, DRAINAGE, PAVING, SIGNALS AND STRUCTURE.

BRIDGE OVER NEUSE RIVER AND APPROACHES ON US-70 BUS.

		S. T. WOOTEN CORPORATION			CORMAN CONSTRUCTION, INC.			DELLINGER, INC.	
		WILSON, NC			ANNAPOLIS JUNCTION, MD			MONROE, NC	
0112	8121000000-N	412	UNCL STR EXCAV STA ***** (22+62.50-L-)	Lump Sum		44500.00		132000.00	85000.00
0113	8147000000-E	420	REINF CONCRETE DECK SLAB	29,750 SF	26.00	773500.00	31.00	922250.00	28.00 833000.00
0114	8161000000-E	420	GROOVING BRIDGE FLOORS	23,474 SF	0.35	8215.90	0.40	9389.60	1.00 23474.00
0115	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	262.5 CY	683.00	179287.50	725.00	190312.50	842.00 221025.00
0116	8210000000-N	422	BRG APPR SLAB ***** (22+62.50-L-)	Lump Sum		63100.00		64000.00	95000.00
0117	8217000000-E	425	REINF STEEL (BRIDGE)	64,144 LB	0.83	53239.52	1.30	83387.20	0.85 54522.40
0118	8238000000-E	425	SPIRAL COL REINF STL BRG	12,255 LB	1.50	18382.50	1.80	22059.00	1.40 17157.00
0119	8280000000-E	440	STRUCTURAL STEEL	Lump Sum		1530000.00		1600000.00	2800000.00
0120	8384000000-E	450	HP14X73 PILES	980 LF	56.25	55125.00	95.00	93100.00	50.00 49000.00
0121	8505000000-E	460	VERT CONC BARRIER RAIL	746.55 LF	52.50	39193.88	54.00	40313.70	52.00 38820.60
0122	8608000000-E	876	RIP RAP II (2'-0")	1,636 TON	47.00	76892.00	82.50	134970.00	44.00 71984.00
0123	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	1,820 SY	3.50	6370.00	4.00	7280.00	2.50 4550.00
0124	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		33000.00		41700.00	38000.00
0125	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum		126000.00		92500.00	135000.00
0126	8727000000-N	SP	ELEC CONDUIT SYS SIGNAL ***** (22+62.50-L-)	Lump Sum		16500.00		24400.00	16500.00
0127	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) ELECTRICAL CONDUIT SYSTEM FOR UNDERPASS LIGHTING AT STA 22+ 62.50-L-	Lump Sum		4600.00		8540.00	4600.00
0128	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) CLASSIC CONCRETE BRIDGE RAIL	746.55 LF	333.00	248601.15	250.00	186637.50	175.00 130646.25
CONTRACT TOTAL					TOTAL	6229582.04	TOTAL	6623272.00	TOTAL 6989330.83
ROADWAY ITEMS					SUB-TOTAL	1426762.90	SUB-TOTAL	1599629.00	SUB-TOTAL 1264628.18
STRUCTURE ITEMS					SUB-TOTAL	4802819.14	SUB-TOTAL	5023643.00	SUB-TOTAL 5724702.65
BIDDERS IN ORDER					CONTRACT TOTAL				
D. H. GRIFFIN CONSTRUCTION COMPANY, LLC				1		5287697.89			
PALMETTO INFRASTRUCTURE INC				2		5370838.71			
CAROLINA BRIDGE CO., INC.				3		6183335.31			
S. T. WOOTEN CORPORATION				4		6229582.04			
CORMAN CONSTRUCTION, INC.				5		6623272.00			
DELLINGER, INC.				6		6989330.83			

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

		SMITH-ROWE, LLC		UNITED CONTRACTORS, LLC		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
		MOUNT AIRY, NC		GREAT FALLS, SC		CHARLOTTE, NC		
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum	89500.00	94800.00	102500.00	
0002	0029000000-N	SP	REINF BRG APPR ***** (25+23.50)	Lump Sum	37000.00	15800.00	37000.00	
0003	0043000000-N	226	GRADING	Lump Sum	188000.00	115000.00	216800.00	
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1.00	1600.00	1600.00	
0005	0057000000-E	226	UNDERCUT EXCAVATION	2,400 CY	6.00	7.33	6.00	
0006	0195000000-E	265	SELECT GRANULAR MATERIAL	2,000 CY	6.00	12.33	6.00	
0007	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	1,000 SY	2.00	2.00	2.00	
0008	0199000000-E	SP	TEMPORARY SHORING	380 SF	51.20	175.00	60.00	
0009	0318000000-E	300	FND CONDIT MATL MINOR STRS	80 TON	26.00	80.00	26.00	
0010	0320000000-E	300	FND CONDIT GEOTEXTILE	250 SY	2.00	3.30	2.00	
0011	0366000000-E	310	15" RC PIPE CULV III	152 LF	30.00	36.00	30.00	
0012	0453000000-E	310	*** PIPE END SECTION (15")	1 EA	475.00	600.00	475.00	
0013	0582000000-E	310	15" CS PIPE CULV 0.064"	580 LF	38.00	36.10	38.00	
0014	0636000000-E	310	*** CS ELBOW ***** THICK (15", 0.064")	5 EA	100.00	605.00	100.00	
0015	0995000000-E	340	PIPE REMOVAL	430 LF	5.00	15.00	5.00	
0016	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	610 SY	14.00	18.20	6.25	
0017	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,120 TON	42.00	42.00	42.00	
0018	1498000000-E	610	ASP CONC INTR CRS I19.0B	780 TON	48.60	48.60	48.60	
0019	1519000000-E	610	ASP CONC SURF CRS S9.5B	1,120 TON	55.80	55.80	55.80	
0020	1575000000-E	620	ASP FOR PLANT MIX	155 TON	636.00	636.00	636.00	
0021	2022000000-E	815	SUBDRAIN EXCAVATION	134.4 CY	4.00	24.00	4.00	
0022	2033000000-E	815	SUBDRAIN FINE AGGREGATE	100.8 CY	14.00	67.25	14.00	
0023	2044000000-E	815	6" PERF SUBDRN PIPE	600 LF	2.00	7.00	2.00	
0024	2070000000-N	815	SUBDRN PIPE OUTLET	2 EA	200.00	300.00	200.00	
0025	2077000000-E	815	6" OUTLET PIPE	12 LF	2.00	30.00	2.00	
0026	2286000000-N	840	MASNRY DRAINAGE STRUCT	7 EA	1500.00	1173.00	1500.00	
0027	2364200000-N	840	FRAME W/2GRTS 840.20 STD	4 EA	300.00	546.00	300.00	
0028	2365000000-N	840	FRAME W/2GRTS 840.22 STD	2 EA	320.00	450.00	320.00	
0029	2407000000-N	840	STL FRAM W/ 2 GTR, STD 840.37	1 EA	920.00	1400.00	920.00	
0030	2556000000-E	846	SHOULDER BERM GUTTER	360 LF	28.00	15.20	40.00	
0031	2577000000-E	846	CONC EXPRESSWAY GUTTER	35 LF	50.00	202.00	100.00	
0032	3030000000-E	862	STL BM GUARDRAIL	550 LF	15.00	15.00	14.95	
0033	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	11.00	11.00	5.00	
0034	3270000000-N	SP	GR ANCHOR TYPE 350	1 EA	1800.00	1800.00	1795.00	
0035	3285000000-N	SP	GR ANCHOR TYPE M-350	4 EA	1500.00	1500.00	1525.00	
0036	3317000000-N	862	GR ANCHOR TYPE B-77	3 EA	1400.00	1400.00	1410.00	
0037	3319000000-N	862	GR ANCHOR TYPE B-83	2 EA	1400.00	1400.00	1400.00	
0038	3360000000-E	863	REMOVE EXISTING GUARDRAIL	450 LF	1.00	1.00	1.00	

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

				SMITH-ROWE, LLC	UNITED CONTRACTORS, LLC	LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.					
				MOUNT AIRY, NC	GREAT FALLS, SC	CHARLOTTE, NC					
0039	3380000000-E	862	TEMP STL BM GUARDRAIL	87.5	LF	4.00	350.00	4.00	350.00	9.00	787.50
0040	3389100000-N	SP	TEMP GDRL ANCH UNITS 350	1	EA	800.00	800.00	800.00	800.00	750.00	750.00
0041	3595000000-E	869	RELAPPING GUARDRAIL	25	LF	5.00	125.00	5.00	125.00	6.00	150.00
0042	3649000000-E	876	RIP RAP, CLASS B	3	TON	115.00	345.00	110.00	330.00	115.00	345.00
0043	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	572	SY	2.00	1144.00	2.80	1601.60	2.00	1144.00
0044	4400000000-E	1110	WORK ZONE SIGNS (STAT)	1,051	SF	3.95	4151.45	6.5024	6834.02	5.00	5255.00
0045	4405000000-E	1110	WORK ZONE SIGNS (PORT)	126	SF	15.00	1890.00	40.696	5127.70	10.00	1260.00
0046	4410000000-E	1110	WORK ZONE SIGNS (BARR)	200	SF	5.75	1150.00	25.85	5170.00	10.00	2000.00
0047	4415000000-N	1115	FLASHING ARROW BOARD	2	EA	2000.00	4000.00	4200.00	8400.00	2000.00	4000.00
0048	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	7500.00	15000.00	5200.00	10400.00	9000.00	18000.00
0049	4430000000-N	1130	DRUMS	300	EA	45.00	13500.00	60.3333	18099.99	50.00	15000.00
0050	4435000000-N	1135	CONES	40	EA	35.00	1400.00	29.00	1160.00	25.00	1000.00
0051	4445000000-E	1145	BARRICADES (TYPE III)	128	LF	17.50	2240.00	29.00	3712.00	35.00	4480.00
0052	4455000000-N	1150	FLAGGER	960	DAY	1.00	960.00	35.00	33600.00	50.00	48000.00
0053	4480000000-N	1165	TMA	4	EA	1.00	4.00	19000.00	76000.00	15000.00	60000.00
0054	4485000000-E	1170	PORT CONC BARRIER	1,740	LF	23.75	41325.00	29.4282	51205.07	25.00	43500.00
0055	4650000000-N	1251	TEMP RAISED PVMT MRKS	236	EA	6.50	1534.00	6.50	1534.00	12.00	2832.00
0056	4685000000-E	1205	THERMO PVT MKG LINES 4"90	13,515	LF	0.70	9460.50	0.70	9460.50	0.75	10136.25
0057	4686000000-E	1205	THERMO PVT MKG LINES 4"120	1,023	LF	0.75	767.25	0.75	767.25	0.85	869.55
0058	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	3,709	LF	1.30	4821.70	1.30	4821.70	2.00	7418.00
0059	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	585	LF	3.00	1755.00	3.00	1755.00	5.00	2925.00
0060	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (IV)	2,049	LF	1.60	3278.40	1.60	3278.40	3.00	6147.00
0061	4810000000-E	1205	PAINT PVMT MARKINGS 4"	2,808	LF	0.40	1123.20	0.40	1123.20	1.00	2808.00
0062	4820000000-E	1205	PAINT PVMT MARKINGS 8"	203	LF	2.00	406.00	2.00	406.00	3.00	609.00
0063	4850000000-E	1205	LINE REMOVAL 4" WIDE	12,415	LF	0.65	8069.75	0.65	8069.75	1.50	18622.50
0064	4860000000-E	1205	LINE REMOVAL 8" WIDE	750	LF	1.00	750.00	1.00	750.00	3.00	2250.00
0065	4900000000-N	1251	PERM RAISED PVMT MARKERS	211	EA	6.00	1266.00	6.00	1266.00	12.00	2532.00
0066	6000000000-E	1605	TEMPORARY SILT FENCE	2,055	LF	1.75	3596.25	2.00	4110.00	1.75	3596.25
0067	6006000000-E	1610	EROS CONTRL STONE CL A	460	TON	22.00	10120.00	38.50	17710.00	22.00	10120.00
0068	6009000000-E	1610	EROS CONTRL STONE CL B	235	TON	23.00	5405.00	38.50	9047.50	23.00	5405.00
0069	6012000000-E	1610	SEDIMENT CONTROL STONE	375	TON	21.00	7875.00	33.50	12562.50	21.00	7875.00
0070	6015000000-E	1615	TEMPORARY MULCHING	4.5	ACR	900.00	4050.00	400.00	1800.00	900.00	4050.00
0071	6018000000-E	1620	SEED FOR TEMP SEEDING	150	LB	2.00	300.00	6.00	900.00	2.00	300.00
0072	6021000000-E	1620	FERT FOR TEMP SEEDING	0.5	TON	875.00	437.50	800.00	400.00	875.00	437.50
0073	6024000000-E	1622	TEMPORARY SLOPE DRAINS	285	LF	9.00	2565.00	7.00	1995.00	9.00	2565.00
0074	6029000000-E	SP	SAFETY FENCE	100	LF	2.00	200.00	1.20	120.00	2.00	200.00
0075	6030000000-E	1630	SILT EXCAVATION	510	CY	2.00	1020.00	12.00	6120.00	2.00	1020.00
0076	6036000000-E	1631	MATTING FOR EROS CONTROL	4,000	SY	0.85	3400.00	1.20	4800.00	0.85	3400.00
0077	6042000000-E	1632	1/4" HARDWARE CLOTH	1,150	LF	1.75	2012.50	4.00	4600.00	1.75	2012.50

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

		SMITH-ROWE, LLC		UNITED CONTRACTORS, LLC		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.					
		MOUNT AIRY, NC		GREAT FALLS, SC		CHARLOTTE, NC					
0078	6071010000-E	SP	WATTLE	170	LF	4.00	680.00	7.00	1190.00	4.00	680.00
0079	6071020000-E	SP	POLYACRYLAMIDE (PAM)	85	LB	7.00	595.00	8.00	680.00	7.00	595.00
0080	6071030000-E	1640	COIR FIBER BAFFLE	85	LF	9.00	765.00	5.00	425.00	9.00	765.00
0081	6084000000-E	1660	SEEDING AND MULCHING	4.5	ACR	1600.00	7200.00	1700.00	7650.00	1600.00	7200.00
0082	6087000000-E	1660	MOWING	3	ACR	1.00	3.00	50.00	150.00	1.00	3.00
0083	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	2.00	100.00	8.00	400.00	2.00	100.00
0084	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	875.00	218.75	800.00	200.00	875.00	218.75
0085	6096000000-E	1662	SEED FOR SUPP SEEDING	100	LB	2.00	200.00	6.00	600.00	2.00	200.00
0086	6108000000-E	1665	FERTILIZER TOPDRESSING	2.75	TON	900.00	2475.00	800.00	2200.00	900.00	2475.00
0087	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	1.00	10.00	30.00	300.00	1.00	10.00
0088	6117000000-N	SP	RESPONSE FOR EROS CONTROL	25	EA	1.00	25.00	500.00	12500.00	1.00	25.00
0104	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum			20000.00		10000.00		10000.00
STRUCTURE ITEMS											
0089	8035000000-N	402	REMV EXIST STR ***** (25+23.50-L-)	Lump Sum			193640.00		75000.00		60000.00
0090	8112730000-N	450	PDA TESTING	1	EA	2550.00	2550.00	2500.00	2500.00	2500.00	2500.00
0091	8147000000-E	420	REINF CONCRETE DECK SLAB	5,253	SF	24.82	130379.46	30.00	157590.00	25.00	131325.00
0092	8161000000-E	420	GROOVING BRIDGE FLOORS	6,056	SF	0.75	4542.00	2.00	12112.00	0.50	3028.00
0093	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	144.2	CY	580.33	83683.59	650.00	93730.00	600.00	86520.00
0094	8210000000-N	422	BRG APPR SLAB ***** (25+23.50-L-)	Lump Sum			39150.00		55000.00		40000.00
0095	8217000000-E	425	REINF STEEL (BRIDGE)	17,230	LB	0.99	17057.70	0.90	15507.00	1.00	17230.00
0096	8280000000-E	440	STRUCTURAL STEEL	Lump Sum			247850.00		320000.00		462000.00
0097	8385000000-E	450	PP**X**** STL PILE (16 X 0.50)	700	LF	75.44	52808.00	90.00	63000.00	80.00	56000.00
0098	8392000000-N	450	PIPE PILE PLATES	14	EA	405.00	5670.00	175.00	2450.00	200.00	2800.00
0099	8393000000-N	450	PILE REDRIVES	14	EA	50.00	700.00	100.00	1400.00	200.00	2800.00
0100	8503000000-E	460	CONCRETE BARRIER RAIL	296.94	LF	62.96	18695.34	65.00	19301.10	40.00	11877.60
0101	8531000000-E	462	4" SLOPE PROTECTION	475	SY	55.00	26125.00	75.00	35625.00	70.00	33250.00
0102	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			5300.00		7500.00		5000.00
0103	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum			68700.00		75000.00		55000.00
CONTRACT TOTAL				TOTAL		1793164.14	TOTAL	1995066.68	TOTAL	2043402.20	
ROADWAY ITEMS				SUB-TOTAL		896313.05	SUB-TOTAL	1059351.58	SUB-TOTAL	1074071.60	
STRUCTURE ITEMS				SUB-TOTAL		896851.09	SUB-TOTAL	935715.10	SUB-TOTAL	969330.60	

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

PALMETTO INFRASTRUCTURE INC

GREENVILLE, SC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		100000.00
0002	0029000000-N	SP	REINF BRG APPR ***** (25+23.50)	Lump Sum		12000.00
0003	0043000000-N	226	GRADING	Lump Sum		120000.00
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1200.00	1200.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	2,400 CY	18.00	43200.00
0006	0195000000-E	265	SELECT GRANULAR MATERIAL	2,000 CY	16.00	32000.00
0007	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	1,000 SY	3.00	3000.00
0008	0199000000-E	SP	TEMPORARY SHORING	380 SF	48.00	18240.00
0009	0318000000-E	300	FND CONDIR MATL MINOR STRS	80 TON	24.00	1920.00
0010	0320000000-E	300	FND CONDIR GEOTEXTILE	250 SY	3.00	750.00
0011	0366000000-E	310	15" RC PIPE CULV III	152 LF	45.00	6840.00
0012	0453000000-E	310	*** PIPE END SECTION (15")	1 EA	250.00	250.00
0013	0582000000-E	310	15" CS PIPE CULV 0.064"	580 LF	34.00	19720.00
0014	0636000000-E	310	*** CS ELBOW ***** THICK (15", 0.064")	5 EA	200.00	1000.00
0015	0995000000-E	340	PIPE REMOVAL	430 LF	12.00	5160.00
0016	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	610 SY	6.25	3812.50
0017	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,120 TON	89.00	99680.00
0018	1498000000-E	610	ASP CONC INTR CRS I19.0B	780 TON	96.00	74880.00
0019	1519000000-E	610	ASP CONC SURF CRS S9.5B	1,120 TON	99.50	111440.00
0020	1575000000-E	620	ASP FOR PLANT MIX	155 TON	1.00	155.00
0021	2022000000-E	815	SUBDRAIN EXCAVATION	134.4 CY	26.00	3494.40
0022	2033000000-E	815	SUBDRAIN FINE AGGREGATE	100.8 CY	35.00	3528.00
0023	2044000000-E	815	6" PERF SUBDRN PIPE	600 LF	15.00	9000.00
0024	2070000000-N	815	SUBDRN PIPE OUTLET	2 EA	150.00	300.00
0025	2077000000-E	815	6" OUTLET PIPE	12 LF	26.00	312.00
0026	2286000000-N	840	MASNRY DRAINAGE STRUCT	7 EA	1200.00	8400.00
0027	2364200000-N	840	FRAME W/2GRTS 840.20 STD	4 EA	1000.00	4000.00
0028	2365000000-N	840	FRAME W/2GRTS 840.22 STD	2 EA	1000.00	2000.00
0029	2407000000-N	840	STL FRAM W/ 2 GTR, STD 840.37	1 EA	1000.00	1000.00
0030	2556000000-E	846	SHOULDER BERM GUTTER	360 LF	34.00	12240.00
0031	2577000000-E	846	CONC EXPRESSWAY GUTTER	35 LF	42.00	1470.00
0032	3030000000-E	862	STL BM GUARDRAIL	550 LF	15.00	8250.00
0033	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	11.00	55.00
0034	3270000000-N	SP	GR ANCHOR TYPE 350	1 EA	1800.00	1800.00
0035	3285000000-N	SP	GR ANCHOR TYPE M-350	4 EA	1500.00	6000.00
0036	3317000000-N	862	GR ANCHOR TYPE B-77	3 EA	1400.00	4200.00
0037	3319000000-N	862	GR ANCHOR TYPE B-83	2 EA	1400.00	2800.00
0038	3360000000-E	863	REMOVE EXISTING GUARDRAIL	450 LF	1.00	450.00

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

PALMETTO INFRASTRUCTURE INC

GREENVILLE, SC

0039	3380000000-E	862	TEMP STL BM GUARDRAIL	87.5	LF	4.00	350.00
0040	3389100000-N	SP	TEMP GDRL ANCH UNITS 350	1	EA	800.00	800.00
0041	3595000000-E	869	RELAPPING GUARDRAIL	25	LF	5.00	125.00
0042	3649000000-E	876	RIP RAP, CLASS B	3	TON	75.00	225.00
0043	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	572	SY	3.00	1716.00
0044	4400000000-E	1110	WORK ZONE SIGNS (STAT)	1,051	SF	3.98	4182.98
0045	4405000000-E	1110	WORK ZONE SIGNS (PORT)	126	SF	8.95	1127.70
0046	4410000000-E	1110	WORK ZONE SIGNS (BARR)	200	SF	5.85	1170.00
0047	4415000000-N	1115	FLASHING ARROW BOARD	2	EA	1850.00	3700.00
0048	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	2	EA	8995.00	17990.00
0049	4430000000-N	1130	DRUMS	300	EA	46.00	13800.00
0050	4435000000-N	1135	CONES	40	EA	16.00	640.00
0051	4445000000-E	1145	BARRICADES (TYPE III)	128	LF	17.00	2176.00
0052	4455000000-N	1150	FLAGGER	960	DAY	175.00	168000.00
0053	4480000000-N	1165	TMA	4	EA	13895.00	55580.00
0054	4485000000-E	1170	PORT CONC BARRIER	1,740	LF	23.75	41325.00
0055	4650000000-N	1251	TEMP RAISED PVMT MRKS	236	EA	6.50	1534.00
0056	4685000000-E	1205	THERMO PVT MKG LINES 4"90	13,515	LF	0.70	9460.50
0057	4686000000-E	1205	THERMO PVT MKG LINES 4"120	1,023	LF	0.75	767.25
0058	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	3,709	LF	1.30	4821.70
0059	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	585	LF	3.00	1755.00
0060	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (IV)	2,049	LF	1.60	3278.40
0061	4810000000-E	1205	PAINT PVMT MARKINGS 4"	2,808	LF	0.40	1123.20
0062	4820000000-E	1205	PAINT PVMT MARKINGS 8"	203	LF	2.00	406.00
0063	4850000000-E	1205	LINE REMOVAL 4" WIDE	12,415	LF	0.65	8069.75
0064	4860000000-E	1205	LINE REMOVAL 8" WIDE	750	LF	1.00	750.00
0065	4900000000-N	1251	PERM RAISED PVMT MARKERS	211	EA	6.00	1266.00
0066	6000000000-E	1605	TEMPORARY SILT FENCE	2,055	LF	2.50	5137.50
0067	6006000000-E	1610	EROS CONTRL STONE CL A	460	TON	45.00	20700.00
0068	6009000000-E	1610	EROS CONTRL STONE CL B	235	TON	48.00	11280.00
0069	6012000000-E	1610	SEDIMENT CONTROL STONE	375	TON	42.00	15750.00
0070	6015000000-E	1615	TEMPORARY MULCHING	4.5	ACR	800.00	3600.00
0071	6018000000-E	1620	SEED FOR TEMP SEEDING	150	LB	4.50	675.00
0072	6021000000-E	1620	FERT FOR TEMP SEEDING	0.5	TON	1000.00	500.00
0073	6024000000-E	1622	TEMPORARY SLOPE DRAINS	285	LF	16.00	4560.00
0074	6029000000-E	SP	SAFETY FENCE	100	LF	2.50	250.00
0075	6030000000-E	1630	SILT EXCAVATION	510	CY	16.00	8160.00
0076	6036000000-E	1631	MATTING FOR EROS CONTROL	4,000	SY	1.75	7000.00
0077	6042000000-E	1632	1/4" HARDWARE CLOTH	1,150	LF	12.00	13800.00

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

PALMETTO INFRASTRUCTURE INC

GREENVILLE, SC

0078	6071010000-E	SP	WATTLE	170	LF	15.00	2550.00
0079	6071020000-E	SP	POLYACRYLAMIDE (PAM)	85	LB	16.00	1360.00
0080	6071030000-E	1640	COIR FIBER BAFFLE	85	LF	8.00	680.00
0081	6084000000-E	1660	SEEDING AND MULCHING	4.5	ACR	1700.00	7650.00
0082	6087000000-E	1660	MOWING	3	ACR	150.00	450.00
0083	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	14.00	700.00
0084	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	1550.00	387.50
0085	6096000000-E	1662	SEED FOR SUPP SEEDING	100	LB	5.00	500.00
0086	6108000000-E	1665	FERTILIZER TOPDRESSING	2.75	TON	1600.00	4400.00
0087	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	50.00	500.00
0088	6117000000-N	SP	RESPONSE FOR EROS CONTROL	25	EA	500.00	12500.00
0104	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum			8000.00

STRUCTURE ITEMS

0089	8035000000-N	402	REMV EXIST STR ***** (25+23.50-L-)	Lump Sum			150000.00
0090	8112730000-N	450	PDA TESTING	1	EA	4500.00	4500.00
0091	8147000000-E	420	REINF CONCRETE DECK SLAB	5,253	SF	25.00	131325.00
0092	8161000000-E	420	GROOVING BRIDGE FLOORS	6,056	SF	0.75	4542.00
0093	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	144.2	CY	1000.00	144200.00
0094	8210000000-N	422	BRG APPR SLAB ***** (25+23.50-L-)	Lump Sum			35000.00
0095	8217000000-E	425	REINF STEEL (BRIDGE)	17,230	LB	1.50	25845.00
0096	8280000000-E	440	STRUCTURAL STEEL	Lump Sum			300000.00
0097	8385000000-E	450	PP**X**** STL PILE (16 X 0.50)	700	LF	95.00	66500.00
0098	8392000000-N	450	PIPE PILE PLATES	14	EA	250.00	3500.00
0099	8393000000-N	450	PILE REDRIVES	14	EA	150.00	2100.00
0100	8503000000-E	460	CONCRETE BARRIER RAIL	296.94	LF	65.00	19301.10
0101	8531000000-E	462	4" SLOPE PROTECTION	475	SY	65.00	30875.00
0102	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			10000.00
0103	8706000000-N	SP	EXPANSION JOINT SEALS	Lump Sum			60000.00

CONTRACT TOTAL TOTAL 2189464.48

ROADWAY ITEMS SUB-TOTAL 1201776.38

STRUCTURE ITEMS SUB-TOTAL 987688.10

BIDDERS IN ORDER

CONTRACT TOTAL

SMITH-ROWE, LLC	1	1793164.14
UNITED CONTRACTORS, LLC	2	1995066.68

APR 03, 2012 02:36 PM

TIP NO B-4640

SCOTLAND

38450.3.1

2:00 PM 7 / 7 012

FEB 21 2012 C202780
0.227 MI

FED AID NO BRNHS-15(19)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGES OVER US-74 BUS AND NC-79 AND APPROACHES ON US-15/501/401.

LEE CONSTRUCTION COMPANY OF THE CAROLINAS,
INC.
PALMETTO INFRASTRUCTURE INC

3

2043402.20

4

2189464.48

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

		BLYTHE DEVELOPMENT CO.		BLYTHE CONSTRUCTION, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
		CHARLOTTE, NC		CHARLOTTE, NC		CHARLOTTE, NC		
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum	225000.00	240000.00	251000.00	
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum	23000.00	15000.00	10000.00	
0003	0029000000-N	SP	REINF BRG APPR ***** (18+10.00)	Lump Sum	15000.00	32000.00	45000.00	
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	5.00	100.00	750.00	
0005	0057000000-E	226	UNDERCUT EXCAVATION	1,000 CY	6.00	15000.00	850.00	
0006	0063000000-N	SP	GRADING	Lump Sum	300000.00	259000.00	277050.00	
0007	0106000000-E	230	BORROW EXCAVATION	29,200 CY	9.00	262800.00	255500.00	
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	2,600 SY	1.25	6500.00	5200.00	
0009	0199000000-E	SP	TEMPORARY SHORING	3,050 SF	35.37	107878.50	183000.00	
0010	0223000000-E	275	ROCK PLATING	500 SY	30.00	25000.00	22500.00	
0011	0318000000-E	300	FND CONDIT MATL MINOR STRS	244 TON	23.50	8540.00	6832.00	
0012	0320000000-E	300	FND CONDIT GEOTEXTILE	1,041 SY	1.25	3123.00	2082.00	
0013	0335200000-E	305	15" DRAINAGE PIPE	264 LF	28.75	12144.00	5280.00	
0014	0335600000-E	305	36" DRAINAGE PIPE	228 LF	43.00	18240.00	11172.00	
0015	0335850000-E	305	*** DRAINAGE PIPE ELBOW (15")	4 EA	200.00	1400.00	1300.00	
0016	0448200000-E	310	15" RCP CULV CLASS IV	832 LF	35.00	29120.00	17888.00	
0017	0995000000-E	340	PIPE REMOVAL	248 LF	12.00	3720.00	1612.00	
0018	1099500000-E	505	SHALLOW UNDERCUT	850 CY	3.50	11050.00	5737.50	
0019	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	1,700 TON	24.00	40800.00	37400.00	
0020	1121000000-E	520	AGGREGATE BASE COURSE	240 TON	32.00	7680.00	6780.00	
0021	1220000000-E	545	INCIDENTAL STONE BASE	750 TON	25.00	18000.00	14250.00	
0022	1275000000-E	600	PRIME COAT	91 GAL	6.00	273.00	773.50	
0023	1330000000-E	607	INCIDENTAL MILLING	390 SY	8.00	5460.00	3802.50	
0024	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,680 TON	48.00	83160.00	72828.00	
0025	1498000000-E	610	ASP CONC INTR CRS I19.0B	1,310 TON	48.00	64845.00	56919.50	
0026	1519000000-E	610	ASP CONC SURF CRS S9.5B	1,480 TON	43.00	66600.00	62678.00	
0027	1575000000-E	620	ASP FOR PLANT MIX	230 TON	645.00	152030.00	146050.00	
0028	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	467 TON	95.00	70050.00	28020.00	
0029	2022000000-E	815	SUBDRAIN EXCAVATION	56 CY	17.50	672.00	1036.00	
0030	2033000000-E	815	SUBDRAIN FINE AGGREGATE	42 CY	32.50	2520.00	2730.00	
0031	2044000000-E	815	6" PERF SUBDRN PIPE	250 LF	5.50	1750.00	2500.00	
0032	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	175.00	200.00	250.00	
0033	2077000000-E	815	6" OUTLET PIPE	6 LF	3.00	180.00	180.00	
0034	2286000000-N	840	MASNRY DRAINAGE STRUCT	17 EA	1250.00	17000.00	22525.00	
0035	2308000000-E	840	MASNRY DRAINAGE STRUCT	15 LF	200.00	3000.00	3075.00	
0036	2352000000-N	840	FRAME W/GRATE 840.***** STD (840.16)	1 EA	480.00	520.00	400.00	
0037	2366000000-N	840	FRAME W/2GRTS 840.24 STD	3 EA	480.00	1590.00	1224.00	
0038	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	3 EA	478.00	1740.00	1380.00	

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

				BLYTHE DEVELOPMENT CO.		BLYTHE CONSTRUCTION, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
				CHARLOTTE, NC		CHARLOTTE, NC		CHARLOTTE, NC		
0039	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	3 EA	478.00	1434.00	600.00	1800.00	460.00	1380.00
0040	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	5 EA	478.00	2390.00	600.00	3000.00	460.00	2300.00
0041	2396000000-N	840	FRAME W/COVER STD 840.54	2 EA	300.00	600.00	420.00	840.00	285.00	570.00
0042	2535000000-E	846	***X*** CONCRETE CURB (9" X 18")	190 LF	18.50	3515.00	11.15	2118.50	11.15	2118.50
0043	2549000000-E	846	2'-6" CONC CURB & GUTTER	3,270 LF	14.25	46597.50	13.12	42902.40	13.12	42902.40
0044	2591000000-E	848	4" CONCRETE SIDEWALK	1,510 SY	27.50	41525.00	21.70	32767.00	21.70	32767.00
0045	2605000000-N	848	CONCRETE CURB RAMP	19 EA	835.00	15865.00	792.00	15048.00	792.00	15048.00
0046	2612000000-E	848	6" CONCRETE DRIVEWAY	120 SY	49.00	5880.00	38.62	4634.40	38.62	4634.40
0047	2619000000-E	850	4" CONCRETE PAVED DITCH	35 SY	44.00	1540.00	47.71	1669.85	47.71	1669.85
0048	2830000000-N	858	ADJ MANHOLES	3 EA	450.00	1350.00	350.00	1050.00	450.00	1350.00
0049	3030000000-E	862	STL BM GUARDRAIL	775 LF	14.00	10850.00	14.00	10850.00	14.95	11586.25
0050	3045000000-E	862	SBGR SHOP CURVED	50 LF	15.00	750.00	15.00	750.00	16.50	825.00
0051	3105000000-N	862	SBGR TERM SECT	6 EA	100.00	600.00	100.00	600.00	75.00	450.00
0052	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	13.00	65.00	13.00	65.00	5.00	25.00
0053	3195000000-N	862	GR ANCHOR TYPE AT-1	1 EA	450.00	450.00	450.00	450.00	425.00	425.00
0054	3210000000-N	862	GR ANCHOR TYPE CAT-1	1 EA	450.00	450.00	450.00	450.00	500.00	500.00
0055	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1200.00	4800.00	1200.00	4800.00	1250.00	5000.00
0056	3270000000-N	SP	GR ANCHOR TYPE 350	4 EA	1800.00	7200.00	1800.00	7200.00	1800.00	7200.00
0057	3360000000-E	863	REMOVE EXISTING GUARDRAIL	1,110 LF	1.00	1110.00	1.00	1110.00	1.00	1110.00
0058	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	95 LF	20.00	1900.00	30.00	2850.00	100.00	9500.00
0059	3628000000-E	876	RIP RAP, CLASS I	26 TON	45.00	1170.00	50.00	1300.00	36.00	936.00
0060	3649000000-E	876	RIP RAP, CLASS B	39 TON	44.50	1735.50	50.00	1950.00	36.00	1404.00
0061	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	880 SY	2.00	1760.00	2.50	2200.00	2.00	1760.00
0062	4400000000-E	1110	WORK ZONE SIGNS (STAT)	214 SF	5.15	1102.10	3.95	845.30	10.00	2140.00
0063	4405000000-E	1110	WORK ZONE SIGNS (PORT)	128 SF	8.85	1132.80	7.80	998.40	10.00	1280.00
0064	4410000000-E	1110	WORK ZONE SIGNS (BARR)	60 SF	6.05	363.00	5.75	345.00	10.00	600.00
0065	4430000000-N	1130	DRUMS	90 EA	46.00	4140.00	41.50	3735.00	100.00	9000.00
0066	4445000000-E	1145	BARRICADES (TYPE III)	64 LF	18.50	1184.00	25.00	1600.00	35.00	2240.00
0067	4450000000-N	1150	FLAGGER	1,000 HR	20.00	20000.00	20.00	20000.00	25.00	25000.00
0068	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	2 EA	6500.00	13000.00	5995.00	11990.00	5000.00	10000.00
0069	4470000000-N	1160	RESET CRASH CUSHION	2 EA	2000.00	4000.00	1800.00	3600.00	1500.00	3000.00
0070	4485000000-E	1170	PORT CONC BARRIER	229 LF	29.90	6847.10	20.00	4580.00	30.00	6870.00
0071	4490000000-E	1170	PORT CONC BARRIER(ANCHRD)	600 LF	39.90	23940.00	37.00	22200.00	40.00	24000.00
0072	4590000000-E	SP	GENERIC TRAFFIC CONTROL ITEM (LF) TRAFFIC CONTROL SAFETY FENCE	313 LF	10.00	3130.00	11.25	3521.25	5.00	1565.00
0073	4650000000-N	1251	TEMP RAISED PVMT MRKS	80 EA	10.00	800.00	10.00	800.00	10.00	800.00
0074	4810000000-E	1205	PAINT PVMT MARKINGS 4"	8,327 LF	0.35	2914.45	0.35	2914.45	0.35	2914.45
0075	4835000000-E	1205	PAINT PVT MKG LINES 24"	40 LF	3.00	120.00	3.00	120.00	3.00	120.00
0076	4850000000-E	1205	LINE REMOVAL 4" WIDE	2,562 LF	1.00	2562.00	1.00	2562.00	1.00	2562.00

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

				BLYTHE DEVELOPMENT CO.	BLYTHE CONSTRUCTION, INC.	LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.			
				CHARLOTTE, NC	CHARLOTTE, NC	CHARLOTTE, NC			
0077	5325600000-E	1510 6" WATER LINE	1,158 LF	33.43	38711.94	70.00	81060.00	47.00	54426.00
0078	5540000000-E	1515 6" VALVE	4 EA	885.78	3543.12	1000.00	4000.00	950.00	3800.00
0079	5648000000-N	1515 RELOCATE WATER METER	12 EA	745.61	8947.32	500.00	6000.00	975.00	11700.00
0080	5666000000-E	1515 FIRE HYDRANT	2 EA	4388.14	8776.28	3500.00	7000.00	2265.00	4530.00
0081	5691300000-E	1520 8" SANITARY GRAVITY SEWER	783 LF	36.37	28477.71	192.00	150336.00	40.25	31515.75
0082	5768000000-N	1520 SANITARY SEWER CLEAN-OUT	12 EA	314.23	3770.76	500.00	6000.00	800.00	9600.00
0083	5775000000-E	1525 4' DIA UTILITY MANHOLE	5 EA	1431.54	7157.70	1500.00	7500.00	1930.00	9650.00
0084	5781000000-E	1525 UTILITY MANHOLE WALL, 4' DIA	10.4 LF	143.59	1493.34	200.00	2080.00	130.00	1352.00
0085	5801000000-E	1530 ABANDON 8" UTILITY PIPE	619 LF	11.64	7205.16	8.00	4952.00	6.00	3714.00
0086	5816000000-N	1530 ABANDON UTILITY MANHOLE	3 EA	254.71	764.13	500.00	1500.00	380.00	1140.00
0087	5835000000-E	1540 *** ENCASEMENT PIPE (12-3/4")	321 LF	25.22	8095.62	35.00	11235.00	49.00	15729.00
0088	5835700000-E	1540 16" ENCASEMENT PIPE	122 LF	32.28	3938.16	45.00	5490.00	55.00	6710.00
0089	5871000000-E	1550 *** TRENCHLESS INSTALL (IN SOIL) (12-3/4")	135 LF	189.67	25605.45	180.00	24300.00	215.00	29025.00
0090	5871010000-E	1550 *** TRENCHLESS INSTALL (NOT IN SOIL) (12-3/4")	135 LF	630.54	85122.90	505.00	68175.00	690.00	93150.00
0091	5871900000-E	1550 16" TRENCHLESS INSTALL (IN SOIL)	61 LF	216.90	13230.90	205.00	12505.00	245.00	14945.00
0092	5871910000-E	1550 16" TRENCHLESS INSTALL (NOT IN SOIL)	61 LF	655.76	40001.36	555.00	33855.00	720.00	43920.00
0093	5888000000-E	SP GENERIC UTILITY ITEM (LF) REBED 42" SEWER PIPE	30 LF	849.49	25484.70	400.00	12000.00	250.00	7500.00
0094	6000000000-E	1605 TEMPORARY SILT FENCE	5,300 LF	1.60	8480.00	1.54	8162.00	2.00	10600.00
0095	6006000000-E	1610 EROS CONTRL STONE CL A	360 TON	33.00	11880.00	40.00	14400.00	35.00	12600.00
0096	6009000000-E	1610 EROS CONTRL STONE CL B	300 TON	35.00	10500.00	40.00	12000.00	35.00	10500.00
0097	6012000000-E	1610 SEDIMENT CONTROL STONE	510 TON	28.00	14280.00	35.00	17850.00	35.00	17850.00
0098	6015000000-E	1615 TEMPORARY MULCHING	4 ACR	600.00	2400.00	598.00	2392.00	460.00	1840.00
0099	6018000000-E	1620 SEED FOR TEMP SEEDING	150 LB	3.50	525.00	2.35	352.50	0.75	112.50
0100	6021000000-E	1620 FERT FOR TEMP SEEDING	1.5 TON	850.00	1275.00	875.00	1312.50	1000.00	1500.00
0101	6024000000-E	1622 TEMPORARY SLOPE DRAINS	600 LF	7.00	4200.00	18.00	10800.00	8.00	4800.00
0102	6029000000-E	SP SAFETY FENCE	100 LF	1.25	125.00	1.39	139.00	2.00	200.00
0103	6030000000-E	1630 SILT EXCAVATION	650 CY	12.00	7800.00	12.00	7800.00	10.00	6500.00
0104	6036000000-E	1631 MATTING FOR EROS CONTROL	7,500 SY	1.10	8250.00	1.48	11100.00	2.00	15000.00
0105	6037000000-E	SP COIR FIBER MAT	10 SY	10.00	100.00	5.75	57.50	10.00	100.00
0106	6042000000-E	1632 1/4" HARDWARE CLOTH	1,550 LF	6.50	10075.00	3.74	5797.00	10.00	15500.00
0107	6071010000-E	SP WATTLE	100 LF	10.00	1000.00	8.00	800.00	10.00	1000.00
0108	6071020000-E	SP POLYACRYLAMIDE (PAM)	40 LB	30.00	1200.00	12.00	480.00	10.00	400.00
0109	6071030000-E	1640 COIR FIBER BAFFLE	150 LF	7.50	1125.00	6.65	997.50	10.00	1500.00
0110	6071050000-E	SP *** SKIMMER (1-1/2")	1 EA	1500.00	1500.00	800.00	800.00	975.00	975.00
0111	6084000000-E	1660 SEEDING AND MULCHING	4 ACR	1800.00	7200.00	1350.00	5400.00	1600.00	6400.00
0112	6087000000-E	1660 MOWING	4 ACR	100.00	400.00	55.00	220.00	35.00	140.00
0113	6090000000-E	1661 SEED FOR REPAIR SEEDING	50 LB	9.00	450.00	3.69	184.50	2.25	112.50
0114	6093000000-E	1661 FERT FOR REPAIR SEEDING	0.25 TON	1000.00	250.00	925.00	231.25	1100.00	275.00

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

			BLYTHE DEVELOPMENT CO.		BLYTHE CONSTRUCTION, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
			CHARLOTTE, NC		CHARLOTTE, NC		CHARLOTTE, NC		
0115	6096000000-E	1662 SEED FOR SUPP SEEDING	150 LB	3.00	450.00	3.14	471.00	1.60	240.00
0116	6108000000-E	1665 FERTILIZER TOPDRESSING	4 TON	900.00	3600.00	900.00	3600.00	1100.00	4400.00
0117	6114500000-N	1667 SPECIALIZED HAND MOWING	25 MHR	40.00	1000.00	22.00	550.00	30.00	750.00
0118	6117000000-N	SP RESPONSE FOR EROS CONTROL	16 EA	200.00	3200.00	220.00	3520.00	10.00	160.00
0119	6890000000-E	SP CONCRETE STEPS	5 CY	850.00	4250.00	800.00	4000.00	1350.00	6750.00
0120	6895000000-E	SP HANDRAIL ON STEPS	31 LF	90.00	2790.00	65.00	2015.00	45.00	1395.00
0121	7000000000-E	1705 PEDEST SIG HEAD (***** (16", 1 SECTION WITH COUNT- DOWN)	8 EA	800.00	6400.00	800.00	6400.00	725.00	5800.00
0122	7060000000-E	1705 SIGNAL CABLE	1,870 LF	1.75	3272.50	1.75	3272.50	2.40	4488.00
0123	7120000000-E	1705 VEHICLE SIGNAL HD (12", 3 SECT)	16 EA	715.00	11440.00	715.00	11440.00	800.00	12800.00
0124	7264000000-E	1710 MESSENGER CABLE (3/8")	320 LF	2.35	752.00	2.35	752.00	2.00	640.00
0125	7300000000-E	1715 UNPAVED TRENCH (***** (1, 2")	320 LF	5.05	1616.00	5.05	1616.00	6.00	1920.00
0126	7301000000-E	1715 DIRECT DRILL (***** (4, 2")	160 LF	28.60	4576.00	28.60	4576.00	10.00	1600.00
0127	7324000000-N	1716 JUNCTION BOX (STANDARD SIZE)	6 EA	235.00	1410.00	235.00	1410.00	300.00	1800.00
0128	7348000000-N	1716 JUNCTION BOX (OVER-SIZED, HVY-DUTY)	6 EA	395.00	2370.00	395.00	2370.00	500.00	3000.00
0129	7360000000-N	1720 WOOD POLE	4 EA	875.00	3500.00	875.00	3500.00	800.00	3200.00
0130	7372000000-N	1721 GUY ASSEMBLY	4 EA	445.00	1780.00	445.00	1780.00	120.00	480.00
0131	7408000000-E	1722 1" RISER WITH WEATHERHEAD	1 EA	260.00	260.00	260.00	260.00	150.00	150.00
0132	7420000000-E	1722 2" RISER WITH WEATHERHEAD	4 EA	420.00	1680.00	420.00	1680.00	180.00	720.00
0133	7444000000-E	1725 INDUCTIVE LOOP SAWCUT	1,100 LF	5.55	6105.00	5.55	6105.00	5.75	6325.00
0134	7456000000-E	1726 LEAD-IN CABLE(***** (14-2)	2,150 LF	1.25	2687.50	1.25	2687.50	1.80	3870.00
0135	7588000000-N	SP SGNL MAST ARM WITH METAL POLE	4 EA	9610.00	38440.00	9610.00	38440.00	7200.00	28800.00
0136	7613000000-N	SP SOIL TEST	4 EA	1015.00	4060.00	1015.00	4060.00	800.00	3200.00
0137	7614100000-E	SP DRILLED PIER FOUND	20 CY	885.00	17700.00	885.00	17700.00	775.00	15500.00
0138	7631000000-N	SP MAST ARM W/ MTL POLE DES	4 EA	97.00	388.00	97.00	388.00	500.00	2000.00
0139	7684000000-N	1750 SIGNAL CABINET FOUNDATION	1 EA	3010.00	3010.00	3010.00	3010.00	1000.00	1000.00
0140	7756000000-N	1751 CONTLR WITH CBNT, 2070L BASE MTD	1 EA	11190.00	11190.00	11190.00	11190.00	12500.00	12500.00
0141	7780000000-N	1751 DETECTOR CARD (TYPE 2070L)	7 EA	130.00	910.00	130.00	910.00	110.00	770.00
0142	7901000000-N	1753 CABINET BASE EXTENDER	1 EA	292.00	292.00	292.00	292.00	300.00	300.00
0143	7980000000-N	SP GENERIC SIGNAL ITEM (EA) DECORATIVE BASE COVER FOR METAL POLE ASSEMBLY	4 EA	2165.00	8660.00	2165.00	8660.00	400.00	1600.00
0144	7980000000-N	SP GENERIC SIGNAL ITEM (EA) POWDER COAT FOR SINGLE MAST ARM WITH METAL POLE	4 EA	1595.00	6380.00	1595.00	6380.00	1200.00	4800.00
WALL ITEMS									
0145	8801000000-E	SP MSE RETAIN WALLS	1,406 SF	65.00	91390.00	60.00	84360.00	63.70	89562.20
STRUCTURE ITEMS									
0146	8035000000-N	402 REMV EXIST STR ***** (17+97.08-L-)	Lump Sum		95000.00		260000.00		100000.00

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

				BLYTHE DEVELOPMENT CO.	BLYTHE CONSTRUCTION, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.	
				CHARLOTTE, NC	CHARLOTTE, NC		CHARLOTTE, NC	
0147	8091000000-N	410	FND EXCAV B** STA ***** (1, 17+97.08-L-)	Lump Sum	9500.00		15000.00	5000.00
0148	8091000000-N	410	FND EXCAV B** STA ***** (2, 17+97.08-L-)	Lump Sum	9500.00		15000.00	5000.00
0149	8147000000-E	420	REINF CONCRETE DECK SLAB	14,222 SF	27.00 383994.00	30.00	426660.00	30.00 426660.00
0150	8161000000-E	420	GROOVING BRIDGE FLOORS	11,742 SF	1.07 12563.94	0.45	5283.90	0.50 5871.00
0151	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	224.9 CY	874.05 196573.85	650.00	146185.00	600.00 134940.00
0152	8210000000-N	422	BRG APPR SLAB ***** (17+97.08-L-)	Lump Sum	30000.00		67000.00	60000.00
0153	8217000000-E	425	REINF STEEL (BRIDGE)	36,910 LB	1.00 36910.00	1.00	36910.00	1.00 36910.00
0154	8238000000-E	425	SPIRAL COL REINF STL BRG	3,125 LB	1.50 4687.50	1.50	4687.50	2.00 6250.00
0155	8280000000-E	440	STRUCTURAL STEEL	Lump Sum	1006052.00		982000.00	1246000.00
0156	8364000000-E	450	HP12X53 PILES	1,910 LF	48.00 91680.00	45.00	85950.00	65.00 124150.00
0157	8531000000-E	462	4" SLOPE PROTECTION	1,250 SY	60.00 75000.00	45.00	56250.00	50.00 62500.00
0158	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum	5000.00		15000.00	5000.00
0159	8727000000-N	SP	ELEC CONDUIT SYS SIGNAL ***** (17+97.08-L-)	Lump Sum	33000.00		30125.00	125000.00
0160	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) ELECTRICAL CONDUIT SYSTEM	Lump Sum	16375.00		16375.00	25000.00
0161	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) CLASSIC CONCRETE BRIDGE RAIL	520 LF	130.00 67600.00	200.00	104000.00	350.00 182000.00
CONTRACT TOTAL					TOTAL 4481631.04	TOTAL 4820358.70	TOTAL 5033870.80	
ROADWAY ITEMS					SUB-TOTAL 2316804.75	SUB-TOTAL 2469572.30	SUB-TOTAL 2394027.60	
WALL ITEMS					SUB-TOTAL 91390.00	SUB-TOTAL 84360.00	SUB-TOTAL 89562.20	
STRUCTURE ITEMS					SUB-TOTAL 2073436.29	SUB-TOTAL 2266426.40	SUB-TOTAL 2550281.00	

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

DANE CONSTRUCTION, INC. REA CONTRACTING A DIVISION OF
THE LANE CONSTRUCTION
CORPORAT
CHESHIRE, CT
MOORESVILLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		255375.00		240000.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		17000.00		14680.00
0003	0029000000-N	SP	REINF BRG APPR ***** (18+10.00)	Lump Sum		52000.00		52892.80
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	100.00	100.00	1.01	1.01
0005	0057000000-E	226	UNDERCUT EXCAVATION	1,000 CY	5.25	5250.00	6.06	6060.00
0006	0063000000-N	SP	GRADING	Lump Sum		325000.00		300000.00
0007	0106000000-E	230	BORROW EXCAVATION	29,200 CY	8.65	252580.00	8.59	250828.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	2,600 SY	1.00	2600.00	2.02	5252.00
0009	0199000000-E	SP	TEMPORARY SHORING	3,050 SF	45.00	137250.00	66.80	203740.00
0010	0223000000-E	275	ROCK PLATING	500 SY	29.75	14875.00	32.83	16415.00
0011	0318000000-E	300	FND CONDIT MATL MINOR STRS	244 TON	22.00	5368.00	15.15	3696.60
0012	0320000000-E	300	FND CONDIT GEOTEXTILE	1,041 SY	1.50	1561.50	1.01	1051.41
0013	0335200000-E	305	15" DRAINAGE PIPE	264 LF	26.75	7062.00	25.25	6666.00
0014	0335600000-E	305	36" DRAINAGE PIPE	228 LF	41.50	9462.00	40.40	9211.20
0015	0335850000-E	305	*** DRAINAGE PIPE ELBOW (15")	4 EA	155.00	620.00	151.52	606.08
0016	0448200000-E	310	15" RCP CULV CLASS IV	832 LF	31.00	25792.00	31.31	26049.92
0017	0995000000-E	340	PIPE REMOVAL	248 LF	10.00	2480.00	5.05	1252.40
0018	1099500000-E	505	SHALLOW UNDERCUT	850 CY	3.55	3017.50	2.53	2150.50
0019	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	1,700 TON	25.00	42500.00	22.22	37774.00
0020	1121000000-E	520	AGGREGATE BASE COURSE	240 TON	30.00	7200.00	27.00	6480.00
0021	1220000000-E	545	INCIDENTAL STONE BASE	750 TON	22.00	16500.00	22.22	16665.00
0022	1275000000-E	600	PRIME COAT	91 GAL	10.00	910.00	10.00	910.00
0023	1330000000-E	607	INCIDENTAL MILLING	390 SY	14.73	5744.70	14.70	5733.00
0024	1489000000-E	610	ASP CONC BASE CRS B25.0B	1,680 TON	43.35	72828.00	48.00	80640.00
0025	1498000000-E	610	ASP CONC INTR CRS I19.0B	1,310 TON	43.45	56919.50	48.00	62880.00
0026	1519000000-E	610	ASP CONC SURF CRS S9.5B	1,480 TON	42.35	62678.00	43.00	63640.00
0027	1575000000-E	620	ASP FOR PLANT MIX	230 TON	635.00	146050.00	700.00	161000.00
0028	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	467 TON	90.00	42030.00	165.00	77055.00
0029	2022000000-E	815	SUBDRAIN EXCAVATION	56 CY	15.00	840.00	25.25	1414.00
0030	2033000000-E	815	SUBDRAIN FINE AGGREGATE	42 CY	35.00	1470.00	55.56	2333.52
0031	2044000000-E	815	6" PERF SUBDRN PIPE	250 LF	5.50	1375.00	6.57	1642.50
0032	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	250.00	250.00	126.26	126.26
0033	2077000000-E	815	6" OUTLET PIPE	6 LF	6.00	36.00	5.05	30.30
0034	2286000000-N	840	MASNRY DRAINAGE STRUCT	17 EA	1100.00	18700.00	1060.61	18030.37
0035	2308000000-E	840	MASNRY DRAINAGE STRUCT	15 LF	185.00	2775.00	202.02	3030.30
0036	2352000000-N	840	FRAME W/GRATE 840.***** STD (840.16)	1 EA	445.00	445.00	454.55	454.55
0037	2366000000-N	840	FRAME W/2GRTS 840.24 STD	3 EA	445.00	1335.00	404.04	1212.12
0038	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	3 EA	445.00	1335.00	454.55	1363.65

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

DANE CONSTRUCTION, INC. REA CONTRACTING A DIVISION OF
THE LANE CONSTRUCTION
CORPORAT
CHESHIRE, CT
MOORESVILLE, NC

0039	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	3 EA	445.00	1335.00	454.55	1363.65
0040	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	5 EA	445.00	2225.00	454.55	2272.75
0041	2396000000-N	840	FRAME W/COVER STD 840.54	2 EA	250.00	500.00	303.03	606.06
0042	2535000000-E	846	***X*** CONCRETE CURB (9" X 18")	190 LF	18.50	3515.00	20.51	3896.90
0043	2549000000-E	846	2'-6" CONC CURB & GUTTER	3,270 LF	14.25	46597.50	12.31	40253.70
0044	2591000000-E	848	4" CONCRETE SIDEWALK	1,510 SY	27.50	41525.00	30.77	46462.70
0045	2605000000-N	848	CONCRETE CURB RAMP	19 EA	1036.71	19697.49	256.41	4871.79
0046	2612000000-E	848	6" CONCRETE DRIVEWAY	120 SY	49.00	5880.00	51.28	6153.60
0047	2619000000-E	850	4" CONCRETE PAVED DITCH	35 SY	44.00	1540.00	97.44	3410.40
0048	2830000000-N	858	ADJ MANHOLES	3 EA	500.00	1500.00	505.05	1515.15
0049	3030000000-E	862	STL BM GUARDRAIL	775 LF	14.00	10850.00	14.14	10958.50
0050	3045000000-E	862	SBGR SHOP CURVED	50 LF	15.00	750.00	15.15	757.50
0051	3105000000-N	862	SBGR TERM SECT	6 EA	100.00	600.00	101.01	606.06
0052	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	13.00	65.00	13.13	65.65
0053	3195000000-N	862	GR ANCHOR TYPE AT-1	1 EA	450.00	450.00	454.55	454.55
0054	3210000000-N	862	GR ANCHOR TYPE CAT-1	1 EA	450.00	450.00	454.55	454.55
0055	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1200.00	4800.00	1212.12	4848.48
0056	3270000000-N	SP	GR ANCHOR TYPE 350	4 EA	1800.00	7200.00	1818.18	7272.72
0057	3360000000-E	863	REMOVE EXISTING GUARDRAIL	1,110 LF	1.00	1110.00	1.01	1121.10
0058	3575000000-E	SP	GENERIC FENCING ITEM (LF) PEDESTRIAN SAFETY RAIL	95 LF	165.00	15675.00	15.00	1425.00
0059	3628000000-E	876	RIP RAP, CLASS I	26 TON	42.50	1105.00	45.45	1181.70
0060	3649000000-E	876	RIP RAP, CLASS B	39 TON	40.50	1579.50	45.45	1772.55
0061	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	880 SY	2.00	1760.00	1.52	1337.60
0062	4400000000-E	1110	WORK ZONE SIGNS (STAT)	214 SF	8.00	1712.00	4.07	870.98
0063	4405000000-E	1110	WORK ZONE SIGNS (PORT)	128 SF	9.00	1152.00	8.04	1029.12
0064	4410000000-E	1110	WORK ZONE SIGNS (BARR)	60 SF	8.00	480.00	5.93	355.80
0065	4430000000-N	1130	DRUMS	90 EA	50.00	4500.00	42.78	3850.20
0066	4445000000-E	1145	BARRICADES (TYPE III)	64 LF	18.50	1184.00	25.77	1649.28
0067	4450000000-N	1150	FLAGGER	1,000 HR	13.50	13500.00	54.11	54110.00
0068	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	2 EA	6500.00	13000.00	6180.41	12360.82
0069	4470000000-N	1160	RESET CRASH CUSHION	2 EA	2000.00	4000.00	1855.67	3711.34
0070	4485000000-E	1170	PORT CONC BARRIER	229 LF	29.90	6847.10	22.68	5193.72
0071	4490000000-E	1170	PORT CONC BARRIER(ANCHRD)	600 LF	39.90	23940.00	36.08	21648.00
0072	4590000000-E	SP	GENERIC TRAFFIC CONTROL ITEM (LF) TRAFFIC CONTROL SAFETY FENCE	313 LF	12.50	3912.50	6.00	1878.00
0073	4650000000-N	1251	TEMP RAISED PVMT MRKS	80 EA	10.00	800.00	10.10	808.00
0074	4810000000-E	1205	PAINT PVMT MARKINGS 4"	8,327 LF	0.35	2914.45	0.35	2914.45
0075	4835000000-E	1205	PAINT PVT MKG LINES 24"	40 LF	3.00	120.00	3.03	121.20
0076	4850000000-E	1205	LINE REMOVAL 4" WIDE	2,562 LF	1.00	2562.00	1.01	2587.62

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

DANE CONSTRUCTION, INC. REA CONTRACTING A DIVISION OF
THE LANE CONSTRUCTION
CORPORAT
CHESHIRE, CT
MOORESVILLE, NC

0077	5325600000-E	1510 6" WATER LINE	1,158	LF	47.00	54426.00	53.93	62450.94
0078	5540000000-E	1515 6" VALVE	4	EA	950.00	3800.00	1618.01	6472.04
0079	5648000000-N	1515 RELOCATE WATER METER	12	EA	975.00	11700.00	1078.67	12944.04
0080	5666000000-E	1515 FIRE HYDRANT	2	EA	2265.00	4530.00	4854.02	9708.04
0081	5691300000-E	1520 8" SANITARY GRAVITY SEWER	783	LF	40.25	31515.75	53.93	42227.19
0082	5768000000-N	1520 SANITARY SEWER CLEAN-OUT	12	EA	800.00	9600.00	647.20	7766.40
0083	5775000000-E	1525 4' DIA UTILITY MANHOLE	5	EA	1930.00	9650.00	4098.95	20494.75
0084	5781000000-E	1525 UTILITY MANHOLE WALL, 4' DIA	10.4	LF	130.00	1352.00	539.33	5609.03
0085	5801000000-E	1530 ABANDON 8" UTILITY PIPE	619	LF	6.00	3714.00	5.39	3336.41
0086	5816000000-N	1530 ABANDON UTILITY MANHOLE	3	EA	380.00	1140.00	431.47	1294.41
0087	5835000000-E	1540 *** ENCASEMENT PIPE (12-3/4")	321	LF	49.00	15729.00	32.36	10387.56
0088	5835700000-E	1540 16" ENCASEMENT PIPE	122	LF	55.00	6710.00	43.15	5264.30
0089	5871000000-E	1550 *** TRENCHLESS INSTALL (IN SOIL) (12-3/4")	135	LF	120.00	16200.00	122.32	16513.20
0090	5871010000-E	1550 *** TRENCHLESS INSTALL (NOT IN SOIL) (12-3/4")	135	LF	445.00	60075.00	453.62	61238.70
0091	5871900000-E	1550 16" TRENCHLESS INSTALL (IN SOIL)	61	LF	145.00	8845.00	147.81	9016.41
0092	5871910000-E	1550 16" TRENCHLESS INSTALL (NOT IN SOIL)	61	LF	495.00	30195.00	504.59	30779.99
0093	5888000000-E	SP GENERIC UTILITY ITEM (LF) REBED 42" SEWER PIPE	30	LF	250.00	7500.00	228.68	6860.40
0094	6000000000-E	1605 TEMPORARY SILT FENCE	5,300	LF	2.04	10812.00	1.69	8957.00
0095	6006000000-E	1610 EROS CONTRL STONE CL A	360	TON	29.75	10710.00	33.33	11998.80
0096	6009000000-E	1610 EROS CONTRL STONE CL B	300	TON	31.50	9450.00	33.33	9999.00
0097	6012000000-E	1610 SEDIMENT CONTROL STONE	510	TON	25.75	13132.50	28.28	14422.80
0098	6015000000-E	1615 TEMPORARY MULCHING	4	ACR	600.00	2400.00	635.04	2540.16
0099	6018000000-E	1620 SEED FOR TEMP SEEDING	150	LB	3.50	525.00	3.70	555.00
0100	6021000000-E	1620 FERT FOR TEMP SEEDING	1.5	TON	850.00	1275.00	899.63	1349.45
0101	6024000000-E	1622 TEMPORARY SLOPE DRAINS	600	LF	5.50	3300.00	6.06	3636.00
0102	6029000000-E	SP SAFETY FENCE	100	LF	2.04	204.00	1.32	132.00
0103	6030000000-E	1630 SILT EXCAVATION	650	CY	10.00	6500.00	10.10	6565.00
0104	6036000000-E	1631 MATTING FOR EROS CONTROL	7,500	SY	1.10	8250.00	1.16	8700.00
0105	6037000000-E	SP COIR FIBER MAT	10	SY	10.00	100.00	5.05	50.50
0106	6042000000-E	1632 1/4" HARDWARE CLOTH	1,550	LF	3.60	5580.00	5.05	7827.50
0107	6071010000-E	SP WATTLE	100	LF	8.25	825.00	5.05	505.00
0108	6071020000-E	SP POLYACRYLAMIDE (PAM)	40	LB	11.50	460.00	10.10	404.00
0109	6071030000-E	1640 COIR FIBER BAFFLE	150	LF	4.75	712.50	5.05	757.50
0110	6071050000-E	SP *** SKIMMER (1-1/2")	1	EA	1250.00	1250.00	1515.15	1515.15
0111	6084000000-E	1660 SEEDING AND MULCHING	4	ACR	1800.00	7200.00	1905.11	7620.44
0112	6087000000-E	1660 MOWING	4	ACR	100.00	400.00	105.84	423.36
0113	6090000000-E	1661 SEED FOR REPAIR SEEDING	50	LB	9.00	450.00	9.53	476.50
0114	6093000000-E	1661 FERT FOR REPAIR SEEDING	0.25	TON	1000.00	250.00	1058.40	264.60

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

DANE CONSTRUCTION, INC. REA CONTRACTING A DIVISION OF
THE LANE CONSTRUCTION
CORPORAT
CHESHIRE, CT
MOORESVILLE, NC

0115	6096000000-E	1662 SEED FOR SUPP SEEDING	150 LB	3.00	450.00	3.18	477.00
0116	6108000000-E	1665 FERTILIZER TOPDRESSING	4 TON	900.00	3600.00	952.56	3810.24
0117	6114500000-N	1667 SPECIALIZED HAND MOWING	25 MHR	40.00	1000.00	42.34	1058.50
0118	6117000000-N	SP RESPONSE FOR EROS CONTROL	16 EA	125.00	2000.00	1.06	16.96
0119	6890000000-E	SP CONCRETE STEPS	5 CY	1350.00	6750.00	925.00	4625.00
0120	6895000000-E	SP HANDRAIL ON STEPS	31 LF	165.00	5115.00	125.00	3875.00
0121	7000000000-E	1705 PEDEST SIG HEAD (***** (16", 1 SECTION WITH COUNT- DOWN)	8 EA	800.00	6400.00	783.96	6271.68
0122	7060000000-E	1705 SIGNAL CABLE	1,870 LF	1.75	3272.50	2.60	4862.00
0123	7120000000-E	1705 VEHICLE SIGNAL HD (12", 3 SECT)	16 EA	715.00	11440.00	865.06	13840.96
0124	7264000000-E	1710 MESSENGER CABLE (3/8")	320 LF	2.35	752.00	2.16	691.20
0125	7300000000-E	1715 UNPAVED TRENCH (***** (1, 2")	320 LF	5.05	1616.00	6.49	2076.80
0126	7301000000-E	1715 DIRECT DRILL (***** (4, 2")	160 LF	28.60	4576.00	10.81	1729.60
0127	7324000000-N	1716 JUNCTION BOX (STANDARD SIZE)	6 EA	235.00	1410.00	324.40	1946.40
0128	7348000000-N	1716 JUNCTION BOX (OVER-SIZED, HVY-DUTY)	6 EA	395.00	2370.00	540.66	3243.96
0129	7360000000-N	1720 WOOD POLE	4 EA	875.00	3500.00	865.06	3460.24
0130	7372000000-N	1721 GUY ASSEMBLY	4 EA	445.00	1780.00	129.76	519.04
0131	7408000000-E	1722 1" RISER WITH WEATHERHEAD	1 EA	260.00	260.00	162.20	162.20
0132	7420000000-E	1722 2" RISER WITH WEATHERHEAD	4 EA	420.00	1680.00	194.64	778.56
0133	7444000000-E	1725 INDUCTIVE LOOP SAWCUT	1,100 LF	5.55	6105.00	6.22	6842.00
0134	7456000000-E	1726 LEAD-IN CABLE(***** (14-2)	2,150 LF	1.25	2687.50	1.95	4192.50
0135	7588000000-N	SP SGNL MAST ARM WITH METAL POLE	4 EA	9610.00	38440.00	7785.51	31142.04
0136	7613000000-N	SP SOIL TEST	4 EA	1015.00	4060.00	865.06	3460.24
0137	7614100000-E	SP DRILLED PIER FOUND	20 CY	885.00	17700.00	838.02	16760.40
0138	7631000000-N	SP MAST ARM W/ MTL POLE DES	4 EA	97.00	388.00	540.66	2162.64
0139	7684000000-N	1750 SIGNAL CABINET FOUNDATION	1 EA	3010.00	3010.00	1081.32	1081.32
0140	7756000000-N	1751 CONTLR WITH CBNT, 2070L BASE MTD	1 EA	11190.00	11190.00	13516.52	13516.52
0141	7780000000-N	1751 DETECTOR CARD (TYPE 2070L)	7 EA	130.00	910.00	118.95	832.65
0142	7901000000-N	1753 CABINET BASE EXTENDER	1 EA	292.00	292.00	324.40	324.40
0143	7980000000-N	SP GENERIC SIGNAL ITEM (EA) DECORATIVE BASE COVER FOR METAL POLE ASSEMBLY	4 EA	2165.00	8660.00	432.53	1730.12
0144	7980000000-N	SP GENERIC SIGNAL ITEM (EA) POWDER COAT FOR SINGLE MAST ARM WITH METAL POLE	4 EA	1595.00	6380.00	1297.59	5190.36
WALL ITEMS							
0145	8801000000-E	SP MSE RETAIN WALLS	1,406 SF	65.75	92444.50	114.78	161380.68
STRUCTURE ITEMS							
0146	8035000000-N	402 REMV EXIST STR ***** (17+97.08-L-)	Lump Sum		188274.00		220000.00

FED AID NO BRSTP-1002(27)

GRADING, DRAINAGE, PAVING, SIGNAL AND STRUCTURE.

BRIDGE OVER SOUTHERN RAILWAY AND APPROACHES ON SR-1002 IN CONCORD.

DANE CONSTRUCTION, INC. REA CONTRACTING A DIVISION OF
THE LANE CONSTRUCTION
CORPORAT
MOORESVILLE, NC CHESHIRE, CT

0147	8091000000-N	410	FND EXCAV B** STA ***** (1, 17+97.08-L-)	Lump Sum		15450.00		13440.94
0148	8091000000-N	410	FND EXCAV B** STA ***** (2, 17+97.08-L-)	Lump Sum		15450.00		13440.94
0149	8147000000-E	420	REINF CONCRETE DECK SLAB	14,222 SF	40.65	578124.30	35.00	497770.00
0150	8161000000-E	420	GROOVING BRIDGE FLOORS	11,742 SF	0.37	4344.54	0.47	5518.74
0151	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	224.9 CY	925.00	208032.50	1128.47	253792.90
0152	8210000000-N	422	BRG APPR SLAB ***** (17+97.08-L-)	Lump Sum		57625.00		54523.13
0153	8217000000-E	425	REINF STEEL (BRIDGE)	36,910 LB	1.25	46137.50	0.97	35802.70
0154	8238000000-E	425	SPIRAL COL REINF STL BRG	3,125 LB	1.75	5468.75	1.37	4281.25
0155	8280000000-E	440	STRUCTURAL STEEL	Lump Sum		1150000.00		896545.00
0156	8364000000-E	450	HP12X53 PILES	1,910 LF	60.25	115077.50	72.34	138169.40
0157	8531000000-E	462	4" SLOPE PROTECTION	1,250 SY	60.30	75375.00	87.45	109312.50
0158	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		7500.00		7277.53
0159	8727000000-N	SP	ELEC CONDUIT SYS SIGNAL ***** (17+97.08-L-)	Lump Sum		35235.00		35000.00
0160	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) ELECTRICAL CONDUIT SYSTEM	Lump Sum		18150.00		27518.54
0161	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) CLASSIC CONCRETE BRIDGE RAIL	520 LF	146.00	75920.00	274.27	142620.40

CONTRACT TOTAL TOTAL 5057518.08 TOTAL 5097257.43

ROADWAY ITEMS SUB-TOTAL 2368909.49 SUB-TOTAL 2480862.78
WALL ITEMS SUB-TOTAL 92444.50 SUB-TOTAL 161380.68
STRUCTURE ITEMS SUB-TOTAL 2596164.09 SUB-TOTAL 2455013.97

BIDDERS IN ORDER

CONTRACT TOTAL

BLYTHE DEVELOPMENT CO.	1	4481631.04
BLYTHE CONSTRUCTION, INC.	2	4820358.70
LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.	3	5033870.80
DANE CONSTRUCTION, INC.	4	5057518.08
REA CONTRACTING A DIVISION OF THE LANE CONSTRUCTION CORPORAT	5	5097257.43

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

R.E. BURNS & SONS CO., INC.

DELLINGER, INC.

LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.

STATESVILLE, NC

MONROE, NC

CHARLOTTE, NC

ROADWAY ITEMS

Item No	Code	Description	Quantity	Unit	R.E. Burns & Sons Co., Inc.	Dellinger, Inc.	Lee Construction Company of the Carolinas, Inc.	Total
0001	0000100000-N	800 MOBILIZATION		Lump Sum	59000.00	55000.00		60500.00
0002	0000400000-N	801 CONSTRUCTION SURVEYING		Lump Sum	5500.00	7000.00		10000.00
0003	0030000000-N	SP BRG APP SUB REG TIER** (26+65.50 -L-)		Lump Sum	8000.00	5000.00		10000.00
0004	0043000000-N	226 GRADING		Lump Sum	91925.00	133000.00		73590.00
0005	0050000000-E	226 SUPP CLEARING & GRUBBING	1	ACR	1.00	100.00	925.00	925.00
0006	0057000000-E	226 UNDERCUT EXCAVATION	250	CY	6.75	7.00	6.75	1687.50
0007	0196000000-E	270 GEOTEXTILE SOIL STABILIZATION	700	SY	2.00	2.00	2.00	1400.00
0008	0318000000-E	300 FND CONDIR MATL MINOR STRS	87	TON	27.50	24.00	27.50	2392.50
0009	0320000000-E	300 FND CONDIR GEOTEXTILE	317	SY	2.00	2.00	2.00	634.00
0010	0335200000-E	305 15" DRAINAGE PIPE	124	LF	20.50	26.00	20.50	2542.00
0011	0335300000-E	305 18" DRAINAGE PIPE	24	LF	21.25	39.00	21.25	510.00
0012	0335400000-E	305 24" DRAINAGE PIPE	28	LF	29.00	37.50	29.00	812.00
0013	0396000000-E	310 42" RC PIPE CULV III	68	LF	62.00	70.00	62.00	4216.00
0014	0448200000-E	310 15" RCP CULV CLASS IV	32	LF	21.25	32.80	21.25	680.00
0015	0448300000-E	310 18" RCP CULV CLASS IV	44	LF	23.25	39.00	23.25	1023.00
0016	0448700000-E	310 42" RCP CULV CLASS IV	28	LF	72.50	76.00	72.50	2030.00
0017	0995000000-E	340 PIPE REMOVAL	16	LF	6.50	13.00	6.50	104.00
0018	1099500000-E	505 SHALLOW UNDERCUT	175	CY	6.90	12.00	6.90	1207.50
0019	1099700000-E	505 CLASS IV SUBGRD STABILIZATION	350	TON	22.00	0.10	22.00	7700.00
0020	1121000000-E	520 AGGREGATE BASE COURSE	215	TON	33.00	22.00	30.00	6450.00
0021	1220000000-E	545 INCIDENTAL STONE BASE	150	TON	21.00	22.00	21.00	3150.00
0022	1330000000-E	607 INCIDENTAL MILLING	200	SY	10.00	15.25	15.25	3050.00
0023	1489000000-E	610 ASP CONC BASE CRS B25.0B	1,100	TON	40.60	40.60	40.60	44660.00
0024	1498000000-E	610 ASP CONC INTR CRS I19.0B	490	TON	43.20	43.20	43.20	21168.00
0025	1519000000-E	610 ASP CONC SURF CRS S9.5B	620	TON	44.00	44.00	44.00	27280.00
0026	1575000000-E	620 ASP FOR PLANT MIX	110	TON	640.00	640.00	640.00	70400.00
0027	1693000000-E	654 ASPH PLT MIX PVMT REPAIR	50	TON	100.00	200.00	145.00	7250.00
0028	2022000000-E	815 SUBDRAIN EXCAVATION	56	CY	3.00	3.50	18.50	1036.00
0029	2033000000-E	815 SUBDRAIN FINE AGGREGATE	42	CY	5.00	14.00	65.00	2730.00
0030	2044000000-E	815 6" PERF SUBDRN PIPE	250	LF	5.00	2.50	10.00	2500.00
0031	2070000000-N	815 SUBDRN PIPE OUTLET	1	EA	50.00	175.00	250.00	250.00
0032	2077000000-E	815 6" OUTLET PIPE	6	LF	20.00	675.00	30.00	180.00
0033	2209000000-E	838 ENDWALLS	9	CY	725.00	486.00	725.00	6525.00
0034	2286000000-N	840 MASNRY DRAINAGE STRUCT	4	EA	1925.00	2000.00	1925.00	7700.00
0035	2367000000-N	840 FRAME W/2GRTS 840.29 STD	4	EA	405.00	365.00	405.00	1620.00
0036	2556000000-E	846 SHOULDER BERM GUTTER	8	LF	75.00	60.00	60.00	480.00
0037	2612000000-E	848 6" CONCRETE DRIVEWAY	70	SY	50.00	64.00	50.00	3500.00
0038	2830000000-N	858 ADJ MANHOLES	5	EA	405.00	600.00	405.00	2025.00
0039	2845000000-N	858 ADJ METER OR VALVE BOXES	4	EA	365.00	600.00	365.00	1460.00
0040	3030000000-E	862 STL BM GUARDRAIL	325	LF	14.00	14.00	15.00	4875.00

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

		R.E. BURNS & SONS CO., INC.			DELLINGER, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.			
		STATESVILLE, NC			MONROE, NC		CHARLOTTE, NC			
0041	3150000000-N	862	ADDIT GUARDRAIL POSTS	10 EA	13.00	130.00	13.00	130.00	25.00	250.00
0042	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1200.00	4800.00	1200.00	4800.00	1250.00	5000.00
0043	3270000000-N	SP	GR ANCHOR TYPE 350	4 EA	1800.00	7200.00	1800.00	7200.00	1800.00	7200.00
0044	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	1,290 LF	2.30	2967.00	2.30	2967.00	2.40	3096.00
0045	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	60 EA	15.00	900.00	15.00	900.00	14.25	855.00
0046	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	70 EA	26.00	1820.00	26.00	1820.00	29.00	2030.00
0047	3566000000-E	867	WOVEN WIRE FENCE RESET	55 LF	5.00	275.00	5.00	275.00	5.00	275.00
0048	3578000000-N	SP	GENERIC FENCING ITEM (EA) REMOVE & RESET METAL GATE	2 EA	100.00	200.00	110.00	220.00	500.00	1000.00
0049	3628000000-E	876	RIP RAP, CLASS I	34 TON	37.00	1258.00	45.00	1530.00	37.00	1258.00
0050	3649000000-E	876	RIP RAP, CLASS B	15 TON	37.00	555.00	45.00	675.00	37.00	555.00
0051	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	579 SY	2.00	1158.00	2.00	1158.00	2.00	1158.00
0052	3659000000-N	SP	PREFORMED SCOUR HOLES	2 EA	1000.00	2000.00	875.00	1750.00	1000.00	2000.00
0053	4400000000-E	1110	WORK ZONE SIGNS (STAT)	334 SF	3.75	1252.50	4.00	1336.00	10.00	3340.00
0054	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144 SF	5.25	756.00	6.00	864.00	10.00	1440.00
0055	4445000000-E	1145	BARRICADES (TYPE III)	96 LF	17.25	1656.00	17.25	1656.00	35.00	3360.00
0056	5326200000-E	1510	12" WATER LINE	584 LF	81.00	47304.00	75.00	43800.00	81.00	47304.00
0057	5558000000-E	1515	12" VALVE	2 EA	2150.00	4300.00	3950.00	7900.00	2150.00	4300.00
0058	5672000000-N	1515	RELOCATE FIRE HYDRANT	2 EA	2750.00	5500.00	2975.00	5950.00	2750.00	5500.00
0059	5804000000-E	1530	ABANDON 12" UTILITY PIPE	560 LF	8.15	4564.00	9.00	5040.00	8.15	4564.00
0060	5871700000-E	1550	12" TRENCHLESS INSTALL (IN SOIL)	38 LF	475.00	18050.00	185.00	7030.00	270.00	10260.00
0061	5871710000-E	1550	12" TRENCHLESS INSTALL (NOT IN SOIL)	37 LF	475.00	17575.00	430.00	15910.00	682.00	25234.00
0062	6000000000-E	1605	TEMPORARY SILT FENCE	1,850 LF	2.50	4625.00	2.00	3700.00	2.00	3700.00
0063	6006000000-E	1610	EROS CONTRL STONE CL A	405 TON	35.00	14175.00	20.00	8100.00	36.00	14580.00
0064	6009000000-E	1610	EROS CONTRL STONE CL B	265 TON	35.00	9275.00	24.00	6360.00	36.00	9540.00
0065	6012000000-E	1610	SEDIMENT CONTROL STONE	260 TON	30.00	7800.00	24.00	6240.00	36.00	9360.00
0066	6015000000-E	1615	TEMPORARY MULCHING	2 ACR	2000.00	4000.00	900.00	1800.00	500.00	1000.00
0067	6018000000-E	1620	SEED FOR TEMP SEEDING	100 LB	5.00	500.00	2.30	230.00	1.00	100.00
0068	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25 TON	1000.00	1250.00	800.00	1000.00	1000.00	1250.00
0069	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200 LF	5.00	1000.00	11.00	2200.00	6.00	1200.00
0070	6029000000-E	SP	SAFETY FENCE	300 LF	4.00	1200.00	1.80	540.00	2.00	600.00
0071	6030000000-E	1630	SILT EXCAVATION	810 CY	5.00	4050.00	2.00	1620.00	10.00	8100.00
0072	6036000000-E	1631	MATting FOR EROS CONTROL	2,500 SY	1.00	2500.00	0.80	2000.00	1.10	2750.00
0073	6037000000-E	SP	COIR FIBER MAT	40 SY	7.50	300.00	8.00	320.00	3.85	154.00
0074	6038000000-E	SP	PERM SOIL REINF MAT	1,500 SY	4.00	6000.00	4.65	6975.00	3.50	5250.00
0075	6042000000-E	1632	1/4" HARDWARE CLOTH	680 LF	4.00	2720.00	3.00	2040.00	7.00	4760.00
0076	6071010000-E	SP	WATTLE	235 LF	8.00	1880.00	4.00	940.00	4.00	940.00
0077	6071020000-E	SP	POLYACRYLAMIDE (PAM)	100 LB	20.00	2000.00	7.20	720.00	12.00	1200.00
0078	6071030000-E	1640	COIR FIBER BAFFLE	260 LF	8.00	2080.00	8.00	2080.00	4.00	1040.00
0079	6071050000-E	SP	*** SKIMMER (1-1/2")	4 EA	1000.00	4000.00	800.00	3200.00	925.00	3700.00

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

		R.E. BURNS & SONS CO., INC.		DELLINGER, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.			
		STATESVILLE, NC		MONROE, NC		CHARLOTTE, NC			
0080	6084000000-E	1660 SEEDING AND MULCHING	2 ACR	1500.00	3000.00	1500.00	3000.00	1600.00	3200.00
0081	6087000000-E	1660 MOWING	2 ACR	25.00	50.00	10.00	20.00	75.00	150.00
0082	6090000000-E	1661 SEED FOR REPAIR SEEDING	50 LB	1.00	50.00	3.50	175.00	2.50	125.00
0083	6093000000-E	1661 FERT FOR REPAIR SEEDING	0.25 TON	1000.00	250.00	795.00	198.75	1000.00	250.00
0084	6096000000-E	1662 SEED FOR SUPP SEEDING	50 LB	1.00	50.00	3.50	175.00	1.60	80.00
0085	6108000000-E	1665 FERTILIZER TOPDRESSING	1.5 TON	100.00	150.00	800.00	1200.00	1100.00	1650.00
0086	6114500000-N	1667 SPECIALIZED HAND MOWING	10 MHR	10.00	100.00	5.00	50.00	25.00	250.00
0087	6117000000-N	SP RESPONSE FOR EROS CONTROL	18 EA	1.00	18.00	100.00	1800.00	1.00	18.00
STRUCTURE ITEMS									
0088	8035000000-N	402 REMV EXIST STR ***** (26+65.50-L-)	Lump Sum		30000.00		30000.00		25000.00
0089	8121000000-N	412 UNCL STR EXCAV STA ***** (26+65.50-L-)	Lump Sum		6000.00		5000.00		20000.00
0090	8156000000-E	SP CONCRETE WEARING SURFACE	4,735 SF	12.50	59187.50	10.00	47350.00	16.00	75760.00
0091	8161000000-E	420 GROOVING BRIDGE FLOORS	4,894 SF	0.49	2398.06	1.00	4894.00	0.50	2447.00
0092	8175000000-E	420 CLASS AA CONC (BRIDGE)	10.7 CY	1000.00	10700.00	1300.00	13910.00	1200.00	12840.00
0093	8182000000-E	420 CLASS A CONCRETE (BRIDGE)	59.4 CY	1000.00	59400.00	900.00	53460.00	600.00	35640.00
0094	8210000000-N	422 BRG APPR SLAB ***** (26+65.50-L-)	Lump Sum		18000.00		32000.00		20000.00
0095	8217000000-E	425 REINF STEEL (BRIDGE)	9,010 LB	1.40	12614.00	1.00	9010.00	1.00	9010.00
0096	8224000000-E	425 EPOXY COAT REINF STL BRDG	1,037 LB	1.75	1814.75	2.00	2074.00	2.00	2074.00
0097	8364000000-E	450 HP12X53 PILES	350 LF	20.00	7000.00	50.00	17500.00	55.00	19250.00
0098	8384200000-E	450 HP14X73 GALV PILES	580 LF	65.00	37700.00	56.00	32480.00	80.00	46400.00
0099	8391000000-N	450 STEEL PILE POINTS	16 EA	150.00	2400.00	250.00	4000.00	200.00	3200.00
0100	8475000000-E	460 TWO BAR METAL RAIL	290.5 LF	125.00	36312.50	112.00	32536.00	120.00	34860.00
0101	8517000000-E	460 1'-**X*****CONC PARAPET (1'-2" x 2'-9 1/2")	305.5 LF	75.00	22912.50	52.00	15886.00	60.00	18330.00
0102	8608000000-E	876 RIP RAP II (2'-0")	260 TON	43.00	11180.00	32.00	8320.00	70.00	18200.00
0103	8622000000-E	876 GEOTEXTILE FOR DRAINAGE	285 SY	2.25	641.25	2.00	570.00	5.00	1425.00
0104	8657000000-N	430 ELASTOMERIC BEARINGS	Lump Sum		10000.00		10000.00		10000.00
0105	8762000000-E	430 3'-0"X 1'-9"PRESTR SLABS	1,982.5 LF	130.00	257725.00	133.00	263672.50	122.50	242856.25
CONTRACT TOTAL				TOTAL	1185124.56	TOTAL	1194401.85	TOTAL	1202460.75
ROADWAY ITEMS				SUB-TOTAL	599139.00	SUB-TOTAL	611739.35	SUB-TOTAL	605168.50
STRUCTURE ITEMS				SUB-TOTAL	585985.56	SUB-TOTAL	582662.50	SUB-TOTAL	597292.25

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

BLYTHE CONSTRUCTION, INC.

UNITED CONTRACTORS, LLC

CHARLOTTE, NC

GREAT FALLS, SC

ROADWAY ITEMS

Item ID	Code	Description	Unit	Quantity	Rate	Amount	Rate	Amount
0001	0000100000-N	800 MOBILIZATION	Lump Sum			60000.00		60875.00
0002	0000400000-N	801 CONSTRUCTION SURVEYING	Lump Sum			8000.00		14000.00
0003	0030000000-N	SP BRG APP SUB REG TIER** (26+65.50 -L-)	Lump Sum			4000.00		16800.00
0004	0043000000-N	226 GRADING	Lump Sum			102000.00		151500.00
0005	0050000000-E	226 SUPP CLEARING & GRUBBING	1 ACR	100.00	100.00		1600.00	1600.00
0006	0057000000-E	226 UNDERCUT EXCAVATION	250 CY	10.00	2500.00		14.80	3700.00
0007	0196000000-E	270 GEOTEXTILE SOIL STABILIZATION	700 SY	2.50	1750.00		2.00	1400.00
0008	0318000000-E	300 FND CONDIR MATL MINOR STRS	87 TON	30.00	2610.00		60.65	5276.55
0009	0320000000-E	300 FND CONDIR GEOTEXTILE	317 SY	3.00	951.00		1.35	427.95
0010	0335200000-E	305 15" DRAINAGE PIPE	124 LF	35.00	4340.00		40.90	5071.60
0011	0335300000-E	305 18" DRAINAGE PIPE	24 LF	60.00	1440.00		45.30	1087.20
0012	0335400000-E	305 24" DRAINAGE PIPE	28 LF	60.00	1680.00		51.80	1450.40
0013	0396000000-E	310 42" RC PIPE CULV III	68 LF	80.00	5440.00		100.00	6800.00
0014	0448200000-E	310 15" RCP CULV CLASS IV	32 LF	30.00	960.00		42.65	1364.80
0015	0448300000-E	310 18" RCP CULV CLASS IV	44 LF	35.00	1540.00		47.70	2098.80
0016	0448700000-E	310 42" RCP CULV CLASS IV	28 LF	80.00	2240.00		105.00	2940.00
0017	0995000000-E	340 PIPE REMOVAL	16 LF	14.00	224.00		18.50	296.00
0018	1099500000-E	505 SHALLOW UNDERCUT	175 CY	13.00	2275.00		14.50	2537.50
0019	1099700000-E	505 CLASS IV SUBGRD STABILIZATION	350 TON	24.00	8400.00		31.67	11084.50
0020	1121000000-E	520 AGGREGATE BASE COURSE	215 TON	29.00	6235.00		41.33	8885.95
0021	1220000000-E	545 INCIDENTAL STONE BASE	150 TON	24.00	3600.00		30.00	4500.00
0022	1330000000-E	607 INCIDENTAL MILLING	200 SY	22.00	4400.00		15.25	3050.00
0023	1489000000-E	610 ASP CONC BASE CRS B25.0B	1,100 TON	53.00	58300.00		40.60	44660.00
0024	1498000000-E	610 ASP CONC INTR CRS I19.0B	490 TON	53.00	25970.00		43.20	21168.00
0025	1519000000-E	610 ASP CONC SURF CRS S9.5B	620 TON	48.00	29760.00		44.00	27280.00
0026	1575000000-E	620 ASP FOR PLANT MIX	110 TON	655.00	72050.00		640.00	70400.00
0027	1693000000-E	654 ASPH PLT MIX PVMT REPAIR	50 TON	140.00	7000.00		150.00	7500.00
0028	2022000000-E	815 SUBDRAIN EXCAVATION	56 CY	12.00	672.00		32.00	1792.00
0029	2033000000-E	815 SUBDRAIN FINE AGGREGATE	42 CY	60.00	2520.00		56.00	2352.00
0030	2044000000-E	815 6" PERF SUBDRN PIPE	250 LF	6.00	1500.00		6.50	1625.00
0031	2070000000-N	815 SUBDRN PIPE OUTLET	1 EA	200.00	200.00		300.00	300.00
0032	2077000000-E	815 6" OUTLET PIPE	6 LF	20.00	120.00		40.00	240.00
0033	2209000000-E	838 ENDWALLS	9 CY	800.00	7200.00		1400.00	12600.00
0034	2286000000-N	840 MASNRY DRAINAGE STRUCT	4 EA	1000.00	4000.00		1138.00	4552.00
0035	2367000000-N	840 FRAME W/2GRTS 840.29 STD	4 EA	500.00	2000.00		550.00	2200.00
0036	2556000000-E	846 SHOULDER BERM GUTTER	8 LF	30.00	240.00		104.00	832.00
0037	2612000000-E	848 6" CONCRETE DRIVEWAY	70 SY	50.00	3500.00		49.90	3493.00
0038	2830000000-N	858 ADJ MANHOLES	5 EA	500.00	2500.00		800.00	4000.00
0039	2845000000-N	858 ADJ METER OR VALVE BOXES	4 EA	400.00	1600.00		445.00	1780.00
0040	3030000000-E	862 STL BM GUARDRAIL	325 LF	14.00	4550.00		14.00	4550.00

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

BLYTHE CONSTRUCTION, INC.

UNITED CONTRACTORS, LLC

CHARLOTTE, NC

GREAT FALLS, SC

Item ID	Description	Quantity	Unit	Rate	Blythe	United	Total
0041	3150000000-N 862 ADDIT GUARDRAIL POSTS	10	EA	13.00	130.00	13.00	130.00
0042	3215000000-N 862 GR ANCHOR TYPE III	4	EA	1200.00	4800.00	1200.00	4800.00
0043	3270000000-N SP GR ANCHOR TYPE 350	4	EA	1800.00	7200.00	1800.00	7200.00
0044	3503000000-E 866 WOVEN WIRE FENCE 47" FAB	1,290	LF	2.30	2967.00	2.30	2967.00
0045	3509000000-E 866 4" TIMBER POSTS 7'-6"LONG	60	EA	15.00	900.00	15.00	900.00
0046	3515000000-E 866 5" TIMBER POSTS 8'-0"LONG	70	EA	26.00	1820.00	26.00	1820.00
0047	3566000000-E 867 WOVEN WIRE FENCE RESET	55	LF	5.00	275.00	5.00	275.00
0048	3578000000-N SP GENERIC FENCING ITEM (EA) REMOVE & RESET METAL GATE	2	EA	100.00	200.00	100.00	200.00
0049	3628000000-E 876 RIP RAP, CLASS I	34	TON	45.00	1530.00	90.00	3060.00
0050	3649000000-E 876 RIP RAP, CLASS B	15	TON	50.00	750.00	90.00	1350.00
0051	3656000000-E 876 GEOTEXTILE FOR DRAINAGE	579	SY	2.50	1447.50	1.60	926.40
0052	3659000000-N SP PREFORMED SCOUR HOLES	2	EA	600.00	1200.00	1750.00	3500.00
0053	4400000000-E 1110 WORK ZONE SIGNS (STAT)	334	SF	3.75	1252.50	3.25	1085.50
0054	4410000000-E 1110 WORK ZONE SIGNS (BARR)	144	SF	5.25	756.00	5.00	720.00
0055	4445000000-E 1145 BARRICADES (TYPE III)	96	LF	17.25	1656.00	18.00	1728.00
0056	5326200000-E 1510 12" WATER LINE	584	LF	120.00	70080.00	124.00	72416.00
0057	5558000000-E 1515 12" VALVE	2	EA	1800.00	3600.00	2300.00	4600.00
0058	5672000000-N 1515 RELOCATE FIRE HYDRANT	2	EA	2200.00	4400.00	3400.00	6800.00
0059	5804000000-E 1530 ABANDON 12" UTILITY PIPE	560	LF	11.00	6160.00	12.50	7000.00
0060	5871700000-E 1550 12" TRENCHLESS INSTALL (IN SOIL)	38	LF	242.00	9196.00	310.00	11780.00
0061	5871710000-E 1550 12" TRENCHLESS INSTALL (NOT IN SOIL)	37	LF	625.00	23125.00	735.00	27195.00
0062	6000000000-E 1605 TEMPORARY SILT FENCE	1,850	LF	1.44	2664.00	1.44	2664.00
0063	6006000000-E 1610 EROS CONTRL STONE CL A	405	TON	35.00	14175.00	42.50	17212.50
0064	6009000000-E 1610 EROS CONTRL STONE CL B	265	TON	40.00	10600.00	42.50	11262.50
0065	6012000000-E 1610 SEDIMENT CONTROL STONE	260	TON	35.00	9100.00	42.50	11050.00
0066	6015000000-E 1615 TEMPORARY MULCHING	2	ACR	498.00	996.00	498.00	996.00
0067	6018000000-E 1620 SEED FOR TEMP SEEDING	100	LB	2.20	220.00	2.20	220.00
0068	6021000000-E 1620 FERT FOR TEMP SEEDING	1.25	TON	875.00	1093.75	875.00	1093.75
0069	6024000000-E 1622 TEMPORARY SLOPE DRAINS	200	LF	16.00	3200.00	8.00	1600.00
0070	6029000000-E SP SAFETY FENCE	300	LF	1.39	417.00	1.39	417.00
0071	6030000000-E 1630 SILT EXCAVATION	810	CY	10.00	8100.00	13.00	10530.00
0072	6036000000-E 1631 MATTING FOR EROS CONTROL	2,500	SY	1.24	3100.00	1.24	3100.00
0073	6037000000-E SP COIR FIBER MAT	40	SY	1.24	49.60	5.75	230.00
0074	6038000000-E SP PERM SOIL REINF MAT	1,500	SY	5.75	8625.00	5.85	8775.00
0075	6042000000-E 1632 1/4" HARDWARE CLOTH	680	LF	3.74	2543.20	3.74	2543.20
0076	6071010000-E SP WATTLE	235	LF	5.95	1398.25	5.95	1398.25
0077	6071020000-E SP POLYACRYLAMIDE (PAM)	100	LB	12.00	1200.00	12.00	1200.00
0078	6071030000-E 1640 COIR FIBER BAFFLE	260	LF	7.00	1820.00	5.25	1365.00
0079	6071050000-E SP *** SKIMMER (1-1/2")	4	EA	800.00	3200.00	1150.00	4600.00

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

BLYTHE CONSTRUCTION, INC. UNITED CONTRACTORS, LLC
CHARLOTTE, NC GREAT FALLS, SC

0080	6084000000-E	1660 SEEDING AND MULCHING	2 ACR	1149.00	2298.00	1149.00	2298.00
0081	6087000000-E	1660 MOWING	2 ACR	55.00	110.00	55.00	110.00
0082	6090000000-E	1661 SEED FOR REPAIR SEEDING	50 LB	3.69	184.50	3.69	184.50
0083	6093000000-E	1661 FERT FOR REPAIR SEEDING	0.25 TON	925.00	231.25	925.00	231.25
0084	6096000000-E	1662 SEED FOR SUPP SEEDING	50 LB	3.14	157.00	3.14	157.00
0085	6108000000-E	1665 FERTILIZER TOPDRESSING	1.5 TON	785.00	1177.50	785.00	1177.50
0086	6114500000-N	1667 SPECIALIZED HAND MOWING	10 MHR	22.00	220.00	22.00	220.00
0087	6117000000-N	SP RESPONSE FOR EROS CONTROL	18 EA	189.00	3402.00	189.00	3402.00

STRUCTURE ITEMS

0088	8035000000-N	402 REMV EXIST STR ***** (26+65.50-L-)	Lump Sum		25000.00		37000.00
0089	8121000000-N	412 UNCL STR EXCAV STA ***** (26+65.50-L-)	Lump Sum		8000.00		7400.00
0090	8156000000-E	SP CONCRETE WEARING SURFACE	4,735 SF	10.00	47350.00	10.00	47350.00
0091	8161000000-E	420 GROOVING BRIDGE FLOORS	4,894 SF	0.52	2544.88	1.00	4894.00
0092	8175000000-E	420 CLASS AA CONC (BRIDGE)	10.7 CY	500.00	5350.00	1000.00	10700.00
0093	8182000000-E	420 CLASS A CONCRETE (BRIDGE)	59.4 CY	800.00	47520.00	800.00	47520.00
0094	8210000000-N	422 BRG APPR SLAB ***** (26+65.50-L-)	Lump Sum		21000.00		30000.00
0095	8217000000-E	425 REINF STEEL (BRIDGE)	9,010 LB	1.00	9010.00	1.00	9010.00
0096	8224000000-E	425 EPOXY COAT REINF STL BRDG	1,037 LB	1.50	1555.50	1.25	1296.25
0097	8364000000-E	450 HP12X53 PILES	350 LF	50.00	17500.00	60.00	21000.00
0098	8384200000-E	450 HP14X73 GALV PILES	580 LF	70.00	40600.00	80.00	46400.00
0099	8391000000-N	450 STEEL PILE POINTS	16 EA	200.00	3200.00	200.00	3200.00
0100	8475000000-E	460 TWO BAR METAL RAIL	290.5 LF	100.00	29050.00	150.00	43575.00
0101	8517000000-E	460 1'-**X*****CONC PARAPET (1'-2" x 2'-9 1/2")	305.5 LF	65.00	19857.50	65.00	19857.50
0102	8608000000-E	876 RIP RAP II (2'-0")	260 TON	45.00	11700.00	42.50	11050.00
0103	8622000000-E	876 GEOTEXTILE FOR DRAINAGE	285 SY	2.50	712.50	2.00	570.00
0104	8657000000-N	430 ELASTOMERIC BEARINGS	Lump Sum		15000.00		8000.00
0105	8762000000-E	430 3'-0"X 1'-9"PRESTR SLABS	1,982.5 LF	135.00	267637.50	140.00	277550.00

CONTRACT TOTAL TOTAL 1244681.93 TOTAL 1392933.35

ROADWAY ITEMS SUB-TOTAL 672094.05 SUB-TOTAL 766560.60
STRUCTURE ITEMS SUB-TOTAL 572587.88 SUB-TOTAL 626372.75

BIDDERS IN ORDER

CONTRACT TOTAL

R.E. BURNS & SONS CO., INC.	1	1185124.56
DELLINGER, INC.	2	1194401.85

APR 03, 2012 02:36 PM

CABARRUS

TIP NO B-4050

33416.3.1

2:00 PM 7 / 7 014

FEB 21 2012 C202774
0.208 MI

FED AID NO BRSTP-1778(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRISH BUFFALO CREEK AND APPROACHES ON SR-1778 (ORPHANAGE RD) IN KANNAPOLIS.

LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.	3	1202460.75
BLYTHE CONSTRUCTION, INC.	4	1244681.93
UNITED CONTRACTORS, LLC	5	1392933.35

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

				BLYTHE CONSTRUCTION, INC.	SUNBELT STRUCTURES, INC.	BLYTHE DEVELOPMENT CO.		
				CHARLOTTE, NC	TUCKER, GA	CHARLOTTE, NC		
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum	75000.00	70000.00		77500.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum	15000.00	10000.00		7500.00
0003	0030000000-N	SP	BRG APP SUB REG TIER** (22+60.00)	Lump Sum	6000.00	4626.65		8500.00
0004	0043000000-N	226	GRADING	Lump Sum	95000.00	85800.00		135000.00
0005	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	100.00	3850.18	1000.00	1000.00
0006	0057000000-E	226	UNDERCUT EXCAVATION	500 CY	10.00	5000.00	6.60	3300.00
0007	0134000000-E	240	DRAINAGE DITCH EXCAVATION	60 CY	10.00	600.00	11.00	660.00
0008	0195000000-E	265	SELECT GRANULAR MATERIAL	500 CY	40.00	20000.00	2.75	1375.00
0009	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	800 SY	2.50	2000.00	4.95	3960.00
0010	0318000000-E	300	FND CONDIT MATL MINOR STRS	261 TON	35.00	9135.00	13.20	3445.20
0011	0320000000-E	300	FND CONDIT GEOTEXTILE	455 SY	3.00	1365.00	2.48	1128.40
0012	0344000000-E	310	18" SIDE DRAIN PIPE	84 LF	40.00	3360.00	37.40	3141.60
0013	0448200000-E	310	15" RCP CULV CLASS IV	340 LF	40.00	13600.00	33.00	11220.00
0014	0448400000-E	310	24" RCP CULV CLASS IV	328 LF	60.00	19680.00	37.40	12267.20
0015	0582000000-E	310	15" CS PIPE CULV 0.064"	32 LF	60.00	1920.00	44.00	1408.00
0016	0594000000-E	310	24" CS PIPE CULV 0.064"	32 LF	80.00	2560.00	47.30	1513.60
0017	0995000000-E	340	PIPE REMOVAL	208 LF	15.00	3120.00	6.60	1372.80
0018	1099500000-E	505	SHALLOW UNDERCUT	70 CY	15.00	1050.00	14.30	1001.00
0019	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	380 TON	25.00	9500.00	36.30	13794.00
0020	1220000000-E	545	INCIDENTAL STONE BASE	200 TON	25.00	5000.00	36.30	7260.00
0021	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 3")	930 SY	4.00	3720.00	2.25	2092.50
0022	1330000000-E	607	INCIDENTAL MILLING	830 SY	7.00	5810.00	2.95	2448.50
0023	1489000000-E	610	ASP CONC BASE CRS B25.0B	430 TON	48.00	20640.00	44.75	19242.50
0024	1498000000-E	610	ASP CONC INTR CRS I19.0B	350 TON	50.00	17500.00	43.50	15225.00
0025	1519000000-E	610	ASP CONC SURF CRS S9.5B	695 TON	53.00	36835.00	43.75	30406.25
0026	1575000000-E	620	ASP FOR PLANT MIX	80 TON	655.00	52400.00	650.00	52000.00
0027	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	50 TON	150.00	7500.00	115.00	5750.00
0028	2022000000-E	815	SUBDRAIN EXCAVATION	45 CY	14.00	630.00	17.60	792.00
0029	2033000000-E	815	SUBDRAIN FINE AGGREGATE	34 CY	60.00	2040.00	36.30	1234.20
0030	2044000000-E	815	6" PERF SUBDRN PIPE	200 LF	6.00	1200.00	11.00	2200.00
0031	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	200.00	200.00	247.51	247.51
0032	2077000000-E	815	6" OUTLET PIPE	6 LF	20.00	120.00	14.30	85.80
0033	2286000000-N	840	MASNRY DRAINAGE STRUCT	10 EA	1000.00	10000.00	1100.05	11000.50
0034	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	2 EA	550.00	1100.00	487.00	974.00
0035	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	4 EA	600.00	2400.00	487.00	1948.00
0036	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	4 EA	600.00	2400.00	487.00	1948.00
0037	2549000000-E	846	2'-6" CONC CURB & GUTTER	1,030 LF	14.35	14780.50	16.50	16995.00
0038	2556000000-E	846	SHOULDER BERM GUTTER	8 LF	15.45	123.60	20.00	160.00

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

				BLYTHE CONSTRUCTION, INC.		SUNBELT STRUCTURES, INC.		BLYTHE DEVELOPMENT CO.			
				CHARLOTTE, NC		TUCKER, GA		CHARLOTTE, NC			
0039	2591000000-E	848	4" CONCRETE SIDEWALK	300	SY	24.41	7323.00	30.00	9000.00	45.00	13500.00
0040	2605000000-N	848	CONCRETE CURB RAMP	3	EA	515.75	1547.25	700.00	2100.00	2000.00	6000.00
0041	2612000000-E	848	6" CONCRETE DRIVEWAY	120	SY	34.10	4092.00	40.00	4800.00	72.00	8640.00
0042	2830000000-N	858	ADJ MANHOLES	3	EA	500.00	1500.00	728.00	2184.00	500.00	1500.00
0043	2845000000-N	858	ADJ METER OR VALVE BOXES	1	EA	600.00	600.00	550.00	550.00	350.00	350.00
0044	3030000000-E	862	STL BM GUARDRAIL	62.5	LF	15.00	937.50	15.00	937.50	15.00	937.50
0045	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00	11.00	55.00	11.00	55.00
0046	3165000000-N	SP	GR ANCHOR TYPE ***** (350 TL-2)	4	EA	1550.00	6200.00	1435.00	5740.00	1550.00	6200.00
0047	3215000000-N	862	GR ANCHOR TYPE III	4	EA	1400.00	5600.00	1100.00	4400.00	1400.00	5600.00
0048	3360000000-E	863	REMOVE EXISTING GUARDRAIL	230	LF	1.00	230.00	3.00	690.00	1.00	230.00
0049	3569000000-E	867	BARBED WIRE FENCE RESET	60	LF	5.00	300.00	5.00	300.00	5.00	300.00
0050	3572000000-E	867	CHAIN LINK FENCE RESET	70	LF	8.00	560.00	8.00	560.00	8.00	560.00
0051	3635000000-E	876	RIP RAP, CLASS II	31	TON	50.00	1550.00	50.00	1550.00	31.00	961.00
0052	3649000000-E	876	RIP RAP, CLASS B	10	TON	50.00	500.00	90.00	900.00	65.00	650.00
0053	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	502	SY	2.50	1255.00	3.05	1531.10	2.00	1004.00
0054	4400000000-E	1110	WORK ZONE SIGNS (STAT)	456	SF	4.65	2120.40	3.95	1801.20	4.65	2120.40
0055	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	8.85	849.60	7.80	748.80	8.85	849.60
0056	4410000000-E	1110	WORK ZONE SIGNS (BARR)	155	SF	6.05	937.75	5.00	775.00	6.05	937.75
0057	4430000000-N	1130	DRUMS	50	EA	46.00	2300.00	41.50	2075.00	46.00	2300.00
0058	4435000000-N	1135	CONES	50	EA	15.85	792.50	15.25	762.50	15.85	792.50
0059	4445000000-E	1145	BARRICADES (TYPE III)	160	LF	18.00	2880.00	18.00	2880.00	18.00	2880.00
0060	4450000000-N	1150	FLAGGER	640	HR	20.00	12800.00	24.00	15360.00	20.00	12800.00
0061	4510000000-N	SP	LAW ENFORCEMENT	200	HR	30.00	6000.00	55.00	11000.00	35.00	7000.00
0062	4516000000-N	1180	SKINNY DRUM	70	EA	29.00	2030.00	26.50	1855.00	29.00	2030.00
0063	4650000000-N	1251	TEMP RAISED PVMT MRKS	48	EA	10.00	480.00	10.00	480.00	10.00	480.00
0064	4810000000-E	1205	PAINT PVMT MARKINGS 4"	11,450	LF	0.30	3435.00	0.30	3435.00	0.30	3435.00
0065	4835000000-E	1205	PAINT PVT MKG LINES 24"	20	LF	25.00	500.00	25.00	500.00	25.00	500.00
0066	4845000000-N	1205	PAINT PVT MKG SYMBOL	14	EA	75.00	1050.00	75.00	1050.00	75.00	1050.00
0067	5326600000-E	1510	16" WATER LINE	685	LF	175.00	119875.00	233.21	159748.85	191.00	130835.00
0068	5558600000-E	1515	16" VALVE	3	EA	5500.00	16500.00	5500.26	16500.78	6000.00	18000.00
0069	5589200000-E	1515	2" AIR RELEASE VALVE	1	EA	2000.00	2000.00	2200.10	2200.10	1825.00	1825.00
0070	5692000000-E	1520	30" SANITARY GRAVITY SEWER	120	LF	400.00	48000.00	561.02	67322.40	205.00	24600.00
0071	5776000000-E	1525	5' DIA UTILITY MANHOLE	1	EA	3500.00	3500.00	9350.43	9350.43	2180.00	2180.00
0072	5777000000-E	1525	6' DIA UTILITY MANHOLE	1	EA	3000.00	3000.00	9900.46	9900.46	3360.00	3360.00
0073	5782000000-E	1525	UTILITY MANHOLE WALL, 5' DIA	7.2	LF	300.00	2160.00	198.01	1425.67	178.00	1281.60
0074	5783000000-E	1525	UTILITY MANHOLE WALL, 6' DIA	8.5	LF	270.00	2295.00	220.01	1870.09	194.00	1649.00
0075	5810000000-E	1530	ABANDON 16" UTILITY PIPE	681	LF	12.00	8172.00	15.40	10487.40	9.25	6299.25
0076	5814000000-E	1530	ABANDON 30" UTILITY PIPE	128	LF	35.00	4480.00	44.00	5632.00	21.00	2688.00
0077	5828000000-N	1530	REMOVE UTILITY MANHOLE	2	EA	500.00	1000.00	660.03	1320.06	1100.00	2200.00

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

				BLYTHE CONSTRUCTION, INC.		SUNBELT STRUCTURES, INC.		BLYTHE DEVELOPMENT CO.		
				CHARLOTTE, NC		TUCKER, GA		CHARLOTTE, NC		
0078	5835000000-E	1540	*** ENCASEMENT PIPE (48")	110 LF	275.00	30250.00	211.21	23233.10	265.00	29150.00
0079	5836000000-E	1540	24" ENCASEMENT PIPE	192 LF	75.00	14400.00	330.01	63361.92	73.25	14064.00
0080	5871900000-E	1550	16" TRENCHLESS INSTALL (IN SOIL)	96 LF	200.00	19200.00	165.01	15840.96	195.00	18720.00
0081	5871910000-E	1550	16" TRENCHLESS INSTALL (NOT IN SOIL)	96 LF	500.00	48000.00	1045.05	100324.80	488.00	46848.00
0082	6000000000-E	1605	TEMPORARY SILT FENCE	1,110 LF	1.85	2053.50	1.59	1764.90	2.00	2220.00
0083	6006000000-E	1610	EROS CONTRL STONE CL A	250 TON	40.00	10000.00	28.60	7150.00	22.00	5500.00
0084	6009000000-E	1610	EROS CONTRL STONE CL B	140 TON	40.00	5600.00	39.60	5544.00	26.00	3640.00
0085	6012000000-E	1610	SEDIMENT CONTROL STONE	125 TON	40.00	5000.00	47.30	5912.50	30.00	3750.00
0086	6015000000-E	1615	TEMPORARY MULCHING	3 ACR	475.00	1425.00	599.00	1797.00	900.00	2700.00
0087	6018000000-E	1620	SEED FOR TEMP SEEDING	100 LB	1.40	140.00	2.39	239.00	2.30	230.00
0088	6021000000-E	1620	FERT FOR TEMP SEEDING	1.5 TON	1000.00	1500.00	875.00	1312.50	795.00	1192.50
0089	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200 LF	16.00	3200.00	11.00	2200.00	11.00	2200.00
0090	6029000000-E	SP	SAFETY FENCE	100 LF	1.20	120.00	1.39	139.00	2.00	200.00
0091	6030000000-E	1630	SILT EXCAVATION	400 CY	12.00	4800.00	6.60	2640.00	2.00	800.00
0092	6036000000-E	1631	MATTING FOR EROS CONTROL	4,000 SY	1.00	4000.00	1.40	5600.00	0.90	3600.00
0093	6037000000-E	SP	COIR FIBER MAT	30 SY	4.00	120.00	5.75	172.50	5.50	165.00
0094	6038000000-E	SP	PERM SOIL REINF MAT	2,907 SY	3.50	10174.50	5.85	17005.95	4.20	12209.40
0095	6042000000-E	1632	1/4" HARDWARE CLOTH	455 LF	4.50	2047.50	3.74	1701.70	3.50	1592.50
0096	6071030000-E	1640	COIR FIBER BAFFLE	165 LF	6.60	1089.00	4.95	816.75	8.00	1320.00
0097	6071050000-E	SP	*** SKIMMER (1-1/2")	3 EA	800.00	2400.00	1078.05	3234.15	70.00	210.00
0098	6084000000-E	1660	SEEDING AND MULCHING	3 ACR	1600.00	4800.00	1349.00	4047.00	1600.00	4800.00
0099	6087000000-E	1660	MOWING	3 ACR	35.00	105.00	55.00	165.00	1.00	3.00
0100	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	2.00	100.00	3.69	184.50	3.50	175.00
0101	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	1100.00	275.00	925.00	231.25	795.00	198.75
0102	6096000000-E	1662	SEED FOR SUPP SEEDING	75 LB	1.60	120.00	3.14	235.50	2.70	202.50
0103	6108000000-E	1665	FERTILIZER TOPDRESSING	2 TON	1100.00	2200.00	900.00	1800.00	755.00	1510.00
0104	6114500000-N	1667	SPECIALIZED HAND MOWING	10 MHR	35.00	350.00	22.00	220.00	1.00	10.00
0105	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18 EA	10.00	180.00	235.00	4230.00	1.00	18.00
STRUCTURE ITEMS										
0106	8035000000-N	402	REMV EXIST STR ***** (22+60.00-L-)	Lump Sum		45000.00		20450.35		18000.00
0107	8096000000-E	450	PILE EXCAVATION IN SOIL	66 LF	350.00	23100.00	335.89	22168.74	400.00	26400.00
0108	8097000000-E	450	PILE EXCAVATION NOT IN SOIL	66 LF	350.00	23100.00	498.11	32875.26	426.00	28116.00
0109	8121000000-N	412	UNCL STR EXCAV STA ***** (22+60.00-L-)	Lump Sum		12000.00		6653.30		5000.00
0110	8156000000-E	SP	CONCRETE WEARING SURFACE	4,049 SF	10.00	40490.00	8.98	36360.02	14.00	56686.00
0111	8161000000-E	420	GROOVING BRIDGE FLOORS	4,739 SF	0.53	2511.67	0.50	2369.50	1.00	4739.00
0112	8175000000-E	420	CLASS AA CONC (BRIDGE)	51 CY	550.00	28050.00	600.94	30647.94	425.00	21675.00
0113	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	84.1 CY	750.00	63075.00	334.44	28126.40	950.00	79895.00

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

		BLYTHE CONSTRUCTION, INC.		SUNBELT STRUCTURES, INC.		BLYTHE DEVELOPMENT CO.			
		CHARLOTTE, NC		TUCKER, GA		CHARLOTTE, NC			
0114	821000000-N	422	BRG APPR SLAB ***** (22+60.00-L-)	Lump Sum	35000.00	46134.99	35000.00		
0115	821700000-E	425	REINF STEEL (BRIDGE)	12,081 LB	1.00	12081.00	1.00	12081.00	
0116	822400000-E	425	EPOXY COAT REINF STL BRDG	2,025 LB	1.25	2531.25	1.06	2146.50	
0117	836400000-E	450	HP12X53 PILES	260 LF	70.00	18200.00	57.00	14820.00	
0118	838420000-E	450	HP14X73 GALV PILES	220 LF	85.00	18700.00	59.75	13145.00	
0119	848200000-E	460	THREE BAR METAL RAIL	159 LF	150.00	23850.00	181.02	28782.18	
0120	860800000-E	876	RIP RAP II (2'-0")	535 TON	50.00	26750.00	39.63	21202.05	
0121	862200000-E	876	GEOTEXTILE FOR DRAINAGE	595 SY	2.50	1487.50	2.00	1190.00	
0122	865700000-N	430	ELASTOMERIC BEARINGS	Lump Sum	14700.00	9223.20	8000.00		
0123	876300000-E	430	3'-0" X 2'-0"PRESTR SLABS	1,748.34 LF	135.00	236025.90	117.06	204660.68	
		CONTRACT TOTAL		TOTAL	1548097.92	TOTAL	1572826.34	TOTAL	1577311.16
		ROADWAY ITEMS		SUB-TOTAL	921445.60	SUB-TOTAL	1040755.71	SUB-TOTAL	929140.25
		STRUCTURE ITEMS		SUB-TOTAL	626652.32	SUB-TOTAL	532070.63	SUB-TOTAL	648170.91

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

			DELLINGER, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.	
			MONROE, NC		CHARLOTTE, NC	
ROADWAY ITEMS						
0001	0000100000-N	800 MOBILIZATION	Lump Sum	80000.00		85500.00
0002	0000400000-N	801 CONSTRUCTION SURVEYING	Lump Sum	7000.00		7500.00
0003	0030000000-N	SP BRG APP SUB REG TIER** (22+60.00)	Lump Sum	7000.00		15000.00
0004	0043000000-N	226 GRADING	Lump Sum	110000.00		56485.00
0005	0050000000-E	226 SUPP CLEARING & GRUBBING	1 ACR	1.00	1.00	3850.18
0006	0057000000-E	226 UNDERCUT EXCAVATION	500 CY	6.00	3000.00	6.60
0007	0134000000-E	240 DRAINAGE DITCH EXCAVATION	60 CY	9.00	540.00	11.00
0008	0195000000-E	265 SELECT GRANULAR MATERIAL	500 CY	17.00	8500.00	2.75
0009	0196000000-E	270 GEOTEXTILE SOIL STABILIZATION	800 SY	2.00	1600.00	4.95
0010	0318000000-E	300 FND CONDIT MATL MINOR STRS	261 TON	32.00	8352.00	13.20
0011	0320000000-E	300 FND CONDIT GEOTEXTILE	455 SY	2.00	910.00	2.48
0012	0344000000-E	310 18" SIDE DRAIN PIPE	84 LF	29.00	2436.00	37.40
0013	0448200000-E	310 15" RCP CULV CLASS IV	340 LF	33.00	11220.00	33.00
0014	0448400000-E	310 24" RCP CULV CLASS IV	328 LF	45.00	14760.00	37.40
0015	0582000000-E	310 15" CS PIPE CULV 0.064"	32 LF	37.00	1184.00	44.00
0016	0594000000-E	310 24" CS PIPE CULV 0.064"	32 LF	45.00	1440.00	47.30
0017	0995000000-E	340 PIPE REMOVAL	208 LF	8.50	1768.00	6.60
0018	1099500000-E	505 SHALLOW UNDERCUT	70 CY	12.00	840.00	14.30
0019	1099700000-E	505 CLASS IV SUBGRD STABILIZATION	380 TON	20.00	7600.00	36.30
0020	1220000000-E	545 INCIDENTAL STONE BASE	200 TON	23.00	4600.00	36.30
0021	1308000000-E	607 MILLN ASPHALT PVMT ***** - ***** (0" TO 3")	930 SY	20.00	18600.00	2.25
0022	1330000000-E	607 INCIDENTAL MILLING	830 SY	20.00	16600.00	2.95
0023	1489000000-E	610 ASP CONC BASE CRS B25.0B	430 TON	44.75	19242.50	44.75
0024	1498000000-E	610 ASP CONC INTR CRS I19.0B	350 TON	43.50	15225.00	43.50
0025	1519000000-E	610 ASP CONC SURF CRS S9.5B	695 TON	43.75	30406.25	43.75
0026	1575000000-E	620 ASP FOR PLANT MIX	80 TON	650.00	52000.00	650.00
0027	1693000000-E	654 ASPH PLT MIX PVMT REPAIR	50 TON	150.00	7500.00	150.00
0028	2022000000-E	815 SUBDRAIN EXCAVATION	45 CY	4.00	180.00	17.60
0029	2033000000-E	815 SUBDRAIN FINE AGGREGATE	34 CY	14.00	476.00	36.30
0030	2044000000-E	815 6" PERF SUBDRN PIPE	200 LF	2.50	500.00	11.00
0031	2070000000-N	815 SUBDRN PIPE OUTLET	1 EA	175.00	175.00	247.51
0032	2077000000-E	815 6" OUTLET PIPE	6 LF	2.50	15.00	14.30
0033	2286000000-N	840 MASNRY DRAINAGE STRUCT	10 EA	1500.00	15000.00	1100.05
0034	2374000000-N	840 FRAME-GRT-HD 840.03 ** (E)	2 EA	390.00	780.00	500.00
0035	2374000000-N	840 FRAME-GRT-HD 840.03 ** (F)	4 EA	400.00	1600.00	500.00
0036	2374000000-N	840 FRAME-GRT-HD 840.03 ** (G)	4 EA	400.00	1600.00	500.00
0037	2549000000-E	846 2'-6" CONC CURB & GUTTER	1,030 LF	16.00	16480.00	14.35
0038	2556000000-E	846 SHOULDER BERM GUTTER	8 LF	50.00	400.00	15.45

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

				DELLINGER, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.			
				MONROE, NC		CHARLOTTE, NC			
0039	2591000000-E	848	4" CONCRETE SIDEWALK	300	SY	24.00	7200.00	24.41	7323.00
0040	2605000000-N	848	CONCRETE CURB RAMP	3	EA	885.00	2655.00	515.75	1547.25
0041	2612000000-E	848	6" CONCRETE DRIVEWAY	120	SY	58.00	6960.00	34.10	4092.00
0042	2830000000-N	858	ADJ MANHOLES	3	EA	475.00	1425.00	1000.00	3000.00
0043	2845000000-N	858	ADJ METER OR VALVE BOXES	1	EA	140.00	140.00	1000.00	1000.00
0044	3030000000-E	862	STL BM GUARDRAIL	62.5	LF	15.00	937.50	17.00	1062.50
0045	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	11.00	55.00	25.00	125.00
0046	3165000000-N	SP	GR ANCHOR TYPE ***** (350 TL-2)	4	EA	1550.00	6200.00	1250.00	5000.00
0047	3215000000-N	862	GR ANCHOR TYPE III	4	EA	1400.00	5600.00	1600.00	6400.00
0048	3360000000-E	863	REMOVE EXISTING GUARDRAIL	230	LF	2.00	460.00	2.00	460.00
0049	3569000000-E	867	BARBED WIRE FENCE RESET	60	LF	5.00	300.00	6.00	360.00
0050	3572000000-E	867	CHAIN LINK FENCE RESET	70	LF	10.00	700.00	12.00	840.00
0051	3635000000-E	876	RIP RAP, CLASS II	31	TON	31.00	961.00	40.00	1240.00
0052	3649000000-E	876	RIP RAP, CLASS B	10	TON	65.00	650.00	40.00	400.00
0053	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	502	SY	2.00	1004.00	4.00	2008.00
0054	4400000000-E	1110	WORK ZONE SIGNS (STAT)	456	SF	4.00	1824.00	10.00	4560.00
0055	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	8.00	768.00	10.00	960.00
0056	4410000000-E	1110	WORK ZONE SIGNS (BARR)	155	SF	6.00	930.00	35.00	5425.00
0057	4430000000-N	1130	DRUMS	50	EA	40.00	2000.00	50.00	2500.00
0058	4435000000-N	1135	CONES	50	EA	20.00	1000.00	25.00	1250.00
0059	4445000000-E	1145	BARRICADES (TYPE III)	160	LF	20.00	3200.00	25.00	4000.00
0060	4450000000-N	1150	FLAGGER	640	HR	21.00	13440.00	50.00	32000.00
0061	4510000000-N	SP	LAW ENFORCEMENT	200	HR	45.00	9000.00	50.00	10000.00
0062	4516000000-N	1180	SKINNY DRUM	70	EA	30.00	2100.00	25.00	1750.00
0063	4650000000-N	1251	TEMP RAISED PVMT MRKS	48	EA	10.00	480.00	10.00	480.00
0064	4810000000-E	1205	PAINT PVMT MARKINGS 4"	11,450	LF	0.30	3435.00	0.30	3435.00
0065	4835000000-E	1205	PAINT PVT MKG LINES 24"	20	LF	25.00	500.00	25.00	500.00
0066	4845000000-N	1205	PAINT PVT MKG SYMBOL	14	EA	75.00	1050.00	75.00	1050.00
0067	5326600000-E	1510	16" WATER LINE	685	LF	260.00	178100.00	233.21	159748.85
0068	5558600000-E	1515	16" VALVE	3	EA	4600.00	13800.00	5500.26	16500.78
0069	5589200000-E	1515	2" AIR RELEASE VALVE	1	EA	3000.00	3000.00	2200.10	2200.10
0070	5692000000-E	1520	30" SANITARY GRAVITY SEWER	120	LF	325.00	39000.00	561.02	67322.40
0071	5776000000-E	1525	5' DIA UTILITY MANHOLE	1	EA	2700.00	2700.00	9350.43	9350.43
0072	5777000000-E	1525	6' DIA UTILITY MANHOLE	1	EA	5200.00	5200.00	9900.46	9900.46
0073	5782000000-E	1525	UTILITY MANHOLE WALL, 5' DIA	7.2	LF	290.00	2088.00	198.01	1425.67
0074	5783000000-E	1525	UTILITY MANHOLE WALL, 6' DIA	8.5	LF	395.00	3357.50	220.01	1870.09
0075	5810000000-E	1530	ABANDON 16" UTILITY PIPE	681	LF	15.00	10215.00	15.40	10487.40
0076	5814000000-E	1530	ABANDON 30" UTILITY PIPE	128	LF	24.00	3072.00	44.00	5632.00
0077	5828000000-N	1530	REMOVE UTILITY MANHOLE	2	EA	1500.00	3000.00	660.03	1320.06

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

					DELLINGER, INC.	LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
					MONROE, NC	CHARLOTTE, NC		
0078	5835000000-E	1540	*** ENCASEMENT PIPE (48")	110 LF	325.00	35750.00	211.21	23233.10
0079	5836000000-E	1540	24" ENCASEMENT PIPE	192 LF	57.00	10944.00	330.01	63361.92
0080	5871900000-E	1550	16" TRENCHLESS INSTALL (IN SOIL)	96 LF	100.00	9600.00	165.01	15840.96
0081	5871910000-E	1550	16" TRENCHLESS INSTALL (NOT IN SOIL)	96 LF	450.00	43200.00	1045.05	100324.80
0082	6000000000-E	1605	TEMPORARY SILT FENCE	1,110 LF	2.00	2220.00	2.00	2220.00
0083	6006000000-E	1610	EROS CONTRL STONE CL A	250 TON	22.00	5500.00	28.60	7150.00
0084	6009000000-E	1610	EROS CONTRL STONE CL B	140 TON	26.00	3640.00	39.60	5544.00
0085	6012000000-E	1610	SEDIMENT CONTROL STONE	125 TON	30.00	3750.00	47.30	5912.50
0086	6015000000-E	1615	TEMPORARY MULCHING	3 ACR	900.00	2700.00	475.00	1425.00
0087	6018000000-E	1620	SEED FOR TEMP SEEDING	100 LB	2.30	230.00	1.40	140.00
0088	6021000000-E	1620	FERT FOR TEMP SEEDING	1.5 TON	795.00	1192.50	1000.00	1500.00
0089	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200 LF	11.00	2200.00	11.00	2200.00
0090	6029000000-E	SP	SAFETY FENCE	100 LF	2.00	200.00	2.00	200.00
0091	6030000000-E	1630	SILT EXCAVATION	400 CY	2.00	800.00	6.60	2640.00
0092	6036000000-E	1631	MATTING FOR EROS CONTROL	4,000 SY	0.90	3600.00	2.00	8000.00
0093	6037000000-E	SP	COIR FIBER MAT	30 SY	5.50	165.00	4.00	120.00
0094	6038000000-E	SP	PERM SOIL REINF MAT	2,907 SY	4.20	12209.40	4.00	11628.00
0095	6042000000-E	1632	1/4" HARDWARE CLOTH	455 LF	3.50	1592.50	4.68	2129.40
0096	6071030000-E	1640	COIR FIBER BAFFLE	165 LF	8.00	1320.00	9.90	1633.50
0097	6071050000-E	SP	*** SKIMMER (1-1/2")	3 EA	70.00	210.00	1078.05	3234.15
0098	6084000000-E	1660	SEEDING AND MULCHING	3 ACR	1600.00	4800.00	1600.00	4800.00
0099	6087000000-E	1660	MOWING	3 ACR	50.00	150.00	35.00	105.00
0100	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	3.50	175.00	2.00	100.00
0101	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	795.00	198.75	1100.00	275.00
0102	6096000000-E	1662	SEED FOR SUPP SEEDING	75 LB	2.70	202.50	1.60	120.00
0103	6108000000-E	1665	FERTILIZER TOPDRESSING	2 TON	755.00	1510.00	1100.00	2200.00
0104	6114500000-N	1667	SPECIALIZED HAND MOWING	10 MHR	20.00	200.00	35.00	350.00
0105	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18 EA	100.00	1800.00	10.00	180.00
STRUCTURE ITEMS								
0106	8035000000-N	402	REMV EXIST STR ***** (22+60.00-L-)	Lump Sum		39000.00		30000.00
0107	8096000000-E	450	PILE EXCAVATION IN SOIL	66 LF	340.00	22440.00	200.00	13200.00
0108	8097000000-E	450	PILE EXCAVATION NOT IN SOIL	66 LF	340.00	22440.00	600.00	39600.00
0109	8121000000-N	412	UNCL STR EXCAV STA ***** (22+60.00-L-)	Lump Sum		3450.00		30000.00
0110	8156000000-E	SP	CONCRETE WEARING SURFACE	4,049 SF	10.00	40490.00	20.00	80980.00
0111	8161000000-E	420	GROOVING BRIDGE FLOORS	4,739 SF	1.00	4739.00	0.50	2369.50
0112	8175000000-E	420	CLASS AA CONC (BRIDGE)	51 CY	500.00	25500.00	650.00	33150.00
0113	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	84.1 CY	900.00	75690.00	600.00	50460.00

FED AID NO BRSTP-3168(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER IRVINS CREEK AND APPROACHES ON SR-3168 (SAM NEWELL RD) IN MATTHEWS.

		DELLINGER, INC.		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		
		MONROE, NC		CHARLOTTE, NC		
0114	821000000-N	422	BRG APPR SLAB ***** (22+60.00-L-)	Lump Sum	42000.00	30000.00
0115	821700000-E	425	REINF STEEL (BRIDGE)	12,081 LB	1.00	12081.00
0116	822400000-E	425	EPOXY COAT REINF STL BRDG	2,025 LB	2.00	4050.00
0117	836400000-E	450	HP12X53 PILES	260 LF	62.00	16120.00
0118	838420000-E	450	HP14X73 GALV PILES	220 LF	77.00	16940.00
0119	848200000-E	460	THREE BAR METAL RAIL	159 LF	190.00	30210.00
0120	860800000-E	876	RIP RAP II (2'-0")	535 TON	27.00	14445.00
0121	862200000-E	876	GEOTEXTILE FOR DRAINAGE	595 SY	2.00	1190.00
0122	865700000-N	430	ELASTOMERIC BEARINGS	Lump Sum	10000.00	7500.00
0123	876300000-E	430	3'-0" X 2'-0"PRESTR SLABS	1,748.34 LF	161.00	281482.74
		CONTRACT TOTAL		TOTAL	1620365.14	TOTAL 1710758.86
		ROADWAY ITEMS		SUB-TOTAL	958097.40	SUB-TOTAL 1054654.16
		STRUCTURE ITEMS		SUB-TOTAL	662267.74	SUB-TOTAL 656104.70
		BIDDERS IN ORDER		CONTRACT TOTAL		
		BLYTHE CONSTRUCTION, INC.		1	1548097.92	
		SUNBELT STRUCTURES, INC.		2	1572826.34	
		BLYTHE DEVELOPMENT CO.		3	1577311.16	
		DELLINGER, INC.		4	1620365.14	
		LEE CONSTRUCTION COMPANY OF THE CAROLINAS, INC.		5	1710758.86	

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

2 SECTIONS OF US-74, 1 SECTION OF US-52 AND NC-742, AND 2 SECTIONS OF SECONDARY ROADS.

			BOGGS PAVING, INC.	J. T. RUSSELL & SONS, INC.		BARNHILL CONTRACTING COMPANY		
			MONROE, NC	ALBEMARLE, NC		TARBORO, NC		
ROADWAY ITEMS								
0001	0000100000-N	800 MOBILIZATION	Lump Sum		209000.00		75000.00	208760.00
0002	0106000000-E	230 BORROW EXCAVATION	2,635 CY	9.00	23715.00	18.00	47430.00	61527.25
0003	1110000000-E	510 STABILIZER AGGREGATE	1,328 TON	5.00	6640.00	22.00	29216.00	19920.00
0004	1220000000-E	545 INCIDENTAL STONE BASE	997 TON	25.00	24925.00	38.00	37886.00	31754.45
0005	1243000000-E	SP SHOULDER CONSTRUCTION	4.6 SMI	2000.00	9200.00	2400.00	11040.00	3785.00
0006	1245000000-E	SP SHOULDER RECONSTRUCTION	29.5 SMI	2000.00	59000.00	3150.00	92925.00	1710.00
0007	1264000000-E	SP DITCHING	150 LF	1.00	150.00	3.00	450.00	11.50
0008	1297000000-E	607 MILL ASP PVMT ***** DTH (1-1/2")	34,000 SY	1.50	51000.00	1.15	39100.00	1.08
0009	1330000000-E	607 INCIDENTAL MILLING	425 SY	6.00	2550.00	8.25	3506.25	18.00
0010	1491000000-E	610 ASP CONC BASE CRS B25.0C	3,500 TON	40.00	140000.00	36.05	126175.00	42.85
0011	1503000000-E	610 ASP CONC INTR CRS I19.0C	15,800 TON	34.50	545100.00	35.49	560742.00	28.80
0012	1519000000-E	610 ASP CONC SURF CRS S9.5B	5,000 TON	39.00	195000.00	29.08	145400.00	31.10
0013	1520000000-E	SP ASP CONC SURF CRS S9.5B LEVEL	2,000 TON	36.00	72000.00	29.08	58160.00	39.45
0014	1523000000-E	610 ASP CONC SURF CRS S9.5C	22,975 TON	36.00	827100.00	33.92	779312.00	31.10
0015	1524000000-E	SP ASP CONC SURF CRS S9.5C LEVEL	950 TON	41.00	38950.00	37.05	35197.50	44.00
0016	1575000000-E	620 ASP FOR PLANT MIX	2,760 TON	500.00	1380000.00	615.00	1697400.00	635.65
0017	1704000000-E	SP PATCHING EXIST PAVEMENT	4,480 TON	85.00	380800.00	80.00	358400.00	85.00
0018	2612000000-E	848 6" CONCRETE DRIVEWAY	242 SY	40.00	9680.00	65.00	15730.00	90.00
0019	2830000000-N	858 ADJ MANHOLES	16 EA	500.00	8000.00	880.00	14080.00	740.00
0020	2845000000-N	858 ADJ METER OR VALVE BOXES	21 EA	435.00	9135.00	865.00	18165.00	440.00
0021	4399000000-N	1105 TEMP TRAFFIC CONTROL	Lump Sum		20000.00		10000.00	20000.00
0022	4685000000-E	1205 THERMO PVT MKG LINES 4"90	80,198 LF	0.41	32881.18	0.41	32881.18	0.50
0023	4686000000-E	1205 THERMO PVT MKG LINES 4"120	77,600 LF	0.53	41128.00	0.53	41128.00	0.60
0024	4695000000-E	1205 THERMO PVT MKG LINES 8"90 MILS	190 LF	2.00	380.00	2.00	380.00	5.00
0025	4710000000-E	1205 24"WIDE THERMO 120 MILS	560 LF	4.50	2520.00	4.50	2520.00	10.00
0026	4721000000-E	1205 THERMO PVT MKG CHARACTER 120	44 EA	120.00	5280.00	120.00	5280.00	100.00
0027	4725000000-E	1205 THERMO PVT SYMBOL 90MILS	68 EA	130.00	8840.00	130.00	8840.00	100.00
0028	4810000000-E	1205 PAINT PVMT MARKINGS 4"	492,150 LF	0.09	44293.50	0.09	44293.50	0.10
0029	4820000000-E	1205 PAINT PVMT MARKINGS 8"	80 LF	0.50	40.00	0.50	40.00	3.00
0030	4835000000-E	1205 PAINT PVT MKG LINES 24"	30 LF	3.00	90.00	3.00	90.00	10.00
0031	4900000000-N	1251 PERM RAISED PVMT MARKERS	2,803 EA	3.95	11071.85	3.95	11071.85	4.00
0032	5255000000-N	1413 PORTABLE LIGHTING	Lump Sum		10000.00		10000.00	10000.00
0033	6000000000-E	1605 TEMPORARY SILT FENCE	1,220 LF	1.85	2257.00	2.00	2440.00	2.50
0034	6009000000-E	1610 EROS CONTRL STONE CL B	366 TON	30.00	10980.00	38.00	13908.00	36.75
0035	6012000000-E	1610 SEDIMENT CONTROL STONE	183 TON	30.00	5490.00	38.00	6954.00	44.00
0036	6071010000-E	SP WATTLE	1,415 LF	4.37	6183.55	8.00	11320.00	5.00
0037	6071020000-E	SP POLYACRYLAMIDE (PAM)	4 LB	13.17	52.68	14.00	56.00	7.00
0038	6084000000-E	1660 SEEDING AND MULCHING	2.8 ACR	1475.00	4130.00	1475.00	4130.00	1475.00

APR 03, 2012 02:36 PM

ANSON

TIP NO

10CR.10041.39, 10CR.10041.40, 10CR.10041.41, 10CR.10041.42,
10CR.20041.36, 10CR.20041.37

2:00 PM 2 / 4 016

FEB 21 2012 C202936
18.020 MI

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

2 SECTIONS OF US-74, 1 SECTION OF US-52 AND NC-742, AND 2 SECTIONS OF SECONDARY ROADS.

CONTRACT TOTAL	TOTAL	4197562.76	TOTAL	4350647.28	TOTAL	4440865.70
ROADWAY ITEMS	SUB-TOTAL	4197562.76	SUB-TOTAL	4350647.28	SUB-TOTAL	4440865.70

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

2 SECTIONS OF US-74, 1 SECTION OF US-52 AND NC-742, AND 2 SECTIONS OF SECONDARY ROADS.

HUDSON PAVING, INC.

ROCKINGHAM, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		249000.00
0002	0106000000-E	230	BORROW EXCAVATION	2,635	CY	19.75 52041.25
0003	1110000000-E	510	STABILIZER AGGREGATE	1,328	TON	5.00 6640.00
0004	1220000000-E	545	INCIDENTAL STONE BASE	997	TON	14.00 13958.00
0005	1243000000-E	SP	SHOULDER CONSTRUCTION	4.6	SMI	3075.00 14145.00
0006	1245000000-E	SP	SHOULDER RECONSTRUCTION	29.5	SMI	2200.00 64900.00
0007	1264000000-E	SP	DITCHING	150	LF	19.00 2850.00
0008	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	34,000	SY	1.95 66300.00
0009	1330000000-E	607	INCIDENTAL MILLING	425	SY	15.00 6375.00
0010	1491000000-E	610	ASP CONC BASE CRS B25.0C	3,500	TON	49.00 171500.00
0011	1503000000-E	610	ASP CONC INTR CRS I19.0C	15,800	TON	42.00 663600.00
0012	1519000000-E	610	ASP CONC SURF CRS S9.5B	5,000	TON	39.80 199000.00
0013	1520000000-E	SP	ASP CONC SURF CRS S9.5B LEVEL	2,000	TON	45.00 90000.00
0014	1523000000-E	610	ASP CONC SURF CRS S9.5C	22,975	TON	42.50 976437.50
0015	1524000000-E	SP	ASP CONC SURF CRS S9.5C LEVEL	950	TON	49.50 47025.00
0016	1575000000-E	620	ASP FOR PLANT MIX	2,760	TON	675.00 1863000.00
0017	1704000000-E	SP	PATCHING EXIST PAVEMENT	4,480	TON	119.00 533120.00
0018	2612000000-E	848	6" CONCRETE DRIVEWAY	242	SY	95.00 22990.00
0019	2830000000-N	858	ADJ MANHOLES	16	EA	95.00 1520.00
0020	2845000000-N	858	ADJ METER OR VALVE BOXES	21	EA	75.00 1575.00
0021	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		34000.00
0022	4685000000-E	1205	THERMO PVT MKG LINES 4"90	80,198	LF	0.50 40099.00
0023	4686000000-E	1205	THERMO PVT MKG LINES 4"120	77,600	LF	0.60 46560.00
0024	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	190	LF	5.00 950.00
0025	4710000000-E	1205	24"WIDE THERMO 120 MILS	560	LF	10.00 5600.00
0026	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	44	EA	100.00 4400.00
0027	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	68	EA	100.00 6800.00
0028	4810000000-E	1205	PAINT PVMT MARKINGS 4"	492,150	LF	0.10 49215.00
0029	4820000000-E	1205	PAINT PVMT MARKINGS 8"	80	LF	3.00 240.00
0030	4835000000-E	1205	PAINT PVT MKG LINES 24"	30	LF	10.00 300.00
0031	4900000000-N	1251	PERM RAISED PVMT MARKERS	2,803	EA	4.00 11212.00
0032	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum		18000.00
0033	6000000000-E	1605	TEMPORARY SILT FENCE	1,220	LF	2.50 3050.00
0034	6009000000-E	1610	EROS CONTRL STONE CL B	366	TON	25.00 9150.00
0035	6012000000-E	1610	SEDIMENT CONTROL STONE	183	TON	21.00 3843.00
0036	6071010000-E	SP	WATTLE	1,415	LF	5.00 7075.00
0037	6071020000-E	SP	POLYACRYLAMIDE (PAM)	4	LB	7.00 28.00
0038	6084000000-E	1660	SEEDING AND MULCHING	2.8	ACR	1475.00 4130.00

APR 03, 2012 02:36 PM

ANSON

TIP NO

10CR.10041.39, 10CR.10041.40, 10CR.10041.41, 10CR.10041.42,
10CR.20041.36, 10CR.20041.37

2:00 PM 4 / 4 016

FEB 21 2012 C202936
18.020 MI

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING, AND SHOULDER RECONSTRUCTION.

2 SECTIONS OF US-74, 1 SECTION OF US-52 AND NC-742, AND 2 SECTIONS OF SECONDARY ROADS.

CONTRACT TOTAL

TOTAL 5290628.75

ROADWAY ITEMS

SUB-TOTAL 5290628.75

BIDDERS IN ORDER

CONTRACT TOTAL

BOGGS PAVING, INC.	1	4197562.76
J. T. RUSSELL & SONS, INC.	2	4350647.28
BARNHILL CONTRACTING COMPANY	3	4440865.70
HUDSON PAVING, INC.	4	5290628.75

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING & SHOULDER RECONSTRUCTION.

NC-8 FROM SR-1638 TO JOINT BEFORE NC-49, NC-24/27 FROM NC-740 TO MP 19.83 & 4 SECTIONS OF SECONDARY ROADS.

J. T. RUSSELL & SONS, INC.

ALBEMARLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		116000.00
0002	0106000000-E	230	BORROW EXCAVATION	333 CY	20.00	6660.00
0003	1220000000-E	545	INCIDENTAL STONE BASE	578 TON	40.00	23120.00
0004	1243000000-E	SP	SHOULDER CONSTRUCTION	6.8 SMI	3100.00	21080.00
0005	1245000000-E	SP	SHOULDER RECONSTRUCTION	16.42 SMI	4100.00	67322.00
0006	1264000000-E	SP	DITCHING	1,360 LF	3.00	4080.00
0007	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	20,400 SY	1.50	30600.00
0008	1330000000-E	607	INCIDENTAL MILLING	830 SY	15.00	12450.00
0009	1491000000-E	610	ASP CONC BASE CRS B25.0C	1,691 TON	39.62	66997.42
0010	1503000000-E	610	ASP CONC INTR CRS I19.0C	7,236 TON	34.95	252898.20
0011	1519000000-E	610	ASP CONC SURF CRS S9.5B	9,193 TON	34.53	317434.29
0012	1520000000-E	SP	ASP CONC SURF CRS S9.5B LEVEL	950 TON	41.74	39653.00
0013	1523000000-E	610	ASP CONC SURF CRS S9.5C	6,273 TON	35.54	222942.42
0014	1575000000-E	620	ASP FOR PLANT MIX	1,405 TON	615.00	864075.00
0015	1704000000-E	SP	PATCHING EXIST PAVEMENT	2,250 TON	114.00	256500.00
0016	2612000000-E	848	6" CONCRETE DRIVEWAY	120 SY	75.00	9000.00
0017	2800000000-N	858	ADJ CATCH BASINS	1 EA	1100.00	1100.00
0018	2830000000-N	858	ADJ MANHOLES	2 EA	980.00	1960.00
0019	2845000000-N	858	ADJ METER OR VALVE BOXES	3 EA	970.00	2910.00
0020	4685000000-E	1205	THERMO PVT MKG LINES 4"90	78,902 LF	0.40	31560.80
0021	4686000000-E	1205	THERMO PVT MKG LINES 4"120	59,404 LF	0.52	30890.08
0022	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	400 LF	2.00	800.00
0023	4710000000-E	1205	24"WIDE THERMO 120 MILS	80 LF	4.50	360.00
0024	4721000000-E	1205	THERMO PVT MKG CHARACTER 120	13 EA	120.00	1560.00
0025	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	31 EA	130.00	4030.00
0026	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (II)	600 LF	4.50	2700.00
0027	4810000000-E	1205	PAINT PVMT MARKINGS 4"	286,458 LF	0.10	28645.80
0028	4850000000-E	1205	LINE REMOVAL 4" WIDE	600 LF	0.95	570.00
0029	4900000000-N	1251	PERM RAISED PVMT MARKERS	900 EA	3.95	3555.00
0030	6000000000-E	1605	TEMPORARY SILT FENCE	1,280 LF	1.95	2496.00
0031	6036000000-E	1631	MATTING FOR EROS CONTROL	3,136 SY	1.10	3449.60
0032	6071010000-E	SP	WATTLE	1,960 LF	3.75	7350.00
0033	6084000000-E	1660	SEEDING AND MULCHING	8.23 ACR	1700.00	13991.00

CONTRACT TOTAL TOTAL 2448740.61

ROADWAY ITEMS SUB-TOTAL 2448740.61

APR 03, 2012 02:36 PM

STANLY

TIP NO

10CR.10841.35, 10CR.10841.36, 10CR.20841.41, 10CR.20841.42,
10CR.20841.43, 10CR.20841.44

2:00 PM 2 / 2 017

FEB 21 2012 C202967
12.360 MI

FED AID NO STATE FUNDED

WIDENING, MILLING, RESURFACING & SHOULDER RECONSTRUCTION.

NC-8 FROM SR-1638 TO JOINT BEFORE NC-49, NC-24/27 FROM NC-740 TO MP 19.83 & 4 SECTIONS OF SECONDARY ROADS.

BIDDERS IN ORDER

J. T. RUSSELL & SONS, INC.

1

CONTRACT TOTAL

2448740.61

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

				TRI-COUNTY PAVING, INC.	JAMES R. VANNOY & SONS CONSTRUCTION CO., INC.	SMITH-ROWE, LLC	
				WEST JEFFERSON, NC	JEFFERSON, NC	MOUNT AIRY, NC	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	49450.00	40229.50	33500.00
0002	0030000000-N	SP	BRG APP SUB REG TIER** (17+52.50-L-)	Lump Sum	9680.00	9468.33	9680.00
0003	0043000000-N	226	GRADING	Lump Sum	39900.00	36620.00	46550.00
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1.00	1.00	1.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	100 CY	10.25	7.51	12.00
0006	0195000000-E	265	SELECT GRANULAR MATERIAL	100 CY	28.00	82.12	35.00
0007	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	200 SY	3.50	700.00	2.50
0008	0199000000-E	SP	TEMPORARY SHORING	120 SF	125.00	9938.40	15000.00
0009	0318000000-E	300	FND CONDIR MATL MINOR STRS	10 TON	28.00	269.70	300.00
0010	0320000000-E	300	FND CONDIR GEOTEXTILE	30 SY	3.50	95.40	900.00
0011	0335300000-E	305	18" DRAINAGE PIPE	40 LF	31.90	1664.40	2000.00
0012	0448200000-E	310	15" RCP CULV CLASS IV	48 LF	32.90	2088.96	2400.00
0013	1099500000-E	505	SHALLOW UNDERCUT	95 CY	8.00	715.35	1140.00
0014	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	125 TON	24.00	3251.25	3125.00
0015	1121000000-E	520	AGGREGATE BASE COURSE	85 TON	28.00	2382.55	2125.00
0016	1220000000-E	545	INCIDENTAL STONE BASE	50 TON	28.00	1407.00	1250.00
0017	1275000000-E	600	PRIME COAT	88 GAL	15.00	1452.00	1320.00
0018	1330000000-E	607	INCIDENTAL MILLING	55 SY	25.00	1929.95	1375.00
0019	1489000000-E	610	ASP CONC BASE CRS B25.0B	130 TON	80.60	11525.80	10478.00
0020	1498000000-E	610	ASP CONC INTR CRS I19.0B	90 TON	77.80	7724.70	7002.00
0021	1525000000-E	610	ASP CONC SURF CRS SF9.5A	150 TON	79.28	13081.50	11892.00
0022	1575000000-E	620	ASP FOR PLANT MIX	20 TON	695.00	15070.00	13900.00
0023	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	75 TON	50.00	4125.00	18750.00
0024	2022000000-E	815	SUBDRAIN EXCAVATION	22.4 CY	5.29	226.24	672.00
0025	2033000000-E	815	SUBDRAIN FINE AGGREGATE	16.8 CY	36.89	1435.73	588.00
0026	2044000000-E	815	6" PERF SUBDRN PIPE	100 LF	7.25	192.00	1000.00
0027	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	400.00	511.21	250.00
0028	2077000000-E	815	6" OUTLET PIPE	6 LF	12.00	86.22	180.00
0029	2286000000-N	840	MASNRY DRAINAGE STRUCT	1 EA	1400.00	1255.26	1400.00
0030	2367000000-N	840	FRAME W/2GRTS 840.29 STD	1 EA	395.00	489.47	575.00
0031	2556000000-E	846	SHOULDER BERM GUTTER	8 LF	25.00	578.80	800.00
0032	3000000000-N	SP	IMPACT ATTN TYPE 350	1 EA	12500.00	13750.00	12500.00
0033	3150000000-N	862	ADDIT GUARDRAIL POSTS	3 EA	25.00	36.30	33.00
0034	3215000000-N	862	GR ANCHOR TYPE III	3 EA	1300.00	4620.00	4200.00
0035	3270000000-N	SP	GR ANCHOR TYPE 350	3 EA	1900.00	2090.00	5700.00
0036	3387000000-N	862	TEMP GDRL ANCH UNITS ***** (III)	3 EA	900.00	880.00	800.00
0037	3387000000-N	862	TEMP GDRL ANCH UNITS ***** (W-BEAM)	1 EA	300.00	880.00	800.00
0038	3389100000-N	SP	TEMP GDRL ANCH UNITS 350	3 EA	850.00	2640.00	2400.00
0039	3649000000-E	876	RIP RAP, CLASS B	1 TON	32.00	107.07	100.00

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

				TRI-COUNTY PAVING, INC.		JAMES R. VANNOY & SONS CONSTRUCTION CO., INC.		SMITH-ROWE, LLC			
				WEST JEFFERSON, NC		JEFFERSON, NC		MOUNT AIRY, NC			
0040	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	355	SY	1.92	681.60	1.92	681.60	2.00	710.00
0041	4400000000-E	1110	WORK ZONE SIGNS (STAT)	196	SF	4.00	784.00	4.40	862.40	4.00	784.00
0042	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	7.80	748.80	8.58	823.68	12.00	1152.00
0043	4410000000-E	1110	WORK ZONE SIGNS (BARR)	20	SF	6.00	120.00	6.60	132.00	6.00	120.00
0044	4430000000-N	1130	DRUMS	20	EA	41.50	830.00	45.65	913.00	60.00	1200.00
0045	4435000000-N	1135	CONES	10	EA	15.25	152.50	16.78	167.80	35.00	350.00
0046	4445000000-E	1145	BARRICADES (TYPE III)	80	LF	16.50	1320.00	18.15	1452.00	16.50	1320.00
0047	4450000000-N	1150	FLAGGER	384	HR	17.79	6831.36	18.13	6961.92	20.00	7680.00
0048	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	1	EA	5000.00	5000.00	5500.00	5500.00	5000.00	5000.00
0049	4485000000-E	1170	PORT CONC BARRIER	80	LF	19.50	1560.00	26.66	2132.80	19.50	1560.00
0050	4516000000-N	1180	SKINNY DRUM	10	EA	26.50	265.00	29.15	291.50	60.00	600.00
0051	4609000000-N	SP	GENERIC TRAFFIC CONTROL ITEM (DAY) TEMPORARY TRAFFIC SIGNAL SYSTEM	150	DAY	138.75	20812.50	139.05	20857.50	1.00	150.00
0052	4810000000-E	1205	PAINT PVMT MARKINGS 4"	5,380	LF	0.45	2421.00	1.23	6617.40	0.45	2421.00
0053	4835000000-E	1205	PAINT PVT MKG LINES 24"	25	LF	10.00	250.00	11.00	275.00	10.00	250.00
0054	6000000000-E	1605	TEMPORARY SILT FENCE	600	LF	2.50	1500.00	1.69	1014.00	1.54	924.00
0055	6006000000-E	1610	EROS CONTRL STONE CL A	270	TON	30.25	8167.50	32.33	8729.10	28.00	7560.00
0056	6009000000-E	1610	EROS CONTRL STONE CL B	45	TON	32.00	1440.00	29.66	1334.70	28.00	1260.00
0057	6012000000-E	1610	SEDIMENT CONTROL STONE	50	TON	27.20	1360.00	25.97	1298.50	28.00	1400.00
0058	6015000000-E	1615	TEMPORARY MULCHING	0.5	ACR	640.00	320.00	657.80	328.90	598.00	299.00
0059	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	2.00	100.00	2.59	129.50	2.35	117.50
0060	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25	TON	1160.00	1450.00	962.50	1203.13	875.00	1093.75
0061	6029000000-E	SP	SAFETY FENCE	500	LF	2.36	1180.00	1.53	765.00	1.39	695.00
0062	6030000000-E	1630	SILT EXCAVATION	130	CY	4.83	627.90	6.77	880.10	10.00	1300.00
0063	6036000000-E	1631	MATting FOR EROS CONTROL	1,000	SY	1.50	1500.00	1.63	1630.00	1.48	1480.00
0064	6037000000-E	SP	COIR FIBER MAT	125	SY	2.65	331.25	6.33	791.25	6.00	750.00
0065	6042000000-E	1632	1/4" HARDWARE CLOTH	120	LF	3.99	478.80	4.11	493.20	5.00	600.00
0066	6071010000-E	SP	WATTLE	90	LF	7.33	659.70	6.55	589.50	5.95	535.50
0067	6071020000-E	SP	POLYACRYLAMIDE (PAM)	25	LB	13.00	325.00	13.20	330.00	12.00	300.00
0068	6071030000-E	1640	COIR FIBER BAFFLE	30	LF	8.30	249.00	5.21	156.30	4.74	142.20
0069	6071050000-E	SP	*** SKIMMER (1-1/2")	1	EA	843.61	843.61	1320.00	1320.00	900.00	900.00
0070	6084000000-E	1660	SEEDING AND MULCHING	1.5	ACR	2000.00	3000.00	1501.50	2252.25	1365.00	2047.50
0071	6087000000-E	1660	MOWING	0.25	ACR	500.00	125.00	60.52	15.13	55.00	13.75
0072	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	4.00	200.00	4.06	203.00	3.69	184.50
0073	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	1160.00	290.00	1017.52	254.38	925.00	231.25
0074	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	2.16	108.00	3.45	172.50	3.14	157.00
0075	6108000000-E	1665	FERTILIZER TOPDRESSING	0.25	TON	1160.00	290.00	990.00	247.50	900.00	225.00
0076	6111000000-E	SP	IMPERVIOUS DIKE	130	LF	39.42	5124.60	48.71	6332.30	50.00	6500.00
0077	6114500000-N	1667	SPECIALIZED HAND MOWING	20	MHR	39.52	790.40	24.20	484.00	22.00	440.00
0078	6117000000-N	SP	RESPONSE FOR EROS CONTROL	25	EA	294.41	7360.25	242.00	6050.00	220.00	5500.00

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

				TRI-COUNTY PAVING, INC.	JAMES R. VANNOY & SONS CONSTRUCTION CO., INC.		SMITH-ROWE, LLC				
				WEST JEFFERSON, NC	JEFFERSON, NC		MOUNT AIRY, NC				
0079	6123000000-E	1670	REFORESTATION	0.1	ACR	2900.00	290.00	3190.00	319.00	2900.00	290.00
0080	8847000000-E	SP	GENERIC RET WALL ITEM (SF) GABION AND RENO MATTRESS RETAINING WALLS	624	SF	45.00	28080.00	74.17	46282.08	111.68	69688.32
STRUCTURE ITEMS											
0081	8007000000-N	SP	CM&R TEMP STR ***** (17+52.50-L-)	Lump Sum			81500.00		110834.70		111000.00
0082	8035000000-N	402	REMV EXIST STR ***** (17+52.50-L-)	Lump Sum			15000.00		4755.05		34999.00
0083	8121000000-N	412	UNCL STR EXCAV STA ***** (17+52.50-L-)	Lump Sum			19100.00		2078.43		19100.00
0084	8156000000-E	SP	CONCRETE WEARING SURFACE	884.6	SF	16.99	15029.35	11.73	10376.36	16.99	15029.35
0085	8161000000-E	420	GROOVING BRIDGE FLOORS	1,320	SF	2.88	3801.60	4.08	5385.60	2.88	3801.60
0086	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	56.8	CY	604.91	34358.89	567.12	32212.42	604.91	34358.89
0087	8210000000-N	422	BRG APPR SLAB ***** (17+52.50-L-)	Lump Sum			17300.00		18379.06		17300.00
0088	8217000000-E	425	REINF STEEL (BRIDGE)	5,997	LB	1.04	6236.88	0.94	5637.18	1.04	6236.88
0089	8364000000-E	450	HP12X53 PILES	360	LF	10.00	3600.00	54.83	19738.80	10.00	3600.00
0090	8391000000-N	450	STEEL PILE POINTS	12	EA	197.50	2370.00	100.14	1201.68	197.50	2370.00
0091	8468000000-E	460	ONE BAR METAL RAIL	49.564	LF	269.00	13332.72	312.45	15486.27	269.00	13332.72
0092	8517000000-E	460	1'-****X*****CONC PARAPET (1'-0" X 1'-9 1/2")	65.42	LF	103.47	6769.01	132.98	8699.55	103.47	6769.01
0093	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			2250.00		2231.72		2250.00
0094	8692000000-N	SP	FOAM JOINT SEALS	Lump Sum			10125.00		10947.92		10125.00
0095	8755000000-E	430	3'-0"X 1'-6"PRESTR SLABS	327.08	LF	146.65	47966.28	135.76	44404.38	146.65	47966.28
CONTRACT TOTAL				TOTAL		597447.95		TOTAL	632251.13	TOTAL	677656.00
ROADWAY ITEMS				SUB-TOTAL		318708.22		SUB-TOTAL	339882.01	SUB-TOTAL	349417.27
STRUCTURE ITEMS				SUB-TOTAL		278739.73		SUB-TOTAL	292369.12	SUB-TOTAL	328238.73

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

TAYLOR & MURPHY
CONSTRUCTION CO, INC
ASHEVILLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		41500.00
0002	0030000000-N	SP	BRG APP SUB REG TIER** (17+52.50-L-)	Lump Sum		16000.00
0003	0043000000-N	226	GRADING	Lump Sum		46500.00
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1	ACR	2500.00 2500.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	100	CY	12.00 1200.00
0006	0195000000-E	265	SELECT GRANULAR MATERIAL	100	CY	35.00 3500.00
0007	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	200	SY	2.50 500.00
0008	0199000000-E	SP	TEMPORARY SHORING	120	SF	55.00 6600.00
0009	0318000000-E	300	FND CONDIT MATL MINOR STRS	10	TON	30.00 300.00
0010	0320000000-E	300	FND CONDIT GEOTEXTILE	30	SY	30.00 900.00
0011	0335300000-E	305	18" DRAINAGE PIPE	40	LF	50.00 2000.00
0012	0448200000-E	310	15" RCP CULV CLASS IV	48	LF	50.00 2400.00
0013	1099500000-E	505	SHALLOW UNDERCUT	95	CY	12.00 1140.00
0014	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	125	TON	25.00 3125.00
0015	1121000000-E	520	AGGREGATE BASE COURSE	85	TON	25.00 2125.00
0016	1220000000-E	545	INCIDENTAL STONE BASE	50	TON	25.00 1250.00
0017	1275000000-E	600	PRIME COAT	88	GAL	15.00 1320.00
0018	1330000000-E	607	INCIDENTAL MILLING	55	SY	25.00 1375.00
0019	1489000000-E	610	ASP CONC BASE CRS B25.0B	130	TON	90.00 11700.00
0020	1498000000-E	610	ASP CONC INTR CRS I19.0B	90	TON	90.00 8100.00
0021	1525000000-E	610	ASP CONC SURF CRS SF9.5A	150	TON	90.00 13500.00
0022	1575000000-E	620	ASP FOR PLANT MIX	20	TON	750.00 15000.00
0023	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	75	TON	200.00 15000.00
0024	2022000000-E	815	SUBDRAIN EXCAVATION	22.4	CY	30.00 672.00
0025	2033000000-E	815	SUBDRAIN FINE AGGREGATE	16.8	CY	35.00 588.00
0026	2044000000-E	815	6" PERF SUBDRN PIPE	100	LF	10.00 1000.00
0027	2070000000-N	815	SUBDRN PIPE OUTLET	1	EA	250.00 250.00
0028	2077000000-E	815	6" OUTLET PIPE	6	LF	30.00 180.00
0029	2286000000-N	840	MASNRY DRAINAGE STRUCT	1	EA	1400.00 1400.00
0030	2367000000-N	840	FRAME W/2GRTS 840.29 STD	1	EA	575.00 575.00
0031	2556000000-E	846	SHOULDER BERM GUTTER	8	LF	100.00 800.00
0032	3000000000-N	SP	IMPACT ATTN TYPE 350	1	EA	12500.00 12500.00
0033	3150000000-N	862	ADDIT GUARDRAIL POSTS	3	EA	25.00 75.00
0034	3215000000-N	862	GR ANCHOR TYPE III	3	EA	1300.00 3900.00
0035	3270000000-N	SP	GR ANCHOR TYPE 350	3	EA	1900.00 5700.00
0036	3387000000-N	862	TEMP GDRL ANCH UNITS ***** (III)	3	EA	900.00 2700.00
0037	3387000000-N	862	TEMP GDRL ANCH UNITS ***** (W-BEAM)	1	EA	300.00 300.00
0038	3389100000-N	SP	TEMP GDRL ANCH UNITS 350	3	EA	850.00 2550.00
0039	3649000000-E	876	RIP RAP, CLASS B	1	TON	100.00 100.00

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

TAYLOR & MURPHY
CONSTRUCTION CO, INC

ASHEVILLE, NC

0040	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	355	SY	2.00	710.00
0041	4400000000-E	1110	WORK ZONE SIGNS (STAT)	196	SF	6.00	1176.00
0042	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	8.00	768.00
0043	4410000000-E	1110	WORK ZONE SIGNS (BARR)	20	SF	7.00	140.00
0044	4430000000-N	1130	DRUMS	20	EA	50.00	1000.00
0045	4435000000-N	1135	CONES	10	EA	10.00	100.00
0046	4445000000-E	1145	BARRICADES (TYPE III)	80	LF	16.50	1320.00
0047	4450000000-N	1150	FLAGGER	384	HR	25.00	9600.00
0048	4465000000-N	1160	TEMPORARY CRASH CUSHIONS	1	EA	1500.00	1500.00
0049	4485000000-E	1170	PORT CONC BARRIER	80	LF	77.00	6160.00
0050	4516000000-N	1180	SKINNY DRUM	10	EA	40.00	400.00
0051	4609000000-N	SP	GENERIC TRAFFIC CONTROL ITEM (DAY) TEMPORARY TRAFFIC SIGNAL SYSTEM	150	DAY	150.00	22500.00
0052	4810000000-E	1205	PAINT PVMT MARKINGS 4"	5,380	LF	0.45	2421.00
0053	4835000000-E	1205	PAINT PVT MKG LINES 24"	25	LF	10.00	250.00
0054	6000000000-E	1605	TEMPORARY SILT FENCE	600	LF	2.00	1200.00
0055	6006000000-E	1610	EROS CONTRL STONE CL A	270	TON	28.00	7560.00
0056	6009000000-E	1610	EROS CONTRL STONE CL B	45	TON	28.00	1260.00
0057	6012000000-E	1610	SEDIMENT CONTROL STONE	50	TON	28.00	1400.00
0058	6015000000-E	1615	TEMPORARY MULCHING	0.5	ACR	598.00	299.00
0059	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	2.35	117.50
0060	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25	TON	875.00	1093.75
0061	6029000000-E	SP	SAFETY FENCE	500	LF	2.00	1000.00
0062	6030000000-E	1630	SILT EXCAVATION	130	CY	10.00	1300.00
0063	6036000000-E	1631	MATting FOR EROS CONTROL	1,000	SY	1.50	1500.00
0064	6037000000-E	SP	COIR FIBER MAT	125	SY	5.75	718.75
0065	6042000000-E	1632	1/4" HARDWARE CLOTH	120	LF	3.75	450.00
0066	6071010000-E	SP	WATTLE	90	LF	6.00	540.00
0067	6071020000-E	SP	POLYACRYLAMIDE (PAM)	25	LB	12.00	300.00
0068	6071030000-E	1640	COIR FIBER BAFFLE	30	LF	4.75	142.50
0069	6071050000-E	SP	*** SKIMMER (1-1/2")	1	EA	900.00	900.00
0070	6084000000-E	1660	SEEDING AND MULCHING	1.5	ACR	1600.00	2400.00
0071	6087000000-E	1660	MOWING	0.25	ACR	55.00	13.75
0072	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	3.50	175.00
0073	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	925.00	231.25
0074	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	3.00	150.00
0075	6108000000-E	1665	FERTILIZER TOPDRESSING	0.25	TON	900.00	225.00
0076	6111000000-E	SP	IMPERVIOUS DIKE	130	LF	85.00	11050.00
0077	6114500000-N	1667	SPECIALIZED HAND MOWING	20	MHR	25.00	500.00
0078	6117000000-N	SP	RESPONSE FOR EROS CONTROL	25	EA	250.00	6250.00

FED AID NO BRZ-1335(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER MEAT CAMP CREEK AND APPROACHES ON SR-1335.

TAYLOR & MURPHY
CONSTRUCTION CO, INC
ASHEVILLE, NC

0079	6123000000-E	1670	REFORESTATION	0.1	ACR	3200.00	320.00
0080	8847000000-E	SP	GENERIC RET WALL ITEM (SF) GABION AND RENO MATTRESS RETAINING WALLS	624	SF	68.00	42432.00
STRUCTURE ITEMS							
0081	8007000000-N	SP	CM&R TEMP STR ***** (17+52.50-L-)	Lump Sum			140000.00
0082	8035000000-N	402	REMV EXIST STR ***** (17+52.50-L-)	Lump Sum			85000.00
0083	8121000000-N	412	UNCL STR EXCAV STA ***** (17+52.50-L-)	Lump Sum			5000.00
0084	8156000000-E	SP	CONCRETE WEARING SURFACE	884.6	SF	31.00	27422.60
0085	8161000000-E	420	GROOVING BRIDGE FLOORS	1,320	SF	3.75	4950.00
0086	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	56.8	CY	775.00	44020.00
0087	8210000000-N	422	BRG APPR SLAB ***** (17+52.50-L-)	Lump Sum			36000.00
0088	8217000000-E	425	REINF STEEL (BRIDGE)	5,997	LB	1.00	5997.00
0089	8364000000-E	450	HP12X53 PILES	360	LF	52.00	18720.00
0090	8391000000-N	450	STEEL PILE POINTS	12	EA	125.00	1500.00
0091	8468000000-E	460	ONE BAR METAL RAIL	49.564	LF	290.00	14373.56
0092	8517000000-E	460	1'-***X*****CONC PARAPET (1'-0" X 1'-9 1/2")	65.42	LF	200.00	13084.00
0093	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum			2500.00
0094	8692000000-N	SP	FOAM JOINT SEALS	Lump Sum			31000.00
0095	8755000000-E	430	3'-0"X 1'-6"PRESTR SLABS	327.08	LF	140.00	45791.20

CONTRACT TOTAL TOTAL 837756.86

ROADWAY ITEMS SUB-TOTAL 362398.50
STRUCTURE ITEMS SUB-TOTAL 475358.36

BIDDERS IN ORDER		CONTRACT TOTAL
TRI-COUNTY PAVING, INC.	1	597447.95
JAMES R. VANNOY & SONS CONSTRUCTION CO., INC.	2	632251.13
SMITH-ROWE, LLC	3	677656.00
TAYLOR & MURPHY CONSTRUCTION CO, INC	4	837756.86

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

SUNBELT STRUCTURES, INC. TUCKER, GA R.E. BURNS & SONS CO., INC. STATESVILLE, NC APPLE TUCK & ASSOCIATES, INC. RUTHERFORDTON, NC

ROADWAY ITEMS

Item ID	Description	Quantity	Unit	Price	Subtotal	Supplier	Price	Supplier	Price	Supplier
0001	0000100000-N 800 MOBILIZATION		Lump Sum		39000.00			43000.00		22500.00
0002	0000400000-N 801 CONSTRUCTION SURVEYING		Lump Sum		8500.00			3750.00		5000.00
0003	0030000000-N SP BRG APP SUB REG TIER** (13+40.00 -L-)		Lump Sum		1730.00			8500.00		5500.00
0004	0050000000-E 226 SUPP CLEARING & GRUBBING	1	ACR	4070.00	4070.00		1.00	1.00		1.00
0005	0057000000-E 226 UNDERCUT EXCAVATION	350	CY	5.60	1960.00		12.00	4200.00		8.00
0006	0063000000-N SP GRADING		Lump Sum		8860.00			40000.00		43000.00
0007	0106000000-E 230 BORROW EXCAVATION	2,120	CY	9.20	19504.00		0.01	21.20		8.00
0008	0134000000-E 240 DRAINAGE DITCH EXCAVATION	1,820	CY	4.10	7462.00		5.00	9100.00		10.00
0009	0195000000-E 265 SELECT GRANULAR MATERIAL	250	CY	32.00	8000.00		32.00	8000.00		10.00
0010	0318000000-E 300 FND CONDIT MATL MINOR STRS	70	TON	31.00	2170.00		42.00	2940.00		34.00
0011	0320000000-E 300 FND CONDIT GEOTEXTILE	410	SY	16.00	6560.00		2.00	820.00		3.00
0012	0335200000-E 305 15" DRAINAGE PIPE	20	LF	16.00	320.00		32.00	640.00		27.45
0013	0335850000-E 305 *** DRAINAGE PIPE ELBOW (15")	2	EA	155.00	310.00		200.00	400.00		121.00
0014	0344000000-E 310 18" SIDE DRAIN PIPE	136	LF	18.00	2448.00		36.00	4896.00		29.10
0015	0432000000-E 310 78" RC PIPE CULV III	92	LF	540.00	49680.00		695.00	63940.00		486.50
0016	0995000000-E 340 PIPE REMOVAL	64	LF	20.00	1280.00		10.00	640.00		25.00
0017	1121000000-E 520 AGGREGATE BASE COURSE	56	TON	20.00	1120.00		30.00	1680.00		30.00
0018	1220000000-E 545 INCIDENTAL STONE BASE	100	TON	22.00	2200.00		30.00	3000.00		32.00
0019	1489000000-E 610 ASP CONC BASE CRS B25.0B	300	TON	48.00	14400.00		48.00	14400.00		48.00
0020	1498000000-E 610 ASP CONC INTR CRS I19.0B	210	TON	48.00	10080.00		47.80	10038.00		47.80
0021	1519000000-E 610 ASP CONC SURF CRS S9.5B	350	TON	49.00	17150.00		54.00	18900.00		49.10
0022	1575000000-E 620 ASP FOR PLANT MIX	45	TON	650.00	29250.00		650.00	29250.00		655.00
0023	1693000000-E 654 ASPH PLT MIX PVMT REPAIR	44	TON	175.00	7700.00		115.00	5060.00		150.00
0024	2220000000-E 838 REINFORCED ENDWALLS	7.9	CY	2580.00	20382.00		1450.00	11455.00		1000.00
0025	2286000000-N 840 MASNRY DRAINAGE STRUCT	1	EA	965.00	965.00		1250.00	1250.00		950.00
0026	2367000000-N 840 FRAME W/2GRTS 840.29 STD	1	EA	430.00	430.00		850.00	850.00		643.00
0027	2556000000-E 846 SHOULDER BERM GUTTER	40	LF	35.00	1400.00		35.00	1400.00		50.00
0028	3030000000-E 862 STL BM GUARDRAIL	275	LF	14.00	3850.00		14.00	3850.00		14.00
0029	3045000000-E 862 SBGR SHOP CURVED	150	LF	15.00	2250.00		15.00	2250.00		15.25
0030	3150000000-N 862 ADDIT GUARDRAIL POSTS	5	EA	13.00	65.00		13.00	65.00		10.00
0031	3195000000-N 862 GR ANCHOR TYPE AT-1	3	EA	500.00	1500.00		500.00	1500.00		300.00
0032	3215000000-N 862 GR ANCHOR TYPE III	4	EA	1200.00	4800.00		1200.00	4800.00		1050.00
0033	3270000000-N SP GR ANCHOR TYPE 350	3	EA	1800.00	5400.00		1800.00	5400.00		1775.00
0034	3503000000-E 866 WOVEN WIRE FENCE 47" FAB	130	LF	2.30	299.00		4.00	520.00		2.25
0035	3509000000-E 866 4" TIMBER POSTS 7'-6"LONG	5	EA	18.00	90.00		18.00	90.00		17.50
0036	3515000000-E 866 5" TIMBER POSTS 8'-0"LONG	10	EA	28.00	280.00		35.00	350.00		27.50
0037	3578000000-N SP GENERIC FENCING ITEM (EA) REMOVE & RESET GATE	1	EA	225.00	225.00		100.00	100.00		225.00
0038	3628000000-E 876 RIP RAP, CLASS I	218	TON	41.00	8938.00		37.00	8066.00		43.70
0039	3635000000-E 876 RIP RAP, CLASS II	57	TON	43.00	2451.00		42.00	2394.00		45.00

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

				SUNBELT STRUCTURES, INC.	TUCKER, GA		R.E. BURNS & SONS CO., INC.	STATESVILLE, NC		APPLE TUCK & ASSOCIATES, INC.	RUTHERFORDTON, NC	
0040	3649000000-E	876	RIP RAP, CLASS B	4	TON	41.00	164.00	50.00	200.00	37.00	148.00	
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	705	SY	2.60	1833.00	2.00	1410.00	3.00	2115.00	
0042	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	42	LF	5.20	218.40	5.15	216.30	5.15	216.30	
0043	4102000000-N	904	SIGN ERECTION, TYPE E	2	EA	85.00	170.00	85.00	170.00	85.00	170.00	
0044	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	1	EA	225.00	225.00	225.00	225.00	225.00	225.00	
0045	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8	EA	5.00	40.00	5.00	40.00	5.00	40.00	
0046	4400000000-E	1110	WORK ZONE SIGNS (STAT)	465	SF	4.40	2046.00	4.35	2022.75	4.35	2022.75	
0047	4410000000-E	1110	WORK ZONE SIGNS (BARR)	141	SF	5.90	831.90	5.85	824.85	5.85	824.85	
0048	4430000000-N	1130	DRUMS	25	EA	46.00	1150.00	40.00	1000.00	46.00	1150.00	
0049	4445000000-E	1145	BARRICADES (TYPE III)	160	LF	17.00	2720.00	17.00	2720.00	30.00	4800.00	
0050	4810000000-E	1205	PAINT PVMT MARKINGS 4"	4,720	LF	1.40	6608.00	0.45	2124.00	0.45	2124.00	
0051	5326200000-E	1510	12" WATER LINE	615	LF	70.00	43050.00	69.65	42834.75	70.00	43050.00	
0052	5572200000-E	1515	12" TAPPING VALVE	2	EA	7400.00	14800.00	7400.00	14800.00	10000.00	20000.00	
0053	5679000000-E	1515	12" LINE STOP	2	EA	1950.00	3900.00	1950.00	3900.00	750.00	1500.00	
0054	5804000000-E	1530	ABANDON 12" UTILITY PIPE	606	LF	9.50	5757.00	9.50	5757.00	5.00	3030.00	
0055	5871700000-E	1550	12" TRENCHLESS INSTALL (IN SOIL)	20	LF	125.00	2500.00	275.00	5500.00	320.00	6400.00	
0056	5871710000-E	1550	12" TRENCHLESS INSTALL (NOT IN SOIL)	20	LF	425.00	8500.00	275.00	5500.00	320.00	6400.00	
0057	6000000000-E	1605	TEMPORARY SILT FENCE	3,500	LF	1.50	5250.00	1.85	6475.00	1.54	5390.00	
0058	6006000000-E	1610	EROS CONTRL STONE CL A	250	TON	31.00	7750.00	32.00	8000.00	37.00	9250.00	
0059	6009000000-E	1610	EROS CONTRL STONE CL B	110	TON	33.00	3630.00	37.00	4070.00	37.00	4070.00	
0060	6012000000-E	1610	SEDIMENT CONTROL STONE	185	TON	27.00	4995.00	34.00	6290.00	34.00	6290.00	
0061	6015000000-E	1615	TEMPORARY MULCHING	1	ACR	600.00	600.00	613.50	613.50	598.00	598.00	
0062	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	2.40	120.00	1.40	70.00	2.35	117.50	
0063	6021000000-E	1620	FERT FOR TEMP SEEDING	0.25	TON	875.00	218.75	931.92	232.98	875.00	218.75	
0064	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200	LF	13.00	2600.00	2.00	400.00	10.00	2000.00	
0065	6029000000-E	SP	SAFETY FENCE	200	LF	1.40	280.00	1.09	218.00	1.39	278.00	
0066	6030000000-E	1630	SILT EXCAVATION	190	CY	1.00	190.00	2.00	380.00	8.00	1520.00	
0067	6036000000-E	1631	MATTING FOR EROS CONTROL	2,000	SY	1.50	3000.00	1.50	3000.00	1.54	3080.00	
0068	6037000000-E	SP	COIR FIBER MAT	1,000	SY	5.80	5800.00	2.47	2470.00	5.75	5750.00	
0069	6038000000-E	SP	PERM SOIL REINF MAT	50	SY	5.90	295.00	5.00	250.00	5.85	292.50	
0070	6042000000-E	1632	1/4" HARDWARE CLOTH	500	LF	3.70	1850.00	4.36	2180.00	3.74	1870.00	
0071	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	100	SY	45.00	4500.00	10.00	1000.00	15.00	1500.00	
0072	6070000000-N	1639	SPECIAL STILLING BASINS	2	EA	560.00	1120.00	165.00	330.00	500.00	1000.00	
0073	6071010000-E	SP	WATTLE	130	LF	6.00	780.00	4.37	568.10	5.95	773.50	
0074	6071020000-E	SP	POLYACRYLAMIDE (PAM)	35	LB	12.00	420.00	8.78	307.30	12.00	420.00	
0075	6071030000-E	1640	COIR FIBER BAFFLE	15	LF	4.70	70.50	4.49	67.35	4.74	71.10	
0076	6084000000-E	1660	SEEDING AND MULCHING	1.5	ACR	1360.00	2040.00	1700.00	2550.00	1359.00	2038.50	
0077	6087000000-E	1660	MOWING	1	ACR	55.00	55.00	120.00	120.00	55.00	55.00	
0078	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	3.70	185.00	7.05	352.50	3.69	184.50	
0079	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	925.00	231.25	1168.32	292.08	925.00	231.25	

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

		SUNBELT STRUCTURES, INC.		R.E. BURNS & SONS CO., INC.		APPLE TUCK & ASSOCIATES, INC.			
		TUCKER, GA		STATESVILLE, NC		RUTHERFORDTON, NC			
0080	6096000000-E	1662 SEED FOR SUPP SEEDING	50 LB	3.10	155.00	7.05	352.50	3.14	157.00
0081	6108000000-E	1665 FERTILIZER TOPDRESSING	0.75 TON	900.00	675.00	941.68	706.26	900.00	675.00
0082	6114500000-N	1667 SPECIALIZED HAND MOWING	30 MHR	22.00	660.00	47.50	1425.00	22.00	660.00
0083	6117000000-N	SP RESPONSE FOR EROS CONTROL	25 EA	220.00	5500.00	150.00	3750.00	100.00	2500.00
0084	6123000000-E	1670 REFORESTATION	0.1 ACR	2900.00	290.00	5000.00	500.00	2900.00	290.00
STRUCTURE ITEMS									
0085	8035000000-N	402 REMV EXIST STR ***** (13+40.00-L-)	Lump Sum		13000.00		15000.00		20000.00
0086	8121000000-N	412 UNCL STR EXCAV STA ***** (13+40.00-L-)	Lump Sum		5000.00		7700.00		20000.00
0087	8182000000-E	420 CLASS A CONCRETE (BRIDGE)	41.4 CY	665.00	27531.00	1100.00	45540.00	1000.00	41400.00
0088	8210000000-N	422 BRG APPR SLAB ***** (13+40.00-L-)	Lump Sum		28460.00		16000.00		20000.00
0089	8217000000-E	425 REINF STEEL (BRIDGE)	6,425 LB	1.00	6425.00	1.50	9637.50	1.00	6425.00
0090	8364000000-E	450 HP12X53 PILES	510 LF	42.00	21420.00	15.00	7650.00	40.00	20400.00
0091	8391000000-N	450 STEEL PILE POINTS	7 EA	100.00	700.00	150.00	1050.00	500.00	3500.00
0092	8475000000-E	460 TWO BAR METAL RAIL	178.45 LF	155.00	27659.75	168.00	29979.60	105.00	18737.25
0093	8517000000-E	460 1'-***X*****CONC PARAPET (1'-2" X 2'-7 1/2")	194.79 LF	83.00	16167.57	80.00	15583.20	60.00	11687.40
0094	8608000000-E	876 RIP RAP II (2'-0")	380 TON	38.00	14440.00	45.00	17100.00	40.00	15200.00
0095	8622000000-E	876 GEOTEXTILE FOR DRAINAGE	425 SY	1.90	807.50	2.00	850.00	3.00	1275.00
0096	8657000000-N	430 ELASTOMERIC BEARINGS	Lump Sum		5060.00		6000.00		7000.00
0097	8753200000-E	430 3'-0"X 3'-3" PRESTR BOX BEAM	1,071.35 LF	220.00	235697.00	220.00	235697.00	227.00	243196.45
CONTRACT TOTAL				TOTAL	847220.62	TOTAL	861518.72	TOTAL	869150.30
ROADWAY ITEMS				SUB-TOTAL	444852.80	SUB-TOTAL	453731.42	SUB-TOTAL	440329.20
STRUCTURE ITEMS				SUB-TOTAL	402367.82	SUB-TOTAL	407787.30	SUB-TOTAL	428821.10

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

SADDLEBROOK CONSTRUCTION,
INC.
PICKENS, SC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		44500.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		5963.97
0003	0030000000-N	SP	BRG APP SUB REG TIER** (13+40.00 -L-)	Lump Sum		3535.00
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1.00	1.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	350 CY	9.64	3374.00
0006	0063000000-N	SP	GRADING	Lump Sum		42500.00
0007	0106000000-E	230	BORROW EXCAVATION	2,120 CY	9.64	20436.80
0008	0134000000-E	240	DRAINAGE DITCH EXCAVATION	1,820 CY	14.03	25534.60
0009	0195000000-E	265	SELECT GRANULAR MATERIAL	250 CY	48.00	12000.00
0010	0318000000-E	300	FND CONDIT MATL MINOR STRS	70 TON	40.96	2867.20
0011	0320000000-E	300	FND CONDIT GEOTEXTILE	410 SY	3.61	1480.10
0012	0335200000-E	305	15" DRAINAGE PIPE	20 LF	33.07	661.40
0013	0335850000-E	305	*** DRAINAGE PIPE ELBOW (15")	2 EA	145.79	291.58
0014	0344000000-E	310	18" SIDE DRAIN PIPE	136 LF	35.06	4768.16
0015	0432000000-E	310	78" RC PIPE CULV III	92 LF	521.74	48000.08
0016	0995000000-E	340	PIPE REMOVAL	64 LF	20.31	1299.84
0017	1121000000-E	520	AGGREGATE BASE COURSE	56 TON	37.00	2072.00
0018	1220000000-E	545	INCIDENTAL STONE BASE	100 TON	37.00	3700.00
0019	1489000000-E	610	ASP CONC BASE CRS B25.0B	300 TON	49.00	14700.00
0020	1498000000-E	610	ASP CONC INTR CRS I19.0B	210 TON	48.50	10185.00
0021	1519000000-E	610	ASP CONC SURF CRS S9.5B	350 TON	51.00	17850.00
0022	1575000000-E	620	ASP FOR PLANT MIX	45 TON	675.00	30375.00
0023	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	44 TON	100.00	4400.00
0024	2220000000-E	838	REINFORCED ENDWALLS	7.9 CY	375.00	2962.50
0025	2286000000-N	840	MASNRY DRAINAGE STRUCT	1 EA	1100.00	1100.00
0026	2367000000-N	840	FRAME W/2GRTS 840.29 STD	1 EA	700.00	700.00
0027	2556000000-E	846	SHOULDER BERM GUTTER	40 LF	31.76	1270.40
0028	3030000000-E	862	STL BM GUARDRAIL	275 LF	14.00	3850.00
0029	3045000000-E	862	SBGR SHOP CURVED	150 LF	15.25	2287.50
0030	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	10.00	50.00
0031	3195000000-N	862	GR ANCHOR TYPE AT-1	3 EA	300.00	900.00
0032	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1050.00	4200.00
0033	3270000000-N	SP	GR ANCHOR TYPE 350	3 EA	1775.00	5325.00
0034	3503000000-E	866	WOVEN WIRE FENCE 47" FAB	130 LF	6.02	782.60
0035	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	5 EA	15.00	75.00
0036	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	10 EA	32.00	320.00
0037	3578000000-N	SP	GENERIC FENCING ITEM (EA) REMOVE & RESET GATE	1 EA	250.00	250.00
0038	3628000000-E	876	RIP RAP, CLASS I	218 TON	52.65	11477.70
0039	3635000000-E	876	RIP RAP, CLASS II	57 TON	49.42	2816.94

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

SADDLEBROOK CONSTRUCTION,
INC.
PICKENS, SC

0040	3649000000-E	876	RIP RAP, CLASS B	4 TON	45.00	180.00
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	705 SY	3.00	2115.00
0042	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	42 LF	6.20	260.40
0043	4102000000-N	904	SIGN ERECTION, TYPE E	2 EA	102.41	204.82
0044	4116100000-N	904	SIGN ERECT, RELOC ** GRD MTD (E)	1 EA	271.09	271.09
0045	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	8 EA	5.00	40.00
0046	4400000000-E	1110	WORK ZONE SIGNS (STAT)	465 SF	5.24	2436.60
0047	4410000000-E	1110	WORK ZONE SIGNS (BARR)	141 SF	6.05	853.05
0048	4430000000-N	1130	DRUMS	25 EA	30.96	774.00
0049	4445000000-E	1145	BARRICADES (TYPE III)	160 LF	18.75	3000.00
0050	4810000000-E	1205	PAINT PVMT MARKINGS 4"	4,720 LF	0.54	2548.80
0051	5326200000-E	1510	12" WATER LINE	615 LF	65.04	39999.60
0052	5572200000-E	1515	12" TAPPING VALVE	2 EA	8000.00	16000.00
0053	5679000000-E	1515	12" LINE STOP	2 EA	602.42	1204.84
0054	5804000000-E	1530	ABANDON 12" UTILITY PIPE	606 LF	2.39	1448.34
0055	5871700000-E	1550	12" TRENCHLESS INSTALL (IN SOIL)	20 LF	385.55	7711.00
0056	5871710000-E	1550	12" TRENCHLESS INSTALL (NOT IN SOIL)	20 LF	385.55	7711.00
0057	6000000000-E	1605	TEMPORARY SILT FENCE	3,500 LF	3.00	10500.00
0058	6006000000-E	1610	EROS CONTRL STONE CL A	250 TON	44.58	11145.00
0059	6009000000-E	1610	EROS CONTRL STONE CL B	110 TON	44.58	4903.80
0060	6012000000-E	1610	SEDIMENT CONTROL STONE	185 TON	40.96	7577.60
0061	6015000000-E	1615	TEMPORARY MULCHING	1 ACR	1204.84	1204.84
0062	6018000000-E	1620	SEED FOR TEMP SEEDING	50 LB	12.05	602.50
0063	6021000000-E	1620	FERT FOR TEMP SEEDING	0.25 TON	1204.84	301.21
0064	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200 LF	12.05	2410.00
0065	6029000000-E	SP	SAFETY FENCE	200 LF	2.41	482.00
0066	6030000000-E	1630	SILT EXCAVATION	190 CY	9.64	1831.60
0067	6036000000-E	1631	MATTING FOR EROS CONTROL	2,000 SY	1.20	2400.00
0068	6037000000-E	SP	COIR FIBER MAT	1,000 SY	6.02	6020.00
0069	6038000000-E	SP	PERM SOIL REINF MAT	50 SY	12.05	602.50
0070	6042000000-E	1632	1/4" HARDWARE CLOTH	500 LF	6.02	3010.00
0071	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	100 SY	44.30	4430.00
0072	6070000000-N	1639	SPECIAL STILLING BASINS	2 EA	1807.26	3614.52
0073	6071010000-E	SP	WATTLE	130 LF	10.77	1400.10
0074	6071020000-E	SP	POLYACRYLAMIDE (PAM)	35 LB	21.43	750.05
0075	6071030000-E	1640	COIR FIBER BAFFLE	15 LF	12.05	180.75
0076	6084000000-E	1660	SEEDING AND MULCHING	1.5 ACR	1686.78	2530.17
0077	6087000000-E	1660	MOWING	1 ACR	25.00	25.00
0078	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	1.00	50.00
0079	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	1000.00	250.00

FED AID NO BRZ-1727(1)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER HAGAN CREEK AND APPROACHES ON SR-1727.

SADDLEBROOK CONSTRUCTION,
INC.
PICKENS, SC

0080	6096000000-E	1662 SEED FOR SUPP SEEDING	50 LB	1.00	50.00
0081	6108000000-E	1665 FERTILIZER TOPDRESSING	0.75 TON	484.94	363.71
0082	6114500000-N	1667 SPECIALIZED HAND MOWING	30 MHR	10.00	300.00
0083	6117000000-N	SP RESPONSE FOR EROS CONTROL	25 EA	1.20	30.00
0084	6123000000-E	1670 REFORESTATION	0.1 ACR	750.00	75.00

STRUCTURE ITEMS

0085	8035000000-N	402 REMV EXIST STR ***** (13+40.00-L-)	Lump Sum		8688.85
0086	8121000000-N	412 UNCL STR EXCAV STA ***** (13+40.00-L-)	Lump Sum		4000.00
0087	8182000000-E	420 CLASS A CONCRETE (BRIDGE)	41.4 CY	617.78	25576.09
0088	8210000000-N	422 BRG APPR SLAB ***** (13+40.00-L-)	Lump Sum		15995.69
0089	8217000000-E	425 REINF STEEL (BRIDGE)	6,425 LB	0.95	6103.75
0090	8364000000-E	450 HP12X53 PILES	510 LF	63.37	32318.70
0091	8391000000-N	450 STEEL PILE POINTS	7 EA	106.32	744.24
0092	8475000000-E	460 TWO BAR METAL RAIL	178.45 LF	138.00	24626.10
0093	8517000000-E	460 1'-**X*****CONC PARAPET (1'-2" X 2'-7 1/2")	194.79 LF	103.14	20090.64
0094	8608000000-E	876 RIP RAP II (2'-0")	380 TON	42.26	16058.80
0095	8622000000-E	876 GEOTEXTILE FOR DRAINAGE	425 SY	2.57	1092.25
0096	8657000000-N	430 ELASTOMERIC BEARINGS	Lump Sum		3695.50
0097	8753200000-E	430 3'-0"X 3'-3" PRESTR BOX BEAM	1,071.35 LF	217.48	232997.20

CONTRACT TOTAL TOTAL 884650.07

ROADWAY ITEMS SUB-TOTAL 492662.26
STRUCTURE ITEMS SUB-TOTAL 391987.81

BIDDERS IN ORDER

CONTRACT TOTAL

SUNBELT STRUCTURES, INC.	1	847220.62
R.E. BURNS & SONS CO., INC.	2	861518.72
APPLE TUCK & ASSOCIATES, INC.	3	869150.30
SADDLEBROOK CONSTRUCTION, INC.	4	884650.07

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

		APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION			APPLE TUCK & ASSOCIATES, INC.			TCB BUILDERS, LLC		
		GREENSBORO, NC			RUTHERFORDTON, NC			LEXINGTON, NC		
ROADWAY ITEMS										
0001	0000100000-N	800	MOBILIZATION	Lump Sum		37000.00		30000.00		41250.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		3500.00		5000.00		3450.00
0003	0030000000-N	SP	BRG APP SUB REG TIER** (19+82.53)	Lump Sum		5500.00		5500.00		5900.00
0004	0043000000-N	226	GRADING	Lump Sum		40000.00		47000.00		60000.00
0005	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1.00	1.00	1.00	1.00	1.00	1.00
0006	0057000000-E	226	UNDERCUT EXCAVATION	200 CY	3.00	600.00	20.00	4000.00	4.50	900.00
0007	0195000000-E	265	SELECT GRANULAR MATERIAL	500 CY	5.00	2500.00	5.00	2500.00	37.00	18500.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	1,200 SY	1.00	1200.00	2.00	2400.00	0.75	900.00
0009	0318000000-E	300	FND CONDIR MATL MINOR STRS	20 TON	20.00	400.00	38.00	760.00	20.00	400.00
0010	0320000000-E	300	FND CONDIR GEOTEXTILE	55 SY	2.00	110.00	2.00	110.00	2.00	110.00
0011	0335200000-E	305	15" DRAINAGE PIPE	60 LF	33.00	1980.00	35.00	2100.00	34.00	2040.00
0012	0335400000-E	305	24" DRAINAGE PIPE	76 LF	44.00	3344.00	44.00	3344.00	45.00	3420.00
0013	0582000000-E	310	15" CS PIPE CULV 0.064"	20 LF	33.00	660.00	30.00	600.00	22.00	440.00
0014	0636000000-E	310	*** CS ELBOW ***** THICK (15", 0.064")	2 EA	113.00	226.00	500.00	1000.00	250.00	500.00
0015	1099500000-E	505	SHALLOW UNDERCUT	200 CY	3.00	600.00	20.00	4000.00	6.00	1200.00
0016	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	400 TON	20.00	8000.00	10.00	4000.00	24.00	9600.00
0017	1220000000-E	545	INCIDENTAL STONE BASE	50 TON	20.00	1000.00	35.00	1750.00	21.00	1050.00
0018	1489000000-E	610	ASP CONC BASE CRS B25.0B	325 TON	57.00	18525.00	59.00	19175.00	79.00	25675.00
0019	1525000000-E	610	ASP CONC SURF CRS SF9.5A	250 TON	60.00	15000.00	64.95	16237.50	79.00	19750.00
0020	1575000000-E	620	ASP FOR PLANT MIX	32 TON	685.00	21920.00	675.00	21600.00	610.00	19520.00
0021	2022000000-E	815	SUBDRAIN EXCAVATION	50 CY	3.00	150.00	10.00	500.00	12.00	600.00
0022	2033000000-E	815	SUBDRAIN FINE AGGREGATE	40 CY	10.00	400.00	10.00	400.00	42.00	1680.00
0023	2044000000-E	815	6" PERF SUBDRN PIPE	200 LF	3.00	600.00	1.00	200.00	3.00	600.00
0024	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	100.00	100.00	100.00	100.00	75.00	75.00
0025	2077000000-E	815	6" OUTLET PIPE	1 LF	10.00	10.00	10.00	10.00	12.00	12.00
0026	2286000000-N	840	MASNRY DRAINAGE STRUCT	3 EA	1000.00	3000.00	1200.00	3600.00	1250.00	3750.00
0027	2308000000-E	840	MASNRY DRAINAGE STRUCT	1 LF	100.00	100.00	250.00	250.00	300.00	300.00
0028	2367000000-N	840	FRAME W/2GRTS 840.29 STD	3 EA	700.00	2100.00	600.00	1800.00	400.00	1200.00
0029	2556000000-E	846	SHOULDER BERM GUTTER	55 LF	25.00	1375.00	50.00	2750.00	42.00	2310.00
0030	3030000000-E	862	STL BM GUARDRAIL	150 LF	17.00	2550.00	14.00	2100.00	14.00	2100.00
0031	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	15.00	75.00	10.00	50.00	11.00	55.00
0032	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1200.00	4800.00	1100.00	4400.00	1200.00	4800.00
0033	3270000000-N	SP	GR ANCHOR TYPE 350	4 EA	1795.00	7180.00	1800.00	7200.00	1800.00	7200.00
0034	3500000000-E	866	WOVEN WIRE FENCE *** FAB (36")	75 LF	3.25	243.75	3.25	243.75	4.00	300.00
0035	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	4 EA	17.50	70.00	17.50	70.00	15.00	60.00
0036	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	7 EA	27.50	192.50	27.50	192.50	40.00	280.00
0037	3557000000-E	866	ADDITIONAL BARBED WIRE	75 LF	1.25	93.75	1.25	93.75	1.00	75.00
0038	3559000000-E	866	** STRAND BW FENCE W/ POSTS (3)	260 LF	4.25	1105.00	4.25	1105.00	6.00	1560.00

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

		APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION		APPLE TUCK & ASSOCIATES, INC. GREENSBORO, NC		RUTHERFORDTON, NC		TCB BUILDERS, LLC LEXINGTON, NC		
0039	3575000000-E	SP	GENERIC FENCING ITEM (LF) 48" WOODEN RAIL FENCE	255 LF	12.50	3187.50	12.50	3187.50	15.00	3825.00
0040	3649000000-E	876	RIP RAP, CLASS B	1 TON	35.00	35.00	100.00	100.00	39.00	39.00
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	830 SY	1.00	830.00	2.00	1660.00	1.30	1079.00
0042	4400000000-E	1110	WORK ZONE SIGNS (STAT)	447 SF	3.66	1636.02	3.66	1636.02	4.15	1855.05
0043	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144 SF	5.00	720.00	5.00	720.00	6.05	871.20
0044	4445000000-E	1145	BARRICADES (TYPE III)	96 LF	17.00	1632.00	30.00	2880.00	18.00	1728.00
0045	4810000000-E	1205	PAINT PVMT MARKINGS 4"	5,000 LF	0.45	2250.00	0.45	2250.00	0.45	2250.00
0046	6000000000-E	1605	TEMPORARY SILT FENCE	250 LF	2.00	500.00	1.64	410.00	4.50	1125.00
0047	6006000000-E	1610	EROS CONTRL STONE CL A	160 TON	35.00	5600.00	38.00	6080.00	33.00	5280.00
0048	6009000000-E	1610	EROS CONTRL STONE CL B	110 TON	35.00	3850.00	38.00	4180.00	33.00	3630.00
0049	6012000000-E	1610	SEDIMENT CONTROL STONE	205 TON	30.00	6150.00	38.00	7790.00	25.00	5125.00
0050	6015000000-E	1615	TEMPORARY MULCHING	1 ACR	598.00	598.00	598.00	598.00	900.00	900.00
0051	6018000000-E	1620	SEED FOR TEMP SEEDING	50 LB	2.35	117.50	2.35	117.50	7.00	350.00
0052	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25 TON	875.00	1093.75	875.00	1093.75	1200.00	1500.00
0053	6024000000-E	1622	TEMPORARY SLOPE DRAINS	250 LF	5.00	1250.00	10.00	2500.00	3.00	750.00
0054	6029000000-E	SP	SAFETY FENCE	300 LF	1.39	417.00	1.39	417.00	4.00	1200.00
0055	6030000000-E	1630	SILT EXCAVATION	290 CY	4.00	1160.00	10.00	2900.00	11.00	3190.00
0056	6036000000-E	1631	MATTING FOR EROS CONTROL	2,000 SY	1.44	2880.00	1.44	2880.00	1.75	3500.00
0057	6037000000-E	SP	COIR FIBER MAT	60 SY	5.75	345.00	5.75	345.00	10.00	600.00
0058	6042000000-E	1632	1/4" HARDWARE CLOTH	150 LF	3.74	561.00	3.74	561.00	4.00	600.00
0059	6070000000-N	1639	SPECIAL STILLING BASINS	8 EA	100.00	800.00	300.00	2400.00	725.00	5800.00
0060	6071010000-E	SP	WATTLE	180 LF	5.95	1071.00	5.95	1071.00	3.00	540.00
0061	6071020000-E	SP	POLYACRYLAMIDE (PAM)	25 LB	12.00	300.00	12.00	300.00	15.00	375.00
0062	6071030000-E	1640	COIR FIBER BAFFLE	120 LF	4.74	568.80	4.74	568.80	5.00	600.00
0063	6071050000-E	SP	*** SKIMMER (1-1/2")	4 EA	800.00	3200.00	1200.00	4800.00	1000.00	4000.00
0064	6084000000-E	1660	SEEDING AND MULCHING	1.5 ACR	1375.00	2062.50	1375.00	2062.50	1795.00	2692.50
0065	6087000000-E	1660	MOWING	0.5 ACR	55.00	27.50	55.00	27.50	200.00	100.00
0066	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	3.26	163.00	3.26	163.00	9.00	450.00
0067	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	925.00	231.25	925.00	231.25	3000.00	750.00
0068	6096000000-E	1662	SEED FOR SUPP SEEDING	50 LB	3.10	155.00	3.10	155.00	6.00	300.00
0069	6108000000-E	1665	FERTILIZER TOPDRESSING	0.75 TON	900.00	675.00	900.00	675.00	1200.00	900.00
0070	6114500000-N	1667	SPECIALIZED HAND MOWING	30 MHR	1.00	30.00	22.00	660.00	45.00	1350.00
0071	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18 EA	125.00	2250.00	100.00	1800.00	200.00	3600.00
STRUCTURE ITEMS										
0072	8035000000-N	402	REMV EXIST STR ***** (19+82.53-L-)	Lump Sum		18000.00		20000.00		35000.00
0073	8105520000-E	411	3'-0" DRILLD PIER IN SOIL	182.5 LF	593.00	108222.50	540.00	98550.00	305.00	55662.50
0074	8105620000-E	411	3'-0" DRILLD PIER NO SOIL	47 LF	593.00	27871.00	540.00	25380.00	1485.00	69795.00
0075	8111200000-E	411	PERM STL CASING FOR 3' PIER	106.5 LF	107.00	11395.50	220.00	23430.00	100.00	10650.00

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

		APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION			APPLE TUCK & ASSOCIATES, INC.			TCB BUILDERS, LLC		
		GREENSBORO, NC			RUTHERFORDTON, NC			LEXINGTON, NC		
0076	8113000000-N	411	SID INSPECTIONS	2 EA	200.00	400.00	500.00	1000.00	1000.00	2000.00
0077	8114000000-N	411	SPT TESTING	2 EA	300.00	600.00	500.00	1000.00	1500.00	3000.00
0078	8115000000-N	411	CSL TESTING	1 EA	1800.00	1800.00	1270.00	1270.00	2500.00	2500.00
0079	8121000000-N	412	UNCL STR EXCAV STA ***** (19+82.53-L-)	Lump Sum		2140.00		2500.00		5100.00
0080	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	78.3 CY	700.70	54864.81	800.00	62640.00	725.00	56767.50
0081	8210000000-N	422	BRG APPR SLAB ***** (19+82.53-L-)	Lump Sum		19100.00		20000.00		13600.00
0082	8217000000-E	425	REINF STEEL (BRIDGE)	30,514 LB	0.88	26852.32	1.00	30514.00	0.90	27462.60
0083	8238000000-E	425	SPIRAL COL REINF STL BRG	4,868 LB	0.99	4819.32	3.00	14604.00	1.30	6328.40
0084	8364000000-E	450	HP12X53 PILES	755 LF	38.50	29067.50	38.00	28690.00	52.00	39260.00
0085	8505000000-E	460	VERT CONC BARRIER RAIL	270.75 LF	46.00	12454.50	56.25	15229.69	52.00	14079.00
0086	8608000000-E	876	RIP RAP II (2'-0")	140 TON	43.00	6020.00	40.00	5600.00	42.00	5880.00
0087	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	155 SY	2.24	347.20	3.00	465.00	3.50	542.50
0088	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		3375.00		9000.00		5583.00
0089	8762000000-E	430	3'-0"X 1'-9"PRESTR SLABS	825 LF	112.30	92647.50	103.00	84975.00	104.00	85800.00
0090	8763000000-E	430	3'-0" X 2'-0"PRESTR SLABS	660 LF	145.00	95700.00	147.00	97020.00	120.00	79200.00
CONTRACT TOTAL					TOTAL	748234.97	TOTAL	795230.01	TOTAL	820628.25
ROADWAY ITEMS					SUB-TOTAL	232557.82	SUB-TOTAL	253362.32	SUB-TOTAL	302417.75
STRUCTURE ITEMS					SUB-TOTAL	515677.15	SUB-TOTAL	541867.69	SUB-TOTAL	518210.50

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

DAVIE GRADING, INC. R.E. BURNS & SONS CO., INC. SUNBELT STRUCTURES, INC.
MOCKSVILLE, NC STATESVILLE, NC TUCKER, GA

ROADWAY ITEMS

Item ID	Description	Quantity	Unit	Price	Subtotal	DAVIE GRADING, INC.	R.E. BURNS & SONS CO., INC.	SUNBELT STRUCTURES, INC.	TOTAL
0001	0000100000-N 800 MOBILIZATION		Lump Sum		40000.00		42000.00		40000.00
0002	0000400000-N 801 CONSTRUCTION SURVEYING		Lump Sum		4000.00		3450.00		6330.00
0003	0030000000-N SP BRG APP SUB REG TIER** (19+82.53)		Lump Sum		5000.00		6500.00		6980.00
0004	0043000000-N 226 GRADING		Lump Sum		50000.00		40800.00		42000.00
0005	0050000000-E 226 SUPP CLEARING & GRUBBING	1	ACR	100.00	100.00	1.00	1.00	1.10	1.10
0006	0057000000-E 226 UNDERCUT EXCAVATION	200	CY	6.00	1200.00	2.00	400.00	2.20	440.00
0007	0195000000-E 265 SELECT GRANULAR MATERIAL	500	CY	1.00	500.00	5.00	2500.00	5.40	2700.00
0008	0196000000-E 270 GEOTEXTILE SOIL STABILIZATION	1,200	SY	2.00	2400.00	0.80	960.00	0.90	1080.00
0009	0318000000-E 300 FND CONDIR MATL MINOR STRS	20	TON	40.00	800.00	27.00	540.00	29.00	580.00
0010	0320000000-E 300 FND CONDIR GEOTEXTILE	55	SY	2.00	110.00	2.00	110.00	2.20	121.00
0011	0335200000-E 305 15" DRAINAGE PIPE	60	LF	32.00	1920.00	30.00	1800.00	32.00	1920.00
0012	0335400000-E 305 24" DRAINAGE PIPE	76	LF	40.00	3040.00	42.00	3192.00	45.00	3420.00
0013	0582000000-E 310 15" CS PIPE CULV 0.064"	20	LF	27.00	540.00	40.00	800.00	43.00	860.00
0014	0636000000-E 310 *** CS ELBOW ***** THICK (15", 0.064")	2	EA	300.00	600.00	225.00	450.00	240.00	480.00
0015	1099500000-E 505 SHALLOW UNDERCUT	200	CY	12.00	2400.00	3.00	600.00	3.20	640.00
0016	1099700000-E 505 CLASS IV SUBGRD STABILIZATION	400	TON	1.00	400.00	29.25	11700.00	31.00	12400.00
0017	1220000000-E 545 INCIDENTAL STONE BASE	50	TON	30.00	1500.00	29.25	1462.50	31.00	1550.00
0018	1489000000-E 610 ASP CONC BASE CRS B25.0B	325	TON	72.74	23640.50	59.00	19175.00	64.00	20800.00
0019	1525000000-E 610 ASP CONC SURF CRS SF9.5A	250	TON	78.69	19672.50	68.00	17000.00	71.00	17750.00
0020	1575000000-E 620 ASP FOR PLANT MIX	32	TON	675.00	21600.00	675.00	21600.00	735.00	23520.00
0021	2022000000-E 815 SUBDRAIN EXCAVATION	50	CY	6.00	300.00	3.00	150.00	3.20	160.00
0022	2033000000-E 815 SUBDRAIN FINE AGGREGATE	40	CY	35.00	1400.00	5.00	200.00	5.40	216.00
0023	2044000000-E 815 6" PERF SUBDRN PIPE	200	LF	10.00	2000.00	3.00	600.00	3.20	640.00
0024	2070000000-N 815 SUBDRN PIPE OUTLET	1	EA	200.00	200.00	50.00	50.00	190.00	190.00
0025	2077000000-E 815 6" OUTLET PIPE	1	LF	12.00	12.00	3.00	3.00	3.20	3.20
0026	2286000000-N 840 MASNRY DRAINAGE STRUCT	3	EA	1100.00	3300.00	1500.00	4500.00	1340.00	4020.00
0027	2308000000-E 840 MASNRY DRAINAGE STRUCT	1	LF	1100.00	1100.00	250.00	250.00	270.00	270.00
0028	2367000000-N 840 FRAME W/2GRTS 840.29 STD	3	EA	450.00	1350.00	1000.00	3000.00	1070.00	3210.00
0029	2556000000-E 846 SHOULDER BERM GUTTER	55	LF	40.00	2200.00	47.00	2585.00	48.00	2640.00
0030	3030000000-E 862 STL BM GUARDRAIL	150	LF	14.00	2100.00	14.00	2100.00	18.00	2700.00
0031	3150000000-N 862 ADDIT GUARDRAIL POSTS	5	EA	10.00	50.00	11.00	55.00	16.00	80.00
0032	3215000000-N 862 GR ANCHOR TYPE III	4	EA	1100.00	4400.00	1200.00	4800.00	1270.00	5080.00
0033	3270000000-N SP GR ANCHOR TYPE 350	4	EA	1800.00	7200.00	1800.00	7200.00	1890.00	7560.00
0034	3500000000-E 866 WOVEN WIRE FENCE *** FAB (36")	75	LF	3.25	243.75	3.25	243.75	3.40	255.00
0035	3509000000-E 866 4" TIMBER POSTS 7'-6"LONG	4	EA	17.50	70.00	17.50	70.00	18.00	72.00
0036	3515000000-E 866 5" TIMBER POSTS 8'-0"LONG	7	EA	27.50	192.50	27.50	192.50	29.00	203.00
0037	3557000000-E 866 ADDITIONAL BARBED WIRE	75	LF	1.25	93.75	1.25	93.75	1.30	97.50
0038	3559000000-E 866 ** STRAND BW FENCE W/ POSTS (3)	260	LF	4.25	1105.00	4.25	1105.00	4.50	1170.00

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

				DAVIE GRADING, INC.	R.E. BURNS & SONS CO., INC.		SUNBELT STRUCTURES, INC.			
				MOCKSVILLE, NC	STATESVILLE, NC		TUCKER, GA			
0039	3575000000-E	SP	GENERIC FENCING ITEM (LF) 48" WOODEN RAIL FENCE	255 LF	12.50	3187.50	12.50	3187.50	13.00	3315.00
0040	3649000000-E	876	RIP RAP, CLASS B	1 TON	100.00	100.00	75.00	75.00	81.00	81.00
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	830 SY	2.00	1660.00	0.80	664.00	0.90	747.00
0042	4400000000-E	1110	WORK ZONE SIGNS (STAT)	447 SF	3.66	1636.02	3.66	1636.02	4.40	1966.80
0043	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144 SF	5.00	720.00	5.00	720.00	6.40	921.60
0044	4445000000-E	1145	BARRICADES (TYPE III)	96 LF	17.00	1632.00	17.00	1632.00	19.00	1824.00
0045	4810000000-E	1205	PAINT PVMT MARKINGS 4"	5,000 LF	0.50	2500.00	0.45	2250.00	0.50	2500.00
0046	6000000000-E	1605	TEMPORARY SILT FENCE	250 LF	1.64	410.00	2.00	500.00	1.70	425.00
0047	6006000000-E	1610	EROS CONTRL STONE CL A	160 TON	35.00	5600.00	30.00	4800.00	35.00	5600.00
0048	6009000000-E	1610	EROS CONTRL STONE CL B	110 TON	35.00	3850.00	30.00	3300.00	35.00	3850.00
0049	6012000000-E	1610	SEDIMENT CONTROL STONE	205 TON	30.00	6150.00	30.00	6150.00	37.00	7585.00
0050	6015000000-E	1615	TEMPORARY MULCHING	1 ACR	598.00	598.00	598.00	598.00	630.00	630.00
0051	6018000000-E	1620	SEED FOR TEMP SEEDING	50 LB	2.35	117.50	2.35	117.50	2.50	125.00
0052	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25 TON	875.00	1093.75	875.00	1093.75	925.00	1156.25
0053	6024000000-E	1622	TEMPORARY SLOPE DRAINS	250 LF	8.00	2000.00	4.00	1000.00	4.30	1075.00
0054	6029000000-E	SP	SAFETY FENCE	300 LF	1.39	417.00	1.39	417.00	1.50	450.00
0055	6030000000-E	1630	SILT EXCAVATION	290 CY	5.00	1450.00	10.00	2900.00	11.00	3190.00
0056	6036000000-E	1631	MATTING FOR EROS CONTROL	2,000 SY	1.44	2880.00	2.00	4000.00	1.50	3000.00
0057	6037000000-E	SP	COIR FIBER MAT	60 SY	5.75	345.00	5.75	345.00	6.10	366.00
0058	6042000000-E	1632	1/4" HARDWARE CLOTH	150 LF	3.74	561.00	3.74	561.00	3.90	585.00
0059	6070000000-N	1639	SPECIAL STILLING BASINS	8 EA	200.00	1600.00	160.00	1280.00	1400.00	11200.00
0060	6071010000-E	SP	WATTLE	180 LF	5.95	1071.00	5.95	1071.00	6.30	1134.00
0061	6071020000-E	SP	POLYACRYLAMIDE (PAM)	25 LB	12.00	300.00	12.00	300.00	13.00	325.00
0062	6071030000-E	1640	COIR FIBER BAFFLE	120 LF	4.74	568.80	4.74	568.80	5.00	600.00
0063	6071050000-E	SP	*** SKIMMER (1-1/2")	4 EA	900.00	3600.00	800.00	3200.00	860.00	3440.00
0064	6084000000-E	1660	SEEDING AND MULCHING	1.5 ACR	1375.00	2062.50	1375.00	2062.50	1450.00	2175.00
0065	6087000000-E	1660	MOWING	0.5 ACR	55.00	27.50	30.00	15.00	58.00	29.00
0066	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	3.26	163.00	3.26	163.00	3.40	170.00
0067	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	925.00	231.25	925.00	231.25	975.00	243.75
0068	6096000000-E	1662	SEED FOR SUPP SEEDING	50 LB	3.10	155.00	3.10	155.00	3.30	165.00
0069	6108000000-E	1665	FERTILIZER TOPDRESSING	0.75 TON	900.00	675.00	899.99	674.99	950.00	712.50
0070	6114500000-N	1667	SPECIALIZED HAND MOWING	30 MHR	22.00	660.00	22.00	660.00	23.00	690.00
0071	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18 EA	220.00	3960.00	220.00	3960.00	230.00	4140.00
STRUCTURE ITEMS										
0072	8035000000-N	402	REMV EXIST STR ***** (19+82.53-L-)	Lump Sum		49000.00		15000.00		12500.00
0073	8105520000-E	411	3'-0" DRILLD PIER IN SOIL	182.5 LF	497.00	90702.50	288.00	52560.00	715.00	130487.50
0074	8105620000-E	411	3'-0" DRILLD PIER NO SOIL	47 LF	497.00	23359.00	1680.00	78960.00	770.00	36190.00
0075	8111200000-E	411	PERM STL CASING FOR 3' PIER	106.5 LF	170.00	18105.00	100.00	10650.00	115.00	12247.50

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

		DAVIE GRADING, INC.			R.E. BURNS & SONS CO., INC.			SUNBELT STRUCTURES, INC.		
		MOCKSVILLE, NC			STATESVILLE, NC			TUCKER, GA		
0076	8113000000-N	411	SID INSPECTIONS	2 EA	500.00	1000.00	1000.00	2000.00	210.00	420.00
0077	8114000000-N	411	SPT TESTING	2 EA	1500.00	3000.00	1500.00	3000.00	315.00	630.00
0078	8115000000-N	411	CSL TESTING	1 EA	2000.00	2000.00	2500.00	2500.00	1900.00	1900.00
0079	8121000000-N	412	UNCL STR EXCAV STA ***** (19+82.53-L-)	Lump Sum		15000.00		6000.00		2690.00
0080	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	78.3 CY	750.00	58725.00	795.00	62248.50	990.00	77517.00
0081	8210000000-N	422	BRG APPR SLAB ***** (19+82.53-L-)	Lump Sum		20500.00		15000.00		24890.00
0082	8217000000-E	425	REINF STEEL (BRIDGE)	30,514 LB	1.00	30514.00	1.25	38142.50	0.91	27767.74
0083	8238000000-E	425	SPIRAL COL REINF STL BRG	4,868 LB	2.00	9736.00	4.50	21906.00	1.64	7983.52
0084	8364000000-E	450	HP12X53 PILES	755 LF	60.00	45300.00	35.00	26425.00	40.00	30200.00
0085	8505000000-E	460	VERT CONC BARRIER RAIL	270.75 LF	60.00	16245.00	53.00	14349.75	58.00	15703.50
0086	8608000000-E	876	RIP RAP II (2'-0")	140 TON	40.00	5600.00	45.00	6300.00	53.00	7420.00
0087	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	155 SY	2.00	310.00	2.00	310.00	2.20	341.00
0088	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		6500.00		8200.00		11200.00
0089	8762000000-E	430	3'-0"X 1'-9"PRESTR SLABS	825 LF	122.00	100650.00	155.00	127875.00	110.00	90750.00
0090	8763000000-E	430	3'-0" X 2'-0"PRESTR SLABS	660 LF	147.00	97020.00	165.00	108900.00	145.00	95700.00
CONTRACT TOTAL					TOTAL	851988.32	TOTAL	852853.56	TOTAL	863093.46
ROADWAY ITEMS					SUB-TOTAL	258721.82	SUB-TOTAL	252526.81	SUB-TOTAL	276555.70
STRUCTURE ITEMS					SUB-TOTAL	593266.50	SUB-TOTAL	600326.75	SUB-TOTAL	586537.76

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

SMITH-ROWE, LLC

MOUNT AIRY, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		44500.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		5000.00
0003	0030000000-N	SP	BRG APP SUB REG TIER** (19+82.53)	Lump Sum		7650.00
0004	0043000000-N	226	GRADING	Lump Sum		42000.00
0005	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	1.00	1.00
0006	0057000000-E	226	UNDERCUT EXCAVATION	200 CY	20.00	4000.00
0007	0195000000-E	265	SELECT GRANULAR MATERIAL	500 CY	5.00	2500.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	1,200 SY	2.00	2400.00
0009	0318000000-E	300	FND CONDIT MATL MINOR STRS	20 TON	38.00	760.00
0010	0320000000-E	300	FND CONDIT GEOTEXTILE	55 SY	2.00	110.00
0011	0335200000-E	305	15" DRAINAGE PIPE	60 LF	35.00	2100.00
0012	0335400000-E	305	24" DRAINAGE PIPE	76 LF	44.00	3344.00
0013	0582000000-E	310	15" CS PIPE CULV 0.064"	20 LF	30.00	600.00
0014	0636000000-E	310	*** CS ELBOW ***** THICK (15", 0.064")	2 EA	500.00	1000.00
0015	1099500000-E	505	SHALLOW UNDERCUT	200 CY	20.00	4000.00
0016	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	400 TON	27.50	11000.00
0017	1220000000-E	545	INCIDENTAL STONE BASE	50 TON	35.00	1750.00
0018	1489000000-E	610	ASP CONC BASE CRS B25.0B	325 TON	59.00	19175.00
0019	1525000000-E	610	ASP CONC SURF CRS SF9.5A	250 TON	64.95	16237.50
0020	1575000000-E	620	ASP FOR PLANT MIX	32 TON	675.00	21600.00
0021	2022000000-E	815	SUBDRAIN EXCAVATION	50 CY	5.00	250.00
0022	2033000000-E	815	SUBDRAIN FINE AGGREGATE	40 CY	12.00	480.00
0023	2044000000-E	815	6" PERF SUBDRN PIPE	200 LF	3.00	600.00
0024	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	90.00	90.00
0025	2077000000-E	815	6" OUTLET PIPE	1 LF	5.00	5.00
0026	2286000000-N	840	MASNRY DRAINAGE STRUCT	3 EA	1200.00	3600.00
0027	2308000000-E	840	MASNRY DRAINAGE STRUCT	1 LF	250.00	250.00
0028	2367000000-N	840	FRAME W/2GRTS 840.29 STD	3 EA	600.00	1800.00
0029	2556000000-E	846	SHOULDER BERM GUTTER	55 LF	60.00	3300.00
0030	3030000000-E	862	STL BM GUARDRAIL	150 LF	14.00	2100.00
0031	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	11.00	55.00
0032	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1200.00	4800.00
0033	3270000000-N	SP	GR ANCHOR TYPE 350	4 EA	1800.00	7200.00
0034	3500000000-E	866	WOVEN WIRE FENCE *** FAB (36")	75 LF	3.25	243.75
0035	3509000000-E	866	4" TIMBER POSTS 7'-6"LONG	4 EA	17.50	70.00
0036	3515000000-E	866	5" TIMBER POSTS 8'-0"LONG	7 EA	27.50	192.50
0037	3557000000-E	866	ADDITIONAL BARBED WIRE	75 LF	1.25	93.75
0038	3559000000-E	866	** STRAND BW FENCE W/ POSTS (3)	260 LF	4.25	1105.00

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

SMITH-ROWE, LLC

MOUNT AIRY, NC

0039	3575000000-E	SP	GENERIC FENCING ITEM (LF) 48" WOODEN RAIL FENCE	255 LF	12.50	3187.50
0040	3649000000-E	876	RIP RAP, CLASS B	1 TON	42.00	42.00
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	830 SY	2.00	1660.00
0042	4400000000-E	1110	WORK ZONE SIGNS (STAT)	447 SF	3.66	1636.02
0043	4410000000-E	1110	WORK ZONE SIGNS (BARR)	144 SF	5.00	720.00
0044	4445000000-E	1145	BARRICADES (TYPE III)	96 LF	17.00	1632.00
0045	4810000000-E	1205	PAINT PVMT MARKINGS 4"	5,000 LF	0.45	2250.00
0046	6000000000-E	1605	TEMPORARY SILT FENCE	250 LF	2.50	625.00
0047	6006000000-E	1610	EROS CONTRL STONE CL A	160 TON	38.00	6080.00
0048	6009000000-E	1610	EROS CONTRL STONE CL B	110 TON	38.00	4180.00
0049	6012000000-E	1610	SEDIMENT CONTROL STONE	205 TON	35.00	7175.00
0050	6015000000-E	1615	TEMPORARY MULCHING	1 ACR	598.00	598.00
0051	6018000000-E	1620	SEED FOR TEMP SEEDING	50 LB	2.35	117.50
0052	6021000000-E	1620	FERT FOR TEMP SEEDING	1.25 TON	875.00	1093.75
0053	6024000000-E	1622	TEMPORARY SLOPE DRAINS	250 LF	10.00	2500.00
0054	6029000000-E	SP	SAFETY FENCE	300 LF	1.39	417.00
0055	6030000000-E	1630	SILT EXCAVATION	290 CY	10.00	2900.00
0056	6036000000-E	1631	MATTING FOR EROS CONTROL	2,000 SY	1.44	2880.00
0057	6037000000-E	SP	COIR FIBER MAT	60 SY	5.75	345.00
0058	6042000000-E	1632	1/4" HARDWARE CLOTH	150 LF	5.00	750.00
0059	6070000000-N	1639	SPECIAL STILLING BASINS	8 EA	300.00	2400.00
0060	6071010000-E	SP	WATTLE	180 LF	5.95	1071.00
0061	6071020000-E	SP	POLYACRYLAMIDE (PAM)	25 LB	12.00	300.00
0062	6071030000-E	1640	COIR FIBER BAFFLE	120 LF	4.74	568.80
0063	6071050000-E	SP	*** SKIMMER (1-1/2")	4 EA	1200.00	4800.00
0064	6084000000-E	1660	SEEDING AND MULCHING	1.5 ACR	1375.00	2062.50
0065	6087000000-E	1660	MOWING	0.5 ACR	55.00	27.50
0066	6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	3.26	163.00
0067	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25 TON	925.00	231.25
0068	6096000000-E	1662	SEED FOR SUPP SEEDING	50 LB	3.10	155.00
0069	6108000000-E	1665	FERTILIZER TOPDRESSING	0.75 TON	900.00	675.00
0070	6114500000-N	1667	SPECIALIZED HAND MOWING	30 MHR	22.00	660.00
0071	6117000000-N	SP	RESPONSE FOR EROS CONTROL	18 EA	220.00	3960.00
STRUCTURE ITEMS						
0072	8035000000-N	402	REMV EXIST STR ***** (19+82.53-L-)	Lump Sum		55915.00
0073	8105520000-E	411	3'-0" DRILLD PIER IN SOIL	182.5 LF	329.45	60124.63
0074	8105620000-E	411	3'-0" DRILLD PIER NO SOIL	47 LF	2661.10	125071.70
0075	8111200000-E	411	PERM STL CASING FOR 3' PIER	106.5 LF	118.00	12567.00

FED AID NO BRSTP-2308(2)

GRADING, DRAINAGE, PAVING, AND STRUCTURE.

BRIDGE OVER FOURTH CREEK AND APPROACHES ON SR-2308.

SMITH-ROWE, LLC

MOUNT AIRY, NC

0076	8113000000-N	411	SID INSPECTIONS	2	EA	1400.00	2800.00
0077	8114000000-N	411	SPT TESTING	2	EA	1975.00	3950.00
0078	8115000000-N	411	CSL TESTING	1	EA	3100.00	3100.00
0079	8121000000-N	412	UNCL STR EXCAV STA ***** (19+82.53-L-)		Lump Sum		9085.00
0080	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	78.3	CY	685.66	53687.18
0081	8210000000-N	422	BRG APPR SLAB ***** (19+82.53-L-)		Lump Sum		18200.00
0082	8217000000-E	425	REINF STEEL (BRIDGE)	30,514	LB	0.94	28683.16
0083	8238000000-E	425	SPIRAL COL REINF STL BRG	4,868	LB	1.89	9200.52
0084	8364000000-E	450	HP12X53 PILES	755	LF	37.30	28161.50
0085	8505000000-E	460	VERT CONC BARRIER RAIL	270.75	LF	56.97	15424.63
0086	8608000000-E	876	RIP RAP II (2'-0")	140	TON	42.50	5950.00
0087	8622000000-E	876	GEOTEXTILE FOR DRAINAGE	155	SY	2.15	333.25
0088	8657000000-N	430	ELASTOMERIC BEARINGS		Lump Sum		7250.00
0089	8762000000-E	430	3'-0"X 1'-9"PRESTR SLABS	825	LF	109.49	90329.25
0090	8763000000-E	430	3'-0" X 2'-0"PRESTR SLABS	660	LF	138.49	91403.40

CONTRACT TOTAL TOTAL 895061.54

ROADWAY ITEMS SUB-TOTAL 273825.32
STRUCTURE ITEMS SUB-TOTAL 621236.22

BIDDERS IN ORDER

CONTRACT TOTAL

APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION	1	748234.97
APPLE TUCK & ASSOCIATES, INC.	2	795230.01
TCB BUILDERS, LLC	3	820628.25
DAVIE GRADING, INC.	4	851988.32
R.E. BURNS & SONS CO., INC.	5	852853.56
SUNBELT STRUCTURES, INC.	6	863093.46
SMITH-ROWE, LLC	7	895061.54

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

DAVIS GRADING, INC. REA CONTRACTING A DIVISION OF ASPHALT PAVING OF SHELBY, INC.
THE LANE CONSTRUCTION
CORPORAT
CHESHIRE, CT
SHELBY, NC SHELBY, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		90000.00		100000.00		103000.00
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum		30195.00		21500.00		40000.00
0003	0043000000-N	226	GRADING	Lump Sum		182447.84		190000.00		260000.00
0004	0050000000-E	226	SUPP CLEARING & GRUBBING	1 ACR	3675.00	3675.00	1.00	1.00	1500.00	1500.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	100 CY	15.75	1575.00	5.00	500.00	8.00	800.00
0006	0134000000-E	240	DRAINAGE DITCH EXCAVATION	100 CY	15.75	1575.00	5.00	500.00	8.00	800.00
0007	0141000000-E	240	BERM DITCH CONSTRUCTION	120 LF	4.52	542.40	3.00	360.00	5.00	600.00
0008	0314000000-E	SP	SELECT MATERIAL CLASS ** (VII)	500 TON	51.98	25990.00	40.00	20000.00	40.00	20000.00
0009	0318000000-E	300	FND CONDIT MATL MINOR STRS	630 TON	36.05	22711.50	30.00	18900.00	35.00	22050.00
0010	0320000000-E	300	FND CONDIT GEOTEXTILE	1,980 SY	2.10	4158.00	2.50	4950.00	2.00	3960.00
0011	0335200000-E	305	15" DRAINAGE PIPE	3,176 LF	32.00	101632.00	22.00	69872.00	32.00	101632.00
0012	0335300000-E	305	18" DRAINAGE PIPE	1,040 LF	33.34	34673.60	28.00	29120.00	34.00	35360.00
0013	0335400000-E	305	24" DRAINAGE PIPE	828 LF	41.54	34395.12	34.00	28152.00	46.00	38088.00
0014	0335500000-E	305	30" DRAINAGE PIPE	320 LF	51.21	16387.20	42.00	13440.00	60.00	19200.00
0015	0335600000-E	305	36" DRAINAGE PIPE	328 LF	67.00	21976.00	53.00	17384.00	72.00	23616.00
0016	0354000000-E	310	**** RC PIPE CULV ***** (96", III)	120 LF	631.00	75720.00	600.00	72000.00	750.00	90000.00
0017	0408000000-E	310	54" RC PIPE CULV III	152 LF	140.00	21280.00	125.00	19000.00	260.00	39520.00
0018	0414000000-E	310	60" RC PIPE CULV III	36 LF	205.00	7380.00	150.00	5400.00	325.00	11700.00
0019	0420000000-E	310	66" RC PIPE CULV III	128 LF	240.00	30720.00	225.00	28800.00	350.00	44800.00
0020	0995000000-E	340	PIPE REMOVAL	935 LF	9.00	8415.00	5.00	4675.00	12.00	11220.00
0021	1077000000-E	SP	#57 STONE	15 TON	30.82	462.30	30.00	450.00	40.00	600.00
0022	1121000000-E	520	AGGREGATE BASE COURSE	2,896 TON	23.00	66608.00	38.50	111496.00	25.00	72400.00
0023	1220000000-E	545	INCIDENTAL STONE BASE	1,200 TON	23.17	27804.00	46.00	55200.00	25.00	30000.00
0024	1275000000-E	600	PRIME COAT	238 GAL	5.09	1211.42	6.00	1428.00	10.00	2380.00
0025	1297000000-E	607	MILL ASP PVMT ***** DTH (1-1/2")	1,600 SY	5.25	8400.00	5.00	8000.00	8.00	12800.00
0026	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 1-1/2")	500 SY	10.50	5250.00	10.00	5000.00	8.00	4000.00
0027	1491000000-E	610	ASP CONC BASE CRS B25.0C	2,960 TON	48.83	144536.80	60.00	177600.00	46.00	136160.00
0028	1503000000-E	610	ASP CONC INTR CRS I19.0C	1,490 TON	50.61	75408.90	65.00	96850.00	49.00	73010.00
0029	1519000000-E	610	ASP CONC SURF CRS S9.5B	60 TON	66.68	4000.80	160.00	9600.00	48.00	2880.00
0030	1523000000-E	610	ASP CONC SURF CRS S9.5C	2,260 TON	47.04	106310.40	65.00	146900.00	49.00	110740.00
0031	1575000000-E	620	ASP FOR PLANT MIX	340 TON	698.25	237405.00	700.00	238000.00	660.00	224400.00
0032	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	180 TON	131.25	23625.00	150.00	27000.00	90.00	16200.00
0033	1704000000-E	SP	PATCHING EXIST PAVEMENT	10 TON	131.25	1312.50	275.00	2750.00	90.00	900.00
0034	2220000000-E	838	REINFORCED ENDWALLS	26.4 CY	880.00	23232.00	900.00	23760.00	900.00	23760.00
0035	2275000000-E	SP	FLOWABLE FILL	45 CY	180.60	8127.00	200.00	9000.00	200.00	9000.00
0036	2286000000-N	840	MASNRY DRAINAGE STRUCT	74 EA	1000.00	74000.00	950.00	70300.00	1200.00	88800.00
0037	2297000000-E	840	MASNRY DRAINAGE STRUCT	114 CY	642.00	73188.00	900.00	102600.00	712.00	81168.00
0038	2308000000-E	840	MASNRY DRAINAGE STRUCT	33.1 LF	200.00	6620.00	190.00	6289.00	200.00	6620.00

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

				DAVIS GRADING, INC. SHELBY, NC		REA CONTRACTING A DIVISION OF THE LANE CONSTRUCTION CORPORAT CHESHIRE, CT		ASPHALT PAVING OF SHELBY, INC. SHELBY, NC			
0039	2364000000-N	840	FRAME W/2GRTS 840.16 STD	25	EA	480.00	12000.00	450.00	11250.00	500.00	12500.00
0040	2365000000-N	840	FRAME W/2GRTS 840.22 STD	5	EA	450.00	2250.00	400.00	2000.00	400.00	2000.00
0041	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	1	EA	563.00	563.00	475.00	475.00	500.00	500.00
0042	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	21	EA	584.00	12264.00	475.00	9975.00	500.00	10500.00
0043	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	20	EA	584.00	11680.00	475.00	9500.00	500.00	10000.00
0044	2396000000-N	840	FRAME W/COVER STD 840.54	1	EA	400.00	400.00	355.00	355.00	400.00	400.00
0045	2418000000-E	SP	FRM W/GRATES, DRIVEWY DI	60	LF	286.00	17160.00	95.00	5700.00	250.00	15000.00
0046	2549000000-E	846	2'-6" CONC CURB & GUTTER	8,090	LF	13.85	112046.50	12.75	103147.50	13.19	106707.10
0047	2612000000-E	848	6" CONCRETE DRIVEWAY	880	SY	35.58	31310.40	38.00	33440.00	33.89	29823.20
0048	2619000000-E	850	4" CONCRETE PAVED DITCH	11	SY	53.40	587.40	30.00	330.00	50.86	559.46
0049	2905000000-N	859	CONVERT DI TO JB	1	EA	1100.00	1100.00	1500.00	1500.00	2000.00	2000.00
0050	3030000000-E	862	STL BM GUARDRAIL	100	LF	15.75	1575.00	15.75	1575.00	15.75	1575.00
0051	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	7.35	36.75	35.00	175.00	35.00	175.00
0052	3270000000-N	SP	GR ANCHOR TYPE 350	2	EA	2130.45	4260.90	1925.00	3850.00	1925.00	3850.00
0053	3628000000-E	876	RIP RAP, CLASS I	35	TON	37.80	1323.00	32.00	1120.00	50.00	1750.00
0054	3635000000-E	876	RIP RAP, CLASS II	627	TON	31.08	19487.16	32.00	20064.00	35.00	21945.00
0055	3649000000-E	876	RIP RAP, CLASS B	131	TON	32.81	4298.11	33.00	4323.00	50.00	6550.00
0056	3651000000-E	SP	BOULDERS	200	TON	51.98	10396.00	50.00	10000.00	50.00	10000.00
0057	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	730	SY	2.10	1533.00	2.50	1825.00	2.00	1460.00
0058	3659000000-N	SP	PREFORMED SCOUR HOLES	1	EA	2310.00	2310.00	1250.00	1250.00	1000.00	1000.00
0059	4400000000-E	1110	WORK ZONE SIGNS (STAT)	865	SF	3.68	3183.20	3.50	3027.50	4.15	3589.75
0060	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	5.78	554.88	5.50	528.00	8.85	849.60
0061	4410000000-E	1110	WORK ZONE SIGNS (BARR)	90	SF	4.99	449.10	4.75	427.50	6.05	544.50
0062	4430000000-N	1130	DRUMS	300	EA	44.05	13215.00	41.95	12585.00	18.00	5400.00
0063	4445000000-E	1145	BARRICADES (TYPE III)	64	LF	22.58	1445.12	21.50	1376.00	17.00	1088.00
0064	4455000000-N	1150	FLAGGER	100	DAY	157.50	15750.00	265.10	26510.00	175.00	17500.00
0065	4650000000-N	1251	TEMP RAISED PVMT MRKS	10	EA	10.50	105.00	10.00	100.00	25.00	250.00
0066	4685000000-E	1205	THERMO PVT MKG LINES 4"90	500	LF	0.76	380.00	0.72	360.00	0.85	425.00
0067	4686000000-E	1205	THERMO PVT MKG LINES 4"120	12,177	LF	0.79	9619.83	0.75	9132.75	0.90	10959.30
0068	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	50	LF	2.10	105.00	2.00	100.00	5.00	250.00
0069	4710000000-E	1205	24"WIDE THERMO 120 MILS	72	LF	5.25	378.00	5.00	360.00	15.00	1080.00
0070	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	30	EA	78.75	2362.50	75.00	2250.00	175.00	5250.00
0071	4810000000-E	1205	PAINT PVMT MARKINGS 4"	2,000	LF	0.63	1260.00	0.60	1200.00	0.85	1700.00
0072	4905000000-N	1253	SNOWPLB PVMT MRKER	140	EA	52.50	7350.00	48.00	6720.00	32.00	4480.00
0073	6000000000-E	1605	TEMPORARY SILT FENCE	5,165	LF	1.62	8367.30	1.54	7954.10	2.00	10330.00
0074	6006000000-E	1610	EROS CONTRL STONE CL A	21	TON	36.44	765.24	32.00	672.00	40.00	840.00
0075	6009000000-E	1610	EROS CONTRL STONE CL B	500	TON	31.08	15540.00	32.00	16000.00	40.00	20000.00
0076	6012000000-E	1610	SEDIMENT CONTROL STONE	462	TON	30.82	14238.84	30.00	13860.00	35.00	16170.00
0077	6015000000-E	1615	TEMPORARY MULCHING	1	ACR	627.90	627.90	598.00	598.00	1000.00	1000.00

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

		DAVIS GRADING, INC. REA CONTRACTING A DIVISION OF		THE LANE CONSTRUCTION		CORPORAT		ASPHALT PAVING OF SHELBY, INC.	
		SHELBY, NC		CHESHIRE, CT		SHELBY, NC			
0078	6018000000-E	1620 SEED FOR TEMP SEEDING	30 LB	2.47	74.10	2.35	70.50	6.00	180.00
0079	6021000000-E	1620 FERT FOR TEMP SEEDING	1 TON	918.75	918.75	875.00	875.00	1200.00	1200.00
0080	6024000000-E	1622 TEMPORARY SLOPE DRAINS	70 LF	16.96	1187.20	18.00	1260.00	15.00	1050.00
0081	6029000000-E	SP SAFETY FENCE	100 LF	1.46	146.00	4.59	459.00	5.00	500.00
0082	6030000000-E	1630 SILT EXCAVATION	1,100 CY	9.71	10681.00	6.00	6600.00	7.50	8250.00
0083	6036000000-E	1631 MATTING FOR EROS CONTROL	400 SY	1.55	620.00	1.48	592.00	2.00	800.00
0084	6037000000-E	SP COIR FIBER MAT	100 SY	6.04	604.00	5.75	575.00	10.00	1000.00
0085	6038000000-E	SP PERM SOIL REINF MAT	30 SY	6.56	196.80	6.25	187.50	10.00	300.00
0086	6042000000-E	1632 1/4" HARDWARE CLOTH	2,000 LF	3.93	7860.00	3.74	7480.00	4.00	8000.00
0087	6045000000-E	SP *** TEMPORARY PIPE (18")	150 LF	26.25	3937.50	24.00	3600.00	30.00	4500.00
0088	6070000000-N	1639 SPECIAL STILLING BASINS	1 EA	199.50	199.50	1500.00	1500.00	750.00	750.00
0089	6071010000-E	SP WATTLE	150 LF	6.25	937.50	5.95	892.50	8.00	1200.00
0090	6071030000-E	1640 COIR FIBER BAFFLE	375 LF	4.98	1867.50	4.74	1777.50	6.00	2250.00
0091	6071050000-E	SP *** SKIMMER (1-1/2")	5 EA	1312.50	6562.50	850.00	4250.00	1000.00	5000.00
0092	6084000000-E	1660 SEEDING AND MULCHING	3 ACR	1391.25	4173.75	1325.00	3975.00	1500.00	4500.00
0093	6111000000-E	SP IMPERVIOUS DIKE	400 LF	38.00	15200.00	65.00	26000.00	40.00	16000.00
0094	6114500000-N	1667 SPECIALIZED HAND MOWING	20 MHR	23.10	462.00	22.00	440.00	40.00	800.00
0095	6117000000-N	SP RESPONSE FOR EROS CONTROL	28 EA	231.00	6468.00	220.00	6160.00	200.00	5600.00
0096	8035000000-N	402 REMV EXIST STR ***** (30+80 -L-)	Lump Sum		5775.00		3000.00		15000.00
CONTRACT TOTAL				TOTAL	2013100.01	TOTAL	2132086.35	TOTAL	2180544.91
ROADWAY ITEMS				SUB-TOTAL	2013100.01	SUB-TOTAL	2132086.35	SUB-TOTAL	2180544.91

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

			BLYTHE DEVELOPMENT CO.	BLYTHE CONSTRUCTION, INC.		YOUNG & MCQUEEN GRADING CO INC		
			CHARLOTTE, NC	CHARLOTTE, NC		BURNSVILLE, NC		
ROADWAY ITEMS								
0001	0000100000-N	800 MOBILIZATION	Lump Sum		114000.00		110000.00	100000.00
0002	0000400000-N	801 CONSTRUCTION SURVEYING	Lump Sum		45000.00		27000.00	37000.00
0003	0043000000-N	226 GRADING	Lump Sum		374755.10		314500.00	375000.00
0004	0050000000-E	226 SUPP CLEARING & GRUBBING	1 ACR	2000.00	2000.00	100.00	100.00	5000.00
0005	0057000000-E	226 UNDERCUT EXCAVATION	100 CY	12.50	1250.00	30.00	3000.00	15.75
0006	0134000000-E	240 DRAINAGE DITCH EXCAVATION	100 CY	12.00	1200.00	8.00	800.00	5.00
0007	0141000000-E	240 BERM DITCH CONSTRUCTION	120 LF	5.00	600.00	2.00	240.00	20.00
0008	0314000000-E	SP SELECT MATERIAL CLASS ** (VII)	500 TON	42.00	21000.00	23.00	11500.00	38.90
0009	0318000000-E	300 FND CONDIR MATL MINOR STRS	630 TON	37.00	23310.00	31.00	19530.00	24.75
0010	0320000000-E	300 FND CONDIR GEOTEXTILE	1,980 SY	2.00	3960.00	7.00	13860.00	2.00
0011	0335200000-E	305 15" DRAINAGE PIPE	3,176 LF	25.00	79400.00	35.00	111160.00	31.00
0012	0335300000-E	305 18" DRAINAGE PIPE	1,040 LF	28.00	29120.00	45.00	46800.00	34.00
0013	0335400000-E	305 24" DRAINAGE PIPE	828 LF	39.00	32292.00	55.00	45540.00	41.50
0014	0335500000-E	305 30" DRAINAGE PIPE	320 LF	49.00	15680.00	75.00	24000.00	60.00
0015	0335600000-E	305 36" DRAINAGE PIPE	328 LF	60.00	19680.00	85.00	27880.00	56.30
0016	0354000000-E	310 **** RC PIPE CULV ***** (96", III)	120 LF	650.00	78000.00	627.00	75240.00	550.00
0017	0408000000-E	310 54" RC PIPE CULV III	152 LF	134.00	20368.00	125.00	19000.00	135.00
0018	0414000000-E	310 60" RC PIPE CULV III	36 LF	179.00	6444.00	175.00	6300.00	157.00
0019	0420000000-E	310 66" RC PIPE CULV III	128 LF	205.00	26240.00	250.00	32000.00	271.50
0020	0995000000-E	340 PIPE REMOVAL	935 LF	13.00	12155.00	16.00	14960.00	5.00
0021	1077000000-E	SP #57 STONE	15 TON	67.00	1005.00	30.00	450.00	30.00
0022	1121000000-E	520 AGGREGATE BASE COURSE	2,896 TON	20.00	57920.00	25.00	72400.00	24.50
0023	1220000000-E	545 INCIDENTAL STONE BASE	1,200 TON	20.00	24000.00	22.00	26400.00	26.50
0024	1275000000-E	600 PRIME COAT	238 GAL	6.00	1428.00	6.00	1428.00	8.50
0025	1297000000-E	607 MILL ASP PVMT ***** DTH (1-1/2")	1,600 SY	3.20	5120.00	4.00	6400.00	6.50
0026	1308000000-E	607 MILLN ASPHALT PVMT ***** - ***** (0" TO 1-1/2")	500 SY	4.00	2000.00	10.00	5000.00	13.00
0027	1491000000-E	610 ASP CONC BASE CRS B25.0C	2,960 TON	52.00	153920.00	41.00	121360.00	45.10
0028	1503000000-E	610 ASP CONC INTR CRS I19.0C	1,490 TON	52.00	77480.00	42.00	62580.00	46.20
0029	1519000000-E	610 ASP CONC SURF CRS S9.5B	60 TON	100.00	6000.00	75.00	4500.00	82.50
0030	1523000000-E	610 ASP CONC SURF CRS S9.5C	2,260 TON	46.00	103960.00	41.00	92660.00	45.10
0031	1575000000-E	620 ASP FOR PLANT MIX	340 TON	650.00	221000.00	636.00	216240.00	700.00
0032	1693000000-E	654 ASPH PLT MIX PVMT REPAIR	180 TON	112.00	20160.00	120.00	21600.00	125.00
0033	1704000000-E	SP PATCHING EXIST PAVEMENT	10 TON	170.00	1700.00	120.00	1200.00	165.00
0034	2220000000-E	838 REINFORCED ENDWALLS	26.4 CY	1000.00	26400.00	1250.00	33000.00	1265.00
0035	2275000000-E	SP FLOWABLE FILL	45 CY	145.00	6525.00	175.00	7875.00	257.50
0036	2286000000-N	840 MASNRY DRAINAGE STRUCT	74 EA	1140.00	84360.00	1500.00	111000.00	1000.00
0037	2297000000-E	840 MASNRY DRAINAGE STRUCT	114 CY	1000.00	114000.00	750.00	85500.00	1560.00
0038	2308000000-E	840 MASNRY DRAINAGE STRUCT	33.1 LF	190.00	6289.00	225.00	7447.50	200.00

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

				BLYTHE DEVELOPMENT CO.		BLYTHE CONSTRUCTION, INC.		YOUNG & MCQUEEN GRADING CO INC			
				CHARLOTTE, NC		CHARLOTTE, NC		BURNSVILLE, NC			
0039	2364000000-N	840	FRAME W/2GRTS 840.16 STD	25	EA	450.00	11250.00	500.00	12500.00	432.00	10800.00
0040	2365000000-N	840	FRAME W/2GRTS 840.22 STD	5	EA	400.00	2000.00	455.00	2275.00	389.00	1945.00
0041	2374000000-N	840	FRAME-GRT-HD 840.03 ** (E)	1	EA	500.00	500.00	550.00	550.00	495.00	495.00
0042	2374000000-N	840	FRAME-GRT-HD 840.03 ** (F)	21	EA	500.00	10500.00	550.00	11550.00	495.00	10395.00
0043	2374000000-N	840	FRAME-GRT-HD 840.03 ** (G)	20	EA	500.00	10000.00	550.00	11000.00	495.00	9900.00
0044	2396000000-N	840	FRAME W/COVER STD 840.54	1	EA	350.00	350.00	400.00	400.00	325.00	325.00
0045	2418000000-E	SP	FRM W/GRATES, DRIVEWY DI	60	LF	75.00	4500.00	115.00	6900.00	154.00	9240.00
0046	2549000000-E	846	2'-6" CONC CURB & GUTTER	8,090	LF	14.00	113260.00	14.50	117305.00	13.25	107192.50
0047	2612000000-E	848	6" CONCRETE DRIVEWAY	880	SY	40.00	35200.00	40.00	35200.00	57.50	50600.00
0048	2619000000-E	850	4" CONCRETE PAVED DITCH	11	SY	48.00	528.00	56.00	616.00	143.75	1581.25
0049	2905000000-N	859	CONVERT DI TO JB	1	EA	600.00	600.00	850.00	850.00	1000.00	1000.00
0050	3030000000-E	862	STL BM GUARDRAIL	100	LF	17.00	1700.00	15.00	1500.00	18.25	1825.00
0051	3150000000-N	862	ADDIT GUARDRAIL POSTS	5	EA	8.00	40.00	7.00	35.00	40.25	201.25
0052	3270000000-N	SP	GR ANCHOR TYPE 350	2	EA	2300.00	4600.00	2029.00	4058.00	2213.75	4427.50
0053	3628000000-E	876	RIP RAP, CLASS I	35	TON	40.00	1400.00	55.00	1925.00	45.50	1592.50
0054	3635000000-E	876	RIP RAP, CLASS II	627	TON	42.00	26334.00	60.00	37620.00	48.00	30096.00
0055	3649000000-E	876	RIP RAP, CLASS B	131	TON	42.00	5502.00	55.00	7205.00	45.50	5960.50
0056	3651000000-E	SP	BOULDERS	200	TON	60.00	12000.00	75.00	15000.00	90.00	18000.00
0057	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	730	SY	2.00	1460.00	3.00	2190.00	2.50	1825.00
0058	3659000000-N	SP	PREFORMED SCOUR HOLES	1	EA	685.00	685.00	350.00	350.00	1380.00	1380.00
0059	4400000000-E	1110	WORK ZONE SIGNS (STAT)	865	SF	5.00	4325.00	15.00	12975.00	5.00	4325.00
0060	4405000000-E	1110	WORK ZONE SIGNS (PORT)	96	SF	16.00	1536.00	9.00	864.00	13.60	1305.60
0061	4410000000-E	1110	WORK ZONE SIGNS (BARR)	90	SF	7.00	630.00	11.00	990.00	7.00	630.00
0062	4430000000-N	1130	DRUMS	300	EA	44.00	13200.00	50.00	15000.00	62.00	18600.00
0063	4445000000-E	1145	BARRICADES (TYPE III)	64	LF	20.00	1280.00	25.00	1600.00	20.00	1280.00
0064	4455000000-N	1150	FLAGGER	100	DAY	360.00	36000.00	500.00	50000.00	162.50	16250.00
0065	4650000000-N	1251	TEMP RAISED PVMT MRKS	10	EA	11.00	110.00	25.00	250.00	28.75	287.50
0066	4685000000-E	1205	THERMO PVT MKG LINES 4"90	500	LF	0.84	420.00	1.00	500.00	1.15	575.00
0067	4686000000-E	1205	THERMO PVT MKG LINES 4"120	12,177	LF	0.90	10959.30	0.80	9741.60	0.92	11202.84
0068	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	50	LF	2.30	115.00	2.00	100.00	2.30	115.00
0069	4710000000-E	1205	24"WIDE THERMO 120 MILS	72	LF	5.80	417.60	8.00	576.00	9.20	662.40
0070	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	30	EA	87.00	2610.00	110.00	3300.00	126.50	3795.00
0071	4810000000-E	1205	PAINT PVMT MARKINGS 4"	2,000	LF	0.70	1400.00	1.00	2000.00	1.15	2300.00
0072	4905000000-N	1253	SNOWPLB PVMT MRKER	140	EA	55.00	7700.00	28.00	3920.00	32.20	4508.00
0073	6000000000-E	1605	TEMPORARY SILT FENCE	5,165	LF	1.70	8780.50	3.25	16786.25	1.70	8780.50
0074	6006000000-E	1610	EROS CONTRL STONE CL A	21	TON	48.00	1008.00	60.00	1260.00	34.00	714.00
0075	6009000000-E	1610	EROS CONTRL STONE CL B	500	TON	42.00	21000.00	60.00	30000.00	40.00	20000.00
0076	6012000000-E	1610	SEDIMENT CONTROL STONE	462	TON	43.00	19866.00	50.00	23100.00	35.00	16170.00
0077	6015000000-E	1615	TEMPORARY MULCHING	1	ACR	600.00	600.00	598.00	598.00	575.00	575.00

FED AID NO STP-27(7)

GRADING, DRAINAGE, CURB & GUTTER AND PAVING.

NC-27 FROM EAST OF NC-150 TO SR-1354 (ASBURY RD).

				BLYTHE DEVELOPMENT CO.	BLYTHE CONSTRUCTION, INC.	YOUNG & MCQUEEN GRADING CO INC			
				CHARLOTTE, NC	CHARLOTTE, NC	BURNSVILLE, NC			
0078	6018000000-E	1620 SEED FOR TEMP SEEDING	30 LB	2.00	60.00	2.35	70.50	2.00	60.00
0079	6021000000-E	1620 FERT FOR TEMP SEEDING	1 TON	1175.00	1175.00	875.00	875.00	1150.00	1150.00
0080	6024000000-E	1622 TEMPORARY SLOPE DRAINS	70 LF	22.00	1540.00	25.00	1750.00	10.20	714.00
0081	6029000000-E	SP SAFETY FENCE	100 LF	1.75	175.00	2.50	250.00	1.75	175.00
0082	6030000000-E	1630 SILT EXCAVATION	1,100 CY	4.75	5225.00	10.00	11000.00	15.00	16500.00
0083	6036000000-E	1631 MATTING FOR EROS CONTROL	400 SY	1.50	600.00	1.48	592.00	1.40	560.00
0084	6037000000-E	SP COIR FIBER MAT	100 SY	4.25	425.00	8.00	800.00	5.00	500.00
0085	6038000000-E	SP PERM SOIL REINF MAT	30 SY	4.75	142.50	6.25	187.50	5.00	150.00
0086	6042000000-E	1632 1/4" HARDWARE CLOTH	2,000 LF	4.50	9000.00	5.00	10000.00	4.00	8000.00
0087	6045000000-E	SP *** TEMPORARY PIPE (18")	150 LF	12.50	1875.00	40.00	6000.00	23.00	3450.00
0088	6070000000-N	1639 SPECIAL STILLING BASINS	1 EA	500.00	500.00	500.00	500.00	500.00	500.00
0089	6071010000-E	SP WATTLE	150 LF	6.00	900.00	7.50	1125.00	5.75	862.50
0090	6071030000-E	1640 COIR FIBER BAFFLE	375 LF	5.00	1875.00	5.30	1987.50	5.00	1875.00
0091	6071050000-E	SP *** SKIMMER (1-1/2")	5 EA	650.00	3250.00	1250.00	6250.00	605.00	3025.00
0092	6084000000-E	1660 SEEDING AND MULCHING	3 ACR	1900.00	5700.00	1325.00	3975.00	1840.00	5520.00
0093	6111000000-E	SP IMPERVIOUS DIKE	400 LF	37.50	15000.00	1.00	400.00	57.50	23000.00
0094	6114500000-N	1667 SPECIALIZED HAND MOWING	20 MHR	35.00	700.00	22.00	440.00	34.50	690.00
0095	6117000000-N	SP RESPONSE FOR EROS CONTROL	28 EA	25.00	700.00	220.00	6160.00	23.00	644.00
0096	8035000000-N	402 REMV EXIST STR ***** (30+80 -L-)	Lump Sum		15000.00		5000.00		8500.00
CONTRACT TOTAL				TOTAL	2257930.00	TOTAL	2280402.85	TOTAL	2351582.24
ROADWAY ITEMS				SUB-TOTAL	2257930.00	SUB-TOTAL	2280402.85	SUB-TOTAL	2351582.24
BIDDERS IN ORDER				CONTRACT TOTAL					
		DAVIS GRADING, INC.	1		2013100.01				
		REA CONTRACTING A DIVISION OF THE LANE CONSTRUCTION CORPORAT	2		2132086.35				
		ASPHALT PAVING OF SHELBY, INC.	3		2180544.91				
		BLYTHE DEVELOPMENT CO.	4		2257930.00				
		BLYTHE CONSTRUCTION, INC.	5		2280402.85				
		YOUNG & MCQUEEN GRADING CO INC	6		2351582.24				

FED AID NO BRSTP-0273(4)

BRIDGE PRESERVATION.

BRIDGE # 22 OVER DUKE POWER FEEDER ON NC-273.

			ASTRON GENERAL CONTRACTING COMPANY INC			M & J CONSTRUCTION CO. OF PINELLAS COUNTY, INC.		KLICOS PAINTING COMPANY, INC.	
			JACKSONVILLE, NC			TARPON SPRINGS, FL		BALTIMORE, MD	
ROADWAY ITEMS									
0001	0000100000-N	800 MOBILIZATION	Lump Sum		95000.00		171548.00		82000.00
0002	4400000000-E	1110 WORK ZONE SIGNS (STAT)	739 SF	2.50	1847.50	4.50	3325.50	5.00	3695.00
0003	4405000000-E	1110 WORK ZONE SIGNS (PORT)	787 SF	5.00	3935.00	9.36	7366.32	1.00	787.00
0004	4410000000-E	1110 WORK ZONE SIGNS (BARR)	200 SF	3.00	600.00	5.40	1080.00	5.00	1000.00
0005	4430000000-N	1130 DRUMS	20 EA	45.00	900.00	50.40	1008.00	5.00	100.00
0006	4435000000-N	1135 CONES	20 EA	20.00	400.00	18.30	366.00	5.00	100.00
0007	4445000000-E	1145 BARRICADES (TYPE III)	144 LF	15.00	2160.00	18.00	2592.00	10.00	1440.00
0008	4450000000-N	1150 FLAGGER	2,940 HR	8.00	23520.00	15.00	44100.00	7.00	20580.00
0009	4510000000-N	SP LAW ENFORCEMENT	150 HR	15.00	2250.00	70.00	10500.00	40.00	6000.00
0010	4516000000-N	1180 SKINNY DRUM	28 EA	30.00	840.00	31.80	890.40	1.00	28.00
0011	4600000000-N	SP GENERIC TRAFFIC CONTROL ITEM (EA) AFAD	1 EA	28500.00	28500.00	43868.00	43868.00	20000.00	20000.00
0012	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) CLEAN AND REPAINT OF BRIDGE # 22	Lump Sum		427500.00		620000.00		749000.00
0013	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		35000.00		100000.00		25000.00
0014	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		341000.00		150000.00		500000.00
0015	8867000000-E	SP GENERIC STRUCTURE ITEM (LF) LOCALIZED CLEANING AND SEALING	285 LF	15.00	4275.00	10.00	2850.00	10.00	2850.00
0016	8889000000-E	SP GENERIC STRUCTURE ITEM (LB) STRUCTURAL STEEL REPAIR, APPROX. LBS	1,737 LB	44.00	76428.00	69.12	120061.44	35.00	60795.00
0017	8897000000-N	SP GENERIC STRUCTURE ITEM (EA) BOLT REMOVAL AND REPLACEMENT	1,379 EA	50.00	68950.00	109.13	150490.27	38.50	53091.50
0018	8897000000-N	SP GENERIC STRUCTURE ITEM (EA) JACKING AND ADJUSTMENT OF BEARINGS	4 EA	26000.00	104000.00	6722.00	26888.00	22000.00	88000.00
0019	8897000000-N	SP GENERIC STRUCTURE ITEM (EA) REMOVAL OF TACK WELDS	1,300 EA	15.00	19500.00	28.25	36725.00	28.00	36400.00
CONTRACT TOTAL				TOTAL	1236605.50	TOTAL	1493658.93	TOTAL	1650866.50
ROADWAY ITEMS				SUB-TOTAL	1236605.50	SUB-TOTAL	1493658.93	SUB-TOTAL	1650866.50

FED AID NO BRSTP-0273(4)

BRIDGE PRESERVATION.

BRIDGE # 22 OVER DUKE POWER FEEDER ON NC-273.

SAFFO CONTRACTORS INC

WILMINGTON, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum			235000.00
0002	4400000000-E	1110	WORK ZONE SIGNS (STAT)	739	SF	5.00	3695.00
0003	4405000000-E	1110	WORK ZONE SIGNS (PORT)	787	SF	5.00	3935.00
0004	4410000000-E	1110	WORK ZONE SIGNS (BARR)	200	SF	5.00	1000.00
0005	4430000000-N	1130	DRUMS	20	EA	75.00	1500.00
0006	4435000000-N	1135	CONES	20	EA	10.00	200.00
0007	4445000000-E	1145	BARRICADES (TYPE III)	144	LF	10.00	1440.00
0008	4450000000-N	1150	FLAGGER	2,940	HR	10.00	29400.00
0009	4510000000-N	SP	LAW ENFORCEMENT	150	HR	15.00	2250.00
0010	4516000000-N	1180	SKINNY DRUM	28	EA	40.00	1120.00
0011	4600000000-N	SP	GENERIC TRAFFIC CONTROL ITEM (EA) AFAD	1	EA	2500.00	2500.00
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEAN AND REPAINT OF BRIDGE # 22	Lump Sum			600000.00
0013	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum			175000.00
0014	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum			325000.00
0015	8867000000-E	SP	GENERIC STRUCTURE ITEM (LF) LOCALIZED CLEANING AND SEALING	285	LF	30.00	8550.00
0016	8889000000-E	SP	GENERIC STRUCTURE ITEM (LB) STRUCTURAL STEEL REPAIR, APPROX. LBS	1,737	LB	55.00	95535.00
0017	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) BOLT REMOVAL AND REPLACEMENT	1,379	EA	87.50	120662.50
0018	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) JACKING AND ADJUSTMENT OF BEARINGS	4	EA	11000.00	44000.00
0019	8897000000-N	SP	GENERIC STRUCTURE ITEM (EA) REMOVAL OF TACK WELDS	1,300	EA	25.00	32500.00

CONTRACT TOTAL TOTAL 1683287.50

ROADWAY ITEMS SUB-TOTAL 1683287.50

BIDDERS IN ORDER

CONTRACT TOTAL

ASTRON GENERAL CONTRACTING COMPANY INC	1	1236605.50
M & J CONSTRUCTION CO. OF PINELLAS COUNTY, INC.	2	1493658.93
KLICOS PAINTING COMPANY, INC.	3	1650866.50
SAFFO CONTRACTORS INC	4	1683287.50

FED AID NO STATE FUNDED
BRIDGE PERSERVATION.
BRIDGES #322 & #323 ON I-240.

			S & D INDUSTRIAL PAINTING, INC.	SEMINOLE EQUIPMENT, INC.	PANTHER INDUSTRIAL PAINTING, LLC	
			TARPON SPRINGS, FL	TARPON SPRINGS, FL	MISHAWAKA, IN	
ROADWAY ITEMS						
0001	0000100000-N	800 MOBILIZATION	Lump Sum	20000.00	200000.00	100000.00
0002	4405000000-E	1110 WORK ZONE SIGNS (PORT)	224 SF	1.00 224.00	1.00 224.00	5.00 1120.00
0003	4415000000-N	1115 FLASHING ARROW BOARD	2 EA	100.00 200.00	500.00 1000.00	1000.00 2000.00
0004	4420000000-N	1120 PORTABLE CHANGE MSG SIGN	1 EA	500.00 500.00	1000.00 1000.00	1000.00 1000.00
0005	4430000000-N	1130 DRUMS	225 EA	1.00 225.00	1.00 225.00	50.00 11250.00
0006	4435000000-N	1135 CONES	40 EA	1.00 40.00	1.00 40.00	20.00 800.00
0007	4450000000-N	1150 FLAGGER	480 HR	12.00 5760.00	10.00 4800.00	30.00 14400.00
0008	4480000000-N	1165 TMA	1 EA	500.00 500.00	5000.00 5000.00	1000.00 1000.00
0009	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #322	Lump Sum	1428000.00	1400000.00	1400000.00
0010	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #323	Lump Sum	1288000.00	1300000.00	1400000.00
0011	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum	20000.00	10000.00	100000.00
0012	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum	6000.00	150000.00	400000.00
CONTRACT TOTAL			TOTAL	2769449.00	3072289.00	3431570.00
ROADWAY ITEMS			SUB-TOTAL	2769449.00	3072289.00	3431570.00

FED AID NO STATE FUNDED
BRIDGE PERSERVATION.
BRIDGES #322 & #323 ON I-240.

		KLICOS PAINTING COMPANY, INC.		ASTRON GENERAL CONTRACTING COMPANY INC		VIMAS PAINTING COMPANY, INC	
		BALTIMORE, MD		JACKSONVILLE, NC		LOWELLVILLE, OH	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	150000.00	185000.00	120000.00
0002	4405000000-E	1110	WORK ZONE SIGNS (PORT)	224 SF	1.00 224.00	10.00 2240.00	10.00 2240.00
0003	4415000000-N	1115	FLASHING ARROW BOARD	2 EA	500.00 1000.00	5000.00 10000.00	4000.00 8000.00
0004	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	1 EA	500.00 500.00	15000.00 15000.00	20000.00 20000.00
0005	4430000000-N	1130	DRUMS	225 EA	5.00 1125.00	45.00 10125.00	20.00 4500.00
0006	4435000000-N	1135	CONES	40 EA	1.00 40.00	17.00 680.00	15.00 600.00
0007	4450000000-N	1150	FLAGGER	480 HR	7.00 3360.00	8.00 3840.00	10.00 4800.00
0008	4480000000-N	1165	TMA	1 EA	1000.00 1000.00	13900.00 13900.00	15000.00 15000.00
0009	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #322	Lump Sum	1157912.00	1348749.00	1258080.00
0010	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #323	Lump Sum	1157913.00	1341000.00	1163250.00
0011	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum	25000.00	75000.00	60000.00
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum	952781.00	450000.00	1150000.00
CONTRACT TOTAL				TOTAL	3450855.00	TOTAL 3455534.00	TOTAL 3806470.00
ROADWAY ITEMS				SUB-TOTAL	3450855.00	SUB-TOTAL 3455534.00	SUB-TOTAL 3806470.00

FED AID NO STATE FUNDED
BRIDGE PERSERVATION.
BRIDGES #322 & #323 ON I-240.

			ATLAS PAINTING AND SHEETING CORP		SAFFO CONTRACTORS INC		OLYMPUS PAINTING CONTRACTORS, INC.	
			AMHERST, NY		WILMINGTON, NC		TARPON SPRINGS, FL	
ROADWAY ITEMS								
0001	0000100000-N	800 MOBILIZATION	Lump Sum		160000.00		259000.00	175000.00
0002	4405000000-E	1110 WORK ZONE SIGNS (PORT)	224 SF	10.00	2240.00	10.00	2240.00	1120.00
0003	4415000000-N	1115 FLASHING ARROW BOARD	2 EA	500.00	1000.00	5000.00	10000.00	2000.00
0004	4420000000-N	1120 PORTABLE CHANGE MSG SIGN	1 EA	1000.00	1000.00	5000.00	5000.00	2500.00
0005	4430000000-N	1130 DRUMS	225 EA	20.00	4500.00	40.00	9000.00	4950.00
0006	4435000000-N	1135 CONES	40 EA	10.00	400.00	20.00	800.00	360.00
0007	4450000000-N	1150 FLAGGER	480 HR	10.00	4800.00	12.00	5760.00	12000.00
0008	4480000000-N	1165 TMA	1 EA	1000.00	1000.00	35000.00	35000.00	7500.00
0009	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #322	Lump Sum		982530.00		1000000.00	1234724.00
0010	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #323	Lump Sum		982530.00		1050000.00	1234724.00
0011	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		190000.00		750000.00	600000.00
0012	8860000000-N	SP GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		1500000.00		750000.00	700000.00
CONTRACT TOTAL				TOTAL	3830000.00	TOTAL	3876800.00	TOTAL 3974878.00
ROADWAY ITEMS				SUB-TOTAL	3830000.00	SUB-TOTAL	3876800.00	SUB-TOTAL 3974878.00

FED AID NO STATE FUNDED
BRIDGE PERSERVATION.
BRIDGES #322 & #323 ON I-240.

				AMSTAR OF WESTERN NEW YORK, INC. CHEEKTOWAGA, NY	ROYAL BRIDGE INC TARPON SPRINGS, FL	M & J CONSTRUCTION CO. OF PINELLAS COUNTY, INC. TARPON SPRINGS, FL				
ROADWAY ITEMS										
0001	0000100000-N	800	MOBILIZATION	Lump Sum		214000.00		224000.00		200000.00
0002	4405000000-E	1110	WORK ZONE SIGNS (PORT)	224 SF	10.00	2240.00	10.00	2240.00	8.40	1881.60
0003	4415000000-N	1115	FLASHING ARROW BOARD	2 EA	750.00	1500.00	5000.00	10000.00	1776.00	3552.00
0004	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	1 EA	5000.00	5000.00	15000.00	15000.00	9120.00	9120.00
0005	4430000000-N	1130	DRUMS	225 EA	50.00	11250.00	65.00	14625.00	49.80	11205.00
0006	4435000000-N	1135	CONES	40 EA	15.00	600.00	60.00	2400.00	18.90	756.00
0007	4450000000-N	1150	FLAGGER	480 HR	25.00	12000.00	15.00	7200.00	30.00	14400.00
0008	4480000000-N	1165	TMA	1 EA	10000.00	10000.00	30000.00	30000.00	22560.00	22560.00
0009	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #322	Lump Sum		1627900.00		1075000.00		2000000.00
0010	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #323	Lump Sum		1502210.00		1001535.00		2000000.00
0011	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		10000.00		700000.00		150000.00
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		1003300.00		1400000.00		250000.00
CONTRACT TOTAL					TOTAL	4400000.00	TOTAL	4482000.00	TOTAL	4663474.60
ROADWAY ITEMS					SUB-TOTAL	4400000.00	SUB-TOTAL	4482000.00	SUB-TOTAL	4663474.60

FED AID NO STATE FUNDED
BRIDGE PERSERVATION.
BRIDGES #322 & #323 ON I-240.

ABHE & SVOBODA, INC.

PRIOR LAKE, MN

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		190355.00
0002	4405000000-E	1110	WORK ZONE SIGNS (PORT)	224 SF	19.00	4256.00
0003	4415000000-N	1115	FLASHING ARROW BOARD	2 EA	5076.00	10152.00
0004	4420000000-N	1120	PORTABLE CHANGE MSG SIGN	1 EA	25381.00	25381.00
0005	4430000000-N	1130	DRUMS	225 EA	13.00	2925.00
0006	4435000000-N	1135	CONES	40 EA	32.00	1280.00
0007	4450000000-N	1150	FLAGGER	480 HR	19.00	9120.00
0008	4480000000-N	1165	TMA	1 EA	19036.00	19036.00
0009	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #322	Lump Sum		2411168.00
0010	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING AND REPAINTING OF BRIDGE #323	Lump Sum		2538071.00
0011	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		1030457.00
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		964467.00

CONTRACT TOTAL TOTAL 7206668.00

ROADWAY ITEMS SUB-TOTAL 7206668.00

BIDDERS IN ORDER

CONTRACT TOTAL

S & D INDUSTRIAL PAINTING, INC.	1	2769449.00
SEMINOLE EQUIPMENT, INC.	2	3072289.00
PANTHER INDUSTRIAL PAINTING, LLC	3	3431570.00
KLICOS PAINTING COMPANY, INC.	4	3450855.00
ASTRON GENERAL CONTRACTING COMPANY INC	5	3455534.00
VIMAS PAINTING COMPANY, INC	6	3806470.00
ATLAS PAINTING AND SHEETING CORP	7	3830000.00
SAFFO CONTRACTORS INC	8	3876800.00
OLYMPUS PAINTING CONTRACTORS, INC.	9	3974878.00
AMSTAR OF WESTERN NEW YORK, INC.	10	4400000.00
ROYAL BRIDGE INC	11	4482000.00
M & J CONSTRUCTION CO. OF PINELLAS COUNTY, INC.	12	4663474.60
ABHE & SVOBODA, INC.	13	7206668.00

FED AID NO STATE FUNDED
GRADING, DRAINAGE, PAVING, AND STRUCTURE.
BRIDGE #31 OVER BRUSH CREEK AND ON SR-1308.

YOUNG & MCQUEEN GRADING CO
INC
BURNSVILLE, NC

TAYLOR & MURPHY
CONSTRUCTION CO, INC
ASHEVILLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		35770.00		34500.00
0002	0008000000-E	200	SUPP CLEARING & GRUBBING	1 ACR	1100.00	1100.00	100.00	100.00
0003	0030000000-N	SP	BRG APP SUB REG TIER** (22+85.00)	Lump Sum		10275.00		8200.00
0004	0043000000-N	226	GRADING	Lump Sum		55650.00		30000.00
0005	0057000000-E	226	UNDERCUT EXCAVATION	200 CY	15.0952	3019.04	8.00	1600.00
0006	0134000000-E	240	DRAINAGE DITCH EXCAVATION	110 CY	3.7641	414.05	6.00	660.00
0007	0195000000-E	265	SELECT GRANULAR MATERIAL	100 CY	48.2398	4823.98	20.00	2000.00
0008	0196000000-E	270	GEOTEXTILE SOIL STABILIZATION	200 SY	2.2381	447.62	4.00	800.00
0009	0318000000-E	300	FND CONDIR MATL MINOR STRS	10 TON	24.437	244.37	30.00	300.00
0010	0320000000-E	300	FND CONDIR GEOTEXTILE	30 SY	2.2196	66.59	4.00	120.00
0011	0335300000-E	305	18" DRAINAGE PIPE	24 LF	79.222	1901.33	30.00	720.00
0012	0576000000-E	310	*** CS PIPE CULV ***** (84", 0.168")	40 LF	425.00	17000.00	200.00	8000.00
0013	0995000000-E	340	PIPE REMOVAL	40 LF	30.00	1200.00	10.00	400.00
0014	1099500000-E	505	SHALLOW UNDERCUT	100 CY	10.00	1000.00	8.00	800.00
0015	1099700000-E	505	CLASS IV SUBGRD STABILIZATION	100 TON	25.00	2500.00	25.00	2500.00
0016	1220000000-E	545	INCIDENTAL STONE BASE	50 TON	25.00	1250.00	25.00	1250.00
0017	1489000000-E	610	ASP CONC BASE CRS B25.0B	475 TON	70.40	33440.00	95.00	45125.00
0018	1525000000-E	610	ASP CONC SURF CRS SF9.5A	260 TON	79.20	20592.00	95.00	24700.00
0019	1575000000-E	620	ASP FOR PLANT MIX	40 TON	825.00	33000.00	678.00	27120.00
0020	1693000000-E	654	ASPH PLT MIX PVMT REPAIR	25 TON	165.75	4143.75	420.00	10500.00
0021	2000000000-N	806	RIGHT OF WAY MARKERS	27 EA	145.91	3939.57	100.00	2700.00
0022	2022000000-E	815	SUBDRAIN EXCAVATION	22.4 CY	4.4316	99.27	8.00	179.20
0023	2033000000-E	815	SUBDRAIN FINE AGGREGATE	16.8 CY	28.8686	484.99	40.00	672.00
0024	2044000000-E	815	6" PERF SUBDRN PIPE	100 LF	5.0253	502.53	8.00	800.00
0025	2070000000-N	815	SUBDRN PIPE OUTLET	1 EA	124.3829	124.38	200.00	200.00
0026	2077000000-E	815	6" OUTLET PIPE	6 LF	7.7191	46.31	8.00	48.00
0027	2220000000-E	838	REINFORCED ENDWALLS	8 CY	1650.00	13200.00	900.00	7200.00
0028	2286000000-N	840	MASNRY DRAINAGE STRUCT	2 EA	1409.21	2818.42	1600.00	3200.00
0029	2354200000-N	840	FRAME W/GRATE 840.24 STD	1 EA	524.92	524.92	525.00	525.00
0030	2355000000-N	840	FRAME W/GRATE 840.29 STD	1 EA	636.13	636.13	525.00	525.00
0031	2556000000-E	846	SHOULDER BERM GUTTER	20 LF	23.65	473.00	56.00	1120.00
0032	2570000000-N	SP	MODIFIED CONCRETE FLUME	1 EA	440.00	440.00	1100.00	1100.00
0033	2577000000-E	846	CONC EXPRESSWAY GUTTER	170 LF	28.27	4805.90	50.00	8500.00
0034	3030000000-E	862	STL BM GUARDRAIL	125 LF	16.775	2096.88	18.00	2250.00
0035	3045000000-E	862	SBGR SHOP CURVED	60 LF	18.975	1138.50	25.00	1500.00
0036	3150000000-N	862	ADDIT GUARDRAIL POSTS	5 EA	5.50	27.50	5.00	25.00
0037	3165000000-N	SP	GR ANCHOR TYPE ***** (350 TL-2)	4 EA	1760.00	7040.00	1600.00	6400.00
0038	3195000000-N	862	GR ANCHOR TYPE AT-1	2 EA	467.50	935.00	425.00	850.00
0039	3215000000-N	862	GR ANCHOR TYPE III	4 EA	1375.00	5500.00	1250.00	5000.00

FED AID NO STATE FUNDED
GRADING, DRAINAGE, PAVING, AND STRUCTURE.
BRIDGE #31 OVER BRUSH CREEK AND ON SR-1308.

YOUNG & MCQUEEN GRADING CO
INC
BURNSVILLE, NC

TAYLOR & MURPHY
CONSTRUCTION CO, INC
ASHEVILLE, NC

0040	3628000000-E	876	RIP RAP, CLASS I	30	TON	50.00	1500.00	40.00	1200.00
0041	3656000000-E	876	GEOTEXTILE FOR DRAINAGE	680	SY	1.8324	1246.03	4.00	2720.00
0042	4072000000-E	903	SUPPORT, 3-LB STL U-CHAN	4	LF	6.765	27.06	6.25	25.00
0043	4102000000-N	904	SIGN ERECTION, TYPE E	1	EA	82.50	82.50	75.00	75.00
0044	4155000000-N	907	DISPOSE SIGN SYST U-CHAN	7	EA	5.50	38.50	5.00	35.00
0045	4400000000-E	1110	WORK ZONE SIGNS (STAT)	898	SF	5.115	4593.27	8.00	7184.00
0046	4405000000-E	1110	WORK ZONE SIGNS (PORT)	192	SF	13.0985	2514.91	10.00	1920.00
0047	4410000000-E	1110	WORK ZONE SIGNS (BARR)	172	SF	6.67	1147.24	8.00	1376.00
0048	4445000000-E	1145	BARRICADES (TYPE III)	96	LF	19.80	1900.80	20.00	1920.00
0049	4650000000-N	1251	TEMP RAISED PVMT MRKS	100	EA	10.725	1072.50	11.00	1100.00
0050	4810000000-E	1205	PAINT PVMT MARKINGS 4"	4,000	LF	0.528	2112.00	1.00	4000.00
0051	6000000000-E	1605	TEMPORARY SILT FENCE	1,300	LF	4.40	5720.00	3.25	4225.00
0052	6006000000-E	1610	EROS CONTRL STONE CL A	290	TON	30.00	8700.00	38.00	11020.00
0053	6009000000-E	1610	EROS CONTRL STONE CL B	110	TON	45.00	4950.00	38.00	4180.00
0054	6012000000-E	1610	SEDIMENT CONTROL STONE	100	TON	30.00	3000.00	38.00	3800.00
0055	6015000000-E	1615	TEMPORARY MULCHING	1	ACR	1540.00	1540.00	1600.00	1600.00
0056	6018000000-E	1620	SEED FOR TEMP SEEDING	50	LB	7.70	385.00	7.00	350.00
0057	6021000000-E	1620	FERT FOR TEMP SEEDING	0.25	TON	1650.00	412.50	1500.00	375.00
0058	6024000000-E	1622	TEMPORARY SLOPE DRAINS	200	LF	25.433	5086.60	8.00	1600.00
0059	6029000000-E	SP	SAFETY FENCE	900	LF	3.85	3465.00	3.00	2700.00
0060	6030000000-E	1630	SILT EXCAVATION	100	CY	10.00	1000.00	8.00	800.00
0061	6036000000-E	1631	MATting FOR EROS CONTROL	3,000	SY	1.925	5775.00	2.00	6000.00
0062	6038000000-E	SP	PERM SOIL REINF MAT	135	SY	11.00	1485.00	10.00	1350.00
0063	6042000000-E	1632	1/4" HARDWARE CLOTH	350	LF	4.114	1439.90	8.00	2800.00
0064	6048000000-E	SP	FLOAT TURBIDITY CURTAIN	50	SY	65.00	3250.00	5.00	250.00
0065	6071020000-E	SP	POLYACRYLAMIDE (PAM)	20	LB	13.20	264.00	10.00	200.00
0066	6084000000-E	1660	SEEDING AND MULCHING	1.5	ACR	1974.50	2961.75	2000.00	3000.00
0067	6087000000-E	1660	MOWING	0.5	ACR	330.00	165.00	300.00	150.00
0068	6090000000-E	1661	SEED FOR REPAIR SEEDING	50	LB	11.00	550.00	8.00	400.00
0069	6093000000-E	1661	FERT FOR REPAIR SEEDING	0.25	TON	4400.00	1100.00	4000.00	1000.00
0070	6096000000-E	1662	SEED FOR SUPP SEEDING	50	LB	7.70	385.00	7.00	350.00
0071	6108000000-E	1665	FERTILIZER TOPDRESSING	0.5	TON	1980.00	990.00	2000.00	1000.00
0072	6114500000-N	1667	SPECIALIZED HAND MOWING	10	MHR	71.50	715.00	65.00	650.00
0073	6117000000-N	SP	RESPONSE FOR EROS CONTROL	16	EA	330.00	5280.00	300.00	4800.00
0074	6123000000-E	1670	REFORESTATION	0.1	ACR	3300.00	330.00	3200.00	320.00

STRUCTURE ITEMS

0075	8035000000-N	402	REMV EXIST STR ***** (22+86.00-L-)		Lump Sum		11735.00		65000.00
0076	8096000000-E	450	PILE EXCAVATION IN SOIL	80	LF	319.00	25520.00	500.00	40000.00
0077	8097000000-E	450	PILE EXCAVATION NOT IN SOIL	30	LF	319.00	9570.00	500.00	15000.00

FED AID NO STATE FUNDED
GRADING, DRAINAGE, PAVING, AND STRUCTURE.
BRIDGE #31 OVER BRUSH CREEK AND ON SR-1308.

YOUNG & MCQUEEN GRADING CO
INC
BURNSVILLE, NC

TAYLOR & MURPHY
CONSTRUCTION CO, INC
ASHEVILLE, NC

0078	8121000000-N	412	UNCL STR EXCAV STA ***** (22+86.00-L-)	Lump Sum		6494.60		2800.00
0079	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	40.2 CY	646.00	25969.20	700.00	28140.00
0080	8210000000-N	422	BRG APPR SLAB ***** (22+86.00-L-)	Lump Sum		27000.00		20000.00
0081	8217000000-E	425	REINF STEEL (BRIDGE)	5,646 LB	1.05	5928.30	1.00	5646.00
0082	8364000000-E	450	HP12X53 PILES	150 LF	64.00	9600.00	75.00	11250.00
0083	8505000000-E	460	VERT CONC BARRIER RAIL	120 LF	86.25	10350.00	115.00	13800.00
0084	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		2500.00		2500.00
0085	8763000000-E	430	3'-0" X 2'-0"PRESTR SLABS	600 LF	185.00	111000.00	140.00	84000.00
0086	8892000000-E	SP	GENERIC STRUCTURE ITEM (SF) 18" STEEL SHEET PILES	1,220 SF	70.00	85400.00	65.00	79300.00
			CONTRACT TOTAL		TOTAL	678922.69	TOTAL	684100.20
			ROADWAY ITEMS		SUB-TOTAL	347855.59	SUB-TOTAL	316664.20
			STRUCTURE ITEMS		SUB-TOTAL	331067.10	SUB-TOTAL	367436.00
			BIDDERS IN ORDER			CONTRACT TOTAL		
			YOUNG & MCQUEEN GRADING CO INC	1		678922.69		
			TAYLOR & MURPHY CONSTRUCTION CO, INC	2		684100.20		

FED AID NO BRSTP-019E(6)

BRIDGE PRESERVATION.

BRIDGE #16 ON US-19E OVER CLINCHFIELD RR & NORTH TOE RIVER.

		TAYLOR & MURPHY CONSTRUCTION CO, INC ASHEVILLE, NC			CAROLINA BRIDGE CO., INC. ORANGEBURG, SC		ASTRON GENERAL CONTRACTING COMPANY INC JACKSONVILLE, NC			
ROADWAY ITEMS										
0001	0000100000-N	800	MOBILIZATION	Lump Sum		70000.00		216165.46	140000.00	
0002	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		20000.00		20227.94	10000.00	
0003	8217000000-E	425	REINF STEEL (BRIDGE)	200 LB	40.00	8000.00	17.10	3420.00	5600.00	
0004	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		20000.00		78709.45	149000.00	
0005	8660000000-E	SP	CONCRETE REPAIRS	24 CF	700.00	16800.00	358.53	8604.72	7920.00	
0006	8664000000-E	SP	SHOTCRETE REPAIRS	128 CF	425.00	54400.00	518.67	66389.76	44160.00	
0007	8678000000-E	SP	EPOXY RESIN INJECTION	28 LF	125.00	3500.00	278.35	7793.80	2520.00	
0008	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) BRIDGE JACKING	Lump Sum		75000.00		200031.86	404800.00	
0009	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING & REPAINTING OF BRIDGE #16	Lump Sum		230000.00		380354.44	177000.00	
0010	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) FOAM JOINT SEALS (AT BENTS 3 & 6)	Lump Sum		21500.00		16396.44	12500.00	
0011	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) FOAM JOINT SEALS (AT END BENTS 1 & 2)	Lump Sum		21000.00		19793.32	12500.00	
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		110000.00		172888.38	30000.00	
0013	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		224000.00		319843.50	65000.00	
0014	8889000000-E	SP	GENERIC STRUCTURE ITEM (LB) STRUCTURAL STEEL REPAIR	47,000 LB	12.00	564000.00	6.06	284820.00	799000.00	
CONTRACT TOTAL					TOTAL	1438200.00	TOTAL	1795439.07	TOTAL	1860000.00
ROADWAY ITEMS					SUB-TOTAL	1438200.00	SUB-TOTAL	1795439.07	SUB-TOTAL	1860000.00

FED AID NO BRSTP-019E(6)

BRIDGE PRESERVATION.

BRIDGE #16 ON US-19E OVER CLINCHFIELD RR & NORTH TOE RIVER.

QUINN CONSTRUCTION, INC.

SAFFO CONTRACTORS INC

PALMETTO, FL

WILMINGTON, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		107100.07		300000.00
0002	4399000000-N	1105	TEMP TRAFFIC CONTROL	Lump Sum		60000.00		200000.00
0003	8217000000-E	425	REINF STEEL (BRIDGE)	200 LB	10.00	2000.00	20.00	4000.00
0004	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum		30000.00		75000.00
0005	8660000000-E	SP	CONCRETE REPAIRS	24 CF	458.333	10999.99	1050.00	25200.00
0006	8664000000-E	SP	SHOTCRETE REPAIRS	128 CF	742.187	94999.94	330.00	42240.00
0007	8678000000-E	SP	EPOXY RESIN INJECTION	28 LF	67.8571	1900.00	161.00	4508.00
0008	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) BRIDGE JACKING	Lump Sum		50000.00		315000.00
0009	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) CLEANING & REPAINTING OF BRIDGE #16	Lump Sum		189000.00		800000.00
0010	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) FOAM JOINT SEALS (AT BENTS 3 & 6)	Lump Sum		31000.00		30000.00
0011	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) FOAM JOINT SEALS (AT END BENTS 1 & 2)	Lump Sum		26000.00		40000.00
0012	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) POLLUTION CONTROL	Lump Sum		96000.00		400000.00
0013	8860000000-N	SP	GENERIC STRUCTURE ITEM (LS) UNDER STRUCTURE WORK PLATFORM	Lump Sum		322000.00		400000.00
0014	8889000000-E	SP	GENERIC STRUCTURE ITEM (LB) STRUCTURAL STEEL REPAIR	47,000 LB	22.00	1034000.00	14.00	658000.00

CONTRACT TOTAL

TOTAL 2055000.00 TOTAL 3293948.00

ROADWAY ITEMS

SUB-TOTAL 2055000.00 SUB-TOTAL 3293948.00

BIDDERS IN ORDER

CONTRACT TOTAL

TAYLOR & MURPHY CONSTRUCTION CO, INC	1	1438200.00
CAROLINA BRIDGE CO., INC.	2	1795439.07
ASTRON GENERAL CONTRACTING COMPANY INC	3	1860000.00
QUINN CONSTRUCTION, INC.	4	2055000.00
SAFFO CONTRACTORS INC	5	3293948.00

FED AID NO STATE FUNDED

MILLING, RESURFACING, ULTRATHIN, & SHOULDER RECONSTRUCTION.

US-25 FROM SOUTH CAROLINA STATE LINE TO SR-1858, AND 3 SECTIONS OF SECONDARY ROADS.

			ROGERS GROUP, INC.		SLOAN CONSTRUCTION COMPANY, INC.		HARRISON CONSTRUCTION COMPANY DIVISION OF APAC-ATLANTIC INC KNOXVILLE, TN		
			NASHVILLE, TN		DUNCAN, SC				
ROADWAY ITEMS									
0001	0000100000-N	800 MOBILIZATION	Lump Sum		49644.10		100005.00		145000.00
0002	1245000000-E	SP SHOULDER RECONSTRUCTION	19.32 SMI	3962.18	76549.32	4500.00	86940.00	3500.00	67620.00
0003	1297000000-E	607 MILL ASP PVMT ***** DTH (1/2")	57,622 SY	0.36	20743.92	0.75	43216.50	1.05	60503.10
0004	1297000000-E	607 MILL ASP PVMT ***** DTH (2")	163,328 SY	0.67	109429.76	1.00	163328.00	1.05	171494.40
0005	1297000000-E	607 MILL ASP PVMT ***** DTH (3")	48,353 SY	1.60	77364.80	1.85	89453.05	1.60	77364.80
0006	1498000000-E	610 ASP CONC INTR CRS I19.0B	8,270 TON	52.32	432686.40	32.00	264640.00	55.00	454850.00
0007	1519000000-E	610 ASP CONC SURF CRS S9.5B	11,422 TON	38.19	436206.18	41.00	468302.00	44.00	502568.00
0008	1523000000-E	610 ASP CONC SURF CRS S9.5C	14,642 TON	40.25	589340.50	36.25	530772.50	44.00	644248.00
0009	1575000000-E	620 ASP FOR PLANT MIX	1,946 TON	600.00	1167600.00	648.00	1261008.00	620.00	1206520.00
0010	1840000000-E	665 MILLED RUMBLE STRIPS	122,496 LF	0.09	11024.64	0.12	14699.52	0.14	17149.44
0011	2815000000-N	858 ADJ DROP INLETS	1 EA	1200.00	1200.00	1500.00	1500.00	1200.00	1200.00
0012	2845000000-N	858 ADJ METER OR VALVE BOXES	6 EA	575.00	3450.00	4500.00	27000.00	575.00	3450.00
0013	4400000000-E	1110 WORK ZONE SIGNS (STAT)	192 SF	4.25	816.00	4.25	816.00	6.00	1152.00
0014	4405000000-E	1110 WORK ZONE SIGNS (PORT)	256 SF	8.33	2132.48	8.00	2048.00	6.00	1536.00
0015	4415000000-N	1115 FLASHING ARROW BOARD	2 EA	1334.38	2668.76	1650.00	3300.00	3000.00	6000.00
0016	4420000000-N	1120 PORTABLE CHANGE MSG SIGN	2 EA	3202.50	6405.00	1650.00	3300.00	3000.00	6000.00
0017	4430000000-N	1130 DRUMS	80 EA	28.82	2305.60	53.50	4280.00	10.00	800.00
0018	4480000000-N	1165 TMA	2 EA	2668.75	5337.50	3165.00	6330.00	1600.00	3200.00
0019	4516000000-N	1180 SKINNY DRUM	525 EA	17.61	9245.25	26.75	14043.75	10.00	5250.00
0020	4685000000-E	1205 THERMO PVT MKG LINES 4"90	124,816 LF	0.51	63656.16	0.55	68648.80	0.50	62408.00
0021	4686000000-E	1205 THERMO PVT MKG LINES 4"120	15,312 LF	0.60	9187.20	0.65	9952.80	0.59	9034.08
0022	4697000000-E	1205 THERMO PVT MKG LINE 8"120 MILS	4,640 LF	2.02	9372.80	2.00	9280.00	2.00	9280.00
0023	4725000000-E	1205 THERMO PVT SYMBOL 90MILS	9 EA	126.25	1136.25	250.00	2250.00	125.00	1125.00
0024	4810000000-E	1205 PAINT PVMT MARKINGS 4"	411,907 LF	0.11	45309.77	0.15	61786.05	0.11	45309.77
0025	4820000000-E	1205 PAINT PVMT MARKINGS 8"	60 LF	1.01	60.60	2.00	120.00	1.00	60.00
0026	4830000000-E	1205 PAINT PVT MKGS LINES 16"	240 LF	2.02	484.80	3.00	720.00	2.00	480.00
0027	4835000000-E	1205 PAINT PVT MKG LINES 24"	770 LF	3.03	2333.10	3.00	2310.00	3.00	2310.00
0028	4840000000-N	1205 PAINT PVT MKG CHARACTER	42 EA	50.50	2121.00	65.00	2730.00	50.00	2100.00
0029	4845000000-N	1205 PAINT PVT MKG SYMBOL	30 EA	50.50	1515.00	70.00	2100.00	50.00	1500.00
0030	4905000000-N	1253 SNOWPLB PVMT MRKER	1,480 EA	25.25	37370.00	26.50	39220.00	22.75	33670.00
0031	1577000000-E	620 POLYM MOD ASP BNDR FOR PLT MIX	540 TON	750.00	405000.00	814.00	439560.00	750.00	405000.00
0032	1662000000-E	650 OG ASP FRICT FC-1 MOD	8,856 TON	45.79	405516.24	65.00	575640.00	55.00	487080.00
0033	1577000000-E	620 POLYM MOD ASP BNDR FOR PLT MIX	460 TON						
0034	1839140000-E	661 ULTRATHIN BOND WEAR CRS	8,856 TON						
0035	1839200000-E	661 APPLICATION OF ULTRATHIN HOT MIX ASPH	238,400 SY						
CONTRACT TOTAL				TOTAL	3987213.13	TOTAL	4299299.97	TOTAL	4435262.59

APR 03, 2012 02:36 PM

HENDERSON

TIP NO

14CR.10451.5, 14CR.20451.11

2:00 PM 2 / 2 026

FEB 21 2012 C202931
15.460 MI

FED AID NO STATE FUNDED

MILLING, RESURFACING, ULTRATHIN, & SHOULDER RECONSTRUCTION.

US-25 FROM SOUTH CAROLINA STATE LINE TO SR-1858, AND 3 SECTIONS OF SECONDARY ROADS.

ROADWAY ITEMS		SUB-TOTAL	3987213.13	SUB-TOTAL	4299299.97	SUB-TOTAL	4435262.59
BIDDERS IN ORDER			CONTRACT TOTAL				
ROGERS GROUP, INC.	1		3987213.13				
SLOAN CONSTRUCTION COMPANY, INC.	2		4299299.97				
HARRISON CONSTRUCTION COMPANY DIVISION OF APAC-ATLANTIC INC	3		4435262.59				

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

T. A. LOVING COMPANY SANFORD CONTRACTORS, INC. S. T. WOOTEN CORPORATION
GOLDSBORO, NC SANFORD, NC WILSON, NC

ROADWAY ITEMS

Item ID	Code	Description	Units	EA	LF	Price	T. A. Loving	Sanford	S. T. Wooten	Total
0001	0000100000-N	800 MOBILIZATION	Lump Sum			194500.00	194500.00			200000.00
0002	0000900000-N	SP GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum			2292805.00	2292805.00	1974375.67		1687500.00
0003	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570011	2 EA	32450.00		64900.00	41266.55	82533.10	73000.00	146000.00
0004	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570024	2 EA	13450.00		26900.00	35714.20	71428.40	17000.00	34000.00
0005	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570090	2 EA	12925.00		25850.00	35088.95	70177.90	19000.00	38000.00
0006	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570098	2 EA	12950.00		25900.00	45146.45	90292.90	20000.00	40000.00
0007	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570110	2 EA	12600.00		25200.00	20840.35	41680.70	20000.00	40000.00
0008	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570173	2 EA	12825.00		25650.00	39571.45	79142.90	20000.00	40000.00
0009	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570011	1 EA	14225.00		14225.00	18939.70	18939.70	19500.00	19500.00
0010	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570024	2 EA	14450.00		28900.00	28078.45	56156.90	18000.00	36000.00
0011	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570098	2 EA	13925.00		27850.00	7619.40	15238.80	18000.00	36000.00
0012	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570110	1 EA	13600.00		13600.00	17624.80	17624.80	20000.00	20000.00
0013	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570173	2 EA	13750.00		27500.00	5834.40	11668.80	20000.00	40000.00
0014	0000915000-N	SP GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	12 EA	3500.00		42000.00	4000.00	48000.00	7150.00	85800.00
0015	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570011	65 LF	275.00		17875.00	415.20	26988.00	260.00	16900.00
0016	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570024	55 LF	235.00		12925.00	180.82	9945.10	280.00	15400.00
0017	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570090	65 LF	242.00		15730.00	290.15	18859.75	260.00	16900.00
0018	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570098	54 LF	262.00		14148.00	288.06	15555.24	350.00	18900.00
0019	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570110	31 LF	303.00		9393.00	619.35	19199.85	350.00	10850.00
0020	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570173	66 LF	238.00		15708.00	246.81	16289.46	350.00	23100.00
0021	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570011	65 LF	276.00		17940.00	360.27	23417.55	260.00	16900.00
0022	0000930000-E	SP GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570024	50 LF	245.00		12250.00	183.60	9180.00	290.00	14500.00

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

				T. A. LOVING COMPANY		SANFORD CONTRACTORS, INC.		S. T. WOOTEN CORPORATION			
				GOLDSBORO, NC		SANFORD, NC		WILSON, NC			
0023	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570090	67	LF	235.00	15745.00	231.71	15524.57	260.00	17420.00
0024	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570098	53	LF	268.00	14204.00	211.70	11220.10	350.00	18550.00
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570110	29	LF	234.00	6786.00	521.38	15120.02	350.00	10150.00
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570173	66	LF	238.00	15708.00	184.99	12209.34	350.00	23100.00
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570011	65	LF	494.00	32110.00	650.18	42261.70	320.00	20800.00
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570024	62	LF	421.00	26102.00	354.47	21977.14	330.00	20460.00
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570098	63	LF	441.00	27783.00	428.16	26974.08	400.00	25200.00
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570110	30	LF	632.00	18960.00	923.05	27691.50	450.00	13500.00
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570173	82	LF	398.00	32636.00	414.10	33956.20	400.00	32800.00
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570024	62	LF	421.00	26102.00	354.47	21977.14	330.00	20460.00
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570098	63	LF	441.00	27783.00	379.59	23914.17	400.00	25200.00
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570173	82	LF	398.00	32636.00	364.34	29875.88	400.00	32800.00
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570011	80	LF	1233.00	98640.00	1477.61	118208.80	1900.00	152000.00
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570024	110	LF	1192.00	131120.00	1296.01	142561.10	1700.00	187000.00
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570090	70	LF	1562.00	109340.00	1664.47	116512.90	2500.00	175000.00
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570098	95	LF	1246.00	118370.00	1210.97	115042.15	2500.00	237500.00
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570110	80	LF	1195.00	95600.00	1199.78	95982.40	2500.00	200000.00
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570173	95	LF	1155.00	109725.00	1158.63	110069.85	2500.00	237500.00
CONTRACT TOTAL				TOTAL		3891099.00	TOTAL	3892374.56	TOTAL	4045690.00	

APR 03, 2012 02:36 PM

MARTIN

TIP NO

17BP.1.R.44

2:00 PM 3 / 6 027

FEB 21 2012 C202921
0.440 MI

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

ROADWAY ITEMS

SUB-TOTAL

3891099.00

SUB-TOTAL

3892374.56

SUB-TOTAL

4045690.00

FED AID NO STATE FUNDED
DESIGN BUILD.
REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

MCLEAN CONTRACTING CO. CORMAN CONSTRUCTION, INC.
GLEN BURNIE, MD ANNAPOLIS JUNCTION, MD

ROADWAY ITEMS

Item No	Code	Quantity	Description	Unit	Price	Amount	Subtotal	Total
0001	0000100000-N	800	MOBILIZATION					
				Lump Sum		205000.00		200000.00
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum		1654960.00		1940000.00
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570011	2 EA	23700.00	47400.00	37724.00	75448.00
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570024	2 EA	23110.00	46220.00	20129.00	40258.00
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570090	2 EA	37700.00	75400.00	20129.00	40258.00
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570098	2 EA	23110.00	46220.00	20129.00	40258.00
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570110	2 EA	23500.00	47000.00	19301.00	38602.00
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #570173	2 EA	23110.00	46220.00	20129.00	40258.00
0009	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570011	1 EA	27800.00	27800.00	20706.00	20706.00
0010	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570024	2 EA	24800.00	49600.00	18904.00	37808.00
0011	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570098	2 EA	24000.00	48000.00	18904.00	37808.00
0012	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570110	1 EA	27300.00	27300.00	17214.00	17214.00
0013	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #570173	2 EA	24000.00	48000.00	18904.00	37808.00
0014	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	12 EA	7150.00	85800.00	2790.00	33480.00
0015	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570011	65 LF	500.00	32500.00	411.00	26715.00
0016	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570024	55 LF	405.00	22275.00	372.00	20460.00
0017	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570090	65 LF	373.00	24245.00	334.00	21710.00
0018	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570098	54 LF	410.00	22140.00	376.00	20304.00
0019	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570110	31 LF	500.00	15500.00	560.00	17360.00
0020	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #570173	66 LF	370.00	24420.00	331.00	21846.00
0021	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570011	65 LF	500.00	32500.00	345.00	22425.00
0022	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570024	50 LF	430.00	21500.00	311.00	15550.00

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

MCLEAN CONTRACTING CO. CORMAN CONSTRUCTION, INC.
GLEN BURNIE, MD ANNAPOLIS JUNCTION, MD

0023	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570090	67	LF	370.00	24790.00	264.00	17688.00
0024	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570098	53	LF	413.00	21889.00	333.00	17649.00
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570110	29	LF	517.00	14993.00	442.00	12818.00
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #570173	66	LF	370.00	24420.00	271.00	17886.00
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570011	65	LF	728.00	47320.00	1213.00	78845.00
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570024	62	LF	656.00	40672.00	1237.00	76694.00
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570098	63	LF	651.00	41013.00	1229.00	77427.00
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570110	30	LF	783.00	23490.00	1456.00	43680.00
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #570173	82	LF	587.00	48134.00	1109.00	90938.00
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570024	62	LF	656.00	40672.00	1196.00	74152.00
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570098	63	LF	651.00	41013.00	1189.00	74907.00
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #570173	82	LF	587.00	48134.00	1097.00	89954.00
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570011	80	LF	2200.00	176000.00	2031.00	162480.00
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570024	110	LF	2010.00	221100.00	1892.00	208120.00
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570090	70	LF	2550.00	178500.00	2008.00	140560.00
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570098	95	LF	2000.00	190000.00	1996.00	189620.00
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570110	80	LF	1802.00	144160.00	1760.00	140800.00
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #570173	95	LF	2100.00	199500.00	1993.00	189335.00

CONTRACT TOTAL

TOTAL 4175800.00 TOTAL 4469829.00

APR 03, 2012 02:36 PM

MARTIN

TIP NO

17BP.1.R.44

2:00 PM 6 / 6 027

FEB 21 2012 C202921
0.440 MI

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 6 BRIDGES IN MARTIN COUNTY.

ROADWAY ITEMS

SUB-TOTAL

4175800.00

SUB-TOTAL

4469829.00

BIDDERS IN ORDER

CONTRACT TOTAL

T. A. LOVING COMPANY

1

3891099.00

SANFORD CONTRACTORS, INC.

2

3892374.56

S. T. WOOTEN CORPORATION

3

4045690.00

MCLEAN CONTRACTING CO.

4

4175800.00

** CORMAN CONSTRUCTION, INC.

5

4469829.00

** PROPOSAL FORM ALTERED

** BID EXECUTED IMPROPERLY

** INAPPROPRIATE TITLE

** DENOTES IRREGULAR BID

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				INTERCOASTAL CONTRACTING INC			S. T. WOOTEN CORPORATION			SANFORD CONTRACTORS, INC.
				CASTLE HAYNE, NC		WILSON, NC				SANFORD, NC
ROADWAY ITEMS										
0001	0000100000-N	800	MOBILIZATION	Lump Sum		395000.00		410000.00		415000.00
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum		3575000.00		3871000.00		4111694.64
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060053	2 EA	38000.00	76000.00	39000.00	78000.00	60412.50	120825.00
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060182	2 EA	30000.00	60000.00	25000.00	50000.00	41702.65	83405.30
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060255	2 EA	45000.00	90000.00	52000.00	104000.00	69350.25	138700.50
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730061	2 EA	30000.00	60000.00	17000.00	34000.00	44385.25	88770.50
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730067	2 EA	30000.00	60000.00	25000.00	50000.00	42151.45	84302.90
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730068	2 EA	30000.00	60000.00	25000.00	50000.00	34549.40	69098.80
0009	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730080	2 EA	30000.00	60000.00	17000.00	34000.00	41098.30	82196.60
0010	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730081	2 EA	30000.00	60000.00	17000.00	34000.00	41019.25	82038.50
0011	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730125	2 EA	30000.00	60000.00	17000.00	34000.00	44640.25	89280.50
0012	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730157	2 EA	30000.00	60000.00	17000.00	34000.00	36120.20	72240.40
0013	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730176	2 EA	30000.00	60000.00	17000.00	34000.00	41350.75	82701.50
0014	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #060255	2 EA	30000.00	60000.00	38000.00	76000.00	34043.50	68087.00
0015	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730061	2 EA	35000.00	70000.00	18000.00	36000.00	20072.05	40144.10
0016	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730067	1 EA	35000.00	35000.00	25000.00	25000.00	25106.50	25106.50
0017	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730068	1 EA	32000.00	32000.00	25000.00	25000.00	31540.40	31540.40
0018	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730125	2 EA	32000.00	64000.00	18000.00	36000.00	26422.05	52844.10
0019	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730176	1 EA	32000.00	32000.00	18000.00	18000.00	19842.55	19842.55
0020	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	15 EA	1000.00	15000.00	7154.00	107310.00	4000.00	60000.00
0021	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060053	62 LF	520.00	32240.00	320.00	19840.00	401.58	24897.96
0022	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060182	57 LF	425.00	24225.00	350.00	19950.00	376.68	21470.76
0023	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060255	66 LF	655.00	43230.00	400.00	26400.00	497.17	32813.22
0024	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730061	71 LF	500.00	35500.00	250.00	17750.00	401.08	28476.68

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				INTERCOASTAL CONTRACTING INC		S. T. WOOTEN CORPORATION		SANFORD CONTRACTORS, INC.			
				CASTLE HAYNE, NC		WILSON, NC		SANFORD, NC			
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730067	68	LF	400.00	27200.00	350.00	23800.00	311.40	21175.20
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730068	53	LF	430.00	22790.00	350.00	18550.00	331.02	17544.06
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730080	59	LF	420.00	24780.00	270.00	15930.00	411.46	24276.14
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730081	57	LF	420.00	23940.00	270.00	15390.00	333.74	19023.18
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730125	56	LF	480.00	26880.00	270.00	15120.00	383.41	21470.96
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730157	53	LF	430.00	22790.00	280.00	14840.00	358.92	19022.76
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730176	57	LF	430.00	24510.00	270.00	15390.00	333.74	19023.18
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060053	60	LF	560.00	33600.00	320.00	19200.00	351.73	21103.80
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060182	59	LF	410.00	24190.00	350.00	20650.00	303.41	17901.19
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060255	66	LF	750.00	49500.00	400.00	26400.00	443.08	29243.28
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730061	71	LF	520.00	36920.00	300.00	21300.00	324.18	23016.78
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730067	69	LF	400.00	27600.00	350.00	24150.00	259.29	17891.01
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730068	55	LF	425.00	23375.00	350.00	19250.00	244.80	13464.00
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730080	59	LF	425.00	25075.00	300.00	17700.00	350.95	20706.05
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730081	58	LF	425.00	24650.00	300.00	17400.00	266.43	15452.94
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730125	58	LF	475.00	27550.00	300.00	17400.00	308.64	17901.12
0041	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730157	53	LF	430.00	22790.00	300.00	15900.00	291.57	15453.21

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				INTERCOASTAL CONTRACTING INC	S. T. WOOTEN CORPORATION		SANFORD CONTRACTORS, INC.			
				CASTLE HAYNE, NC	WILSON, NC		SANFORD, NC			
0042	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730176	58 LF	485.00	28130.00	300.00	17400.00	266.43	15452.94
0043	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #060255	76 LF	1150.00	87400.00	420.00	31920.00	539.66	41014.16
0044	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730061	76 LF	450.00	34200.00	300.00	22800.00	504.03	38306.28
0045	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730067	69 LF	525.00	36225.00	500.00	34500.00	480.14	33129.66
0046	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730068	54 LF	575.00	31050.00	400.00	21600.00	475.53	25678.62
0047	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730125	57 LF	1150.00	65550.00	300.00	17100.00	817.79	46614.03
0048	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730176	74 LF	550.00	40700.00	300.00	22200.00	429.99	31819.26
0049	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #060255	76 LF	1350.00	102600.00	400.00	30400.00	492.69	37444.44
0050	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #730061	76 LF	1150.00	87400.00	300.00	22800.00	474.82	36086.32
0051	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #730125	57 LF	1165.00	66405.00	300.00	17100.00	898.32	51204.24
0052	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060053	75 LF	1950.00	146250.00	3300.00	247500.00	2402.93	180219.75
0053	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060182	70 LF	2050.00	143500.00	2800.00	196000.00	1698.04	118862.80
0054	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060255	155 LF	1850.00	286750.00	2800.00	434000.00	4138.18	641417.90
0055	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730061	130 LF	1650.00	214500.00	1800.00	234000.00	1467.50	190775.00
0056	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730067	120 LF	1875.00	225000.00	2300.00	276000.00	1641.38	196965.60
0057	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730068	80 LF	1500.00	120000.00	2000.00	160000.00	1467.78	117422.40
0058	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730080	70 LF	1850.00	129500.00	2200.00	154000.00	1661.08	116275.60
0059	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730081	65 LF	1875.00	121875.00	2800.00	182000.00	1490.80	96902.00
0060	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730125	130 LF	1675.00	217750.00	2000.00	260000.00	1579.89	205385.70
0061	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730157	60 LF	1475.00	88500.00	3300.00	198000.00	1482.30	88938.00
0062	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730176	90 LF	1475.00	132750.00	1800.00	162000.00	1322.49	119024.10

APR 03, 2012 02:36 PM

PITT, BEAUFORT

TIP NO

17BP.2.R.47

2:00 PM 4 / 8 028

FEB 21 2012 C202922
0.820 MI

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

CONTRACT TOTAL	TOTAL	7993370.00	TOTAL	8283940.00	TOTAL	8688086.07
ROADWAY ITEMS	SUB-TOTAL	7993370.00	SUB-TOTAL	8283940.00	SUB-TOTAL	8688086.07

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				BALFOUR BEATTY INFRASTRUCTURE INC	CAROLINA BRIDGE CO., INC.			
				ATLANTA, GA	ORANGEBURG, SC			
ROADWAY ITEMS								
0001	0000100000-N	800	MOBILIZATION	Lump Sum		450000.00		1032797.55
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum		4684507.00		4975452.69
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060053	2 EA	33000.00	66000.00	18071.55	36143.10
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060182	2 EA	13500.00	27000.00	18084.51	36169.02
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #060255	2 EA	44000.00	88000.00	18639.45	37278.90
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730061	2 EA	14000.00	28000.00	19714.13	39428.26
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730067	2 EA	13500.00	27000.00	18084.51	36169.02
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730068	2 EA	14000.00	28000.00	18639.45	37278.90
0009	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730080	2 EA	12500.00	25000.00	18084.51	36169.02
0010	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730081	2 EA	12500.00	25000.00	18084.51	36169.02
0011	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730125	2 EA	14500.00	29000.00	19713.51	39427.02
0012	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730157	2 EA	12500.00	25000.00	18084.51	36169.02
0013	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #730176	2 EA	13000.00	26000.00	18084.51	36169.02
0014	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #060255	2 EA	26500.00	53000.00	13771.46	27542.92
0015	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730061	2 EA	12500.00	25000.00	13924.46	27848.92
0016	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730067	1 EA	11500.00	11500.00	12714.55	12714.55
0017	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730068	1 EA	12500.00	12500.00	13770.09	13770.09
0018	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730125	2 EA	13000.00	26000.00	13924.46	27848.92
0019	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENTS STRUCTURE #730176	1 EA	11000.00	11000.00	12714.55	12714.55
0020	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	15 EA	7200.00	108000.00	4000.00	60000.00
0021	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060053	62 LF	850.00	52700.00	399.74	24783.88
0022	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060182	57 LF	500.00	28500.00	387.36	22079.52
0023	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #060255	66 LF	800.00	52800.00	394.83	26058.78
0024	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730061	71 LF	600.00	42600.00	394.49	28008.79

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				BALFOUR BEATTY INFRASTRUCTURE INC		CAROLINA BRIDGE CO., INC.			
				ATLANTA, GA		ORANGEBURG, SC			
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730067	68	LF	550.00	37400.00	375.88	25559.84
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730068	53	LF	400.00	21200.00	417.18	22110.54
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730080	59	LF	450.00	26550.00	410.11	24196.49
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730081	57	LF	400.00	22800.00	372.59	21237.63
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730125	56	LF	500.00	28000.00	404.83	22670.48
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730157	53	LF	400.00	21200.00	389.58	20647.74
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #730176	57	LF	400.00	22800.00	372.59	21237.63
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060053	60	LF	550.00	33000.00	361.96	21717.60
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060182	59	LF	450.00	26550.00	365.38	21557.42
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #060255	66	LF	750.00	49500.00	382.06	25215.96
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730061	71	LF	550.00	39050.00	394.49	28008.79
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730067	69	LF	500.00	34500.00	373.86	25796.34
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730068	55	LF	300.00	16500.00	406.98	22383.90
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730080	59	LF	300.00	17700.00	408.42	24096.78
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730081	58	LF	300.00	17400.00	368.92	21397.36
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730125	58	LF	1600.00	92800.00	397.30	23043.40
0041	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730157	53	LF	300.00	15900.00	390.52	20697.56

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

				BALFOUR BEATTY INFRASTRUCTURE INC	CAROLINA BRIDGE CO., INC.				
				ATLANTA, GA	ORANGEBURG, SC				
0042	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #730176	58	LF	300.00	17400.00	450.92	26153.36
0043	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #060255	76	LF	1150.00	87400.00	451.46	34310.96
0044	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730061	76	LF	950.00	72200.00	451.46	34310.96
0045	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730067	69	LF	950.00	65550.00	517.79	35727.51
0046	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730068	54	LF	800.00	43200.00	571.73	30873.42
0047	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730125	57	LF	900.00	51300.00	531.83	30314.31
0048	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #730176	74	LF	850.00	62900.00	416.56	30825.44
0049	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #060255	76	LF	1100.00	83600.00	452.77	34410.52
0050	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #730061	76	LF	900.00	68400.00	451.46	34310.96
0051	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #730125	57	LF	850.00	48450.00	531.83	30314.31
0052	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060053	75	LF	2750.00	206250.00	3365.11	252383.25
0053	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060182	70	LF	2300.00	161000.00	2002.00	140140.00
0054	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #060255	155	LF	2900.00	449500.00	3289.29	509839.95
0055	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730061	130	LF	2150.00	279500.00	1763.60	229268.00
0056	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730067	120	LF	2300.00	276000.00	1770.52	212462.40
0057	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730068	80	LF	1850.00	148000.00	1814.85	145188.00
0058	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730080	70	LF	2100.00	147000.00	1898.90	132923.00
0059	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730081	65	LF	2100.00	136500.00	1912.49	124311.85
0060	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730125	130	LF	2150.00	279500.00	1751.44	227687.20
0061	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730157	60	LF	2150.00	129000.00	1872.79	112367.40
0062	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #730176	90	LF	1900.00	171000.00	1637.63	147386.70

APR 03, 2012 02:36 PM

PITT, BEAUFORT

TIP NO

17BP.2.R.47

2:00 PM 8 / 8 028

FEB 21 2012 C202922
0.820 MI

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 3 BRIDGES IN BEAUFORT COUNTY AND 8 IN PITT COUNTY.

CONTRACT TOTAL		TOTAL	9458607.00	TOTAL	9645276.42
ROADWAY ITEMS		SUB-TOTAL	9458607.00	SUB-TOTAL	9645276.42
BIDDERS IN ORDER		CONTRACT TOTAL			
INTERCOASTAL CONTRACTING INC	1		7993370.00		
S. T. WOOTEN CORPORATION	2		8283940.00		
SANFORD CONTRACTORS, INC.	3		8688086.07		
BALFOUR BEATTY INFRASTRUCTURE INC	4		9458607.00		
CAROLINA BRIDGE CO., INC.	5		9645276.42		

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

		SMITH-ROWE, LLC		VECELLIO & GROGAN INC		APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION	
		MOUNT AIRY, NC		BECKLEY, WV		GREENSBORO, NC	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	364500.00	370000.00	450000.00
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum	4164629.45	3433450.00	3625000.00
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #160102	2 EA	11022.20 22044.40	25000.00 50000.00	18600.00 37200.00
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400030	2 EA	12323.34 24646.68	20500.00 41000.00	21500.00 43000.00
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400204	2 EA	11340.15 22680.30	25000.00 50000.00	18800.00 37600.00
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400248	2 EA	11628.27 23256.54	25000.00 50000.00	21000.00 42000.00
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #670141	2 EA	9340.35 18680.70	25000.00 50000.00	17000.00 34000.00
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #670214	2 EA	11385.58 22771.16	25000.00 50000.00	17000.00 34000.00
0009	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780037	2 EA	11626.03 23252.06	20000.00 40000.00	17000.00 34000.00
0010	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780053	2 EA	11670.35 23340.70	25000.00 50000.00	22500.00 45000.00
0011	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780073	2 EA	11062.25 22124.50	25000.00 50000.00	20000.00 40000.00
0012	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780092	2 EA	11054.06 22108.12	25000.00 50000.00	21000.00 42000.00
0013	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780129	2 EA	11054.06 22108.12	20000.00 40000.00	19000.00 38000.00
0014	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780153	2 EA	12128.41 24256.82	25000.00 50000.00	21000.00 42000.00
0015	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #160102	1 EA	10602.87 10602.87	1000.00 1000.00	13000.00 13000.00
0016	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #400030	1 EA	13071.17 13071.17	1000.00 1000.00	13000.00 13000.00
0017	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #400248	1 EA	11820.69 11820.69	1000.00 1000.00	16000.00 16000.00
0018	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #670141	1 EA	16704.33 16704.33	1000.00 1000.00	18000.00 18000.00
0019	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780037	2 EA	11564.48 23128.96	1000.00 2000.00	18000.00 36000.00
0020	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780073	1 EA	10602.87 10602.87	1000.00 1000.00	13000.00 13000.00
0021	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780092	1 EA	10602.87 10602.87	1000.00 1000.00	16000.00 16000.00
0022	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780129	1 EA	10602.87 10602.87	1000.00 1000.00	13000.00 13000.00
0023	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780153	1 EA	15261.39 15261.39	11500.00 11500.00	18000.00 18000.00
0024	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	24 EA	6500.00 156000.00	6500.00 156000.00	5000.00 120000.00
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #160102	20 LF	268.33 5366.60	385.00 7700.00	300.00 6000.00

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

				SMITH-ROWE, LLC	VECELLIO & GROGAN INC	APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION					
				MOUNT AIRY, NC	BECKLEY, WV	GREENSBORO, NC					
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400030	12	LF	499.06	5988.72	500.00	6000.00	500.00	6000.00
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400204	13	LF	359.08	4668.04	500.00	6500.00	460.00	5980.00
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400248	15	LF	312.40	4686.00	450.00	6750.00	400.00	6000.00
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #670141	15	LF	331.23	4968.45	450.00	6750.00	580.00	8700.00
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #670214	10	LF	400.54	4005.40	620.00	6200.00	3500.00	35000.00
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780037	13	LF	359.08	4668.04	500.00	6500.00	480.00	6240.00
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780053	70	LF	205.37	14375.90	260.00	18200.00	240.00	16800.00
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780073	15	LF	331.23	4968.45	450.00	6750.00	300.00	4500.00
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780092	11	LF	397.05	4367.55	550.00	6050.00	550.00	6050.00
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780129	14	LF	344.16	4818.24	480.00	6720.00	430.00	6020.00
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780153	15	LF	331.23	4968.45	450.00	6750.00	400.00	6000.00
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #160102	15	LF	312.40	4686.00	450.00	6750.00	300.00	4500.00
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400030	13	LF	475.33	6179.29	500.00	6500.00	420.00	5460.00
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400204	17	LF	309.94	5268.98	425.00	7225.00	350.00	5950.00
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400248	13	LF	339.52	4413.76	510.00	6630.00	460.00	5980.00
0041	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #670141	11	LF	397.05	4367.55	550.00	6050.00	600.00	6600.00
0042	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #670214	10	LF	400.54	4005.40	600.00	6000.00	3500.00	35000.00

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

				SMITH-ROWE, LLC	VECELLIO & GROGAN INC	APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION				
				MOUNT AIRY, NC	BECKLEY, WV	GREENSBORO, NC				
0043	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780037	30 LF	359.08	10772.40	360.00	10800.00	450.00	13500.00
0044	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780053	64 LF	210.54	13474.56	280.00	17920.00	230.00	14720.00
0045	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780073	26 LF	254.66	6621.16	360.00	9360.00	350.00	9100.00
0046	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780092	16 LF	319.92	5118.72	425.00	6800.00	380.00	6080.00
0047	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780129	13 LF	359.08	4668.04	500.00	6500.00	460.00	5980.00
0048	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780153	10 LF	421.73	4217.30	620.00	6200.00	3400.00	34000.00
0049	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #160102	28 LF	1929.60	54028.80	10.00	280.00	3000.00	84000.00
0050	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #400030	23 LF	2347.58	53994.34	10.00	230.00	2500.00	57500.00
0051	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #400248	24 LF	2246.89	53925.36	10.00	240.00	3000.00	72000.00
0052	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #670141	23 LF	3452.46	79406.58	10.00	230.00	4400.00	101200.00
0053	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #780037	40 LF	1514.37	60574.80	10.00	400.00	2400.00	96000.00
0054	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #780073	31 LF	1855.85	57531.35	10.00	310.00	2700.00	83700.00
0055	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #780092	24 LF	2337.54	56100.96	10.00	240.00	2800.00	67200.00
0056	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #780129	24 LF	2363.01	56712.24	10.00	240.00	3700.00	88800.00
0057	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #1 STRUCTURE #780153	22 LF	3623.73	79722.06	3270.00	71940.00	4200.00	92400.00
0058	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN- TERIOR BENT #2 STRUCTURE #780037	40 LF	1514.37	60574.80	10.00	400.00	2400.00	96000.00
0059	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #160102	75 LF	1386.26	103969.50	2500.00	187500.00	1750.00	131250.00
0060	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400030	80 LF	1871.92	149753.60	3200.00	256000.00	2200.00	176000.00

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

		SMITH-ROWE, LLC	VECELLIO & GROGAN INC	APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION						
		MOUNT AIRY, NC	BECKLEY, WV	GREENSBORO, NC						
0061	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400204	55 LF	1583.64	87100.20	2350.00	129250.00	1800.00	99000.00
0062	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400248	75 LF	1517.11	113783.25	3000.00	225000.00	1800.00	135000.00
0063	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #670141	85 LF	1551.48	131875.80	3000.00	255000.00	1800.00	153000.00
0064	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #670214	60 LF	1556.68	93400.80	2900.00	174000.00	1700.00	102000.00
0065	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780037	105 LF	1421.19	149224.95	2100.00	220500.00	1670.00	175350.00
0066	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780053	70 LF	1640.71	114849.70	3000.00	210000.00	1870.00	130900.00
0067	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780073	90 LF	1472.04	132483.60	2900.00	261000.00	1700.00	153000.00
0068	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780092	80 LF	1435.77	114861.60	3000.00	240000.00	1700.00	136000.00
0069	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780129	85 LF	1422.04	120873.40	2400.00	204000.00	1650.00	140250.00
0070	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780153	100 LF	1476.87	147687.00	2900.00	290000.00	1750.00	175000.00
CONTRACT TOTAL				TOTAL	7292875.26	TOTAL	7465315.00	TOTAL	7625510.00	
ROADWAY ITEMS				SUB-TOTAL	7292875.26	SUB-TOTAL	7465315.00	SUB-TOTAL	7625510.00	

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

		HAYMES BROTHERS, INC.		DANE CONSTRUCTION, INC.	
		CHATHAM, VA		MOORESVILLE, NC	
ROADWAY ITEMS					
0001	0000100000-N	800	MOBILIZATION	Lump Sum	350000.00 561000.00
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum	3850000.00 4990415.00
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #160102	2 EA	22000.00 44000.00 75000.00 150000.00
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400030	2 EA	22500.00 45000.00 75000.00 150000.00
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400204	2 EA	22000.00 44000.00 75000.00 150000.00
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #400248	2 EA	22000.00 44000.00 75000.00 150000.00
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #670141	2 EA	22000.00 44000.00 75000.00 150000.00
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #670214	2 EA	22000.00 44000.00 75000.00 150000.00
0009	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780037	2 EA	22000.00 44000.00 75000.00 150000.00
0010	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780053	2 EA	22000.00 44000.00 75000.00 150000.00
0011	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780073	2 EA	22000.00 44000.00 75000.00 150000.00
0012	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780092	2 EA	22000.00 44000.00 75000.00 150000.00
0013	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780129	2 EA	22000.00 44000.00 75000.00 150000.00
0014	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #780153	2 EA	22000.00 44000.00 75000.00 150000.00
0015	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #160102	1 EA	25000.00 25000.00 15000.00 15000.00
0016	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #400030	1 EA	29000.00 29000.00 15000.00 15000.00
0017	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #400248	1 EA	25000.00 25000.00 15000.00 15000.00
0018	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #670141	1 EA	29000.00 29000.00 15000.00 15000.00
0019	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780037	2 EA	31000.00 62000.00 15000.00 30000.00
0020	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780073	1 EA	32000.00 32000.00 15000.00 15000.00
0021	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780092	1 EA	32000.00 32000.00 15000.00 15000.00
0022	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780129	1 EA	35000.00 35000.00 15000.00 15000.00
0023	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) INTERIOR BENT CAPS STRUCTURE #780153	1 EA	32000.00 32000.00 15000.00 15000.00
0024	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	24 EA	1500.00 36000.00 5000.00 120000.00
0025	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #160102	20 LF	475.00 9500.00 540.00 10800.00

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

				HAYMES BROTHERS, INC.		DANE CONSTRUCTION, INC.			
				CHATHAM, VA		MOORESVILLE, NC			
0026	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400030	12	LF	800.00	9600.00	700.00	8400.00
0027	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400204	13	LF	540.00	7020.00	700.00	9100.00
0028	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #400248	15	LF	550.00	8250.00	620.00	9300.00
0029	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #670141	15	LF	540.00	8100.00	620.00	9300.00
0030	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #670214	10	LF	750.00	7500.00	765.00	7650.00
0031	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780037	13	LF	600.00	7800.00	680.00	8840.00
0032	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780053	70	LF	325.00	22750.00	435.00	30450.00
0033	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780073	15	LF	475.00	7125.00	620.00	9300.00
0034	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780092	11	LF	600.00	6600.00	740.00	8140.00
0035	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780129	14	LF	500.00	7000.00	645.00	9030.00
0036	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #780153	15	LF	480.00	7200.00	620.00	9300.00
0037	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #160102	15	LF	550.00	8250.00	620.00	9300.00
0038	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400030	13	LF	740.00	9620.00	680.00	8840.00
0039	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400204	17	LF	440.00	7480.00	585.00	9945.00
0040	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #400248	13	LF	600.00	7800.00	680.00	8840.00
0041	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #670141	11	LF	700.00	7700.00	740.00	8140.00
0042	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #670214	10	LF	750.00	7500.00	765.00	7650.00

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

				HAYMES BROTHERS, INC.		DANE CONSTRUCTION, INC.			
				CHATHAM, VA		MOORESVILLE, NC			
0043	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780037	30	LF	350.00	10500.00	470.00	14100.00
0044	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780053	64	LF	325.00	20800.00	445.00	28480.00
0045	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780073	26	LF	550.00	14300.00	500.00	13000.00
0046	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780092	16	LF	450.00	7200.00	610.00	9760.00
0047	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780129	13	LF	525.00	6825.00	680.00	8840.00
0048	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #780153	10	LF	1050.00	10500.00	765.00	7650.00
0049	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #160102	28	LF	3000.00	84000.00	1965.00	55020.00
0050	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #400030	23	LF	3850.00	88550.00	2395.00	55085.00
0051	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #400248	24	LF	2700.00	64800.00	2292.00	55008.00
0052	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #670141	23	LF	3200.00	73600.00	2395.00	55085.00
0053	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #780037	40	LF	2700.00	108000.00	1375.00	55000.00
0054	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #780073	31	LF	3500.00	108500.00	1775.00	55025.00
0055	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #780092	24	LF	3300.00	79200.00	2292.00	55008.00
0056	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #780129	24	LF	4300.00	103200.00	2292.00	55008.00
0057	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #1 STRUCTURE #780153	22	LF	4000.00	88000.00	2500.00	55000.00
0058	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT IN-TERIOR BENT #2 STRUCTURE #780037	40	LF	2700.00	108000.00	1375.00	55000.00
0059	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #160102	75	LF	1432.00	107400.00	2845.00	213375.00
0060	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400030	80	LF	1615.00	129200.00	3775.00	302000.00

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CASWELL COUNTY, 3 IN GUILFORD COUNTY, 2 IN ORANGE COUNTY, & 6 IN ROCKINGHAM COUNTY.

		HAYMES BROTHERS, INC.	DANE CONSTRUCTION, INC.	
		CHATHAM, VA	MOORESVILLE, NC	

0061	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400204	55	LF	1503.00	82665.00	2450.00	134750.00
0062	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #400248	75	LF	1590.00	119250.00	3110.00	233250.00
0063	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #670141	85	LF	1650.00	140250.00	3095.00	263075.00
0064	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #670214	60	LF	1450.00	87000.00	2440.00	146400.00
0065	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780037	105	LF	1530.00	160650.00	2620.00	275100.00
0066	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780053	70	LF	1600.00	112000.00	3140.00	219800.00
0067	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780073	90	LF	1368.00	123120.00	2810.00	252900.00
0068	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780092	80	LF	1450.00	116000.00	2830.00	226400.00
0069	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780129	85	LF	1405.00	119425.00	2825.00	240125.00
0070	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #780153	100	LF	1485.00	148500.00	2790.00	279000.00

CONTRACT TOTAL TOTAL 7644230.00 TOTAL 11221984.00

ROADWAY ITEMS SUB-TOTAL 7644230.00 SUB-TOTAL 11221984.00

BIDDERS IN ORDER

CONTRACT TOTAL

	SMITH-ROWE, LLC	1	7292875.26
**	VECELLIO & GROGAN INC	2	7465315.00
	** BID EXECUTED IMPROPERLY		
	** INAPPROPRIATE TITLE		
**	APAC - ATLANTIC, INC. THOMPSON ARTHUR DIVISION	3	7625510.00
	** BOND EXECUTED IMPROPERLY		
	** INCORRECT BOND DATE		
**	HAYMES BROTHERS, INC.	4	7644230.00
	** BOND EXECUTED IMPROPERLY		
	** NO CORP BOND SIGNATURE SHEET		
**	DANE CONSTRUCTION, INC.	5	11221984.00
	** BID EXECUTED IMPROPERLY		
	** BOND EXECUTED IMPROPERLY		
	** INAPPROPRIATE TITLE		
	** DENOTES IRREGULAR BID		

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CHEROKEE COUNTY, 2 IN JACKSON COUNTY, 1 IN MACON COUNTY, & 1 IN SWAIN COUNTY.

E. R. SNELL CONTRACTOR, INC.	C. W. MATTHEWS CONTRACTING CO., INC	TAYLOR & MURPHY CONSTRUCTION CO, INC
SNELLVILLE, GA	MARIETTA, GA	ASHEVILLE, NC

ROADWAY ITEMS

0001	0000100000-N	800	MOBILIZATION	Lump Sum		138000.00		143846.60		165000.00
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum		1589100.00		2090419.07		2500000.00
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #190018	2 EA	28000.00	56000.00	31899.51	63799.02	20000.00	40000.00
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #490098	2 EA	25200.00	50400.00	31899.51	63799.02	20000.00	40000.00
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #490252	2 EA	46900.00	93800.00	71340.94	142681.88	85000.00	170000.00
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #550278	2 EA	16500.00	33000.00	26802.71	53605.42	17000.00	34000.00
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #860131	2 EA	28100.00	56200.00	72895.27	145790.54	100000.00	200000.00
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	10 EA	11900.00	119000.00	3900.00	39000.00	3250.00	32500.00
0009	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #190018	11 LF	2810.00	30910.00	334.98	3684.78	1850.00	20350.00
0010	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #490098	21 LF	945.00	19845.00	257.93	5416.53	1450.00	30450.00
0011	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #550278	25 LF	360.00	9000.00	246.52	6163.00	330.00	8250.00
0012	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #190018	14 LF	1170.00	16380.00	312.25	4371.50	670.00	9380.00
0013	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #490098	17 LF	1100.00	18700.00	274.71	4670.07	1350.00	22950.00
0014	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #550278	50 LF	317.00	15850.00	214.74	10737.00	260.00	13000.00
0015	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #190018	50 LF	2430.00	121500.00	2095.18	104759.00	1780.00	89000.00
0016	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #490098	50 LF	2430.00	121500.00	2049.39	102469.50	1780.00	89000.00
0017	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #490252	50 LF	2280.00	114000.00	1925.37	96268.50	1630.00	81500.00
0018	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #550278	40 LF	2000.00	80000.00	1900.44	76017.60	1560.00	62400.00
0019	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #860131	30 LF	2840.00	85200.00	2127.78	63833.40	1430.00	42900.00

CONTRACT TOTAL			TOTAL	2768385.00	TOTAL	3221332.43	TOTAL	3650680.00
----------------	--	--	-------	------------	-------	------------	-------	------------

ROADWAY ITEMS			SUB-TOTAL	2768385.00	SUB-TOTAL	3221332.43	SUB-TOTAL	3650680.00
---------------	--	--	-----------	------------	-----------	------------	-----------	------------

FED AID NO STATE FUNDED
DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CHEROKEE COUNTY, 2 IN JACKSON COUNTY, 1 IN MACON COUNTY, & 1 IN SWAIN COUNTY.

		OWLE CONSTRUCTION, LLC		WHITTIER, NC		WRIGHT BROTHERS CONSTRUCTION CO. INC.		CHARLESTON, TN	
ROADWAY ITEMS									
0001	0000100000-N	800	MOBILIZATION	Lump Sum		190000.00		250000.00	
0002	0000900000-N	SP	GENERIC MISCELLANEOUS ITEM (LS) DESIGN AND CONSTRUCTION	Lump Sum		2561210.00		3969500.00	
0003	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #190018	2 EA	27500.00	55000.00	36369.00	72738.00	
0004	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #490098	2 EA	17500.00	35000.00	36369.00	72738.00	
0005	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #490252	2 EA	87500.00	175000.00	69549.00	139098.00	
0006	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #550278	2 EA	18000.00	36000.00	35832.00	71664.00	
0007	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) END BENTS STRUCTURE #860131	2 EA	82000.00	164000.00	75785.00	151570.00	
0008	0000915000-N	SP	GENERIC MISCELLANEOUS ITEM (EA) RIGHT OF WAY ACQUISITION	10 EA	3950.00	39500.00	8699.00	86990.00	
0009	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #190018	11 LF	400.00	4400.00	796.00	8756.00	
0010	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #490098	21 LF	400.00	8400.00	553.00	11613.00	
0011	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #1 STRUCTURE #550278	25 LF	400.00	10000.00	335.00	8375.00	
0012	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #190018	14 LF	400.00	5600.00	796.00	11144.00	
0013	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #490098	17 LF	400.00	6800.00	553.00	9401.00	
0014	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) AVE FOUNDATION LENGTH AT END BENT #2 STRUCTURE #550278	50 LF	400.00	20000.00	335.00	16750.00	
0015	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #190018	50 LF	2200.00	110000.00	2365.00	118250.00	
0016	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #490098	50 LF	2200.00	110000.00	2328.00	116400.00	
0017	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #490252	50 LF	2200.00	110000.00	2705.00	135250.00	
0018	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #550278	40 LF	2500.00	100000.00	2766.00	110640.00	
0019	0000930000-E	SP	GENERIC MISCELLANEOUS ITEM (LF) BRIDGE LENGTH STRUCTURE #860131	30 LF	2830.00	84900.00	2500.00	75000.00	
CONTRACT TOTAL						TOTAL	3825810.00	TOTAL	5435877.00
ROADWAY ITEMS						SUB-TOTAL	3825810.00	SUB-TOTAL	5435877.00

APR 03, 2012 02:36 PM

CHEROKEE, SWAIN, MACON, JACKSON

TIP NO

17BP.14.R.83

2:00 PM 3 / 3 030

FEB 21 2012 C202924
0.330 MI

FED AID NO STATE FUNDED

DESIGN BUILD.

REPLACEMENT OF 1 BRIDGE IN CHEROKEE COUNTY, 2 IN JACKSON COUNTY, 1 IN MACON COUNTY, & 1 IN SWAIN COUNTY.

BIDDERS IN ORDER

CONTRACT TOTAL

E. R. SNELL CONTRACTOR, INC.	1	2768385.00
** C. W. MATTHEWS CONTRACTING CO., INC	2	3221332.43
** BID EXECUTED IMPROPERLY		
** INAPPROPRIATE TITLE		
TAYLOR & MURPHY CONSTRUCTION CO, INC	3	3650680.00
OWLE CONSTRUCTION, LLC	4	3825810.00
** WRIGHT BROTHERS CONSTRUCTION CO. INC.	5	5435877.00
** BID EXECUTED IMPROPERLY		
** BOND EXECUTED IMPROPERLY		
** INAPPROPRIATE TITLE		
** DENOTES IRREGULAR BID		